1926-1927.

NEW ZEALAND.

APPROPRIATIONS

CHARGEABLE ON

THE CONSOLIDATED FUND

AND

OTHER ACCOUNTS

FOR THE YEAR ENDING 31st MARCH, 1927.

1925-1927

MEN SENEATE.

** 'AZOITAIATOM'S

Mo maded as A

THE WINDOLLDATED FUND

OTHER ACCOUNTS

FOR THE THE TARREST HAROLL 1990

INDEX.

1926-1927.

Accident Insurance Account	i			252	Marine Department Marine: Miscellaneous Se Material and Stores—Edu				15
Advances to Local Authoriti	es Branci	1			Marine: Miscellaneous Se	rvices	• •		16
Advances to Settlers Branch			٠.	~	Material and Stores—Edi		• •	• •	
Advances to Workers Branch	1	• •			Mental Hospitals				120
Amortization	•		• •	1	Mercantile Marine, Super Messengers, Office-keepers	intendent	S OI		15 9
Agriculture	•				Motoprological Office	•		• • •	
Aviation				143	Mines Department	••			_
				-0	Mines Department Mines: Miscellaneous Ser	vices			
Bankruptcy	•	• •	• •	72	Ministers, Secretaries				98
Bellamy's	•	••	• •	32	Miscellaneous Business				
Carriage of Mails by Railway	у .			51	Account	••	• •	• •	25'
Carriage of Mails by Railway Census and Statistics Child Welfare Civil List Clerk of Executive Council Cold Storage Advances Conveyance of Inland Mails Conveyance of Ocean Mails Cock Islands Coroners Criminal Prosecutions Crown Law Office Customs: Miscellaneous Customs Offices and Services	•				Miscellaneous Services-				
Child Welfare	•			203	Miscellaneous Services— Customs Education Internal Affairs Justice Lands and Survey Marine Mines Native Police Post and Telegraph Treasury Motor Services and Works Museum				149
Civil List	•	• •	• •		Education		• •	• • •	208
Clerk of Executive Council		• •	• •	34	Internal Affairs	••			
Conveyence of Inland Mails	•	• •	• •	~ .	Justice	• •			76
Conveyance of Inland Mails		••	• •	50	Lands and Survey				168
Cook Islands		• •	• •	66	Marine				
Coroners				72	Mines	• •	• •	• "	92
Criminal Prosecutions		••		75	Native	• •	• •	• •	62
Crown Law Office	,			82	Police	• •	• •	• •	86
Customs: Miscellaneous					Tressarry	••	• •	• •	52 36
Customs Offices and Services	i	• •		146	Motor Services and Works	hons	••	••	52
		• .		183	Museum	пора	••	• •	105
Dairy Division, Department	or Agricu	neare	• •	23			• •	• •	100
Dairy Division, Department Debt Repayment Debt Services Defence Department Discharged Soldiers Settlem		••	• •	7	National Provident and	Friendly	y Societies	s De-	
Defence Department	,	••	• •	137	partment	••	•••		45
Discharged Soldiers Settleme	ent Accou	int		1	National Rifle Association				
	,			106		••			~
•					Native Land Settlement				
Education Department: He	ad Office	• •	• •	200	Native Land Purchase Ex	penses	• •		
Education: Miscellaneous S	ervices	• •	٠.		Native Schools	cvices	• •	• •	$\frac{62}{199}$
Education of the Dilia		••	• •		Native: Miscellaneous Sel Native Schools Native Trustee's Account	••	• •	• •	
Education: Miscellaneous S Education of the Blind Electoral Elementary Education External Affairs	1	••	• • •	194	Nauru and Ocean Islands	Account	• •	• • •	211
External Affairs		• •	• • •	64	Naval Defence			• • •	134
					Non-Effective Services-I				144
Fields Division, Department	of Agricu	alture	• •	184	D + 0.00				
Fisheries Fishing Industry Promotion Forestry		••	• •	159	Patent Office	• •	• •	• •	71
Fishing Industry Promotion		• •	• •	$\begin{bmatrix} 257 \\ 220 \end{bmatrix}$	Permanent Charges	••	• •	• •	87
Elviandly Conjeties Department	nt	••	• •	45	Physical Instruction	••	• •	• • •	$\frac{7}{200}$
Ernit preserving Industry	1110	• •	• •	257	Police	• •	••	• •	
Forestry Friendly Societies Departme Fruit-preserving Industry		••	• •		Pensions Department Permanent Charges Physical Instruction Police Police: Miscellaneous Ser	vices			86
General Assembly Library				31	Post and Telegrann Wilso	allaneons	Nervices		52
General Expenses, Legislativ	e Departi	ments	• •	32	Post and Telegraph Salarie	98			47
Geological Survey Branch	of the M	ines Depa	art-	01	Post and Telegraph working	g-expens	es		47
ment	4	• •	٠.	91	Prime Minister's Departm	ent	• •		34
Government Accident Insura	nce Acco	unt	• •	$\frac{252}{97}$	Printing and Stationery	• •	• •		117
Government Actuary's Office		· ·	• •	57	Prisons	• •	••	• •	77
Government Domains Government Insurance According	unt	• •	• •	246	Post and Telegraph Salaric Post and Telegraph workin Prime Minister's Departm Printing and Stationery Prisons Probation Branch (Prisons Protection of Fish and Oys Public Buildings Downing)	• •	• •	81
Government Steamers	uno		::	159	Public Buildings, Domains	Maintan	anas of P		159
					and Irrigation Works	nraili 0011	ance of 16	Jaus	55
Hansard		• •	• •	32	Public Service Commission	er's Offic	e	• •	115
Harbours			••	153	Public Service Superannus				249
Health, Department of		• •	• •	126	Public Trustee's Account		••		241
Hansard Harbours Health, Department of High Commissioner's Office Higher Education	,	• •	• •	$\begin{bmatrix} 104 \\ 197 \end{bmatrix}$					
Higher Education Horticulture Division, Depai	rtment of	Agriculta			Railways Department				229
House of Representatives		Agricuit		30	Rates on Crown Lands	••			37
Housing				257	Rates on Native Lands				~
•			•	i	Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Repayments of Public Deb Registrar-General's Office Rifle Clubs			• •	24
Industries and Commerce		•		68	Repayments of Public Deb	t			
Industries and Commerce Inspection of Machinery	James 4		٠.	158	Registrar-General's Office	• •		••	101
Insurance, Government Acci	Aggarat	Jumi	••	$252 \\ 246$	wille Ciubs	••	• •	• •	145
Insurance, Government Life Insurance, State Fire Accour			• •	250	Scenery-preservation			٠.	170
Interest	nt	-			C-11 D-1131 Ti 1				199
	ıt .			7	School Buildings, Furnitui	to and Wi	tas		201
Internal Affairs Department	•	•	• •	$\begin{bmatrix} 7 \\ 94 \end{bmatrix}$	School Buildings, Furnitum School for the Deaf	to and Wi	tas		
Internal Affairs Department Internal Affairs : Miscellanco	•	•			School for the Deaf Schools for the Feeble-min	re, and Si ded	tes		202
Interest Internal Affairs Department Internal Affairs: Miscellaneo	us Servic	•	••	94 107	School for the Deaf Schools for the Feeble-min	re, and Si ded	tes	 at of	210
Internal Affairs: Miscellaneo	us Servic	es		94 107 70	School for the Deaf Schools for the Feeble-min	re, and Si ded	tes	 nt of	210 196
Internal Affairs : Miscellaneo Justice Department Justice : Miscellaneous Servic	us Servic	es	••	94 107	School for the Deaf Schools for the Feeble-min	re, and Si ded	tes	it of	210 196 23
Internal Affairs : Miscellaneo Justice Department Justice : Miscellaneous Servic	us Servic	es		94 107 70	School for the Deaf Schools for the Feeble-min	re, and Si ded	tes	nt of	210 196 23 25
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry	us Servic	es	:: ::	94 107 70 76 161 43	School for the Deaf Schools for the Feeble-min	re, and Si ded	tes	nt of	210 196 23 25 41
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar	us Servic	es .		94 107 70 76 161 43 38	School for the Deaf Schools for the Feeble-min	re, and Si ded	tes	 nt of 	210 196 23 25 41 253
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements Accoun	us Servic	• • • • • • • • • • • • • • • • • • •	•••	94 107 70 76 161 43	School for the Deaf Schools for the Feeble-min	re, and Si ded	tes	 nt of 	210 196 23 25 41 253 218
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements Accoun Land for Settlements A	us Servic	es	 	94 107 70 76 161 43 38 213	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislal Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account	re, and Si ded	tes	 nt of 	210 196 23 25 41 253 218
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements A Soldiers Settlement Accoun	us Servic ces . tment . tcount nt)	es	ed	94 107 70 76 161 43 38 213	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislal Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account	re, and Si ded	tes	 at of 	210 196 23 25 41 253 218 250 220 4
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements A Soldiers Settlement Accoun	us Servic ces . tment . tcount nt)	es	ed	94 107 70 76 161 43 38 213 215 164	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislal Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Acco State Forests Account Summary	ded essearch, local control co	tes	 nt of 	210 196 23 25 41 253 218 250 220
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements Accoun Land for Settlements As Soldiers Settlement Accoun Lands and Survey Department Lands and Survey: Miscellan	tment t .ccount nt) .teous Services	· · es · · · · · · · · · (Discharg · · · vices		94 107 70 76 161 43 38 213 215 164 168	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legisla Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Acco State Forests Account Summary Supreme Court	re, and Si	tes Departmen		210 196 23 25 41 253 218 250 220 4 73
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements Accoun Land for Settlements As Soldiers Settlement Accoun Lands and Survey Department Lands and Survey: Miscellan	tment t .ccount nt) .teous Services	· · es · · · · · · · · · (Discharg · · · vices	ed	94 107 70 76 161 43 38 213 215 164	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislat Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Acco State Forests Account Summary Supreme Court Technical Instruction	ded ded esearch, leture	tes Departmen		210 196 23 25 41 253 218 250 220 4 73
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements Accoun Land for Settlements As Soldiers Settlement Accoun Lands and Survey Department Lands and Survey: Miscellan	tment t	· · es · · · · · · · · · (Discharg · · · vices		94 107 70 76 161 43 38 213 215 164 168 31 30 32	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislat Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Acco State Forests Account Summary Supreme Court Technical Instruction	ded ded esearch, leture	tes Departmer		210 196 23 25 41 253 218 250 220 4 73
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Service Labour Department Land and Deeds Registry Land and Income Tax Depar Land for Settlements Accoun Land for Settlements Accoun Land survey Department Lands and Survey Department Lands and Survey: Miscellan Lands and Survey: Miscellan Law Drafting Office Legislative Council Legislative General Expense	tment t	· · · · · · · · · · · · · · · · · · ·	 	94 107 70 76 161 43 38 213 215 164 168 31 30 32 155	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislat Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Acco State Forests Account Summary Supreme Court Technical Instruction	ded ded esearch, leture	tes Departmer	 of 	210 196 23 25 41 253 218 250 220 4 73 197 187 198
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Service Labour Department Land and Deeds Registry. Land and Income Tax Depar Land for Settlements Accoun Land for Settlements Accoun Lands and Survey Department Lands and Survey: Miscellan Law Drafting Office Legislative: General Expense Lighthouses Live-stock Division, Department	tment t	es	 	94 107 70 76 161 43 38 213 215 164 168 31 30 32 155 179	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislat Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Acco State Forests Account Summary Supreme Court Technical Instruction	ded ded esearch, leture	tes Departmer	 nt of 	210 196 23 25 41 253 218 250 220 4 73 197 187 198 35
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Service Labour Department Land and Deeds Registry. Land and Income Tax Depar Land for Settlements Accoun Land for Settlements Accoun Lands and Survey Department Lands and Survey: Miscellan Law Drafting Office Legislative: General Expense Lighthouses Live-stock Division, Department	tment t	es	 	94 107 70 76 161 43 38 213 215 164 168 31 30 32 155	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legisla Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Acco State Forests Account Summary Supreme Court	ded ded esearch, leture	tes Departmer	 of 	210 196 23 25 41 253 218 250 220 4 73 197 187 198
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry. Land and Income Tax Depar Land for Settlements Accoun Land for Settlements Accoun Lands and Survey Department Lands and Survey: Miscellan Law Drafting Office Legislative: General Expense Lighthouses Live-stock Division, Department Loans to Employers for Work Loans to Employers for Work Loans to Employers for Work	tment toccount nt) toccount nt) toccount nt) toccount nt toccount	(Discharg vices	 	94 107 70 76 161 43 38 213 215 164 168 31 30 32 155 179 258	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislad Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resort Training of Teachers Treasury Department Treasury: Miscellaneous	ded ded esearch, leture	tes Departmer		210 196 23 25 41 253 218 250 220 4 73 197 187 198 35
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Service Labour Department Land and Deeds Registry. Land and Income Tax Department Land for Settlements Accoun Land for Settlements Accoun Lands and Survey Department Lands and Survey: Miscellan Law Drafting Office Legislative: General Expense Lighthouses Live-stock Division, Department Loans to Employers for Work Magistrates' and Wardens' October	tment t	es (Discharg vices		94 107 70 76 161 43 38 213 215 164 168 31 30 32 155 179	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legisla Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resort Training of Teachers Treasury Department Treasury: Miscellaneous Valuation	re, and Si ded esearch, i ture s	tes Departmer	 nt of 	210 196 23 25 41 253 218 250 220 4 73 197 187 198 35 36
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Service Labour Department Land and Deeds Registry. Land and Income Tax Depar Land for Settlements Accoun Land for Settlements Accoun Lands and Survey Department Lands and Survey: Miscellan Law Drafting Office Legislative: General Expense Lighthouses Live-stock Division, Department Loans to Employers for Work Magistrates' and Wardens' Office Magistrates' and Wardens' Office Magistrates' and Wardens' Office Magistrates' and Wardens' Office	tment t	es		94 107 70 76 161 43 38 213 215 164 168 31 30 32 155 179 258	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legisla Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resort Training of Teachers Treasury Department Treasury: Miscellaneous Valuation	re, and Si ded esearch, i ture s	tes Departmer		210 196 23 25 41 253 218 250 220 4 73 197 187 198 35 36
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Servic Labour Department Land and Deeds Registry. Land and Income Tax Depar Land for Settlements Accoun Land for Settlements Accoun Lands and Survey Department Lands and Survey: Miscellan Law Drafting Office Legislative Council Legislative: General Expense Live-stock Division, Department Loans to Employers for Work Magistrates' and Wardens' Oc Maintenance and Repairs to I	tment to coount nt) to coount nt of Agers' Dwe courts on Highwa Roads	es (Discharg tices riculture llings ays Reven		94 107 70 76 161 43 38 213 215 164 168 31 32 155 179 258 73 216 59	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legisla Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resort Training of Teachers Treasury Department Treasury: Miscellaneous Valuation	re, and Si ded esearch, i ture s	tes Departmer	 at of 	210 196 23 25 41 253 218 250 220 4 73 197 187 198 35 36
Internal Affairs: Miscellaneo Justice Department Justice: Miscellaneous Service Labour Department Land and Deeds Registry. Land and Income Tax Department Land for Settlements Accoun Land for Settlements Accoun Lands and Survey Department Lands and Survey: Miscellan Law Drafting Office Legislative: General Expense Lighthouses Live-stock Division, Department Loans to Employers for Work Magistrates' and Wardens' October	tment t cocount nt) cas cent of Agers' Dwe curts n Highwa	es (Discharg		94 107 70 76 161 43 38 213 215 164 168 31 30 32 155 179 258 73 216	School for the Deaf Schools for the Feeble-min Scientific and Industrial R Secondary Education Sinking Fund Special Acts of the Legislad Stamp Duties Department State Advances Account State Coal-mines Account State Fire Insurance Account State Forests Account Summary Supreme Court Technical Instruction Tourist and Health Resort Training of Teachers Treasury Department Treasury: Miscellaneous	re, and Si ded esearch, i ture s	tes Departmer	 at of 	210 196 23 25 41 253 218 220 4 73 197 187 198 35 36 171

1926-1927.

SUMMARY.

Page	Summary of Services chargeable on the Con- solidated Fund and other Accounts.	1926–27.		
	CONSOLIDATED FUND.	Credits-in-aid.	Net Totals.	
	ORDINARY REVENUE ACCOUNT.	£	£	
6	PERMANENT APPROPRIATIONS— Civil List		30,020	
7	Interest	• •	8,176,905	
23	Sinking Fund	• •	2,882	
23	Repayment of Public Debt	• •	925,492	
24	Reduction of Funded Debt	• •	349,608	
25	Under Special Acts of the Legislature	• •	4,208,852	
		• •	13,693,759	
30	Annual Appropriations— Vote, Legislative Departments	8,613	87,818	
34	,, Prime Minister's Department	•••	2,890	
35	" Treasury Department	4,753	37,420	
38	" Land and Income Tax Department	2,175	57,837	
41	" Stamp Duties Department	19,305	99,055	
45	,, National Provident and Friendly Societies Department	25	24,269	
47	" Post and Telegraph Working Expenses	740,400	2,506,052	
55	" Public Buildings	76,700	138,217	
57	" Government and Other Domains	••	7,488	
59	" Maintenance and Repairs to Roads	2,000	128,150	
60	" Maintenance of Irrigation Works, &c	100	9,000	
61	,, Native Department	9,415	34,795	
64	" Department of External Affairs	500	39,498	
66	" Cook Islands	11,100	43,719	
68 70	,, Department of Industries and Commerce , Department of Justice	$\substack{4,295\\11,060}$	50,775 $142,418$	
77	Prigona Donartment	71,200	94,844	
82	" Crown Law Office	765	6,304	
84	,, Police Department	5,810	422,367	
87	" Pensions Department	2,832	181,846	
90	,, Mines Department	1,440	55,977	
94	" Department of Internal Affairs	67,714	366,830	
13	" Audit Department	19,000	30,574	
15	" Public Service Commissioner's Office	2,000	8,586	
17	" Printing and Stationery Department	117 000	241,920	
$\frac{20}{26}$	" Mental Hospitals Department , Department of Health	$117,000 \\ 93,720$	331,134 $281,027$	
34	Navel Defense	30,667	545,526	
$\frac{37}{37}$,, Defence Department	28,350	500,865	
46	" Customs Department	1,600	173,001	
52	" Marine Department	7,326	128,561	
61	,, Department of Labour	1,000	55,086	
64	" Department of Lands and Survey	116,300	181,649	
70	" Scenery-preservation	50	12,747	
71	,, Valuation Department	11,795	55,778	
74 76	,, Electoral Department	50 89 340	6,579	
76 8 7	" Department of Agriculture	$89,340 \\ 766$	3 6 9,080 7 6 ,870	
$\frac{92}{92}$	Department of Education	239,260	2,986,020	
10	" Department of Scientific and Industrial		6,115	
	Research	1,798,426	10,528,687	
	TOTAL—ORDINARY REVENUE ACCOUNT	1,798,426	24, 222, 446	

Appropriations for Services of Separate Accounts and Accounts outside the Public Account.

${\bf SUMMARY-} continued.$

Page	Summary of Services Chargeable on the Con-	1926–27.			
	solidated Fund and other Accounts— $contd$.	Credits-in-aid.	Net Totals.		
	OTHER ACCOUNTS.	£	£		
211	Nauru and Ocean Islands Account		1,000		
	Summary of Services chargeable on Separate Accounts and Accounts outside the Public Account.				
	SEPARATE ACCOUNTS.				
$212 \\ 213 \\ 215$	Discharged Soldiers Settlement Account Land for Settlements Account Land for Settlements Account (Discharged Soldiers Settlement Account)	25 50 693	41,175 4,786 5,408		
216	Main Highways Account— Main Highways Revenue Fund	10,000	646,500		
217	Native Land Settlement Account		4,705		
218	State Coal-mines Account	5,300	275,661		
220	State Forests Account	1,006	240,665		
227	Westport Harbour Account	70	20,149		
229	Working Railways Account	700,000	6,477,085		
					
	ACCOUNTS OUTSIDE THE PUBLIC ACCOUNT.				
241	Public Trustee's Account		241,880		
244	Native Trustee's Account	0.900	13,954		
246	Government Insurance Account	2,300	106,739		
249 250	Public Service Superannuation Fund Account	6 550	8,09		
$\begin{array}{c} 250 \\ 252 \end{array}$	State Fire Insurance Account	6,550	$ \begin{array}{r} 38,624 \\ 16,700 \end{array} $		
±04	State Advances Account—		10,70		
253	Advances to Settlers Branch	16,225	38,99		
255	Advances to Workers Branch	2,900	7,37		
		1 2,000			
256	Advances to Local Authorities Branch		1,858		

1926-1927.

CIVIL LIST

	1926–27.					
	Salaries.	Other Charges.	Total.			
	£	£	£			
Civil List Act, 1920 (Part I)—						
His Excellency the Governor-General	5,000	2,500	7,500			
Civil List Act, 1920 (Part II)—						
Establishment of the General Government	13,720	1,800	15,520			
Civil List Act, 1920 (Part V)—						
For Native Purposes	•••	7,000	7,000			
<u> </u>						
TOTAL—CIVIL LIST	18,720	11,300	30,020			

PERMANENT CHARGES.

DEBT SERVICES—INTEREST.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
New Zealand Loans Act, 1908— Aid to Public Works and Land Settlement Act, 1896	£ 175,000 25,000	4 6	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	£ 7,000 1,500	£	£
	200,000			8,500		8,500
Aid to Public Works and Land Settlement Act, 1900	91,300 600	4 5½	1 May and 1 Nov. 1 Jan. and 1 July	3,652 33		
	91,900			3,685		3,685
Aid to Public Works and Land Settlement Act, 1900, and Finance Act, 1915 (Section 106)	54,300	4.1	1 May and 1 Nov.	2,444	-	2,444
Aid to Public Works and Land Settlement Act, 1901	104,500	4	1 June and 1 Dec.	4,180	••	4,180
Aid to Public Works and Land Settlement Act, 1901, and Finance Act, 1915 (Section 106)	1,800	41/2	1 June and 1 Dec.	81		81
Aid to Public Works and Land Settlement Act, 1902	143,500 300 1,700	4 4½ 5¼	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	5,740 14 89		
	145,500	-		5,843	<u> </u>	5,843
Aid to Public Works and Land Settlement Act, 1902, and Finance Act, 1915 (Section 106)	211,100	41/2	1 June and 1 Dec.	9,500		9,500
Aid to Public Works and Land Settlement Act, 1903	207,625 300 272,040 16,500	4 6 4½ 5½	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	8,305 18 12,242 908		
	496,465	-1		21,473		21,478
Aid to Public Works and Land Settlement Act, 1903, and Finance Act, 1915 (Section 106)	10,800 15,700	4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug.	486 707		
, ,	26,500	_		1,193		1.193
Aid to Public Works and Land Settlement Act, 1905	153,700 53,500	5½	1 Jan. and 1 July 1 Jan. and 1 July	6,148 2,943	-	0.003
A'7 (7) 17' 197 7 . 7 T 7	207,200	-	1.7 . 1.3.7.1	9,091	-	9,091
Aid to Public Works and Land Settlement Act, 1905, and Finance Act, 1915 (Section 106)	500,500	4½	1 Jan. and 1 July	22,523	-	22,523
Aid to Public Works and Land Settlement Act, 1906	681,500 600 100,000 26,800	4 4½ 5¼ 6	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	27,260 27 5,250 1,608		
	808,900			34,145		34,145
Aid to Public Works and Land Settlement Act, 1906, and Finance Act, 1915 (Section 106)	28,100	4½	1 Jan. to 1 July	1,265	••	1,265
Aid to Public Works and Land Settlement Act, 1907	200,500 145,500 152,800	4 6 5 1	1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug.	8,020 8,730 8,404		
	498,800			25,154	•	25,154
Aid to Public Works and Land Settlement Act, 1907, and Finance Act, 1915 (Section 106)	120,800	41/2	1 Jan. and 1 July	5,436	-	5,436
Aid to Public Works and Land Settlement Act, 1908	50,000	4	1 April and 1 Oct.	2,000	·•	2,000
Aid to Public Works and Land Settlement Act, 1911	149,000	4	1 Jan. and 1 July	5,960	-	5,960
Aid to Public Works and Land Settlement Act, 1912	186,500	4	15 April and 15 Oct.	7,460	-	7,460

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
Aid to Public Works and Land Settlement Act, 1912, and Finance Act, 1915 (Section 106)	£ 19,500	4½	15 April and 15 Oct.	£ 877	£	£ 877
Aid to Public Works and Land Septlement Act, 1914	2,450,000	4	1 May and 1 Nov.	98,000		98,000
Aid to Public Works and Land Settle- ment Act, 1921	1,075,500 330 15,350 207,300	$\begin{array}{c c} 4 \\ 4\frac{1}{2} \\ 5\frac{1}{2} \\ 6 \end{array}$	1 June and 1 Dec. 1 June and 1 Dec. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	43,020 15 844 12,438		
Aid to Water-power Works Act; 1910	1,298,480	. 4	1 May and 1 Nov.	7,560	••	56,317
11 ta 10 11 ta 10 pouci 11 oi 11 c 11 cu, 10 i o	280,000	41/2	1 May and 1 Nov.	12,600 20,160		
Recoverable from Electric Supply	469,000			20,160	20,160	
Account Appropriation Act, 1912 (Irrigation	15,000	4	1 May and 1 Nov.	600		600
and Water-supply Account) Appropriation Act, 1918 (Section 33),	75,000	4	1 Mar. and 1 Sept.	3,000		
(Waimarino Bush Fire Relief) Recoverable from General Purposes Relief Account	••				2,200	800
Coal-mines Act, 1908	120,000 30,000	4	1 April and 1 Oct. 1 April and 1 Oct.	4,800 1,350		
	150,000		•	6,150		
Recoverable from State Coal- mines Account	••		••	••	6,150	
Coal-mines Act, 1908, and Appropriation Act, 1912	25,000	4	I April and 1 Oct.	1,000		
Recoverable from State Coal- mines Account	••				1,000	
Deteriorated Lands Act, 1925 On further issues, say	2,000	4	1 April and 1 Oct.	80 400		•
	2,000		·	480		480
Discharged Soldiers Settlement Act, 1915, and Amendment Act, 1916	36,000 64,000	$\begin{array}{ c c }\hline 4\\4\frac{1}{2}\\ \end{array}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	1,440 2,880		
	100,000			4,320		
Recoverable from the Discharged Soldiers Settlement Account	•••		••	••	4,320	
Discharged Soldiers Settlement Act, 1915, and Finance Act, 1917 (Section 82)	170,000 230,000	$\frac{4\frac{1}{2}}{4}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	7,6 5 0 9,2 0 0		
(Section 62)	400,000	-		16,850		
Recoverable from the Discharged Soldiers Settlement Account		• •		••	16,850	
Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Land for Settlements)	2,953,850 83,200 5,000	$\begin{array}{c} 4\\4\frac{1}{2}\\5\end{array}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	118,154 3,744 250		
	3,042,050			122,148		
Recoverable from Land for Settle- ments Account (Discharged Soldiers Settlement Account)				••	75,000	47,148
Discharged Soldiers Settlement Loans Act, 1920	250,000 22,450 1,325,000 73,660 38,000	4 54 51 5 6	1 Mar. and 1 Sept. 1 Jan. and 1 July 15 Jan. and 15 July 15 Jan. and 15 July 1 Feb. and 1 Aug.	10,000 $1,179$ $72,875$ $3,683$ $2,280$		
	1,709,110			90,017		
Recoverable from Discharged Soldiers Settlement Account	••				90,017	

						
Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
District Railways Purchasing Acts, 1885-86	£ 40,000	4	1 Jan. and 1 July	£ 1,600	£	£ 1,600
Education Purposes Loans Act, 1919	1,020,000 118,000 1,750 5,000 600	$\begin{array}{c c} 4 \\ 4\frac{1}{2} \\ 5 \\ 6 \\ 5\frac{1}{2} \end{array}$	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	40,800 5,310 88 300 33		
On further issues, say	800 253,900 10,250 .7,800 45,950	5 514 514 512 6	1 Feb. and 1 Aug. 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	13,330 538 429 2,757		
On further issues, say	1,464,050		••	5,000		
Recoverable from Masterton Trust Lands Trustees			* **	68,625	357	68,268
Electric Power Works Loans Act, 1919	51,650 4,000 212,500	5 5½ 5	15 Jan. and 15 July 1 June and 1 Dec. 1 May and 1 Nov.	2,583 220 10,625	1	
	268,150			13,428		
Recoverable from the Electric Supply Account	••	•		• •	13,428	
Finance Act, 1909 (Public Works)	46,901	4	1 Feb. and 1 Aug.	1,876		1,876
Finance Act 1915, (Section 105), (Public Works)	517,025 66,630 780,555	$\begin{array}{c c} 4\frac{1}{2} \\ 5\frac{1}{2} \\ 4 \end{array}$	15 June and 15 Dec. 15 June and 15 Dec. 15 June and 15 Dec.	23,266 3,665 31,222		
	1,364,210			58,153		58,153
Finance Act, 1916 (Section 35), (War Expenses)	189,400 1,600 5,417,950	6 4 4 ¹ / ₂	1 Feb. and 1 Aug. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	11,364 64 243,808		
	5,608,950			255,236		255,236
Finance Act, 1916 (Section 49), (Public Works)	950,000	4	1 Feb. and 1 Aug.	38,000	••	38,000
Finance Act, 1916 (Section 50), (State Forests) Recoverable from State Forests	50,000	$4\frac{1}{2}$	1 Feb. and 1 Aug.	2,250	2,250	
Account Finance Act, 1916 (Section 50), and Finance Act, 1920 (Section 16),	27,000 8,000	$\begin{array}{c} 4 \\ 4 \\ 4 \\ 2 \end{array}$	I Feb. and I Aug. I Feb. and I Aug.	1,080 360		
(State Forests)	35,000			1,440		
Recoverable from State Forests			••		1.440	
Account Finance Act, 1917 (Section 77), (Aid to Public Works)	725,000	4	1 Feb. and 1 Aug.	29,000		29,000
Finance Act, 1918 (Section 10), (War Expenses)	40,000 32,290 2,232,900 25,900 75,050	$4\frac{1}{2}$ 5 4 5 4 5 4	1 June and 1 Dec. 1 Jan and 1 July 20 April and 20 Oct. 1 Feb. and 1 Aug. 1 Jan. and 1 July	1,800 1,615 89,316 1,360 3,940	10.27	
	2,406,140			98,031		98,031
Finance Act, 1918 (No. 2), (Part IV), (War Expenses)	$ \begin{array}{c c} & 20,200 \\ 2,547,010 \\ \end{array} $	$rac{4rac{1}{2}}{4rac{1}{2}}$	l Jan. and l July 20 April and 20 Oct.	909 114,615		
	1,990 32,050	5 5 54	1 Jan. and 1 July 20 April and 20 Oct. 1 Jan. and 1 July	100 1,683		
	2,601,810			117,335		117,335
inance Act, 1918 (No. 2), (Section	2,500,000	4	1 Feb. and 1 Aug.	100,000	• •	100,000
29), (Public Works)						
29), (Public Works) inance Act, 1918 (No. 2), (Section 30), Cold-storage Advances Account	75,250	4	1 Mar. and 1 Sept.	3,010		

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

						
Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
Finance Act, 1918 (No. 2), (Section	£ 151,000	4	1 Feb. and 1 Aug.	£ 6,040	£	£
32), (State Forests)	49,000	$4\frac{1}{2}$	1 Feb. and 1 Aug.	2,205		
	200,000			8,245	0.945	
Recoverable from State Forests Account	••	•••	. • •	••	8,245	
Finance Act, 1919 (Section 5), (Public Works)	500,000	4	1 Feb. and 1 Aug.	20,000	••	20,000
Finance Act, 1920 (Section 15), (Electric-power Works)	30,000 104,450	$\frac{4\frac{1}{2}}{5\frac{1}{2}}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,350 5,745	,	
	134,450			7,095		
Recoverable from Electric Supply Account		•••	••	•• .	7,095	
Finance Act, 1920 (Section 15), (Public Works)	1,699,240 243,800 94,800	4 4½ 5	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	67,970 10,971 4,740		
	2,037,840		,	83,681	••	83,681
Finance Act, 1920 (Section 15), (Nauru and Ocean Islands)	539,850	5	1 June and 1 Dec.	26,993		
Recoverable from the Nauru and Ocean Islands Account	••		••		26,993	
Finance Act, 1921 (Section 10), (Public Works)	150,000 100,000	$\begin{array}{c c} 4\\ 4\frac{1}{2} \end{array}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	6,000 4,500		
	250,000			10,500	• •	10,500
Finance Act, 1921-22 (Section 26),	100,000	5	1 April and 1 Oct.	5,000		
(Samoan Loan Account) Recoverable from Samoan Administration	. ••	•••	••	••	5,000	
Finance Act, 1924 (Section 2), (Public Works)	4,170 13,150 75,000	5 5½ 5½	1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug.	209 690 4,125		
	92,320			5,024]	5,024
Finance Act, 1925 (Section 4), (Samoan Loan)	10,000	5	I April and 1 Oct.	500		
Recoverable from Samoan Administration		••		••	500	
Fishing Industry Promotion Act, 1919	520 4,425 270	$\frac{4}{4\frac{1}{2}}$ 5	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	21 199 14		
	5,215	_		234		
Recoverable from State Advances Office			••		220	14
Forests Act, 1921–22	10,000	$4\frac{1}{2}$	1 Feb. and 1 Aug.	450		
Recoverable from State Forests Account		- 	••		450	
Forests Act, 1921-22, and Finance Act, 1924 (Section 16)	100,000	5	1 Feb. and 1 Aug.	5,000	-	
Recoverable from State Forests Account	••	••	••	••	5,000	
Fruit-preserving Industry Act, 1913, and Finance Act, 1917 (Section	65,110	4	1 April and 1 Oct.	2,604	-	
80) Recoverable from State Advances Office		••		••	2,300	304
Funded Debt.—Finance Act, 1922 (Section 8)—						
Aid to Public Works and Land Settlement Act, 1910	183,621	*	1 June and 1 Dec.	9,105		
Finance Act, 1916 (Section 35), (War Expenses)	4,553,600	*	1 June and 1 Dec.	225,801		

^{*£4 19}s. 5.88d, per cent. on reducing balance of outstanding debt.

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Prin c ipal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
Funded Debt—continued. Finance Act, 1918 (Section 10), (War Expenses)	£ 6,344,682	*	1 June and 1 Dec.	£ 314,617	£	£
Land for Settlements Act, 1908 Naval Defence Act, 1909 Public Revenues Amendment Act,	36,316 715,800 1,987,434	*	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	1,801 35,331 98,552	!	
1914 (Section 8), (War Expenses) Public Revenues Amendment Act, 1915 (Section 5), (War Expenses)		*	1 June and 1 Dec.	3 86,406		
War Purposes Loan Act, 1917 (Section 2), and War Purposes	4,643,154	*	1 June and 1 Dec.	230,242		
Loan Act, 1917 (No. 2)	26,257,022			1,301,855		
Recoverable from Land for Settlements Account	••		••	• •	1,801	1,300,054
Government Railways Act, 1908	500	6	I Jan. and 1 July	30		30
Government Railways Act, 1908— Railways Improvement Authoriza- tion Acts, 1904–7	193,600 35,200	4 6	l Jan. and l July l Jan. and l July	7,744 2,112		· .
	228,800			9,856	••	9,856
Government Railways Act, 1908, Railways Improvement Authorization Acts, 1904–7, and Finance	600 1,600 500	$4\frac{1}{2}$ $4\frac{1}{2}$ $4\frac{1}{2}$	I Jan. and I July 1 Mar. and I Sept. 30 June and 31 Dec.	27 72 22		
Act, 1915 (Section 106)	2,700			121	••	121
Government Railways Act, 1908, and Finance Act, 1909	55,500 1,000	4 4 1 2	l Jan. and l July l Feb. and l Aug.	2,220 45		
	56,500			2,265		2,265
Government Railways Act, 1908, Fi- nance Act, 1909, and Finance Act, 1915 (Section 106)	15,100 1,200	4½ 4½	1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	679 54		
101, 1010 () 60000 100)	16,300			733	••	733
Government Railways Amendment Act, 1910	162,670 1,160 3,000	4 4 <u>1</u> 4 <u>1</u>	l Jan. and l July l Jan. and l July l Feb. and l Aug.	6,507 52 135		
·	166,830			6,694		6,694
Government Railways Amendment Act, 1910, and Finance Act, 1915 (Section 106)	1,500	41/2	1 Jan. and 1 July	68	••	68
Harbours Act, 1908, and Greymouth Harbour Loans Consolidation Act,	260,000	4	l Jan. and l July	10,400		
1910, and Amendment Act, 1910 Recoverable from the Greymouth Harbour Board					10,400	
Hawraki Plains Amendment Acts, 1913 and 1914	25,000 19,000	4 41/2	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,000 855		
	44,000			1,855		
Recoverable from Hauraki Plains Settlement Account	••		••	••	1,855	
Hauraki Plains Amendment Act, 1913, and Appropriation Act, 1918 (Section 43)	74,000 6,000	4 4½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	2,960 270		
).	80,000		<u> </u>	3,230		
Recoverable from Hauraki Plains Settlement Account		••	••	••	3,230	••
Hauraki Plains Amendment Act, 1913, and Appropriation Act, 1919 (Section 18)	20,000 30,000	4 4 ½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	800 1,350		
(50,000			2,150		
Į.						

^{*} ± 4 19s. 5'88d. per cent. on reducing balance of outstanding debt. not included in Public Debt.

[†] Greymouth Harbour Loan guaranteed by Government

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amou nt .	Recoverable.	1926–27.
Hauraki Plains Amendment Act, 1913, and Finance Act, 1920 (Section	£ 100,000	4 ½	1 Feb. and I Aug.	£ 4,500	£	£
16) Recoverable from Hauraki Plains Settlement Account	••			••	2,765	1,735
Hauraki Plains Amendment Act, 1913, and Finance Act, 1921-22 (Section 23)	7,000 23,000 20,000	4 4½ 5	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	280 1,035 1,000		
	50,000			2,315	••	2,315
Hauraki Plains Amendment Act, 1913, and Finance Act, 1922 (Section 17)	10,000 90,000	4 4½	l Feb. and l Aug. l Feb. and l Aug.	400 4,050		
(Section 11)	100,000		*	4,450	••	4,450
Hauraki Plains Amendment Act, 1913, and Finance Act, 1923 (Section 4)	40,000	$\begin{array}{c c} 4\\ 4\frac{1}{2} \end{array}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,600 450		
	50,000			2,050		2,050
Hauraki Plains Amendment Act, 1913, and Finance Act, 1924 (Section 4)	90,000	$rac{4}{4rac{1}{2}}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	3,600 450		
(~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	100,000			4,050		4,050
Hauraki Plains Amendment Act, 1913, and Finance Act, 1925 (Section 5) On issues, say			,,	500	••	500
Housing Act, 1919 (Section 30), (Housing Account)	255,000 140,650	4 4½	1 Jan. and 1 July 1 Jan. and 1 July	10,200 6,329		
e e	395,650			16,529	.	
Recoverable from State Advances Office	••			••	16,529	••
Housing Act, 1919 (Section 46), (Loans to Employers for Workers' Dwellings Account)	3,975	4	1 Jan. and 1 July	159		
Recoverable from State Advances Office	••	••	• •	••	100	59
Hutt Railway and Road Improvement Acts, 1903, 1905, 1907, and 1910	284,180 15,700 5,200 300	$egin{array}{c} 4 \\ 4rac{1}{2} \\ 4rac{1}{2} \\ 6 \end{array}$	1 May and 1 Nov. 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Jan. and 1 July	11,367 707 234 18		
	305,380			12,326	••	12,326
Irrigation and Water-supply Act, 1913	40,100 59,900	4 4	l April and 1 Oct. l May and l Nov.	1,604 2,396		
	100,000			4,000	••	4,000
Kauri-gum Industry Amendment Act, 1914	35,000 15,000	4 4½	1 May and 1 Nov. 1 May and 1 Nov.	1,400 675		
	50,000			2,075	••	2,075
Kauri-gum Industry Amendment Act, 1914, and Appropriation Act, 1918 (Section 45)	3,000 22,000	4 41/2	1 May and 1 Nov. 1 May and 1 Nov.	120 990		
	25,000		-	1,110	••	1,110
Lands Improvement and Native Lands Acquisition Act, 1894	400,000	4	1 Feb. and I Aug.	16,000	•••	16,000
Land for Settlements Act, 1908	544,995 464,025 200,200 18,600 11,200 141,100	4 4½ 5¼ 5½ 6 4½	1 Jan. and 1 July 1 Feb. and 1 Aug.	21,800 20,881 10,510 1,023 672 6,350		

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
Land for Settlements Act, 1908—ctd.	£ 29,600 9,700 37,000 800 73,300 45,100	$\begin{array}{c c} 5\frac{1}{2} \\ 6 \\ 5 \\ 4\frac{1}{2} \\ 4\frac{1}{2} \\ 4\frac{1}{2} \\ 4\frac{1}{2} \\ \end{array}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 15 Mar. and 15 Sept. 31 Mar. and 30 Sept. 1 April and 1 Oct. 1 April and 1 Oct. 1 May and 1 Nov.	£ 1,628 582 1,850 3,299 28 2,029	£	£
Recoverable from the Land for Settlements Account	1,576,120	-	••	70,688	70,688	
Land for Settlements Act, 1908, and Finance Act, 1915 (Section 106)	124,525 105,500 127,500 71,700 110,000	4½ 4½ 4½ 4½ 4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug. 31 Mar. and 30 Sept. 1 April and 1 Oct. 1 May and 1 Nov.	5,604 4,748 5,737 3,226 4,950		
	539,225			24,26 5		
Recoverable from the Land for Settlements Account	•••		••	• •	24,265	
Land Laws Amendment Act, 1913	16,200 8,000 1,000 255,000 196,000 20,000 15,000 719,050 191,100 100,000	5 4 1 2 4 1 2 4 4 1 2 1 2 1 2 1 2 1 2 1 2	l Jan. and 1 July 22 Jan. and 22 July 1 Feb. and 1 Aug. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 26 Mar. and 26 Sept. 29 Mar. and 29 Sept. 1 April and 1 Oct. 1 April and 1 Oct. 1 June and 1 Dec.	851 360 52 11,475 9,800 1,000 675 28,762 8,600 4,500		
	1,521,350			66,075		
Recoverable from the Land for Settlements Account	••	••	••		66,075	
Land Laws Amendment Act, 1913, and Appropriation Act, 1918 (Section 42)	7,000	4 4½	1 April and 1 Oct. 1 Jan. and 1 July	25,600 315	-	
	647,000	-		25,915	-	
Recoverable from the Land for Settlements Account	••	•••	••	••	25,915	
Land Laws Amendment Act, 1913, and Finance Act, 1915 (Section 106)	9,300 9,500	4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug.	9 419 428	-	
Recoverable from the Land for Settlements Account	••			••	428	
Local Bodies' Loans Act, 1908— Government Loans to Local Bodies' Act, 1886	250,300	4	1 Mar. and 1 Sept	10,012	••	10,012
Local Bodies' Loans Act, 1908	1,901,000	4	1 Feb. and 1 Aug.	76,040	-	76,040
Maori Land Settlement Act, 1905	500 181,175	5 <u>1</u> 4	1 Jan. and 1 July 1 Feb. and 1 Aug.	26 7,247		
	181,675			7,273	••	7,273
Maori Land Settlement Act, 1905, and Finance Act, 1915 (Section 106)	14,475	41/2	1 Jan. and 1 July	651		651
Maori Land Settlement Act Amend- ment Act, 1907	50,000	4	1 Jan. and 1 July	2,000	-	2,000
Mining Amendment Act, 1913	11,500	4	1 May and 1 Nov.	460	-	
,						

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
Mining Amendment Act, 1913, and Amendment Act, 1919	£ 12,000 17,050	4 4½	1 May and 1 Nov. 1 May and 1 Nov.	£ 480 767	£	£
	29,050			1,247	••	1,247
Native Land Amendment Act, 1913 On further issues, say	1,330,900 771,500 25,000 1,300 3,000	4 4½ 5 5 4½	1 April and 1 Oct. 1 April and 1 Oct. 1 April and 1 Oct. 1 April and 1 Oct. 5 June and 5 Dec.	53,236 34,718 1,250 69 135 1,000		
, ,	2,131,700			90,408		
Recoverable from the Native Land Settlement Account			•		65,000	25,408
Native Land Purchases Act, 1892	125,000	4	30 April and 31 Oct.	5,000		5,000
New Zealand Loans Act, 1908— Consolidated Loan Act, 1867	13,000	4	15 April and 15 Oct.	520	••	52 0
Consolidated Stock Act, 1884	744,700	4	1 Feb. and 1 Aug.	29,788	••	29,788
Defence and other Purposes Loan Act, 1870	100,000	4	l Feb. and l Aug.	4,000		4,000
General Purposes Loan Act, 1873	59,900 800	4 5	28 May and 28 Nov. 28 May and 28 Nov.	2,396 40		
	60,700			2,436		2,436
Immigration and Public Works Loan Act, 1870	27,900	4	I Feb. and I Aug.	1,116	••	1,116
New Zealand Consolidated Inscribed Stock (London issue)— New Zealand Loan Act, 1882	3,000,000	4	1 May and 1 Nov.	120,000		
New Zealand Loan Act, 1884 New Zealand Loan Act, 1886 North Island Main Trunk Railway Loan Act, 1882	1,500,000 1,408,461 1,000,000	4 4 4	1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	60,000 56,338 40,000		
New Zealand Loan Act, 1888 First series of Conversions Second series of Conversions Third series of Conversions Sixth series of Conversions Expenses of Conversions and Rais-	1,000,000 5,021,200 6,263,811 4,688,444 4,557,047 619,500	4 4 4 4 4	1 May and 1 Nov.	40,000 200,848 250,553 187,538 182,282 24,780		
ing Loans Additional to £3,000,000 Loan, 1912 For Redemptions		4 4 4 4	1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	4,000 9,220 84 8,000		
Recoverable from—	29,591,063			1,183,643		
Land for Settlements Account State Coal-mines Account State Advances Office			 	••	951 21 9,549	
					10,521	1,173,122
£3,000,000 Loan, 1912 Additional to £3,000,000 Loan, 1912 Conversions £3,500,000 Loan, October, 1913	3,000,000 600,000 1,951,825	4 4 4	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	120,000 24,000 78,073		
Conversions £4,500,000 Loan, January, 1914 Bank of New Zealand Act, 1913	375,000	4	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	183,600 15,000		
Part Charges and Expenses £3,000,000 Loan, 1913 For Redemption Expenses	100,000 5,000	4	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	4,000		
For Conversions, Aid to Public Works and Land Settlement Act, 1914 (scrip)	262,803	4	1 Feb. and 1 Aug.	10,512		:
	10,884,628			435,385		

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926-27.
New Zealand Consolidated Inscribed Stock (London issue)—contd.	£			£	£	£
Recoverable from— Land for Settlements Account State Coal-mines Account State Advances Office			 		34,346 2,067 113,381	
					149,794	
	2,768,000 624,668 1,036,000 12,647,541 85,323	3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	96,880 21,863 36,260 442,664 2,986		285,591
Naval Defence Act, 1909	15,000	31	1 Jan. and 1 July	525		
	17,176,532			601,178		
Recoverable from— Land for Settlements Account State Coal-mines Account Cheviot Estate Account State Advances Office		••	 	• •	35,192 14 7,396 36,133	
					78,735	522,443
Government Advances to Settlers Loan	2,750,000	3	1 April and 1 Oct.	82,500		·
Government Advances to Settlers Loan	240,000	3	1 April and 1 Oct.	7,200		
Aid to Public Works and Land Settlement Loan	2,500,000	3	1 April and 1 Oct.	75,000		
For Conversion, Aid to Public Works	759,000	3	1 April and 1 Oct.	22,770		
For Conversions	3,368,617 $42,364$	3 3	1 April and 1 Oct. 1 April and 1 Oct.	101,058 1,271		
Recoverable from—	9,659,981			289,799		
Land for Settlements Account State Advances Office	••		••		2,075 89,700	
					91,775	
New Zealand Consolidated Stock, 1933-43— Aid to Public Works and Land Settlement Act, 1922	3,000,000	4	1 Jan. and 1 July	120,000		198,024
New Zealand State-guaranteed Ad-						
vances Acts, 1909-10— Land for Settlements Branch Advances to Settlers Branch Advances to Workers Branch	210,000 40,000 750,000	4 4 4	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	8,400 1,600 30,000	,	
	4,000,000		,	160,000		
Recoverable from— Land for Settlements Account State Advances Office			• •	• •	8,400 31,600	
					40,000	120,000
New Zealand Consolidated Stock, 1935-45	90,000		1 Tan 31 T 1	1 504		120,000
Aid to Public Works and Land Settlement Act, 1902	30,083	5	1 Jan. and 1 July	1,504	••	••
Aid to Public Works and Land Settlement Act, 1921	i .	5	1 Jan. and 1 July	143,078	• •	• •
Discharged Soldiers Settlement Loans Act, 1920		5	1 Jan. and 1 July	12,775		
Education Purposes Loans Act, 1919	510,992	5	1 Jan. and 1 July	25,550	••	• •
Electric-power Works Loan Act, 1919	510,991	5	1 Jan. and 1 July	25,549		
Forest Act, 1921–22 Native Land Amendment Act, 1913	$204,397 \\ 255,496$	5 5	1 Jan. and 1 July 1 Jan. and 1 July	$ \begin{array}{c c} 10,220 \\ 12,775 \end{array} $		• •
War Purposes Loan Act, 1917	510,992	5	1 Jan. and 1 July	25,549		• •
Recoverable from—	5,140,000			257,000		
State Forests Account Discharged Soldiers Settlement	••	•••	••	••	10,220 12,775	
Account Electric Supply Account					25,549	
					48,544	

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amou n t.	Recoverable.	1926–2 7.
New Zealand Consolidated Stock,	£	<u>, </u>		£	£	£
1936-51— Electric-power Works Loan Act, 1919	1,076,938	6	1 Feb. and 1 Aug.	64,616		
Finance Act, 1916 (Section 50), and Finance Act, 1920 (Section	1,775	6	1 Feb. and 1 Aug.	107		
16), (State Forests) Finance Act, 1918 (No. 2), (Part	512,533	6	1 Feb. and 1 Aug.	30,752		••
IV), (War Expenses) Finance Act, 1920 (Section 15), (Electric Power-works)	807,704	6	1 Feb. and 1 Aug.	48,462		
Finance Act, 1921 (Section 10), (Public Works)	2,423,112	6	1 Feb. and 1 Aug.	145,387		• •
Railways Improvement Authoriza- tion Act, 1914	1,076,938	6	I Feb. and I Aug.	64,616		••
	5,899,000			353,940		
Recoverable from— State Forests Account Electric Supply Account			••	••	107 113,078	
7 1 1 0 111 1 0 1				-	113,185	040 855
New Zealand Consolidated Stock, 1944—	994 059	,	1 Man and 1 Stant	14 810		240,755
Aid to Public Works and Land Settlement Act, 1922 Education Purposes Loans Act, 1919	324,852 250,000	4½ 4½	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	14,618 11,250		••
Finance Act, 1923 (Section 2), (Public Works)	3,222,600	$4\frac{1}{2}$	1 Mar. and 1 Sept.	145,017		
Native Land Amendment Act, 1913 New Zealand State Guaranteed Advances Acts, 1909-10—	200,000	41	1 Mar. and 1 Sept.	9,000		••
Advances to Settlers Branch Advances to Workers Branch Land for Settlements Branch	4,331 81,213 22,740	$4\frac{1}{2}$ $4\frac{1}{2}$ $4\frac{1}{2}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	195 3,655 1,023		
State Advances Act, 1913— Advances to Settlers Branch Advances to Workers Branch Swamp Drainage Act, 1915, and	1,603,132 1,603,132 50,000	$egin{array}{c} 4rac{1}{2} \ 4rac{1}{2} \ 4rac{1}{3} \end{array}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	72,141 $72,141$ $2,250$		
Appropriation Act, 1918 (Section 46)	7,362,000		· · · · · ·	331,290		
Recoverable from— State Advances Office Land for Settlements Account Swamp Land Drainage Account			 	 	148,132 1,023 2,250	
•					151,405	
New Zealand Consolidated Stock, 1945—						179,885
Aid to Public Works and Land Settlement Act, 1922		$\frac{4\frac{1}{2}}{41}$	1 Mar. and 1 Sept.	48,780	••	••
Electric-power Works Loan Act, 1919	542,004	$4\frac{1}{2}$	1 Mar. and 1 Sept.	24,390		
Finance Act, 1923 (Section 2), (Public Works) Finance Act, 1924 (Section 2),		$\frac{4\frac{1}{2}}{41}$	1 Mar. and 1 Sept.	48,780		••
(Public Works) Main Highways Act, 1922	542,005	$\frac{4\frac{1}{2}}{4\frac{1}{2}}$	1 Mar. and 1 Sept. 1 Mar. and 1 Sept	73,171 24,390	••	••
Railways Improvement Authorization Act, 1914	542,005	$4\frac{1}{2}$	1 Mar. and 1 Sept.	24,390		••
State Advances Act, 1913—	1,084,009	41	1 Mar. and 1 Sept.	48,781		
	1,084,009	41	1 Mar. and 1 Sept.	48,781		
	7,588,064		•	341,463		
Recoverable from— Electric Supply Account Main Highways Account State Advances Office	••		••	• •	24,390 24,390 97,562	
State Advances Office	• •	••	••	••	146,342	
New Zealand Consolidated Stock, 1951— State Advances Act, 1913—						195,121
	1,250,000	$5\frac{1}{2}$	1 Feb. and 1 Aug.	68,750		
Recoverable from State Advances Office	• •	••		••	68,750	

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amou n t.	Recoverable.	1926-27.
New Zealand Consolidated Stock	£	<u> </u>		£	€	£
(1926 issue) — Electric-power Works Loan Act,	1,100,000	5	1 Jan. and 1 July	27,5 00		
1919) Finance Act, 1925 (Section 2),	1 .	5	l Jan. and 1 July	100,000	į	
(Public Works) Railways Improvement Authoriza-	900,000	5	1 Jan. and 1 July	22,500	1	
tion Act, 1914	6,000,000		v	150,000		
Recoverable from Electric Supply	,,				27,500	
Account						122,500
'ew Zealand Inscribed Stock Act, 1917—						
Aid to Public Works and Land Settlement Act, 1900	600	51	l Mar. and 1 Sept.	32	•••	32
Aid to Public Works and Land Settlement Act, 1902	38,700	51	l Mar. and I Sept.	2,032	••	2,032
Aid to Public Works and Land Settlement Act, 1903	4,430 1,000	5½ 5½	1 Jan. and 1 July 1 Feb. and 1 Aug.	244 [*] 53		
	2,500 200	$\begin{bmatrix} 5\frac{7}{2} \\ 5 \end{bmatrix}$	1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	138 10		
	183,800	51	1 Mar. and 1 Sept.	9,649		
	191,930			10,094	!	10,094
Aid to Public Works and Land Settlement Act, 1906	100 1,000	6 5 1	1 Jan. and 1 July 1 Mar. and 1 Sept.	$\begin{matrix} 6 \\ 53 \end{matrix}$		
	1,100	!		59		59
Aid to Public Works and Land	900	6	l Jan. and 1 July	54		
Settlement Act, 1907	258,900 1,700	$\frac{5\frac{1}{2}}{5\frac{1}{4}}$	I Feb. and I Aug. I Mar. and I Sept.	14,240 8 9		
	261,500			14,383		14,383
Aid to Public Works and Land Settlement Act, 1911	25,000	51	I Mar. and 1 Sept.	1,313	••	1,313
Aid to Public Works and Land Settlement Act, 1914	60,000 40,000	5 <u>1</u> 5½	1 Jan. and 1 July 30 June and 31 Dec.	3,150 2,200		
	100,000			5,350		5,350
Aid to Public Works and Land	24,170	5	l Jan. and l July	1,209		
Settlement Act, 1921	150,000 52,510	$5\frac{1}{4}$ $5\frac{1}{2}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	$7,875 \\ 2,889$		
	173,920	6	1 Feb. and 1 Aug.	10,435		
	400,600			22,408	••	22,408
Discharged Soldiers Settlement Loans Act, 1919 (Section 4)	10,000	$\frac{6}{5\frac{1}{4}}$	l Feb. and l Aug. l Mar. and l Sept.	4,800 525		
	99,000	$5\frac{1}{2}$	1 Feb. and 1 Aug.	4,950		
	180,000			10,275	••	10,275
D' 1 10 11' 0 11' 1 T	400	_	15 Ton and 15 Toles	90		
Discharged Soldiers Settlement Loans Act, 1920	107,710	$\frac{5}{5\frac{1}{4}}$	15 Jan. and 15 July 1 Jan. and 1 July	5,655		
	2,962,170 1,000	$\begin{bmatrix} 5\frac{1}{2} \\ 6 \end{bmatrix}$	15 Jan. and 15 July 15 Jan. and 15 July	162,919 60		
	3,071,280			168,654		
Recoverable from Discharged Soldiers Settlement Account			••	••	168,654	••
Education Purposes Loans Act, 1919	3,780	6	l May and l Nov.	227		
	7,000	6 51	1 Feb. and 1 Aug. 1 Jan. and 1 July	$\frac{420}{5,250}$	-	
	3,900 62,450	$5\frac{1}{2}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	$\begin{bmatrix} 215 \\ 3,279 \end{bmatrix}$	ļ	
	700	6	1 Jan. and 1 July	42		
	177,830	,		9,433	_	
Recoverable from Masterton Trust Lands Trustees	•••		••	••	388	9,045

New Zealand Inscribed Stock Act, 1917—continued. Electric-power Works Loan Act, 1919 Recoverable from Electric Supply Account Finance Act, 1915 (Section 105), (Public Works) Finance Act, 1916 (Section 35), (War Expenses) Finance Act, 1918 (Section 10), (War Expenses)	£ 804,460	5 4½ 5 1½ 4½ 5 5 4½ 5 5 4½ 5 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 5 1¼ 5 1¼ 5 5 1¼ 5 5 1¼	Half-yearly due Dates. 15 Jan. and 15 July 15 June and 15 Dec. 15 June and 15 Dec. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug. 15 May and 15 Nov. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 May and 15 Nov. 1 May and 15 Nov. 15 May and 15 Nov. 20 April and 20 Oct.	fross Amount. £ 40,223 31 418 7,875 4,461 12,785 37,831 116,833 5,564 29,114 388 189,730 208,625 400 14,055	£ 40,223	1926-27. £
1917—continued. Electric-power Works Loan Act, 1919 Recoverable from Electric Supply Account Finance Act, 1915 (Section 105), (Public Works) Finance Act, 1916 (Section 35), (War Expenses) Finance Act, 1918 (Section 10), 4 (War Expenses)	700 8,350 143,190 84,970 237,210 630,520 596,320 123,650 5,750 912,790 636,100 8,000 281,100 490,160 438,840 53,150 264,980 188,160 205,910	42 5555 64455 45545 45545	15 June and 15 Dec. 15 June and 15 Dec. 15 June and 15 Dec. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug. 15 May and 15 Nov. 1 Mar. and 1 Sept.	40,223 31 418 7,875 4,461 12,785 37,831 116,833 5,564 29,114 388 189,730 208,625 400 14,055		12,785
Electric-power Works Loan Act, 1919 Recoverable from Electric Supply Account Finance Act, 1915 (Section 105), (Public Works) Finance Act, 1916 (Section 35), (War Expenses) Finance Act, 1918 (Section 10), (War Expenses)	700 8,350 143,190 84,970 237,210 630,520 596,320 123,650 7,750 912,790 636,100 8,000 281,100 438,840 53,150 264,980 188,160 205,910	42 5555 64455 45545 45545	15 June and 15 Dec. 15 June and 15 Dec. 15 June and 15 Dec. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug. 15 May and 15 Nov. 1 Mar. and 1 Sept.	31 418 7,875 4,461 12,785 37,831 116,833 5,564 29,114 388 189,730 208,625 400 14,055	40,223	ĺ
ply Account Finance Act, 1915 (Section 105), (Public Works) Finance Act, 1916 (Section 35), (War Expenses) Finance Act, 1918 (Section 10), (War Expenses)	8,350 143,190 84,970 237,210 630,520 596,320 123,650 7,750 912,790 636,100 8,000 281,100 490,160 438,840 53,150 264,980 188,160 205,910	45 5 5 5 5 6 4 5 5 5 5 5 5 5 5 5 5 5 5 5	15 June and 15 Dec. 15 June and 15 Dec. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug. 15 May and 15 Nov. 1 Mar. and 1 Sept. 15 May and 15 Nov. 1 May and 1 Nov. 15 May and 15 Nov. 15 May and 15 Nov.	418 7,875 4,461 12,785 37,831 116,833 5,564 29,114 388 189,730 208,625 400 14,055		, ,
Finance Act, 1915 (Section 105), (Public Works) Finance Act, 1916 (Section 35), (War Expenses) Finance Act, 1918 (Section 10), (War Expenses)	8,350 143,190 84,970 237,210 630,520 596,320 123,650 7,750 912,790 636,100 8,000 281,100 490,160 438,840 53,150 264,980 188,160 205,910	5 5 5 5 6 4 4 5 5 5 4 5 5 5 5 5 5 5 5 5	15 June and 15 Dec. 15 June and 15 Dec. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug. 15 May and 15 Nov. 1 Mar. and 1 Sept. 15 May and 15 Nov. 1 May and 1 Nov. 15 May and 15 Nov. 15 May and 15 Nov.	418 7,875 4,461 12,785 37,831 116,833 5,564 29,114 388 189,730 208,625 400 14,055		, ,
Finance Act, 1916 (Section 35), (War Expenses) 2,5 3,5 Finance Act, 1918 (Section 10), (War Expenses)	630,520 596,320 123,650 554,550 7,750 912,790 636,100 8,000 281,100 490,160 438,840 53,150 264,980 188,160 205,910	4 1 2 4 1 2 5 5 5 4 1 2 5 5 5 1 4 2 5 5 5 1 4 4 5 5 5 5 1 4 5 5 5 5 1 4 5 5 5 5	15 May and 15 Nov. 1 Mar. and 1 Sept. 15 May and 15 Nov. 1 May and 1 Nov. 15 May and 15 Nov.	37,831 116,833 5,564 29,114 388 189,730 208,625 400 14,055		, ,
(War Expenses) 2,5 1 3,5 Finance Act, 1918 (Section 10), 4,6 (War Expenses)	596, 320 123,650 554,550 7,750 912,790 636,100 8,000 281,100 490,160 438,840 53,150 264,980 188,160 205,910	4 1 2 4 1 2 5 5 5 4 1 2 5 5 5 1 4 2 5 5 5 1 4 4 5 5 5 5 1 4 5 5 5 5 1 4 5 5 5 5	15 May and 15 Nov. 1 Mar. and 1 Sept. 15 May and 15 Nov. 1 May and 1 Nov. 15 May and 15 Nov.	116,833 5,564 29,114 388 189,730 208,625 400 14,055		189,730
Finance Act, 1918 (Section 10), 4,6 (War Expenses)	636,100 8,000 281,100 490,160 438,840 53,150 264,980 188,160 205,910	$egin{array}{c c} 5 & & & \\ 5 & 4rac{1}{2} & & \\ 5 & & & \\ \hline 5 & 4 & & \\ \hline 5 & 4 & & \\ \hline \end{array}$	1 May and 1 Nov. 15 May and 15 Nov.	208,625 400 14,055		189,730
(War Expenses) 3,4	8,000 281,100 490,160 438,840 53,150 264,980 188,160 205,910	$egin{array}{c c} 5 & & & \\ 5 & 4rac{1}{2} & & \\ 5 & & & \\ \hline 5 & 4 & & \\ \hline 5 & 4 & & \\ \hline \end{array}$	1 May and 1 Nov. 15 May and 15 Nov.	400 14,055	•	
2	010,040	51 5 51	20 April and 20 Oct. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug. 1 Jan. and 1 July 1 Jan. and 1 July	157,057 21,942 2,658 13,911 9,878 10,296 18,323		
$\overline{9}$,	,915,420			457,145		457,145
	26,960 14,200 076,770 97,900 3,500 153,500	5 4½ 4½ 5¼ 5 5	20 April and 20 Oct. 1 Mar. and 1 Sept. 20 April and 20 Oct. 1 Mar. and 1 Sept. 1 Mar. and 1 July	1,348 639 93,455 5,140 175 8,059		
2,3	372,830			108,816	••	108,816
Finance Act, 1919 (Section 5), (Public Works)	228,500 11,500	5 5 1	15 Jan. and 15 July 1 Feb. and 1 Aug.	11,425 604		
	240,000		·	12,029		12,029
Finance Act, 1920 (Section 15), (Electric Power Works)	195,550	$5\frac{1}{2}$	1 Feb. and 1 Aug.	10,755		
Recoverable from Electric Supply Account	• •	••	••	• •	10,755	
Finance Act, 1920 (Section 15), (Public Works)	50,000	5 <u>1</u>	1 Feb. and 1 Aug.	2,625	••	2,62
Finance Act, 1924 (Section 2), (Public Works)	72,550 275,000	$5\frac{1}{4}$ $5\frac{1}{2}$	1 Jan. and 1 July 1 Feb. and 1 Aug.	3,809 15,125		
	347,550			18,934	••	18,93
Government Railways Act, 1908— Finance Act, 1909	300 500	5 1 6	l Mar. and l Sept. l Feb. and l Aug	16 30		
	800			46		46
Railways Improvement Authorization Acts, 1904-07	500	6	I Jan, and I July	30	•••	30
Government Railways Amendment	500	5 1	l Mar. and l Sept.	26		20
Act, 1910 Land for Settlements Act, 1908	700 2,300 5,500 11,600 55,900 42,750	512 512 6 6 512 514	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	37 127 330 696 3,075 2,244		
	118,750			6,509		
Recoverable from Land for Settlements Account	•••		.,		6,509	

		Rate		~		
Authorizing Act.	Principal.	per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926–27.
New Zealand Inscribed Stock Act, 1917—continued.	£			£	£	£
Land Laws Amendment Act, 1913	800 5,500	5 <u>1</u> 5 <u>1</u>	l Jan. and 1 Jul y l Mar. and 1 Sept.	42 289		
	6,300			331		
Recoverable from Land for Settlements Account			••	••	331	
Maori Land Settlement Act, 1905	900	51	l Mar. and l Sept.	47		47
Native Land Amendment Act, 1913	40,000 100,000 5,000	$4\frac{1}{2}$ $5\frac{1}{4}$ $4\frac{1}{2}$	I Jan. and I July I Feb. and I Aug. I April and I Oct.	1,800 5,250 225		
	145,000	i		7,275		7,275
New Zealand State-guaranteed Advances Acts, 1909–10— Guaranteed Mining Advances Branch	2,000	51	1 Mar. and 1 Sept.	105		105
Land for Settlements Branch	52,500	51	1 Mar. and 1 Sept.	2,756		
Recoverable from Land for Settlements Account	••	••	••	••	2,756	
Railways Improvement Authoriza- tion Act, 1914	12,490	5	15 Jan. and 15 July	625	••	625
State Advances Act, 1913 (Settlers Branch) On further issues, say	1,125,000 2,030,255 36,000	$5\frac{1}{4}$ $5\frac{1}{2}$ $5\frac{1}{2}$	9 April and 9 Oct. 1 Feb. and 1 Aug. 30 June and 31 Dec.	59,062 111,664 1,980 47,000		
On further issues, say	3,191,255	! ···	••	219,706		
Recoverable from State Advances Office					219,706	
State Advances Act, 1913 (Workers	402,990	$5\frac{1}{2}$	1 Feb. and 1 Aug.	22,164		
Branch) Recoverable from State Advances Office		· 	••		22,164	
Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Sec- tion 46)	1,000 14,000	$\begin{array}{ c c }\hline & 4\frac{1}{2}\\ & 5\\ \end{array}$	1 May and 1 Nov. 1 May and 1 Nov.	45 700		
Recoverable from Swamp Land	15,000			745		
Drainage Account					745	
War Purposes Loan Act, 1917	2,810 10,405,479 859,760 152,880 100,990 1,681,530 48,400 56,350	3 4½ 5 14 5 14 5 12 5 14 4 12	15 May and 15 Nov. 15 May and 15 Nov. 15 May and 15 Nov. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	84 468,247 42,988 8,026 5,554 88,280 2,420 2,536		
	13,308,199			$-\frac{618,135}{-}$	••	618,135
New Zealand State-guaranteed Advances Act, 1909—					-	
Land for Settlements Branch	25,000 470,000	3½ 3¾	1 April and 1 Oct. 1 April and 1 Oct.	$875 \\ 17,625$		
	495,000		ļ	18,500		
Recoverable from Land for Settlements Account			••		18,500	
Native Land Settlement Branch	381,600 54,500 30,000 80,000	$3\frac{1}{2}$ $3\frac{1}{4}$ 4 $4\frac{1}{2}$	1 April and 1 Oct.	13,356 2,044 1,200 3, 6 00		
	546,100			20,200		20,200
	l	; i	l			

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926–27.
New Zealand State-guaranteed Ad-	£			£	£	£
vances Acts, 1909— continued. Guaranteed Mining Advances Branch	5,000	33	1 April and 1 Oct.	187		187
Advances to Local Authorities Branch	200,515 95,425 8,800 48,000	3½ 3¾ 4 4½	1 April and 1 Oct.	7,018 3,578 352 2,160	-	
•	352,740			13,108		
Recoverable from Land for Settlements Account		•		••	8,145	4,963
Land for Settlements Branch	400,165 50 147,100 741,066 100	4 4½ 4½ 4½ 5	1 Jan. and 1 July 1 Jan. and 1 July 1 April and 1 Oct. 30 April and 31 Oct. 1 Feb. and 1 Aug.	16,007 2 6,620 33,348 5		
	1,288,481			5 5,982		
Recoverable from the Land for Settlements Account			••	••	55,982	
Native Land Settlement Branch	30,000 50,000	3 3 4	I April and I Oct. I April and I Oct.	1,125 2,000		
	80,000			3,125		3,125
New Zealand State-guaranteed Advances Acts, 1909-10, and Finance Act, 1915 (Section 106)-	01.050		1 Tax and 1 Tulu	0.47		
Land for Settlements Branch	21,050 10,000 4,000	$4\frac{1}{2}$ $4\frac{1}{2}$	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	947 450 180		
	35,050			1,577		
Recoverable from the Land for Settlements Account			••	••	1,577	
Guaranteed Mining Advances	8,000	41/2	1 Jan. and 1 July	360		360
Post and Telegraph Act, 1908	200,000	4	1 Jan. and 1 July	8,000	!	8,000
Public Revenues Amendment Act, 1915 (Section 5), (War Expenses)— Public Revenues Amendment Act, 1915 (No. 2), (Section 2)	2,093,750	4	1 Feb. and 1 Aug.	83,750		83,750
Railways Improvement Authorization Act, 1914	720,000 9,200	4 412	l Feb. and l Aug. l Feb. and l Aug.	28,800 414		
	729,200			29,214		29,214
Rangitaiki Land Drainage Amend- ment Act, 1913 and Amendments	158,000 52,000	4 4½	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	6,320 2,340		
	210,000			8,660		
Recoverable from Rangitaiki Land Drainage Account		-	••	•••	1,000	7,660
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1920	25,000 75,000	4 4 <u>1</u>	1 June and 1 Dec. 1 June and 1 Dec.	1,000 3,375		
(Section 16)	100,000			4,375		4,375
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1921	22,900 74,600 2,500	4 4½ 5¼	1 June and 1 Dec. 1 June and 1 Dec. 1 Feb. and 1 Aug.	916 3,357 131		
-22 (Section 23)	1	- I	_		-	4 40
-22 (Section 23)	100,000			4,404		4,404
-22 (Section 23) Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1923 (Section 5)	39,100 10,900	4 $4\frac{1}{2}$	1 June and 1 Dec. 1 June and 1 Dec.	1,564 490	-	4,404

Authorizing Act.	Principal.	Rate per C. nt.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1928-27.
Rangitaiki Land Drainage Amend- ment Act, 1913, and Finance	£ 10,000	4	1 June and 1 Dec.	£ 400	£	£
Act, 1924 (Section 5) On further issues, say				400		
	10,000		,	800		800
State Advances Act, 1913— Advances to Settlers Branch On further issues, say	573,200 1,300,000 3,250 417,450	4 4½ 5 5½	1 June and 1 Dec. 1 June and 1 Dec. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	22,928 58,500 163 22,960 8,000		
On rational models, buy	2,293,900			112,551		
Recoverable from State Advances Office			••		112,551	
Advances to Workers Branch	50,000 1,300,000 510 96,500	4 4½ 5 5½	1 June and 1 Dec. 1 June and 1 Dec. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	2,000 58,500 26 5,307		••
	1,447,010			65,833		
Recoverable from State Advances Office					65,833	
Local Authorities Branch	200,000 10,000	4 51/8	1 June and 1 Dec. 1 June and 1 Dec.	8,000 513		
	210,000			8,513		
Recoverable from the State Advances Office				. ••	8,513	
Swamp Drainage Act, 1915	15,000 31,000	4 4½	1 May and 1 Nov. 1 May and 1 Nov.	600 1,39 5		
	46,000	-		1,995		
Recoverable from Swamp Land Drainage Account		-		••	1,995	•
Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Section 16)	147,000 173,000 5,000 20,000	4 4½ 5 6	1 May and 1 Nov.	5,880 7,785 250 1,200		
On further issues, say			•••	500		
	345,000	-		15,615		
Recoverable from Swamp Land Drainage Account	• •	•••	••	• •	15,615	••
Treasury Bills— In anticipation of revenue, say In anticipation of loan moneys, say For redemption of loans	1,400,000		:: ::	65,000 5,500 63,000		••
				133,500		
Recoverable from Discharged Soldiers Settlement Account (Redemption Bills)	••			• •	45,000	88,500
Waihou and Ohinemuri Rivers Improvement Act, 1910	50,000 100,000	$\begin{array}{c} 4\\ 4\frac{1}{2} \end{array}$	1 Feb. and 1 Aug 1 Feb. and 1 Aug	2,000 4,500		
	150,000			6,500		
Recoverable from the Waihou and Ohinemuri Rivers Im- provement Account			••		3,200	3,300

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926–27.
Waihou and Ohinemuri Rivers Im- provement Act, 1910, and Finance	£ 60,000 90,000	$\begin{array}{ c c c c }\hline 4\\4\frac{1}{2}\end{array}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	£ 2,400 4,050	£	£
Act, 1919 (Section 6)	150,000			6,450		6,450
Waihou and Ohinemuri Rivers Im- provement Act, 1910, and Fin- ance Act, 1922 (Section 16)	99,000 51,000	$4 \\ 4\frac{1}{2}$	l Feb. and l Aug. l Feb. and l Aug.	3,960 2,295		
<i>unco 1100, 1000 (Socioli 10)</i>	150,000			6,255	••	6,255
Waihou and Ohinemuri Rivers Im- provement Act, 1910, and Finance Act, 1924 (Section 6)—	55,000	4	1 Feb and 1 Aug.	2,200		
On further issues, say	••	•••	••	1,500		
	55,000			3,700		3,700
War Purposes Loan Act, 1917, and War Purposes Loan Act, 1917 (No. 2), (New Zealand Loans Act, 1908, and Amendment Act, 1915), and Finance Act, 1917 (Section 68)	4,896,900 1,429,600 34,750 21,050 13,000 370,300 3,350	$\begin{array}{c} 4\frac{1}{2} \\ 5 \\ 5\frac{1}{4} \\ 5\frac{1}{2} \\ 6 \\ 4 \\ 4\frac{1}{2} \end{array}$	15 May and 15 Nov. 15 May and 15 Nov. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	220,360 71,480 1,824 1,158 780 14,812 151		
	6,768,950			310,565		310,565
Wellington and Manawatu Railway Purchase Act, 1908	500,000	4	1 Mar. and 1 Sept.	20,000	••	20,000
Westport Harbour Act, 1920— Westport Harbour Board Act, 1884, and Loan Acts, 1896, 1897, and 1900	500,000	4	1 Jan. and 1 July	20,000		
Westport Harbour Board Loan Act,	200,000	5	15 Feb. and 15 Aug.	10,000		
1908	700,000			30,000		
Recoverable from the Westport Harbour Account	••	• •		••	17,647	12,353
To provide for increase in rate of in- terest for renewal of loans falling due during the year		• •		10,000	••	10,000
State Advances Debt— Government Advances to Settlers Act, 1908—						
Advances to Settlers	117,900 100,000	4 4	1 Jan. and 1 July 1 Feb. and 1 Aug.	$\frac{4,716}{4,000}$		
	217,900			8,716		
Recoverable from the State Advances Office		••	••	••	8,716	
Advances to Workers	25,000	4	1 Feb. and 1 Aug.	1,000		
Recoverable from the State Ad-			• •	••	1,000	
vances Office						
Government Advances to Settlers Act, 1908, and Finance Act, 1915 (Sec- tion 106)—				:		
Advances to Workers	10,000	$4\frac{1}{2}$	1 Jan. and 1 July	450		
Recoverable from the State Ad-	••		• •		450	

${\tt PERMANENT~CHARGES.--DEBT~SERVICES--INTEREST--} continued.$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1926–27.
New Zealand State-guaranteed Advances Acts, 1909 and 1910	£			£	£	£
Advances to Settlers	1,967,626 750,000 2,094	$4\frac{1}{2}$ $4\frac{1}{2}$ $4\frac{1}{2}$	1 June and 1 Dec. 23 April and 23 Oct. 1 Feb. and 1 Aug.	88,543 33,750 94		
	2,719,720			122,387		
Recoverable from the State Advances Office	• •	••	••		122,387	
Advances to Workers	200,000 5,406 328,283	$\frac{4}{4\frac{1}{2}}$ $\frac{4}{4\frac{1}{2}}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 June and 1 Dec.	8,000 243 14,773		
•	533,689			23,016		
Recoverable from the State Advances Office		••			23,016	
Total Principal	242,953,895					
TOTAL INTEREST	••			10,670,170	2,493,265	8,176,905

Reconciliation of Public Debt with total of Principal column above—	Principa	al as sho	wn in	£	£	£
Gross Public Debt at 31st March, 1926					238,855,478	~
Add amounts not included in Public Debt	t at 31st	March, 1	926		, ,	
New loan issued				6,000,000		
Greymouth Harbour Board Loan				26 0,000		
					6,260,000	0.45 115 450
Deduct amounts included in Public Debe Principal column above—	t but n	ot includ	ed in			245,115,478
Unpresented debentures	 dv anc es	(interest	paid	8,000		
direct) Debenture issued under Urewera Lands Ac		22 (Sectio	n 10).	2,124,260		
(interest paid out of Native Land Settle			• • •	29,323	•	
(Macotoso Pana 200 12 1,001,00 12,001,001,001,001,001,001,001,001,001,0		,			• •	2,161,583
						£242,953,895

PERMANENT CHARGES.—DEBT SERVICES—AMORTIZATION.

Authorizing Act.	Principal.	Rate per Cent.	Gross Amount.	Recoverable.	192627.
Sinking Funds—	£		£	£	£
Westport Harbour Act, 1920— Westport Harbour Board Act, 1884, and Loan Acts, 1896, 1897, and 1900	500,000	1	5,000		
Westport Harbour Board Loan Act, 1908	200,000	1	2,000	*	
1908	700,000		7,000		
Recoverable from Westport Harbour Account				4,118	2,882
Debt Repayment— Repayment of the Public Debt Act, 1925	178,440,503		928,492		
${\bf RecoverablefromseparateAccounts, say}$				3,000	925,499
					940,49ª
TOTAL					928,374

PERMANENT CHARGES.—DEBT SERVICES—AMORTIZATION—REDUCTION OF FUNDED DEBT.

Authorizing Act.	Original Debt funded.	Rate per Cent.	Half-yearly due Datos.	Gross Amount.	Recoverable.	1926-27.
Finance Act, 1922 (Section 8)—	£			£	£	£
Aid to Public Works and Land	191,010	l [1 June and 1 Dec	2.355		2,355
Settlement Act, 1910		''		,000		2,000
Finance Act, 1916 (Section 35),	4.736.842	[,,	58.409		58,409
(War Expenses)	_,,		"	00,200	''	00,200
Finance Act, 1918 (Section 10)	6,600,000		,,	81.383	i i	81,383
Land for Settlement's Act, 1908			,,	466	466	••
	963,131	١ ا	,,	22,456		22,456
Public Revenues Amendment Act, 1914 (Section 8), (War Ex-	2,067,411		,,	25,493	••	25,493
penses)	9 10% 000			00.074		00.074
Public Revenues Amendment Act, 1915 (Section 5), (War Ex- penses)	0,100,992	••	. ,,	99,954	••	99,954
War Purposes Loan Act, 1917 (Section 2), War Purposes	4,830,000	••	,,	59,558		59,558
Loan Act, 1917 (No. 2)	j .		·			
TOTAL	27,532,164	*		350,074	466	349,608

^{*} The rate is 6 per cent. on the original debt, £27,532,163 17s. 10d., less interest at the average rate of £4 19s. 5.88d. on the amount remaining unpaid.

ANALYSIS OF PERMANENT CHARGES.—DEBT SERVICES.

							1926-27.			
					Gross.	Recoveries from respective Accounts.	Net Charge to Consolidated Fund.			
NTEREST—		31.1			£	£	£			
War Expenses					3,550,662		3,550,662			
Discharged Soldiers Settlement	(inclu	ding pure	hase of I	Estates	470.039	412.616	57,423			
Land for Settlements		6 F		• •	364,959	364,959				
State Advances				• •	1,201,679	1,201,302	377			
Naval Defence			••		66,787	••	66,787			
Electric Supply		• •	••		282,178	282,178				
Greymouth Harbour Board		• • •	• • •		10,400	10,400				
Westport Harbour			• • •	• • •	30,000	17,647	12,353			
Public Works and Miscellaneou				• •	4,693,466	204,163	4,489,303			
Total Interest					10,670,170	2,493,265	8,176,905			
NET INTEREST (charge	eable t	o Consoli	dated Fu	ınd)			8,176,908			
MODEL TO CON										
MORTIZATION,— SINKING FUND—										
Westport Harbour					7,000	4,118	2,882			
1	• •	••	• •	• •	7,000	4,110	2,882			
Total Sinking Fund	• •	• •		• •	7,000	4,118	2,882			
DEBT REPAYMENT—										
Repayment of the Public De										
Amount transferable to Pu		ebt Repa	yment Ac	ecount						
from Consolidated Fund	• •	• •	••	• •	928,492	3,000	925,492			
NET AMORTIZATION C	HARGE	(chargea	ble to Co	onsoli.						
dated Fund)	• •			•••			928,374			
m	ORTIZA	TION CHA	RGE.				9,105,279			
TOTAL INTEREST AND AMO										
					350,074	466	349,608			
REDUCTION OF FUNDED DEBT	• •									
REDUCTION OF FUNDED DEBT		о Девт	(charceal	ble to						
	UNDE	D D EВТ	(chargeal	ble to	••		349,608			

PERMANENT CH	IARGES—cont	inued.		
				1926-27.
UNDER SPECIAL ACTS OF T	HE LEGISLA	TURE.		
Animals' Protection and Game Act, 1921-22 (Fees, royalties, &c., on opossum-skins to A	(Section 20)—celimatization	Societies		£ 4,000
Appropriation Act, 1916 (Section 9)— Subsidies to County Councils, Road and To rates	wn Boards in 1	respect of	general	186,000
Appropriation Act, 1925 (Section 15)— Maintenance of overseas war graves and w	ar memorials		•••	44,200
Auckland University College Act, 1882 (Section Grant-in-aid	n 26)—	•••	•••	4,000
Civil List Act, 1920 (Section 16)— Legislative Council—				·
Špeaker	•••	•••	• • • •	720
Chairman of Committees House of Representatives—	• • • •	• • •		450
Speaker	•••			900
Chairman of Committees	•••	• • •	•••	675
Civil List Act, 1920 (Section 17)— Honoraria of members of the Legislative C Honoraria of members of the House of Rep			£ 11,970 30,600	' '
Civil List Act, 1920 (Section 22)— Legislative Council—				42,570
Clerk		• • •		750
Clerk Assistant House of Representatives—	• • •			550
Clerk			, 	750
Clerk Assistant	•••	•••	• • •	550
Civil Service Act, 1908 (Sections 28-30)— Pensions, Compensation, and Gratuities un	nder Civil Servi	ice Act, 1	908	16,000
Defence Act, 1909 (Sections 75-86)— Pensions and allowances	•••	•••	•••	2,900
Education Act, 1914— Education Boards— Subsidies on bequests and voluntary				15,000
Public Primary and District High Sch	ools	•••	•••	15,000
Technical Instruction— Subsidies on bequests and voluntary con	tributions	•••	•••	3,500
National Scholarships— Grants to Education Boards for junior as	nd senior schol	arships		12,100
Secondary Schools— Subsidies on bequests and voluntary con	tributions	•••		3,000
Education Reserves Amendment Act, 1913 (see Compensation for improvements	ction 3)—	•••		500
Finance Act, 1918 (No. 2), (Section 8)— Free issue of official postage-stamps to men	nbers of both I	Iouses		2,000
Finance Act, 1919 (Section 14)— Pensions in respect of Police Officers	•••	•••		600
Finance Act, 1920 (Section 21), and Finance Interest at 4 per cent. on New Zealand profits and regimental funds deposited w	Expeditionary	y Force		100
Finance Act, 1920 (Section 43)— Canterbury College (additional to statutory				1,562
4.—B. 7.	Stant)	•••	••• !	1,002
4 40 11				

${\tt PERMANENT~CHARGES--} continued.$

	1926-27.
UNDER SPECIAL ACTS OF THE LEGISLATURE—continued.	The state of the s
Finance Act, 1921–22 (Section 13)— Transfer to Advances to other Governments Account Less recoveries from other Governments 20,000	
Finance Act, 1923 (Section 13)— Annuity of £150 per annum to Miss Ida Fraser, daughter of the lat Sir William Fraser, Member of the Executive Council and of the Legis lative Council	10,000
Finance Act, 1924 (Section 30)— Annuity of £200 per annum to Lady Salmond, widow of the late Sir John Salmond, Judge of the Supreme Court	1 000
Finance Act, 1925 (Section 7)— General expenses of New Zealand Institute	. 1,500
Finance Act, 1925 (Section 8)—— Refunds in respect of totalizator-tax	. 25,000
Finance Act, 1925 (Section 27)— Increased superannuation allowances to widows and children Less credits 16,865	2
Fire Brigades Act, 1908 (Section 21)— Subsidies to Fire Boards	10,738 2,500
Government Railways Amendment Act, 1925 (Section 4, Subsection (1) (d))— Losses on operation of branch lines and isolated sections of railways	- 0.17.000
Greymouth Harbour Board Amendment Act, 1920 (Sections 5 and 7) — Subsidy for interest, sinking fund, and other loan charges	15,000
High Commissioner Act, 1908 (Section 6)— Salary of High Commissioner	. 2,000
Hospitals and Charitable Institutions Acts, 1909, 1910, 1913, and 1923—Subsidies to Hospital Boards	. 600,000
Industrial Conciliation and Arbitration Act, 1925 (Sections 64 and 73)— Salaries of Judge and Members of the Arbitration Court	. 3,500
Judicature Act, 1908 (Sections 12-14), and Judicature Amendment Act, 192 (Section 2)— Superannuation to retired Judges	4 000
Judicature Amendment Act, 1920 (Section 3)—	
Land Act, 1924 (Section 136)— Payments to Receivers of Land Revenue, Local Bodies' Deposit Accounts	
Land and Income Tax Amendment Act, 1925 (Section 6)— Interest on income-tax paid in advance	750
Land Settlement Finance Act, 1909 (Section 13)— Deficiencies in principal or interest due on debentures guaranteed by the Government	100
Local Bodies' Loans Amendment Act, 1908 (Section 10)—	600
Local Bodies' Loans Act, 1913 (Subsections 3 and 4 of Section 70)—Sinking funds payable to State Advances Office	. 300
Magistrates' Courts Amendment Act, 1920 (Section 2)— Salaries of Magistrates	24,054

PERMANENT CHARGES—continued. 1926 - 27.UNDER SPECIAL ACTS OF THE LEGISLATURE—continued. Marlborough High School Act, 1899 (Section 17)— 400 Grant-in-aid Miner's Phthisis Act, 1915, and Finance Act, 1920-£ Pensions and allowances 42,000 Less credits from gold duty under section 455, Mining 2,500 39,500 Municipal Corporations Act, 1920 (Section 72)— 28,500Subsidies to Borough Councils in respect of general rates National Provident Fund Act, 1910 (Section 25)— Subsidies on contributions 39,921 Finance Act, 1916, and National Provident Fund Act, 1910-Maternity allowances (sections 18 and 78) 7,000 Maternity allowances for Friendly Societies (Section 67) ... Subsidy on total contributions from approved Friendly Societies for the year and of 21st December 1997. 35,000 Societies for the year ended 31st December, 1925 (Section 75) 707 82,628 Native Land Amendment and Native Land Claims Adjustment Act, 1922 (Section 27), and Native Land Amendment and Native Land Claims Adjustment Act, 1923 (Section 13)-6,000 Annual payment on account of Arawa District Lakes Native Land Amendment and Native Land Claims Adjustment Act, 1925 (Section 13)— 3,000 Payments for purposes of higher education and advancement of Natives ... New Plymouth Harbour Board Endowment Act, 1874 (Section 2)-One-fourth of proceeds of sales, &c., payable to Harbour Board 5,000 to 31st December, 1926 New Zealand Loans Act, 1908-New Zealand Consolidated Stock-£ 28,000 Charges and expenses of management Less recoverable from other accounts 6,000 22,000 New Zealand University Act, 1908 (Section 30)-Contribution to University 3,845 New Zealand University Amendment Act, 1914, and Amendment Act, 1919 (Sections 3 and 4)— University National Scholarships University bursaries 3,100 €... 13,400 . . . Grants-in-aid to-

. . .

. . .

Auckland University College Victoria University College

Pensions Act, 1913, and Finance Act, 1920-

Military pensions (Maori War)

Subsidies on bequests and voluntary contributions

Orchard-tax Act, 1916 (Section 4)—
Orchard-tax receipts payable to New Zealand Fruit-growers'
Federation, Limited

Less amount charged to National Endowment Account ...

Canterbury College

University of Otago

University Colleges-

Old-age pensions

Widows' pensions

7,100

7,100

4,100

8,700

975,000

37,948

27,000

15,000

1,500

21,000

937,052

325,000

. . .

...

PERMANENT CHARGES—continued.

				1926-27.
UNDER SPECIAL ACTS OF THE LEG	SISLATUI	RE—contin	nued.	
Pensions Act, 1913, and Amendment Act, 1924- Pensions for the Blind		•••	•••	£ 10,000
Police Offences Amendment Act, 1924 (Section 3)- Fines due Societies for Prevention of Cruelty t			•••	100
Public Revenues Act, 1910, and Appropriation A Act, 1925 (Section 20 (1) (b))— Salary of Controller and Auditor-General Claims repayable under Sections 16, 29, and 9		und Appro	priation £ 1,300 300	1 600
Public Revenues Amendment Act, 1912 (Section 5 Fire Insurance Fund	ó) 	•••	•••	1,600
Public Service Act, 1912, and Appropriation A section (1), and Appropriation Act, 1925 (Sec Salary of Public Service Commissioner	Act, 1920 etion 20 (1)	(Section 1 (a))—	6, Sub-	1,500
Public Service Classification and Superannua and Amendments—	ation Act,	1908,		
Annual contributions— Public Service Superannuation Fund Less credits		£ 86,000 35,370	£ 50,630	
Teachers' Superannuation Fund			43,000	93,630
Reserves and other Lands Disposal and Public E (Section 67)— Compensation to Mrs. Ann Noble, of Alexanda		owering A	ct, 1916	78
Rotorua Borough Act, 1922 (Section 6)— Payment to Rotorua Borough of portion of f ment Sanatorium	ees receive	ed at the	Govern-	1,300
Slaughtering and Inspection Act, 1908 (Section 60) Compensation to owners of stock condemned	, and Amen \dots	$dment\ Act$, 1910— 	15,000
Stock Act, 1908 (Section 45)— Compensation for diseased stock destroyed	•••	***		15,500
Valuation of Land Act, 1925 (Section 47)— Acquisition of land under Sections 44 and 45	•••	•••		100
Victoria College Act, 1905 (Section 37)— Grant-in-aid				4,000
Waihou and Ohinemuri Rivers Improvement Act, Section 17 (d) and Amendment Act, 1912, a (Section 27), (Crown's proportion of interes	and Approp	oriation Acting fund	ct, 1916 on loan	
raised under the Act) War Pensions Act, 1915—	•••	•••	•••	1,100
Pensions and allowances		•••	•••	1,100,000
TOTAL UNDER SPECIAL	ATMIC			4,208,852

${\tt PERMANENT~CHARGES--} continued.$

ANALYSIS.

					1926–27.
		and the second s			£
Education Purposes		* * *			105,907
Pensions					2,456,480
Salaries and Honoraria					98,519
Subsidies to Hospital Boards					600,000
Subsidies to Local Authorities	on rates				214,500
Subsidies to Superannuation a	nd National	Provident F	unds		144,996
Territorial Revenue		•••	• • •		14,000
Miscellaneous					229,450
Transfer to Working Railway	s Account:	Losses on	operation	of branch	
lines, &c	• • •	•••	•••	•••	345,000
TOTAL				• • •	4, 208, 852

LEGISLATIVE DEPARTMENTS.

					1926-27.	
			-	Salaries.	Other Charges.	Total.
Vote No. 1	1Le	gislative Departments		£	£	£
		I.—Legislative Council	İ			
,,		$I. ext{ iny House}$ of $Representatives$	• • •	$3,209 \ 9,204$	1,290	3,209 10, 4 94
,,	II	$I. ext{}Law \ Drafting \ Office \qquad . \ .$		3,215	572	3,787
>>		V.—General Assembly Library		3,275	1,565	4,840
"		$egin{array}{lll} VHansard & \ldots & \ldots & \ldots \ IBellamy's & \ldots & \ldots \end{array}$	• •	6,487	5,200	11,687
"		IGeneral~ Expenses	:.	5,994 4,418	$egin{array}{c} 1,545 \ 50,457 \end{array}$.7,539 54 ,878
		Total		35,802	60,629	96,431
_		S-IN-AID		125	8,488	8,613
_		OTAL		35,677	52,141	87,818
	1131 1	· · · · · · · · · · · · · · · · · · ·			02,111	01,010
Number of Persons.	Item.				1920	3–27.
		VOTE No. 1.—LEGISI	ATIVE DE	PARTMENT	rs.	
1926–27.	İ					
		Subdivision No. 1	T.emislatine	Council	£	£
		3.000000000 140. 1.5	— 1 1ey 131001100	Counces.	; :	
		2				į
		SALARIES AND OTHER CHA	ARGES-			
4	1	Salaries and other Char	ges		2,950	
1	2	Staff of Minister leading	Legislative	Council	259	!
5	-	Estimated credits-i	n-gid under s	Section 22 of	the	!
	.	Appropriation				
	;	Department of In	nternal Affair	s		
		Half-salary of			£	
		Leader of Le	egislative Cou	nen	125	
		Total— Su	bdivision No	. I		3,209
		Cultivisian No. Ft. 1	Taura of Dan			
		Subdivision No. [1.—1	iouse of nep	reseniaires.		ř I
4	3	SALARIES-			500	
.1 1		Second Clerk Assistant *Sergeant-at-Arms	•••	•••	500	
1	'	Reader and Clerk of Bil	Is and Papers	· · · · · · · · · · · · · · · · · · ·	400	
$\tilde{1}$		Accountant		•••	325	
1		Clerk to Mr. Speaker	• • •		220	
1		Chief Messenger			340†	
$\frac{1}{1}$		Assistant Chief Messeng		•••	325†	
3		Messenger (to Mr. Speak Committee Clerks: 1 at		220, 1 at £200		
			MANENTS.		£	
10	1	Extra Clerks		1,4		
10			, -		F ()	
10		Extra Committee Repor			50	
10		Extra Committee Repor Extra Messengers	ting	4,8	804	
10		Extra Committee Repor Extra Messengers				

NOTE.—Scale salaries or wages include cost-of-living increase.

^{*} Also receives £175 16s. per annum superannuation. † Special daily allowances ceased as from 1st April, 1926.

LEGISLATIVE DEPARTMENTS—continued.

Number f Persons. Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1926–27.		
926–27.	Subdivision No. 11.—House of Representatives—contd.	£	£	
	Other Charges for and incidental to—			
4 5	Office requisites	50		
6	Printing and stationery Telephone services, including installation, extensions,	900		
	maintenance, rent, and calls	330		
7	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10		
		1,290		
	Total—Subdivision No. II		10,49	
	Subdivision No. III.—Law Drafting Office.			
8	Salaries—			
	Bill Drafting Department—	1 050		
1	Law Draftsman	1,070		
2	2 at £615	1,230		
1	Compilation Department— Compiler of Statutes	700		
1	Clerical and General— Typiste and Office Assistant	215		
5	. –	3,215		
-	OTHER CHARGES FOR AND INCIDENTAL TO-			
9	Annual certificates under the Law Practitioners Act, 1908	12		
10	Compilation and printing "Index to the Laws of New Zealand"	300		
$\begin{array}{c c} 11 \\ 12 \end{array}$	Motor hire	60		
	Office requisites, printing and stationery, postage, and contingencies	50		
$\begin{array}{c c} 13 \\ 14 \end{array}$	Purchase of law reports and other publications Telephone services (including installation, extensions,	100		
	maintenance, rent, and calls)	50		
	, and the second second second second second second second second second second second second second second se	572		
	$Total-Subdivision \ No. \ III \ \ldots$		3,78	
	Subdivision No. IV.—General Assembly Library.			
15	Salaries—			
1	Library— Chief Librarian (also £200 Controller Dominion	!		
1	Archives, and £50 Advisory Director Turnbull			
1	Library) First Assistant	$\begin{bmatrix} 500 \\ 450 \end{bmatrix}$		
$\bar{5}$	Assistants: 1 at £340, 2 at £330, 1 at £305, 1 at			
$_{1}$	$\pounds 270$ \ldots Binder	$egin{array}{c c} 1,575 & \\ 310 & \\ \end{array}$		
$\begin{bmatrix} 1 \\ 1 \end{bmatrix}$	Messenger	$\begin{bmatrix} 200 \\ 240 \end{bmatrix}$		
	Gleaner			
	OTHER CHARGES FOR AND INCIDENTAL TO-	3,275		
16 17	Binding books Grant of six months' salary to officer on retirement	500 165		
18	Grant to Library Fund	700		
	Newspapers and carriage of books	200		
19	'			

${\tt LEGISLATIVE\ DEPARTMENTS} - {\it continued}.$

Number f Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1926–	27 .
.926–27.		Subdivision No. V.— Hansard.	£	£
	20	Salaries—		
		Hansard—		
$\begin{array}{c} 1 \\ 10 \end{array}$		Chief Reporter Reporters : 4 at £450, 1 at £440*, 1 at £410, 1 at	550	
10		£390, 3 at £360	4,120	
1		Supervisor	440	
1	1	Supervisor's Assistant	387	
1		Clerk to Supervisor	230	
1		Indexer	210	
2		Committee Reporters: 2 at £250	500	
17	-	Extra assistance	50	
	-	OTHER CRANCES FOR AND INCORPORATE TO	6,487	
	21	OTHER CHARGES FOR AND INCIDENTAL TO— Printing of Hansard	5,200	
		Total—Subdivision No. V		11 69
		Total—Subarvision IVO. V		11,68
		Subdivision No. VI.—Bellamy's.		
	22	Salaries—	-	
1		Manager (also Officer in Charge of Parliament Build-	E00	
1		ings)	580	
1 1		Chef Head Waiter	380 300	
1		(1) } -	290	
$\overline{\hat{5}}$		Attendants, Manager's Staff: 1 at £290, 1 at £275,	200	
	- 1	2 at £268 per annum, 1 at 15s. 10d. per day	1,389	
9		Extra Attendants, Manager's staff, during session	2,165	
	-	Extra Attendants, Manager's staff, during recess	890	
			5,994	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	23	Linen, glassware, china, cutlery, plateware, towels,	ĺ	
	į	kitchen utensils, uniforms, furniture, &c., for use		
		of members in Bellamy's and Parliamentary	500	
	24	Buildings	530 825	
	25	Washing linen &a	190	
	10	washing finen, ac		
		m . 1 . 0 . 1 . 1 . 1 . 2 . 2 . 2 . 2 . 2	1,545	
		Total—Subdivision No. VI		7,5
		Subdivision No. VII.—General Expenses.		
	26	Salaries—	1	
1		Electrician in charge of lighting, bells, and telephones	150	
1		during session Furnace Attendant during session	$\frac{150}{200}$	
5		Gardeners in grounds: 1 at £252 per annum, 5 at	۵00	
0		16s. 4d. per day, 1 at 6s. 2d. per day, and 1 at		
		£3 4s. per week	1,773	
9		Night-watchmen: 2 at £240, 1 at £235, 2 at £230,	,,,,,	
	-	4 at £225	2,075	
16		Relieving Watchmen	220	
	-	-	4 470	
	4		4,418	

^{*} Also receives £200 from Department of Justice.

Number	Item.		1000	07
of Persons.		VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1926–	21.
1926–27.		Subdivision No. VII.—General Expenses—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	27	Advertising	30	
	28	Bonus to employees whose salaries do not exceed £350 per annum	600	
	29	Charwomen	2,650	
	30	Fuel, light, power, and water	2,625	
	31	Furniture, brooms, brushware, soap, towels, linen, matches, tools, coal-buckets, and shovels (purchase	i	
		and repairs)	250	
	32	Grants of— Six months' pay in lieu of leave of absence to		
	02	W. H. Russell, Hansard Reporter, on retirement	225	
	33	Three months' pay in lieu of leave of absence to		
	94	C. Wilson, Chief Librarian, on retirement	173	
	$\begin{vmatrix} 34 \\ 35 \end{vmatrix}$	Laundry-work for Legislative Department Meals to Messengers on late-sitting nights	$\begin{array}{c} 160 \\ 95 \end{array}$	
	36	Office equipment, &c., for Ministers' offices	300	
	37	Parliamentary photographic shield	25	
	38	Passages and expenses of witnesses attending Com-		
	00	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	50	
	39	3 F 1 P1 1 TT 1 FOO		
		Members of both Houses 1,500 Members' wives 200		
			1,700	
	40	Postage and telegrams, including parliamentary papers	800	
	41	Printing of Statutes, Journals, Appendices, Bills,	14 000	
	42	Order Papers, &c. (part recoverable)	14,000 100	
	43	Private Secretary to the Leader of the Opposition Railway passes and concessions to members and exmembers of the Legislature, families, relations, &c.,	100	
	+	cost of	24,708	
	44	Railway passes to officers of the Legislature	270	
	45	Railway sleeping-berths for Members of Parliament	350	
	46 47	Travelling allowances and expenses	$\begin{array}{c} 25 \\ 330 \end{array} +$	
	48	Uniforms for messengers	200	
	49	Upkeep of parliamentary grounds	250	
	50	Winding and repairing clocks, &c	66	
	51	Window-cleaning, rubbish-removal, and chimney-	450	
İ	52	sweeping	400	
		dental to the other items of this subdivision	25	
ļ			50,457	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote) —		
		Fuel, light, power, water, and		
		general attendance supplied other Departments occupying Parlia		
		ment Buildings 1,088		
		Sale of Statutes, Journals, &c 7,400	İ	
		8,488		
į		Total—Subdivision No. VII		54,875
<u> </u> 		Gross Total		96,431
		Credits-in-aid (a)	•••	8,613
:		NET TOTAL—VOTE No. 1		87,818

(a) Credits-in-aid:—		Other	
	Salaries. £	$\begin{array}{c} \text{Charges.} \\ \mathbf{f} \end{array}$	192 6 −27. £
Subdivision I	$\tilde{125}$	••	$\tilde{1}25$
,, VII	• •	8,488	8,488
m		0.400	0 619
Totals	125	8,488	8,613

PRIME MINISTER'S DEPARTMENT.

							19	26–27.	
						Salaries.	Othe	r Charges.	Total.
ote No. 2	.—Pr	ime Mini	ster's Depa	rtment—		£		£	£
Gı	Ross Z	COTAL	•••			2,415		475	2,890
С	REDITS	S-IN-AID					i.		•••
N	ет т	OTAL	•••	•••	•••	2,415		475	2,890
Number f Persons.	Item.	VOTE	No O	DDIME MI	MICTO	מגמותם מים	m	1920	3–27.
926-27.	1	Salarii		MENT		R'S DEPAR	, 1 -	£	£
1 1 1		Sec Impe	cretary to C crial Affairs	Cabinet)	•••		and	1,150 665 600	
3								2,415	
	2 3 4 5 6	Adve oth Office Posta Print Telep sio	rtising, ph ner publicate e fittings an age, telegra- ting and sta phone servins, mainter	ions id requisites ins, and ren itionery ices (includ nance, rent,	books, t of box ing ins	newspapers, es stallation, es	 xten-	100 100 50 150	
	7	cid	ingencies, i lental to the	other item	s of the	n expenditur vote	e 1 n-	25	
			Gross	TOTAL	•••			475	2,890
			CREDIT	S-IN-AID		•••		•••	
			NET	готац—V	או אידר	. 0			2,890

TREASURY DEPARTMENT.

·								1926-2	7.	
						Salarie	s. (ther Char	ges.	Total.
Vote No. 3	.—Treas	ury Dep	artment							
Su b di v isio	on I .—L	Salaries	• •			£ 25,		£ 		£ 25,151
,,	II.—.	Miscellar	neous Servi	ces				17,0	002	17,002
"	III.—	Rates on	Crown and	Native Lan	ds			•	20	20
GR	oss Tor	'AL		• •	••	25,	151	17,0	22	42,173
CR	EDITS-IN	~AID		• •			803	3,9	50	4,753
NI	ET TOTA	AL	• •	• •		24,	348	13,0	72	37,420
Number of Persons.	Item.	VOTI	E No. 3.—	TREASUR	RY DEP	ARTME	NT.		1926	-27.
1926–27.	\		Subdiv	vision No. I	.—Salar	ies.			£	£
	1	*Salarii			_			'	t	₺
-1		1 - 0		NISTRATIVE						
1		Pay:	master-Ge	retary, Rece neral, Reg	gistrar	New	£			
1				ibed Stock) sistant Secre		d Ac-	1,38	00		
		cour	itant, and	Deputy R ibed Stock)			1,18	50		
				LERICAL DI	VISION.				,500	
3		Class 3 at	<i>I</i> — £615					1	,845	
1		Class	II—	months), £4	90 (1 ma	onth)			513	
3		Class			(,	-	1	,410	
		Class J	IV	•	••					
3		Class		•	••	`		_	,275	
4			£380 £355	•	••	•••	1,14 35			
		Class 14 a	<i>VI</i> .t £ 335				4,69		,495	
		2 at	£335 (8 m	onths), £32			6€ 31	1		
18			£295	nonths), £29	 		29			
		Class							,956	
			£295. £275 (7 m	onths), £25	 0 (5 mor	iths)	$\frac{29}{26}$			
		1 at	£275 (3 m	onths), £250	0 (9 mon	$_{ m ths})$	25	7		
			£275 (1 m £230	ionth), £250	(11 mor	nths)	$\frac{25}{46}$			
		$1 \mathrm{\ at}$	£230 (5 m	onths), £21			21	9		
i		1 at	£230 (2 m	ionths), £210	0 (10 mo	nths)	20			
			£230 (1 m £210	conth), £210	TI mon		$\frac{21}{21}$			
		1 at	£210 (5 mc	onths), £209			21	0		
				onths), £190 onths), £190			$\frac{19}{38}$			
				months), £1			37			

^{*} For particulars of salaries see "Public Service Classification List."
NOTE.—Scale salaries or wages include cost-of-living increase.

${\bf TREASURY} \quad {\bf DEPARTMENT-} continued.$

Number f Persons.	Item.	VOTE No. 3.—TREASURY DEPARTMENT— continued.		1926–27.	
926-27.		Subdivision No. I.—Salaries—continued.	<u>.</u>	, [£
			, a		æ
	1	Salaries—continued.			
		CLERICAL DIVISION—continued.	ļ		
	!		£	İ	
		, , , , , , , , , , , , , , , , , , , ,	$\begin{bmatrix} 52 \\ 10 \end{bmatrix}$		
	i i		50		
		1 at £155 (4 month), £135 (8 months)	42		
			37	1	
			70 68		
			20		
		3 at £135 (2 months), £115 (10 months) 3	57		
			51 30		
			07		
		2 at £115 (3 months), £95 (9 months)	00		
			88		
		//	90 87		
45			68		
			 7,	073	
		Cadets' lodging-allowances	•••	235	
		General Division. 1 at £260 2	60		
			25		
		1 at £205 2	05		
			85 77		
			20		
8			51		
		Non-permanents.	— l,	52 3	
		2 at £156 3.	12		
			90		
			$egin{array}{c c} 17 & & \\ 12 & & \end{array}$		
12			95		
	-	Trationated and its in aid and a continuous of the		326	
99		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote).			
		Salaries of Officers—	ϵ		
			09		
		State Forests Account 2' Services rendered other Depart-	94		
		ments—			
		4	50		
		Government Insurance Depart-	50	:	
		ment 20			
		. 80	03		
		Total—Subdivision No. I			25,1
		Subdivision No. II—Miscellaneous Services.			
		CHADGES FOR AND INCIDENTAL TO			
	2	Charges for and incidental to— Advertising, photographs, books, newspapers, a	nd	ļ	
		other publications		70	
	3	Bank exchange, commission, discount, and star	nn	- 1	

TREASURY DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 3.—TREASURY DEPARTMENT—	1 926–	2 7.
1926–27.	,—, 	Subdivision No. II—Miscellaneous Services—continued.	£	£
	4	CHARGES FOR AND INCIDENTAL TO—continued. Government Insurance Department: Work per-		
		formed	50	
	5 6	Legal expenses Office fittings and requisites	$\begin{array}{c c} 40 \\ 1,575 \end{array}$	
	7	Our nttings and requisites Overtime and meal allowances	240	
	8	Postage, telegrams, and rent of boxes	2,240	
	9	Printing and stationery	4,250	
	10 11	Refund of unclaimed dividends, New Zealand Stock	50 50	
	$\frac{11}{12}$	Refunds unclaimed moneys Retaining-fee for Financial Adviser	417	
	13	Telegrams beyond the Dominion (part recoverable)	4,850	
	14	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	200	
	15 16	Travelling allowances and transfer expenses Value of interest coupons and warrants paid and	450	
	10	cancelled by Treasury Cashier, but subsequently lost	10	
	17	Value of interest coupons paid and cancelled by Post		
		Office, but subsequently lost	10	
	18	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50	
	İ	cidental to the other items of this subdivision	50	
	ļ	Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		Exchange £250		
		Telegrams beyond the Dominion 3,200 Miscellaneous 500		
	6	Miscenaneous 500		
		3,950		
		Total—Subdivision No. II		17,002
]] [,
		Subdivision No. III.—Rates on Crown and Native Lands.		
		D 11 1 1 1 100 1 1 D 1 1 1 1000		
	19	Payable under section 108 of the Rating Act,1908— Special rates on Crown Lands, payable in respect		
	1.0	of security given by local bodies for certain loans	10	
	20	Special rates on Native Lands, payable in respect		
		of security given by local bodies for certain loans	5	
	21	Payment of special rates on lands acquired by the		
	ļ	Crown, as provided by section 112 of the Local Bodies' Loans Act, 1913	5	
		Total—Subdivision No. III		20
		Gross Total	-	42,173
		Credits-in-aid (a)		4,753
	[NET TOTAL—VOTE No. 3 -		37,420

(a) Credits-in-aid—

				Other	
			Salaries.	Charges.	19 26–27.
			£	£	£
Subdivision I			803		803
" II		. • •	• •	3,950	3,950
${f Totals}$	• •		803	3,950	4,753

LAND AND INCOME TAX DEPARTMENT.

						19	2 6– 2 7.	
					Salaries.	Oth	er Charges.	Total.
ote No. 4	.—Land and In	соще Тах D	epartment-		£		£	£
Gr	OSS TOTAL	••			37,539		22,473	60,012
Cr	EDITS-IN-AID				130		2,045	2,175
	ET TOTAL				37,409	-	20,428	57,837
	1 1		*					
Number of Persons.			-LAND AL		ME TAX		1926	-27.
1926–27.	1 *Salari		NISTRATIVE	Division			£	£
1	1 at	£1,000 (Con			•••	•••	1,000	a.
			LERICAL DI	VISION.				
	Class	s <i>Special</i> — at £765 (9 m	nonths) £71	5 (3 mont	hs)	£ 753		
2	1 :	at £665 (9 n				653	1 400	
		s <i>I</i> at £565			1,	695	1,406	
4		at £540 (5 m s <i>III</i> —	nonths), £51	5 (7 mont)		525	2,220	
4	5 8	at £470		••	2,	350	2,220	
6		at £470 (1 m s <i>IV</i> —	nonth), £44 t	i (11 mont	hs)	447	2,797	
	6 a	ıt £425				550	_,,	
		at £425 (6 m at £425 (1 m				$\begin{array}{c} 826 \\ 402 \end{array}$		
10	1 &	at £400` s V—	• ''	••		400	4,178	
2	1 1	at £380 (4 m				364	1,110	
2		at £380 (1 m s <i>VI</i> —	nonth), £355	(11 mont	hs) —	357	721	
	5 8	at £335		 0 (10	1,	675		
		at £335 (2 m at £320 (11 :				$\frac{322}{318}$		
	1 8	at £320 (9 n	nonths), £29	95 (3 mont	shs)	314		
		ut £320 (1 m ut £295 (8 m				$\frac{297}{288}$		
11	1 a	ıt £295 (1 m				276	0.400	
		s <i>VII</i> — at £295				590	3,490	
	1 1 8	ıt £295 (9 m			hs)	290		
		t £295 (7 m				286		
		ut £295 (2 m ut £295 (1 m				$\begin{array}{c} 278 \\ 276 \end{array}$		
	1 1 8	ıt £275`		••		275		
		at £275 (8 m				266	İ	
1		ut £275 (3 m ut £275 (1 m				$ \begin{array}{c c} 256 \\ 260 \end{array} $		
		at £250 (1 m				232		
	1 ε	ut £250 (6 m	ionths), £23	0 (6 mont)	hs)	240		
		it £250 (4 m				$\begin{array}{c c}237\\470\end{array}$		
		ut £250 (3 m ut £230			,	460		
	1 a	it £230 (10 i			ths)	227		
•		it £230 (9 m				450		
• .		ut £230 (6 m ut £230 (3 m				$220 \mid 215 \mid$		
	2 8	it £230 (3 m	1000 th), £210	(11 mont)	hs)	$\frac{210}{424}$		
	4 a	t £210		••		840		
	2 ε	ıt £210 (7 m	ionths), £19	0 (5 mont	hs)	404		

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

Number f Persons.	Item.	VOTE No. 4—LAND AND INCOME TAX DEPARTMENT—continued.	1926–	27.
926–27.	1	Salaries—continued.	£	£
	_	CLERICAL DIVISION—continued.		
		Class VII—continued.		
		2 at £210 (1 month), £190 (11 months) 384		
		1 at £190 (11 months), £155 (1 month) 187		
		2 at £190 (10 months), £155 (2 months) 370		
		1 at £190 (8 months), £155 (4 months) 179 1 at £190 (7 months), £155 (5 months) 176		
	}	1 at £190 (7 months), £155 (5 months) 176 2 at £190 (5 months), £155 (7 months) 340		
		2 at £190 (6 months), £155 (6 months) 346		
		1 at £190 (6 months), £135 (6 months) 162		
		1 at £190 (4 months), £135 (8 months) 1 at £190 (1 month), £135 (11 months) 139		
		3 at £155 465		
	İ	2 at £155 (11 months), £135 (1 month) 308	1	
		2 at £155 (9 months), £135 (3 months) 1 at £155 (1 month), £135 (11 months) 137		
		2 at £135 270		
		2 at £135 (11 months), £115 (1 month) 268		
		1 at £155 (10 months), £115 (2 months) 148 4 at £135 (10 months), £115 (2 months) 528		
		1 at £135 (8 months), £115 (4 months) 128		
		1 at £135 (2 months), £115 (10 months) 118		
		1 at £135 (1 month), £115 (11 months) 116 1 at £115 (8 months), £95 (4 months) 108	.	
		2 at £115 (3 months), £95 (9 months)		
		1 at £115 (2 month), £95 (10 months) 98		
		12 at £115 (1 month), £95 (11 months) 1,164 3 at £95 285		
		1 at £95 (7 months), £80 (5 months) 89		
		1 at £95 (5 months), £80 (7 months) 86		
		2 at £95 (3 months), £80 (9 months) 166 10 at £95 (2 months), £80 (11 months) 820		
109		5 at £80 400		
		Cadets' lodging-allowances	17,419 784	
		General Division.	-	
		6 at £255 1,530		
		3 at £225 (3 months), £215 (9 months) 654 1 at £225 225	,	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
12		1 at £160 (3 months), £145 (9 months) 149		
	.	Non-permanents.	2,763	
		2 at £130 260		
		1 at £104 104		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		3 at £65 195		
14		1 at £78 (3 months) 20	1 100	
171			1,138	
	1	The delicate of a second of a shade of the state of the s	37,916	
		Estimated amount of salaries which may not be required on account of leave of absence on		
		reduced pay, resignations, &c	377	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		Amount recoverable from other Departments—Defence Department: Pav of		
		Defence Department: Pay of \mathfrak{L} officers in military camps 50		
		Stamp Duties Department in re-		
		spect of services of Inspectors 80		
		130		
			D# 800	
			37,539	

LAND AND INCOME TAX DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 4—LAND AND INCOME TAX DEPARTMENT—continued.	1926-	27.
1926-27.				
	-	OTHER CHARGES FOR AND INCIDENTAL TO—	£	£
	2	Advertising, photographs, books, newspapers, and		
	1	other publications	550	
	3	Amount required for credit of Consolidated Fund—		
		Refund to the trustees in the estate of Hemi		
		Matenga of income-tax for the years 1917-18 to		
		. 1920-21, inclusive, as recommended by the	200	
		Public Petitions Committee	690	
	4	Commission appointed under Section 2 of the Land	150	
	5	and Income Tax Amendment Act, 1925	150	
	$\begin{vmatrix} 6 \end{vmatrix}$	Law-costs (part recoverable)	3,500	
	7	Office equipment (furniture, fittings, and machines)	200	
	8	Overtime and meal allowances Postage, telegrams, and rent of boxes	1,750	
	9	D. 1. 1. 1	2,500	
	10	Rent of offices	73	
	11	Repairs and renewals to office equipment	250	
		Services rendered by other Departments—	200	
	12	Census and Statistics Department: Amount pay-		
		able for cards and labour	475	
	13	Customs Department: Collecting deposits from		
		travelling-agents for non-resident traders	200	
	14	Post and Telegraph Department: Receiving land-		
		tax and income-tax	1,700	
	15	Public Works Department: Window-cleaning and	20	
	10	removal of rubbish	60	
	16	Valuation Department: Valuations of land for tax	9 000	
	17	purposes Telephone services (including installation, extensions,	8,000	
	11	1 11 \	175	
	18	m11:11	1,500	
	19	Contingencies, including unforeseen expenditure in-	1,500	
	1	cidental to the other items of the vote	100	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		Law-costs £2,000		
		Miscellaneous 25		
		Travelling allowances and ex-		
		penses recoverable from Stamp		
		Duties Department in respect		
		of services of Inspectors 20		
		$\frac{1}{2,045}$		
		2,010		
		Claracter Thanks	22,473	CO 010
		Gross Total		60,012
		Credits-in-aid (a)		2,175
		NET TOTAL—VOTE No. 4		57,837

(a) Credits in aid—		1926–27.
Salaries		 $\tilde{130}$
Other Charges		 2,045
Total	.,	 ${2,175}$

Total.

1926-27.

Other Charges.

Salaries.

STAMP DUTIES DEPARTMENT.

						Salari	os.	Other Char	ges.	Lotai.
ote No. 5.	—Star	np Duties	Departme	ent—		£		£		£
Subdivisio	n I .—	–Stamp Du	ies .			22	,515	22, 1	25	44,64
3 ·	II	-Land and	$Deeds$ R_{\odot}	gistry		44	,030	29,6	90 :	73,72
(1 p.	oss To	ንጥ ላ ፓ				66	545	51,8	15	118,36
			••	• •	• •					
Cri	EDITS-1	IN-AID	• •			10	,000	9,3	05	19,30
NE	т то	TAL	• •			56	,545	42,5	10	99,05
Number of Persons.	Item.								1926-	-27
		VOTE NO	o. 5,—ST	TAMP DU	TIES I	DEPART	MENT	١.	1020	
1926–27.				on No. I					£	£
	1	SALARIES-		INISTRATIVE	Divis	ION.				
1		1 at £10 tary t	000 (Com for Land	missioner o s and Deed	f Stamp s)	Duties a	nd Sec		,000	
				LERICAL D	ivision.					
1		$Class\ S \ 1 \ { m at}\ I$							800	
1		Class I-			•••	•••		£	800	
		3 at 1	2615				1,8			
		1 at 4	3565					665	1	
5				nonths), £4	25 (7 n	nonths)	4	73	1	
į		$Class\ II$	<u></u>					2	,883	
1		1 at 4			•••	•••		•••	515	
		$Class\ T$								
		3 at 4					1,2		1	
. 4				nonths), £3	80 (7 n	nonths)	3	88		
_	İ	$Class\ V$,663	
12	ļ	12 at 4			•••	•••		4	,020	
		$Class\ V$					_			
		2 at 4						90		
		5 at £			•••	• • •	1,3			
		3 at 4	3250		• • •	• • •		50		
		7 at £	3230				1,6			
		5 at 4			• • •		1,0			
İ		2 at £			• • •	•••		80		
		2 at 4			• • •	•••		10		
	İ	5 at £			•••			75	j	
		6 at £						50		
		1 at £						20	ŀ	
40	-	2 at £	3115			• • • •	2	30		
								 7	,840	

GENERAL DIVISION.

 $\begin{array}{c} 250 \\ 1,200 \\ 555 \\ 175 \\ 160 \end{array}$

2,340

1 at £250 5 at £240 3 at £185 1 at £175 1 at £160

CI	T. T. T. T. T. T. C.		
STAMP	DUTIES	DEPARTMENT-	-continued.

Number f Persons.	I tem.	VOTE No. 5.—STAMP DU continu		EPARTN	MENT—	1926-	27.
926–27.		Subdivision No. I.—Star	np Dutre	s—contin	ued.	£	£
	1	SALARIES—continued.				_	~
		Non-perman	ENMC		£		
		1 at £234			234		
		2 at £143		•••	286		
		2 at £117		• • •	234		
		2 at £10± 4 at £91		• • •	$\begin{array}{c c} 208 & \\ 364 & \end{array}$		
12		1 at £78		•••	78	j	
						1,404	
87		Allowances to officers per duties under Public Se					
		209		guiations	24A anu	50	
		0				22,515	
		OTHER CHARGES FOR AND II Advertising, books, photo			ers and		
		other publications				50	
		Amusements-tax—					
	3	Inspection and collection		•••	••	25	
	$\begin{vmatrix} 4 \\ 5 \end{vmatrix}$	Printing tickets (recover Freight, cartage, and trans		rges		$\begin{array}{c c} 25 \\ 100 \end{array}$	
	6	Fuel, light, power, and wa				100	
	7	Law-costs				350	
	8	Office cleaning	•••	•••		70	
	9 10	Office equipment Overtime and meal allowa	 nces	•	•••	300 25	
	11	Payment for services re	$_{ m ndered}$	by other		20	
		ments—			*		
		Department of Internal				1 000	
	12	Part cost of inspection Postage, telegrams, and re				1,000 1,300	
	13	Printing and stationery				2,300	
	14	Relieving-allowances				50	
	15	Rent of offices Stamp-printing (part recov	 avabla)	•••	£	2,550	
	16	Wages and overhead exp		•••	5,200		
		Machine (new)		•••	630		
		Printing-ink			500		
	1	Repairs to machinery		• • •	200		
		Stamp paper Stamp dies and plates	•••	•••	4,500 1,700		
		-				12,730	
	17	Telephone services (inclu			exten-	250	
	18	sions, maintenance, rent Transfer and removal expe		,		$\begin{bmatrix} 350 \\ 250 \end{bmatrix}$	
	19	Travelling expenses and al				$\frac{250}{150}$	
	20	Typewriters: Purchase an				150	
	21	Valuation fees	"			100	
	22	Valuator's services		n armand	ituuna in	100	
	23	Contingencies, including uncidental to the other ite				50	
		Estimated credits-in-aid Appropriation Act,	1923 (see	end of vo			
		Cost of printing amus		x tickets	5		
	.1	Law-costs and miscell Postage on parcels of		forms	$\frac{100}{200}$		
		Stamp-printing	···	iorms	9,000		
					9,305		
					-	22,125	
i	! !	Total – Sub	division	No. I			44,

STAMP DUTIES DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 5.—STAMP DUTIES DEPART continued.	MENT	1926-2	7.
926–27.	- 				***
		Subdivision No. II.—Land and Deeds Reg	istry.	£	
	24	Salaries—			
	24	Professional Division.			
1		1 at £765		765	
		Class A—	£		
		1 at £715	715		
		1 at £665 (5 months), £615 (7 months)	636 615		
$_4$		1 at £615 1 at £615 (5 months), £590 (7 months)	601		
Ŧ		Class B—		2,567	
		2 at £590	1,180		
		1 at £565	565		
		2 at £565 (8 months), £540 (4 months)	1,114		
6		1 at £540 (5 months), £490 (7 months)	511	3,370	
		Class C— 1 at £490	490	5,570	
		1 at £490 (5 months). £470 (7 months)	478		
3		1 at £470	470		
9		Class D		1,438	
		1 at £425	425		
		3 at £380	1,140		
6		2 at £335	670	2,235	
		CLERICAL DIVISION.		2,250	
		Class III—			
	İ	1 at £470	470		
2	-	1 at £145 (8 months), £425 (4 months)	442		
_		Class IV—		912	
		4 at £425	1,700		
5		1 at £425 5 months) £380 (7 months)	399	0.000	
_		Class V—		$\begin{bmatrix} 2,099 \\ 2,660 \end{bmatrix}$	
7		7 at £380 \cdots $Class\ VI—$	••••	2,000	
4		4 at £335		1,340	
3	ì	Class VII—		, i	
		11 at £295	3,245		
		$4 \text{ at } £275 \qquad \cdots \qquad \cdots$	1,100		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1,500		
		8 at £230	$\begin{bmatrix} 1,840 \\ 2,520 \end{bmatrix}$		
		12 at £210 1 at £190	190		
		4 at £155	620		
		7 at £135	945	ł	
		8 at £125	1,000		
7 2		11 at £115	1,265	14 005	
	1 '	O D		14,225	
		GENERAL DIVISION.	270		
		1 at £270 2 at £255	510		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	205		
		11 at £185	2,035		
17		2 at £175	350	0.070	
		**		3,370	
		Non-permanents.	1,100	}	
		4 at £275	750		
		3 at £250 \cdots \cdots 7 at £225 \cdots \cdots	1,575		
		1 at £220	208		
		6 at £156	936		
		5 at £143	715	j	
		3 at £130	390		
	1	2 at £135	270		
		3 at £117	351		
		3 at £115	345	i	

STAMP DUTIES DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 5—STAMP DUTIES DEPARTMENT— continued.	1926-	-27.
1926–27.		Subdivision No. II.—Land and Deeds Registry— continued.	£	£
	24	Salaries—continued.		
		Non-permanents continued.		
62		6 at £104 624 8 at £95 760 9 at £91 819 2 at £78 156		
	-		8,999	
		Allowances to officers temporarily performing special or higher duties under Public Service Regulations 24A and 209	50	
	:	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Amount recoverable from Land Assurance Fund for salaries, &c., incurred under Land Transfer Act, 1924, (see Section 18, Finance Act, 1924) £10,000		
		-	44,030	
	. 05	OTHER CHARGES FOR AND INCIDENTAL TO-		
	25 26	Advertising, photographs, books, newspapers, and other publications Annual certificates under the Law Practitioners Act,	700	
		19 08	75	
	27	Binding	550	
	$\begin{array}{c} 28 \\ 29 \end{array}$	Fireproof fittings, shelving, &c Freight, cartage, and transport charges	5,000 25	
	30 31	Fuel, light, power, and water Lands and Survey Department: Draughtmen's work	450	
	20	performed	14,000	
	$\begin{vmatrix} 32 \\ 33 \end{vmatrix}$	Law-costs Office-cleaning	50 50	
	34	Office equipment	1,500	
	35	Overtime and meal allowances	40	
	36	Postage, telegrams, and rent of boxes	500	
	37	Printing and stationery	2,000	
	38	Relieving allowances	2 250	
	39 40	Rent Telephone services (including installation, extensions,	3,250	
	30	maintenance, rent, and calls)	300	
	41	Transfer and removal expenses	500	
	42	Travelling expenses and allowances	200	
	43	Typewriters: Purchase and repairs	350	
	44	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50	
		Total-Subdivision No.II $-$	29,690	73,720
		Greek Tomar	-	
		Chenyma vy vyn (a)	•••	118,360 19,30 5
		` '		
		NET TOTAL—VOTE No. 5		99,055

	(~)	Cha	Ji+6	in	aid	
1	(a)	Ure	edits	-ın-	-aac	:

		Salaries.	Other Charges.	1926–27.
		£	Ĕ	£
Subdivision	I		9,305	9,305
,,	Π	10,000	••	10,000
\mathbf{Totals}		 10,000	9,305	19,305
				Electric Property of the Control of

NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT.

								19	26–27.	
						Salari	es.	Othe	er Charges.	Total.
Vote No. 6	.—-Νε	ational Provident Department—	and F	riendly S	ocieties		£		£	£
Gi		Total .		• •		10	,999		13,295	24,294
Cr	EDITS	B-IN-AID .		• •	• •		15		10	25
NI	ET T	OTAL .	•	••	• •	10	,984		13, 285	24,269
Number of Persons.	Item.				10000				1926	
1926-27.	ļ	*		TIONAL		OVIDEN		1D	-	en en artista en 1863 kan ar ar ar ar parenne.
1920-21.	1	FRIEND *SALARIES—	LY SU	CIETIE	is DEP	ARTME.	NT.		£	£
			CLE	RICAL D	IVISION					
		Class II—	СПВ	WICAL D	IVIBION.					
1		1 at £515			•••	•••		• • •	515	
1		Class III 1 at £470							470	
		Class IV—			•••	•••		•••	110	
1		1 at £425			•••				425	
		Class V— 5 at £380					1,9	£ ∩∩		
6		1 at £355				•••		55		
		Class VI-							2,255	
3		3 at £335 Class VII—			•••	•••		•••	1,005	
		3 at £295				N 14.22 P. F.	. 8	85	:	
		3 at £275				• • • • • • • • • • • • • • • • • • • •		25		
		2 at £250						00		
		1 at £230			•••	•••		30		
		2 at £210			•••	•••		20		
		1 at £190 2 at £155			•••	•••		90 10		
		4 at £135			•••	•••		40		
		5 at £115				•••		75		
26		3 at £95			•••	•••		85		
		Codistal lada							4,760	
		Cadets' lodg	ung-am	owances	•••	•••			169	
1		1 at £185	GEN	eral Di	VISION.				185	
-		1 200 20100	**		• •	•••		• • •	001	
		1 at 0100		N-PERMA			1	ne l		
		1 at £196 4 at £157	•••		• • •	•••		$\frac{96}{28}$		
		5 at £144	•••			•••		$\frac{20}{20}$		
		1 at £104	•••		•••	•••		04		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 6.—NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT—	1926-	1926–27.		
1 926–2 7 .	i i	continued.				
	1	Salaries—continued.	£	£		
		Non-permanents—continued.				
		1 at £78 78	Ì			
19		6 at £65 390	0.007			
58		Proportion of salaries to be recovered—	2,207			
		Government Insurance Department	905			
		Less salaries provided but not now required	12,896 1,897			
		Leas salailes provided but not now required	10,999			
		OTHER CHARGES FOR AND INCIDENTAL TO-	10,333			
	2	Assistance to Sick and Funeral Funds of Friendly				
		Societies on account of deficiencies due to the war				
	3	and of excess after-discharge sickness	50			
	4	Audit Office for inspection of Accounts Commission, allowances, and agency expenses	5,500			
	5	Commission on money-orders for approved Friendly				
	G	Societies maternity claims	60			
	6 7	Fees for certificates of birth, &c Fuel, light, power, and water	$\begin{bmatrix} 50 \\ 40 \end{bmatrix}$			
	8	Government Actuary's office: Services of officers	1,960			
	9	Government Insurance Department for services of	1,000			
		charwomen and messengers	125			
	10	Office fittings and requisites	300			
	11	Officers of Friendly Societies for statistical returns of	1 000			
	12	sickness and mortality	1,200			
	13	Overtime and meal allowances Postage, telegrams, and rent of boxes	120 500			
	14	Post and Telegraph Department for services rendered	600			
	15	Printing and stationery	600			
	16	Rent	1,480			
	17	Telephone services (including installation, extensions,	_,			
		maintenance, rent, and calls)	120			
	18	Travelling allowances and expenses	500			
	19	Contingencies, including unforeseen expenditure in-				
		cidental to the other items of the vote	40			
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—				
		Miscellaneous £25				
		0	13,295	04.00		
		Gross Total		24,29		
		Credits-in-aid (a)		2		
		NET TOTAL—VOTE No. 6		24,26		

(a) Credits-in-aid—

		Other	
	Salaries.	Charges.	1926-27.
	£	£	£
	15	10	25
			
Totals	15	10	25
		S	

POST AND TELEGRAPH DEPARTMENT.

	1926-27.		
	Salaries.	Other Charges.	Total.
Vote No. 7.—Post and Telegraph Working-expenses—	£	£	£
Subdivision I.—Post and Telegraph Salaries	1,900,708		1,900,708
,, II.—Conveyance of Ocean Mails	• • • •	96,860	96,860
,, III.—Conveyance of Inland Mails	•••	146,350	146,350
,, IV.—Carriage of Mails by Railway		103,200	103,200
,, V.—Maintenance of Telegraph and Tele-			
phone Lines	•••	<i>515</i> , <i>150</i>	<i>515</i> , <i>150</i>
" VI.—Motor Service and Workshops		1 4 0,000	140 ,000
,, VIIMiscellaneous Services	•••	344,184	344 ,184
Gross Total	1,900,708	1,345,744	3,246,452
Credits-in-aid	339,000	401,400	740,400
NET TOTAL	1,561,708	944,344	2,506,052

						<u>_</u>	
Number of Persons.	Item.					1926	-27.
1000 07	-	VOTE No 7.—					
19 26– 27.		WORE	£	£			
		Subdivision No. I	-Postal and $Tele$	graph S	Salaries.		
	1	*Salaries—					
		Admin	ISTRATIVE DIVISIO	ON.			
		1 at £1,300 (Secre	tary)		£ 1,300		
		1 at £1,250 (Chief	Telégraph Engine	eer)	1,250		
4		1 at £1,050 (First 1 at £950 (Second			$\begin{array}{c c} 1,050 \\ 950 \end{array}$		
т.		r at 2000 (Decond	Assistant Decreta	· y)		4,550	
		CLERICAL AND	Engineering D	IVISIONS	š.		
						-	
		Class Special— 1 at £875			875		
		3 at £825	•••		2,475		
		2 at £765	•••	•••	1,530		
		4 at £715			2,860	ļ	
17		7 at £665	•••	•••	4,655	10.005	
		Class I—				12,395	
		19 at £615	•••		11,685	ŀ	
39		20 at £565	***	•••	11,300	00.005	
		Class II—				22,985	
22		22 at £515	•••			11,330	
		Class III					
38		38 at £470	•••	,		17,860	
		Class IV—					
95]	95 at £425		•••	•••	40,375	

For particulars of salaries see "Post and Telegraph Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

		POST AND TELEG	RAPH DEPA	RTMEN	T—continue	d.	
Number of Persons.	Item.	VOTE No. 7.—POST AND TELEGRAPH WORKING-EXPENSES—continued				1926-2	27.
1926–2 7 .	-,, 					£	£
		Subdivision No. I.—Pos	tai ana Telegra	apn Sala	ries—cta.	3 5	ž.
	1	Salaries—continued.					
		CLERICAL AND ENGIN	EERING DIVISI	ions—con		,	
		Class V			£ 000		
151		150 at £380 1 at £355		•••	57,000 355		
		$Class\ VI$ —		•••		57,355	
324		324 at £335 Class VII—	•••	•••	•••	108,540	
		1,772 at £295		•••	522,740		
		162 at £275 169 at £250	•••		$44,550 \\ 42,250$		
		1 at £240	•••		240		
		194 at £230	•••	• • •	44,620		
		72 at £210 64 at £190	•••	•••	15,120		
		116 at £155	•••		$12,160 \\ 17,980$		
		59 at £ 135	•••	•••	7,965		
		46 at £115 46 at £95	•••	•••	5,290		
2,781		80 at £80	•••	•••	4,370 6,400		
_,,			RAL DIVISION.			723,685	
			nale Officers.				
		Class I	iare Officers.				
1		1 at £350	•••	•••		350	
37		Class II— 37 at £275	•••	•••		10,175	
0.4		Class III—					
34		34 at £245 $Class\ IV$ —	•••	•••	•••	8,330	
		50 at £225	•••		11,250		
90		40 at £215		,	8,600	10.050	
		Class VI— 1 at £194	•••		194	19,850	
155		154 at £185		•••	28,490		
		Class VIII—			04.000	28,684	
		232 at £150 23 at £135	• • •	• • •	34,800 3,105		
		37 at £122	•••		4,514		
		29 at £109	•••		3,161		
		1 at £100	•••	• • •	100		
990		3 at £96	•••	• • •	288		
332		7 at £83	•••	•••	581	46,549	
		SHORTHAND-WRITERS	s, Typists, and	о Масні	INISTS.		
2		Class Special— 2 at £245	•••	•••		490	
		Class I					
20		$20 ext{ at } \pounds 225$ $Class II$ —	• • •	•••	•••	4,500	
19		19 at £205	•••			3,895	
		Class III— 7 at £185			1,295		
		7 at £175	•••		1,295 $1,225$		
		3 at £160	•••	•••	480		
		14 at £145	•••		2,030		
		7 at £130	•••	•••	910		
		12 at £115	•••	• • •	1,380		
		11 at £105	• •		$1,155 \\ 790$		
75		8 at £90 6 at £75	•••		$ \begin{array}{c c} 720 \\ 450 \end{array} $		
10		S TAIL OF C	* * *			9,645	

POST AND TELEGRAPH DEPARTMENT—continued.

Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and linemed recovered from Public Works Fun vote "Telegraph Extension"			27.
Class I— Tat £430 Class II— 14 14 at £390 Class III— 14 at £395 Class IV— 64 at £325 Class VI— 24 at £275 4 at £270 409 at £265 Class VII— 934 at £240 91 at £220 21 at £207 56 at £194 116 at £181 86 at £188 116 at £182 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 at £27 8,426 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Specileave without pay Class VII— Amount unexpended owing to: (1) Specileave without pay Class VIII Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineame recovered from Public Works Fun vote "Telegraph Extension"	Salaries	£	£
Class I— 7 at £430 Class II— 14 at £390 Class III— 48 at £355 Class IV— 64 at £325 Class V— 385 at £295 Class VI— 24 at £270 409 at £265 Class VII— 934 at £240 91 at £220 21 at £207 56 at £194 116 at £181 86 at £148 116 at £182 125 at £109 361 at £96 465 at £33 40 at £70 Message boys and girls— 824 at £57 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now required a first considerable and conside			
Class II— 7 at £430 Class III— 14 at £390 Class III— 48 at £355 Class IV— 64 at £325 Class V— 385 Class VI— 24 at £275 4 at £270 409 at £265 Class VII— 934 at £240 91 at £200 21 at £207 56 at £194 116 at £181 86 at £148 116 at £182 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 at £57 New stations, telegraphists, cadets, mess training cadets Class VIII Class			
Class II—			
Class II		3,010	
Class III	•••		
Class IV		5,460	
64		17,040	
385 385 at £295 Class VI—		20,800	
Class VI—		113,575	
4 at £270 409 at £265 Class VII— 934 at £240 91 at £220 21 at £207 56 at £194 116 at £181 86 at £148 116 at £122 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 at £57 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Speci leave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	£		
Class VII— 934 at £240 91 at £220 21 at £207 56 at £194 116 at £181 86 at £148 116 at £122 125 at £109 361 at £96 465 at £83 2,411 Message boys and girls— 824 at £57 Message boys and girls— 824 at £57 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Specileave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	6,600 1,080		
934 at £240 91 at £220 21 at £207 56 at £194 116 at £181 86 at £148 116 at £122 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 at £57 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Specileave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	108,385	116,065	
21 at £207 56 at £194 116 at £181 86 at £148 116 at £122 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 8,426 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Specileave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	,	110,000	
56 at £194 116 at £181 86 at £148 116 at £122 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 8,426 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Specileave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	4 9 4 17		
86 at £148 116 at £122 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 824 at £57 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Specileave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	10 004		
116 at £122 125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824 8,426 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Speci leave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	. 20,996		
125 at £109 361 at £96 465 at £83 40 at £70 Message boys and girls— 824			
361 at £96 465 at £83 40 at £70 Message boys and girls— 824 824 at £57 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Specileave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	10 00		
465 at £83 40 at £70 Message boys and girls— 824 8,426 New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now require Amount unexpended owing to increment being payable for periods of less that twelve months Amount unexpended owing to: (1) Specifically leave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and linemed recovered from Public Works Fun vote "Telegraph Extension"	04 656		
Message boys and girls— 824 at £57	. 38,595		
824 824 at £57	. 2,800	396,943	
New stations, telegraphists, cadets, mess training cadets Less salaries provided but not now require Amount unexpended owing to increment being payable for periods of less that twelve months Amount unexpended owing to: (1) Specification leave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and linemed recovered from Public Works Fun vote "Telegraph Extension"			
Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Speci leave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and linemed recovered from Public Works Fun vote "Telegraph Extension"		46,968	
Less salaries provided but not now requir Amount unexpended owing to incremen being payable for periods of less that twelve months Amount unexpended owing to: (1) Speci leave without pay; (2) sick leave of half or without pay Estimated credits-in-aid under Section Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and linemed recovered from Public Works Fun vote "Telegraph Extension"	sengers, and	2 000	
Amount unexpended owing to incremen being payable for periods of less that twelve months	• • • • • • • • • • • • • • • • • • • •	3,000	
Amount unexpended owing to incremen being payable for periods of less that twelve months	•	1,854,404	
Appropriation Act, 1923 (see end of Post-office Savings-bank manageme expenses Salaries of engineers and lineme recovered from Public Works Fun vote "Telegraph Extension"	ts an £ 20,243 al	35,000	
3.4	f vote)— nt £ 85,500 en d, 175,000 ed e- 22,000	1,819,404	

${\bf POST~AND~TELEGRAPH~DEPARTMENT-} {\it continued}.$

Number of Persons.	Item.		1926	-27.
1926–27.	 	VOTE No. 7.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	£	£
		Subdivision No. I.—Postal and Telegraph Salaries—ctd.	~	~
	1	Salaries—continued.		
		GENERAL DIVISION—continued.		
		Allowances— Forage Locality Lodging Miscellaneous Contribution to Railways Department for combined Post-Telegraph-Railway Offices Married Officers: To provide a minimum of salary £209 15s. per annum Non-classified officers, including country postmasters and telephonists, payable by salary (number, 1,694) Retaining fee to John Millward, London, New Zealand representative on Standing Committee, Imperial Wireless, at £100 per annum Salaries of Medical Referees	600 104 7,000 2,500 11,500 1,000 58,000 100 500	1,900,708
	2	Subdivision No. II.—Conveyance of Ocean Mails. Charges for and incidental to— Pacific Services— North American overland and Atlantic transit— Canada United States of America Resident Agency, San Francisco New Zealand—San Francisco service Travelling expenses and allowances to officers employed in the Marine Post-office in the Vancouver and San Francisco services	6,500 14,500 400 26,950	
		New Zealand – Vancouver service	1,100 21,550 10 350 71,360	
		India, and Australia 2,250 Great Britain 450 Gratuities, landing, and shipping Postal Union transit charges	2,700 22,500 300	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Industries and Commerce Department— £ New Zealand – San Francisco service 12,500 New Zealand – Vancouver service 10,000	25,500	
		Total—Subdivision No. II		96,860

${\tt POST\ AND\ TELEGRAPH\ DEPARTMENT-} continued.$

Number of Persons.	Item.	VOTE No. 7.—POST WORKING-EXP	1926–27.				
1926-27.	ÌÌ	Subdivision No. III.—Co	onveyance o	f Inland .	Mails.	£	£
	3	Charges for and incides Auckland Blenheim	•••	•••		19,700 3,200	æ.
		Christchurch	•••			12,900	
		Dunedin				7,550	
		Gisborne Greymouth	• • •	•••	•••	8,600 2,600	
		Hamilton	•••			14,750	
		Invercargill				6,200	
		Napier Nelson				$\begin{bmatrix} 7,400 \\ 6,500 \end{bmatrix}$	
		New Plymouth	•••		• • •	5,000	
		Oamaru	•••			2,000	
		Palmerston North	•••	•••	•••	8,200	
		Thames Timaru				$6,150 \\ 6,800$	
		Wanganui	•••		•••	10,300	
		Wellington	•••			9,200	
		Wesport New services, &c. (all di	atriota)	•••		$\frac{2,300}{7,000}$	
		riew services, ac. (an ar	5011005)	•••		,,000	
		Estimated credits-in Appropriation . Subsidies by Go ments for mail	Act, 1923 (s overnment	see end of			
		Subsidies by sett	lers	•••	1,900		
				•	5,000		
		Total-Su	bdivision N	To. III	•••		146,350
		Subdivision No. IV.—Car		nils by $R\epsilon$	ailway.		
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Charges for and incider Carriage of Mails by Rail Ordinary mails				103,000	
		Special trains and truck		•••		200	
		Total— Su	bdivision N	To. IV			103,200
		Subdivision No. V.—Mar Telephon	intenance of ne Lines.	f $Telegrap$	h and	-	
	5	Charges for and incide Maintenance of Telegraph		hone Line	es—		
		Camp allowances Extra labour	•••	•••	•••	1,000	
		Material for repairs	•••			174,000	
		Rural telephones (assist	ance to sett			150	
		Travelling - expenses of linemen	f telegraph	enginee		10,000	
		inemen	*** .	•••	••• }	10,000	
		Estimated credits-in Appropriation					
		Sale of old mater	ial		1,500		
		Recoveries on acc Stores and en Wages of linen	gineering b		35,000		
	1971	from vote "Te			230,000		
				9	266,500		
		$Total-\!\!\!\!-\!$	bdivision N	o. V			515,150

POST AND TELEGRAPH DEPARTMENT—continued.

Number of Persons.	Item.		1 926-	-27.
1926-27.	- 	VOTE No. 7.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	£	£
		Subdivision No. VI.—Motor Services and Workshops.	æ	æ
	6	Charges for and incidental to		
] [Motor Services, &c.—		
		Allowance to officers using their own bicycles, and to motor-cycle riders	2,500	
		Purchase of— Motor vehicles and bicycles	50,000	
		Motor accessories	17,000	
		Motor spirits and oils	25,000	
		Repairs and hire	9,000	
	i	Wages of mechanics, chauffeurs, &c	8,000	
		Workshops—	10.000	
		Material	10,000	
		Wages of mechanics, &c	17,000 1,500	
		Miscenaneous	1,000	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
		vote)— & Motor services: Telegraph extension 20,000		
		Motor transport services 15,000		
	1 1	Purchase of motors for other de-		
		partments 25,000		
		Workshops 3,000		
	1 1	Workshops: Telegraph extension 5,000		
		68,000		
		Total—Subdivision No. VI		140,000
		Subdivision No. VII.—Miscellaneous Services.		
	7	Charges for and incidental to— Allowances—		
		Calculation of Savings-bank interest	4,250	
		Miscellaneous allowances	2,000	
		Savings-bank tellers	1,000	
		7 044	7,250	
		Furniture and fittings—	2 000	
		Purchase of Repairs to	$\begin{bmatrix} 3,000 \\ 2,700 \end{bmatrix}$	
		nepairs to	2,100	
			5,700	
		Office Management Expenses—		
		Advertising, photographs, books, newspapers, and		
		other publications	2,000	
		Audit fees	325	
		Bank exchange, commission, discount, and stamp	0.000	
		duty	2,000	
		Cleaning and scavenging Cost-of-living bonus to annuitants, Public Service	14,500	
		Superannuation Fund, and increased pensions to		
		widows and children	4,906	
		High Commissioner's Office—	2,000	
•		Clerical work, printing, stationery, postages,		
		bills of lading, rent, &c	550	
		Home savings-boxes, purchase of	900	
		Law-costs	150	
		Light, fuel, and water	20,500	

POST AND TELEGRAPH DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 7—POST AND TELEGRAPH WORKING-	1926-	-27.
1926-27.		EXPENSES—continued.	£	£
		Subdivision No. VII.—Miscellaneous Services—contd.		
	7	Charges for and incidental to—continued.	ļ	
		Office Management Expenses—continued. Mail-bags, purchase and repair of Motor-plates in connection with registration of motor-vehicles (two years' supply), (recoverable) New Zealand's share of the cost of International Postal and Telegraph Bureaux, Berne Office expenses Postal Receiving-boxes, supply of Public Service Superannuation Fund contribution Rent of buildings leased for post and telegraph offices, &c Stamps, production of Stationery, printing, and binding Subsidies for wireless broadcasting	3,000 18,000 300 6,000 100 30,408 9,000 8,750 50,000 7,000	
		Temporary exchange attendants Temporary officers, postmen, messengers, and general division	8,500	
			206,889	
•		Overtime and meal allowances	45,000	
		Parcel-post expenses	37,000	
		Sundry Charges— Compensation for articles lost or damaged during transmission by post Expenses in connection with Post and Telegraph Board of Appeal Grants to officers on retirement equivalent to salary in lieu of leave, in terms of Post and Telegraph Regulations Pensions Department: Grants to retired officers to bring superannuation allowances up to £52 per annum Compensation: Whitelaw, J., civilian, injured by a bicycle which he was riding colliding with a Departmental motor-vehicle Cash Deficiencies— Amount for Defence Department received by former Postmistress, Drury, and not traceable (Postmistress since deceased) Amounts misappropriated by Postmaster, Otautau Loss of cash on destruction of Lyell Post-office premises by fire	300 350 625 250 175 163 41 1,905	
		Travelling-expenses, &c.— Inspection of offices Railway travelling post-offices allowances Relieving-expenses Removal expenses Travelling expenses, allowances, and tram-fares	4,000 3,300 4,000 7,500 5,000 23,800	

${\bf POST\ AND\ TELEGRAPH\ DEPARTMENT}-continued.$

Number of Persons.	Item.	VOTE No. 7.—POST AND TELEG	ВАРН	1926	-27.
1926–27.		WORKING-EXPENSES—continu Subdivision No. VII.—Miscellaneous Service	ed.	£	£
	7	Charges for and incidental to—continu Typewriters and mechanical appliances: Typewriter repairs		2,940 700	
				3,640	
		Uniform clothing		13,000	
		Estimated credits-in-aid under Sectic Appropriation Act, 1923 (see end Savings-bank management expenses Sale of home savings-boxes Sale of motor-plates Sundries	of vote)— £ 9,500 900 24,000		
		Total—Subdivision No. VII	•••	: 	344,184
		Gross Total			3,246,452
		Credits-in-aid (a)		•••	740,400
		NET TOTAL—VOTE No. 7			2,506,052

(a.) Credits-in-aid:---

				Other	
			Salaries.	Charges.	1926-27.
			£	£	£
Subdivisio	n I		339,000		339 ,000
	II		• •	22,500	22,500
,,	III			5,000	5,000
,,	\mathbf{v}			266,500	266,500
,,	$\mathbf{v}\mathbf{I}$			68,000	68,000
,,	VII			39,400	39,400
Tot	ale		339,000	401,400	${740,400}$
100	/GELS	••		101,100	110,100

PUBLIC BUILDINGS, DOMAINS, MAINTENANCE OF ROADS, AND IRRIGATION WORKS.

					1926-27.	
	access to the second			Salaries.	Other Charges.	Total.
Vote No. 8.—Public Buil	ldings—		·	£	£	£
Gross Total	•••	•••		5,799	209,118	214,917
CREDITS-IN-AID		•••		•••	76,700	76,700
NET TOTAL	•••	•••		5,799	132,418	138,217
Vote No. 9.—Governme	nt and othe	r Domains-				
GROSS TOTAL		•••		4,108	3,380	7,488
CREDITS-IN-AID	•••	• • •				
NET TOTAL	•••	•••		4,108	3,380	7,488
Vote No. 10Maintena	nce and Re	pairs to Ros	ids—			
Gross Total		•••		•••	130,150	130,150
CSEDITS-IN-AID	•••	•••			2,000	2,000
NET TOTAL	•••	•••		•••	128,150	128,150
	ance of Irr liver-protect Works—					
GROSS TOTAL	•••	•••		•••	9,100	9,100
CREDITS-IN-AID	***			•••	100	100
NET TOTAL				•••	9,000	9,000
TOTALSCRE	EDITS-IN-A	AID		•••	78,800	78,800
TOTALS-NET	c	•••		9,907	272,948	282,855

Number of Persons.	Item.	VOTE No. 8	-PUBLIC BU	JILDINGS	•	1926-	-27.
1926-27.		Expenses incidental Buildings, inclu Fittings, and Fu	DING ADDITION			£	£
	1.	*Salaries— Profes	ssional Divisio	on.			
1		1 at £900	•••	•••		900	
2		Class D— 2 at £355		•		710	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.	VOTE No. 8.—PUBLIC	BUILDI	INGS—cont	inued.	1926-	-27.
1926–27.		Salaries—continued.			ļ	£	£
		CLERICAL	Division			*	æ
-		Class I—				61.5	
1		1 at £615 $Class\ III$ —	•••	•••	•••	615	
1		1 at £470				470	
_		Class V—		•••	***	1,0	
2		2 at £380	•••		•••	760	
0		Class VI—				670	
2		2 at £335 Class VII—	•••		£	670	
		1 at £234 (temporary)			234		
2		1 at £210		•••	210		
		0	D			· · 444	
		General 1 at £450	DIVISION	•	450		
		1 at £340		•••	340		
		1 at £255		•••	255		
4		1 at £185	• • • •		185		
15						1,230	
					-	5,799	
		Other Charges for and incident	dental to		-		
	2	Accident compensation,		, holiday pa	ay, and		
		special leave to workme				1,250	
	3	Advertising, photographs other publications		, newspape	rs, and	70	
	4	Conference Hall, League	of Nation	ns, Geneva:	Panel-	,,	
		lings for committee roo	m	•••	•••	125	
	_	Contribution to—	α.	, .,		110	
	5	Chatham Islands Steam Drainage Boards for dra				113	
	6	Christchurch	unage, p	abne bunan		150	
	7	Dunedin	•••	•••		150	
	8	Electrical Wiremen's Reg	istration	Act, 1925	(cost of		
		administration, including	ng fees o	of members	of the	050	
	9	Registration Board) Engineers Registration A	ct. 1924	(cost of a	dminis-	950	
		tration, including allow	ance to l	Registrar, fe			
		of members of the Regis	stration 1	Board)		475	
		Expenses in addition to d					
		vided under the Civi ment Houses, Auckla					
	10	Fuel, light, water, and					
		reception rooms, outb				900	
	11	Telephones		/00		150	
	12	Freight, cartage, and tra coverable)	nsport c	marges (£9,		11,000	•
		Government Buildings the	oughout	the Domini	ion	11,000	
	13	Office requisites, fuel, li					
		scavenging, and other	annual	services	•••	2,500	
	14 15	Courthouses Customhouses	•••	•••	•••	5,000	
	16	Departmental Buildings	···	•••		$\frac{2,000}{21,000}$	
	17	Gaols	• • • • • • • • • • • • • • • • • • • •	•••	:::	3,000	
	18	Mental Hospitals	٠	•••		18,000	
	19	Police-stations	•••	•••		$\frac{13,500}{20,000}$	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Post and Telegraph Off Public Works Worksho	ices ns (main	itenance and	work-	30,000	
	41	ing expenses), (£45,00				55,000	
	22	Quarantine Stations				2,000	
	23	Other Government Buil				3,000	
	24	Rents (£10,000 recovers		intonanca)	• • •	14,500	
	$\begin{vmatrix} 25 \\ 26 \end{vmatrix}$	Government House, Auck Government House, Auck			accom-	1,000	
	20	modation and other mis				50	
	27	Government House, Welli				1,850	

Number of Persons.	Item.	VOTE No. 8.—PUBLIC	BUILDI	NGS—co	ıtinued.	1926-	-27.
1926–27.		MAINTENANCE, ETC.—contin	ued.		-		
		Other Charges for and incid	lental to—	continued		£	£
	28	Government Houses,	Auckland				
•	29	Household furnishings	s, &c.			100	
	49	Lyttelton Borough Counto Government Depart	cn, for ext ments	ra water	suppnea	100	
	30	Parliamentary Buildings		•••		8,300	
	31	Postages, telegrams, and	telephone	services (ncluding	200	
	32	installation, extensions Seddon Memorial, Wellin	s, maintena agton : Clea	nce, rent, aning and	and cans) repairing	300 60	
	33	Services and supplies for					
	34	recoverable) Special and other rates o	п Сопови		outing	6,000	
	35	Tramways and motor-by				100	
	0.0	appointments to Appe	eal Boards,	&c.		75	
	36	Travelling allowances (£ Wages of overseers and	400) and ex	xpenses (a	£800)	1,200	
	"	coverable)	stan wor	Kinen (æ	i,000 re-	5,000	
	38	Contingencies, including	unforesee	n expend	iture in-		
		cidental to the other it	ems of the	vote	•••	100	
		Estimated credits-in	-aid under	Section 2	22 of the		
		Appropriation A			vote)—		
		Freight, &c. Public Works Wo	 vkohona	•••	£9,000 45,000		
		Rents	rksnops		10,000		
		Services, &c., for o			6,000		
		Wages of overseer Miscellaneous iten	s, &c.	•••	$\frac{4,000}{2,700}$		
		Wiscentaneous iten	us	•••			
					76,700		
					-	209,118	
		GROSS TOTAL		•••			214,91
		CREDITS-IN-AID		•••			76,70
		NET TOTAL	-VOTE No	8			138,21
		VOTE No. 9.—GOVER		AND OTI	HER		
		DOMA GOVERNMENT DOMAINS—	AINS.		-		
	1	Salaries— General	Drurerov		£		
	1 1	2 at £270	DIVISION.		540		
				•••	252		
3		1 at £252					
3		1 at £252 Non-perm		•••		792	
3		Non-perm		•••	054	792	
3		Non-Perm 1 Gardener at £253 10s.	IANENTS.		254 1,673	792	
		Non-Perm 1 Gardener at £253 10s. 7 Gardeners at £239 3 Gardeners at £234			$\begin{array}{c c} 1,673 \\ 702 \end{array}$	792	
		Non-Perm 1 Gardener at £253 10s. 7 Gardeners at £239	IANENTS.		1,673		
14		Non-Perm 1 Gardener at £253 10s. 7 Gardeners at £239 3 Gardeners at £234	IANENTS.		$\begin{array}{c c} 1,673 \\ 702 \end{array}$	3,316	
		Non-Perm 1 Gardener at £253 10s. 7 Gardeners at £239 3 Gardeners at £234 3 Gardeners at £229	 		$\begin{array}{c c} 1,673 \\ 702 \end{array}$		
14	2	Non-Perm 1 Gardener at £253 10s. 7 Gardeners at £239 3 Gardeners at £234	 		$\begin{array}{c c} 1,673 \\ 702 \end{array}$	3,316	

${\it Appropriations \ for \ Consolidated \ Fund \ Services}.$

Number of Persons.	Item.	VOTE No. 9.—GOVERNMENT AND OTHER	1926-	-27.
1926–27.		DOMAINS—continued.	£	£
		GOVERNMENT DOMAINS—continued.		
		Other Charges for and incidental to—continued.	1	
	4	Flower seeds, bulbs, plants, &c	1	
	5	Garden implements, manures, &c		
	6	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	75	
			875	
		Other Domains and Works as under		
	7	Fencing and improvement: Recreation-grounds and		
	ŀ	domains	50	
		Grants: Purchase and Improvements—		
	8	Blackwater Domain		
	$\begin{vmatrix} 9\\10 \end{vmatrix}$	Brooklyn Domain, Riwaka (improvements)		
	11	Devonport Domain (improvements) Edendale Domain (additional land)	~ 0	
	12	Howick Cemetery (improvements)	40	
	13	Hukutaia (to re-coup Land for Settlements Account		
		on account of reservation for recreation purposes)	120	
	14	Kaihere Domain	50	
	15	Kohukohu Domain (improvements)	150	
	16	Kowhai Park, Feilding (purchase of land)		
	17	Lincoln Domain (improvements)	1	
	18	Manaia Domain (improvements)	7.5	
	19 20	Matiere Cemetery Mayfield Domain (grant for purchase of land, con-		
		ditional on certain land being transferred to the Crown)	0.0	
	21	Mount Maunganui Domain (additional land)	100	
	22	Mount Pisa (purchase of land)	50	
	23	Papanui Domain (purchase of additional land), (or	L	
		account of £500)	000	
	24	Rangiora Recreation-grounds (towards purchase)		
	25	Raurimu Domain (improvements)		
	26	Rhodes Park (improvements)		
	$\begin{vmatrix} 27 \\ 28 \end{vmatrix}$	Rotokare Domain (fencing) Stockton Domain	10	
	29		$\begin{bmatrix} 10 \\ 50 \end{bmatrix}$	
	30	Taupo Domain Te Kohanga (for improvements conditional on certain	30	
	00	land being transferred to Crown)	50	
	31	Waihirere Bush (improvements)	50	
		Subsidies—		
	32	Brighton Domain (improvements), (£1 for £1 10s.)		
	33	Cave Domain (improvements), (£1 for £1)		
	34	Enfield Domain (purchase of land), (£1 for £1)		
	35	Fairlie Domain (improvements, extension, and pro-		
	36	tection of Domain), (£1 for £1) Flaxbourne Domain (£1 for £1)	50	
	37	$C = \{1, 2, 3, \dots, C\}$	05	
	38	Halswell Domain (improvements), (£1 for £1)	FO	
	39	Huiroa Domain (improvements), (£1 for £1)	FO.	
	40	Katikati Domain (improved access), (£1 for £1)	100	
	41	Kimbolton (improvements), (£1 for £1)	0.5	
	- TT	V D-main Waimania (61 for 61)	50	
	42	Kynnersiey Domain, Walmarie (£1 for £1)		
		Lincoln Recreation-ground (purchase of land), (£1	,	
	42 43	Lincoln Recreation-ground (purchase of land), (£1 for £1)	200	
	42	Lincoln Recreation-ground (purchase of land), (£1	200	

Number of Persons.	Item.		1926-	27.
1926–27		VOTE No. 9.—GOVERNMENT AND OTHER DOMAINS—continued.		
		OTHER DOMAINS AND WORKS AS UNDER-continued.	£	£
	47 48	Subsidies—continued. Omau Domain (improvements), (£1 for £1) Onamaluta (improvements), (£1 for £1)	50 50	
	49 50	Paihia (improvements), (£1 for £1) Panmure Domain (improvements to Domain), (£1 for £1)	100 50	
	51 52 53	Pongaroa (improvements), (£1 for £1) Raglan Domain (£1 for £1)	50 50 25	
	54 55	Stockton (improvements), (£1 for £1) Tapu Flat (purchase of land), (£1 for £1)	50 350	
	56 57 58	Tuatapere Domain (£1 for £2) Waiharara Domain (improvements), (£1 for £1) Waimangaroa Domain (improvements), (£1 for £1)	50 50 50	
	59 60 61	Waiuta Domain (£1 for £2) Wanaka Island (improvements), (£1 for £1) Whangateau Domain (£1 for £1)	100 200 100	
	62 63	Whenuanui (improvements), (£1 for £1) Domains not specified	250	
		Less amount provided but not required	5,435	
		Gross Total	2,505	7,488
		Credits-in-aid		•••
		NET TOTAL—VOTE No. 9		7,488
	2	VOTE No. 10MAINTENANCE AND REPAIRS TO ROADS.		•
	1 2	OTHER CHARGES FOR AND INCIDENTAL TO— Expenses incidental to the maintenance and repairs to roads Rail freight on metal: Difference between full and	30,000	
	3	concession rates on carriage of metal for local bodies Renewal of road bridges	3,000 25,000	
	5	Restoration of roadworks, bridges, &c., damaged by floods Special grant to Waiapu County for expenditure on	35,000	
	6	main highways between Te Puia and Ruatoria, on account of Native rates irrecoverable Transfer from Consolidated Fund to Main Highways	2,150	
		Revenue Fund as provided for under clause (a). Section 14, of the Main Highways Act, 1922	35,000	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Revenues from Government ferries, &c. £2,000		
		Gross Total		130,150
		CREDITS-IN-AID		2,000
		NET TOTAL—VOTE No. 10		128,150

Number of Persons.	tem.	MODE N. 11 MAINTENANCE OF IDDICATION	1926-	-27.
1926–27.	·'	VOTE No. 11.—MAINTENANCE OF IRRIGATION, DRAINAGE, AND RIVER PROTECTION AND IMPROVEMENT WORKS	£	£
	1 2 3	Other Charges for and incidental to— Expenses incidental to maintenance of dams, headworks, races, weirs, &c., Central Otago Irrigation Works Maintenance of river-improvement works at Waihou and Ohinemuri Protection of Crown property from river-erosion Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Rent £100	6,500 1,000 1,600	
		Gross Total		9,100
!		Credits-in-aid		100
		NET TOTAL—VOTE No. 11		9,000

NATIVE DEPARTMENT.

"" "" 18,465 18, "" "" 18,465 18, "" "" 25,745 18,465 44, "" "" 8,415 1,000 9,				1926–27.	
Subdivision I.—Native Department 25,745 25, " II.—Miscellaneous Services 18,465 18, GROSS TOTAL 25,745 18,465 44, CREDITS-IN-AID 8,415 1,000 9,	_		Salaries.	Other Charges.	Total.
"" "" 18,465 18, "" "" 18,465 18, "" "" 25,745 18,465 44, "" "" 8,415 1,000 9,	Vote No. 12.—Native Department—		£	£	£
GROSS TOTAL	Subdivision I.—Native Department	 	25,745		25,745
CREDITS-IN-AID 8,415 1,000 9,	" II.—Miscellaneous Services	 		18,465	18,465
	Gross Total	 • •	25,745	18,465	44,210
NET TOTAL 17 220 17 465 24	CREDITS-IN-AID	 	8,415	1,000	9,415
NEI 101AII 11,550 11,700 57,	NET TOTAL	 .,	17,330	17,465	34, 795

_							
Number of Persons.	Item.	VOTE No. 12.—NA	ATIVE DEI	PARTME	NT.	1926-	2 7.
1926-27.	1 1	Subdivision	No. I.—Sale	vries.*	-		
						£	£
		Administr.	ATIVE DIVIS	ION.			
1		1 (Under-Secretary) as	t £80 (also C	hief Judge	e, £ 970)	80	
		CLERIC	al Division			1	
		Class I—				i	
2		2 at £565				1,130	
		Class II—				, i	
2		2 at £515				1,030	
		Class IV —			£		
		3 at £425			1,275		
4		1 at £400			400		
		Class V—				1,675	
		2 at £380	• • • •		760		
		$1 \mathrm{~at~} \pounds 355$		• • •	355	i	
4	1 1	1 at £355 (7 months	3)		207		
		Class VI—				1,322	
		13 at £335			4,355		
		2 at £335 (6 month			656	İ	
		1 at £335 (4 months			325		
18		2 at £320 (7 months	s), £295 (5 m	onths)	620		
		Class VII—				5,956	
		8 at £295			2,360		
		1 at £295 (10 month			292		
		1 at £295 (1 month)			275		
	-	1 at £275 (11 month			273		
		1 at £275 (10 month	s), £250 (2 n	nonths	270		
		1 at £275 (8 months			266		
		1 at £275 (6 months			263		
		1 at £275 (4 months			258	· · · · · · · · · · · · · · · · · · ·	
		1 at £275 (1 month)	, ±200 (11 m	nonth)	$egin{array}{c c} 251 \ 248 \end{array}$		
		1 at £250 (11 month	18), 2 2200 (1 1	nontha)			
		1 at £250 (5 months 1 at £250 (1 month)			$egin{array}{c c} 239 & \\ 231 & \\ \end{array}$	1	
		1 at £230 (1 month)	, æ230 (11 ll	ionuis)	$\begin{vmatrix} 251 \\ 230 \end{vmatrix}$		
		2 at £230 (1 month)	 . £910 /11 w	ontha)	422		
		z at £250 (1 montn)	i, æ210 (11 II	onuns)	422	:	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages includecost-of-living increase.

3

4

Appropriations for Consolidated Fund Services.

NATIVE DEPARTMENT—continued. Number Item. 1926-27. of Persons. VOTE No. 12.—NATIVE DEPARTMENT—contd. 1926-27. 1 £ £ Subdivision No. I.—Salaries—continued. CLERICAL DIVISION—continued. Class VII—continued. 1 at £210 (10 months), £190 (2 months) 205 1 at £190 (1 month), £155 (11 months) 2 at £155 (1 month), £135 (11 months) 2 at £135 (7 months), £115 (5 months) 1582732521 at £135 (2 months), £115 (10 months) 1 at £120 (1 month), £115 (11 months) 118 116 1 at £95 95 1 at £95 (11 months), £80 (1 month) ... 1 at £95 (3 months), £80 (9 months) ... 94 33 84 7,273 GENERAL DIVISION. 2 at £185 370 1 at £185 (11 months), £170 (1 month)... 3 184 554JUDGES OF NATIVE LAND COURT. 1 (Chief Judge) at £970 (also Under-Secretary, Native Department, £80) 970 . . . 1 at £800. 800 . . . 3 at £765 2,295 7 2 at £740 1,480 . . . 5,545 Non-permanents. 1 at £169 169 3 at £143 429. 2 at £117 234 . . . 1 at £104 104 . . . 10 3 at £78 234 1,170 84 Allowances to officers temporarily performing special or higher duties under Public Service Regulations 24a and 209 10 Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Administration expenses of Maori Land Boards 7,550 Department of Internal Affairs: Salary of Private Secretary to Native Minister 515. . . Services for other Departments ... 300 Translations 50 8,415 Total—Subdivision No. 1 25,745 Subdivision No. II.—Miscellaneous Services. CHARGES FOR AND INCIDENTAL TO-Clearing Native lands of noxious weeds, under section 2 12 of Noxious Weeds Act, 1908 2,000 Commission re establishment of model Maori villages

at Ohinemutu and Whakarewarewa, expenses of ...

Confiscated Lands Commission, expenses of

150

1,000

${\bf NATIVE\ DEPARTMENT}--continued.$

Number of Persons.	Item.		1926-	27.
1000 05		VOTE No. 12.—NATIVE DEPARTMENT—contd.		
1926–27.		Subdivision No. II.—Miscellaneous Services—contd.	£	£
	,	CHARGES FOR AND INCIDENTAL TO—continued.		
	5	Destruction of rabbits on Native lands: Wages and		
		other expenses	7,500	
	$\frac{6}{7}$	Fees to Supervisors, Native Interpreters' examinations	25	
	7	Freight, cartage, and transport charges	200	
	8	Fuel, light, power, water, and cleaning	100	
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	Law-costs: Practising and admission fees	40	
	10	Monument to Te Hurinui Apanui, contribution	50	
	11	towards cost of	50	
	$\begin{vmatrix} 11\\12 \end{vmatrix}$	Office fittings, furniture, and requisites	100 800	
	13	Postage, telegrams, rent of boxes, and telephones Printing and publication of Kahiti		
	14	The state of the s	$\frac{1,700}{900}$	
	15	Done	250	
	16	Taupo Waters Settlement, expenses of meeting held re	350	
	17	The figure 1 and 1	150	
	18	m	3,000	
	19	Water supplied by Ohinemuri County to Native	3,000	
		settlements on the banks of the Ohinemuri River	50	
	20	Contingencies, including unforeseen expenditure in-	30	
		cidental to the other items of this subdivision	100	
		31 Suburi 10 11 Suburi 10 Subur	100	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		Administration expenses of Maori £		
	.	Land Boards 1,000		
		Total—Subdivision No. II –		18,46
		Gross Total		44,210
		Credits-in-aid (a)		9,415
		NET TOTAL—VOTE No. 12		34,795

(a) Credits-in-aid—			Salaries.	Other Charges.	1926–27.
Subdivision I			$rac{\mathbf{\pounds}}{8,415}$	£	$\overset{\mathfrak{L}}{8,415}$
Nuburvision 1	• •	• •	 0,410	• •	0,419
,, 11			 • •	1,000	1,00 0
Totals			 8,415	1,000	9,415

DEPARTMENT OF EXTERNAL AFFAIRS.

								19	26-27.	
		-				Salar	ies.	Oth	er Charges.	Total.
Vote No. 1	3.—D	epartment	of External A	Affairs—			£		£	£
Gr	ROSS [Готаl	• •	• •	• •	2	,540		37,458	39,998
$C_{\mathbf{R}}$	EDITS	S-IN-AID	••				•	i	500	500
NI	ET T	OTAL	4, 1	••		2	,540		36,958	39,498
Number of Persons.	Item.					-		1	1926	3–27.
1926–27.		VOTE	No. 13.—Di			F EXT	ERNA	Λ L		1
1020 21.	1	*Salarie	ø.	AFFAIR	is.				£	£
		SALIARIE		ISTRATIVE	Divisio	ON				
1			cretary) at ands, £26)	£799 (al	so Sec	retary	for C	ook 	799	
		Class		erical Di	vision.					
1		1 at	£ 5 15		•••			• • •	515	
1			£335						335	
		1 at	<i>VII</i> — £295					£ 295		
2		1 21	£210	_	• • •			210 ——	505	
1		1 at £		neral Di	VISION.				205	
			N	ON-PERMA	NENT.					
1		1 at £	182 (11 mon	ths), £169) (1 mor	nth)			181	
7									2,540	
	2	Adver	CHARGES FO	s, photog			pers,	and		
	3	Exper	er publication nses of New retary attend	w Zealan					35	
	4	Exper	neva nses of upk				(£400	 re-	2,150	
	5	cov Freigh	erable from l nt, cartage, a	Imperial C and transp	lovernm ort char	ent) ges		• • •	3,130 5	!
	6	Fuel,	light, water, s to—	attendand	e, &c.	•••		•••	49	
	7	Bur	reau of Tropi noan Admini			don	á	€	100	
	8 9	N	Iedical and I Vireless serv	Education		es	6,	000 000		
		1					,	-	8 000	

^{*} For particulars of salaries see "Public Service Classification List."

DEPARTMENT OF EXTERNAL AFFAIRS—continued.

Number of Persons.	Item.		1926-	2 7.
1926–27.		VOTE No. 13—DEPARTMENT OF EXTERNAL AFFAIRS—continued. OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	10 11 12 13 14 15 16 17 18 19	League of Nations— Expenses of New Zealand's Delegate to Geneva 500 New Zealand official publications supplied to League at Geneva 50 New Zealand's proportion of secretariat expenses for year ended 31st December, 1926 9,709 Office fittings and requisites Printing and stationery Steamer for Island service, purchase of (on account), (£12,500 also provided under vote "Cook Islands") Telephone services, including installation, extensions, maintenance, rent, and calls Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote	10,259 50 500 500 12,500 50 100 30	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Apia Observatory 400 Miscellaneous 100 Gross Total CREDITS-IN-AID	37,458	39,998 500
		NET TOTAL—VOTE No. 13		39,498

COOK ISLANDS.

							19	26-27.	
						Salaries.	Othe	r Charges.	Total.
Vote No. 1	4.—C	ook Islands-		MATERIAL PORT AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY ADDR		£		£	£
GR	n sso.	COTAL				17,639)	37,180	54,819
								11,100	11,100
		-IN-AID	• •	• •	• •	11,100		43,719	
NET TOTAL 17,639		26,080	40,112						
Number of Persons.	Item.		VOTE No	o. 14.—CC	ok isi	LANDS.		1926	3–27.
1926-27.	1	SALARIES-							
			ADMI	NISTRATIVI	Divisi	ON.		£	£
1			tary) at £9 artment, £		ecretary,	External A	ffairs 	26	
				ok-Niue	Ter.a ntoe			<i>i</i>	
			ands— sident Com	missioner	•••	 months), £7	00 (8	1,000	
		mo	nths); 1 a	t £721		•••	•••	1,438	
			it Inspecto ice Officer	or		•••		205 300	!
					n charge)	at £350, 1 a	t £295	645	
59		20 Sch 32 Stu	iool-teache dent Teacl	rs hers	•••	•••	•••	4,706 1,615	
		1 Ass	sident Com sistant to		 Commis	 sioner and	 Police	550	
		1	Officer 1001-teache	ers	•••			270 900	
		6 Stu	dent Teac	hers				384	
12	-	1 Me	dical Offic	er			* *	600	
72	_		S. "Hine ries and w				• •	5,000	
				Ŭ				17,639	-
	2		CHARGES E			L To— newspapers	s, and		
	3	othe	er publicat	ions	•••	ation: Trav		30	
	4	and	transport	expenses,	&c.	e for first y		1,000	1
	5	Mal	kogai	-		ji for Cook		1,500	ļ .
	6	lepe	ers			 itives) of vi		2,000	
		Min	nister and p	party to C	ook Islaı	nds		96	
	$\begin{vmatrix} 7 \\ 8 \end{vmatrix}$		nt, cartage. light, wate					$\begin{array}{c} 10 \\ 49 \end{array}$	

COOK ISLANDS—continued.

Number of Persons.	Item.		1926-	2 7.
1006 07		VOTE No. 14—COOK ISLANDS—continued.		
1926–27.		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
		Grants—		
	9	Bureau of Tropical Diseases, London	50	
	10	Education: Niue Island	500	
	$\frac{11}{12}$	Education: Northern Cook Islands	500	
	12	Erection of cargo and fruit-packing shed and additions to wharf, Niue	500	
	13	Erection of new freezer at Rarotonga	1,000	
	14	House for medical officer, Cook Islands, purchase	1,000	
	;	of	500	
	15	Lepers, removal of, from Cook Islands	3,000	
	16	Repairing damage caused by storm, April, 1926	1,000	
	17	Sir Maui Pomare, to meet extra expenses of visit	<i>'</i>	
		to Cook Islands	150	•
	18	To officer on retirement, equivalent to salary in	1	
	! _	lieu of leave	400	
	19	Medical service, Niue	250	
	20	N.Z.G.S. "Hinemoa": Working-expenses, including	2 200	
	0.1	annual overhaul	9,500	
	$\begin{vmatrix} 21 \\ 22 \end{vmatrix}$	Postage, telegrams, and rent of boxes	135	
	23	Printing and stationery School Journal, Cook Islands, cost of printing	40	
	24	School Journal, Cook Islands, cost of printing Steamer for Island service, purchase of (on account),	100	
	21	(£12,500 also provided under vote "Department		
	1	of External Affairs")	12,500	
	25	Telephone services (including installation, extensions,	12,000	
		maintenance, rent, and calls)	72	
	26	Travelling allowances and expenses	100	
	27	Tropical allowances	2,000	
	28	Visit of His Excellency the Governor-General to		
	1	Niue, expenses of	67	
	29	Wireless plant, Niue, purchase of spare parts for	106	
÷	30	Contingencies, including unforeseen expenditure in-		
	1	cidental to the other items of the vote	25	
	i !	·	97.100	
		Estimated anality in aid under Section 99 of	37,180	
		Estimated credits - in - aid under Section 22 of the Appropriation Act, 1923 (see end of		
	1 :	vote)—		
		N.Z.G.S. "Hinemoa"—		
		Working expenses 11,000		
		Miscellaneous 100		
		11,100		
		Gross Total		54,819
		Credits-in-aid		11,100
		NET TOTAL—VOTE No. 14		43,719

DEPARTMENT OF INDUSTRIES AND COMMERCE.

					1926-27.	
			-	Salaries.	Other Charges.	Total.
ote No. 15.—Department	of Industri	ies and Com	merce—	£	£	£
Gross Total				6,354	48,716	55,070
CREDITS-IN-AID		. 4		• •	4,295	4,295
NET TOTAL				6,354	44,421	50,775

Number of Persons.	Item.	VOTE No. 15.—DEPARTMENT OF INDUSTRIES AND COMMERCE.	1926-	27.
1926-27.	1	SALARIES—	I !	
		Professional Division.	£	£
4		Class A—		
1		1 at £615 \dots \dots	615	
1		Class B—	5 C A	
		1 at £565 (11½ months), £540 (½ month)	564	
3		Class C— 3 at £470	1,410	
		CLERICAL DIVISION.		
		Class Special—		
1		1 at £665 \dots	665	
		Class VI—		
1		1 at £335 (3 months), £320 (9 months)	324	
1		Class VII—	115	
1		1 at £80 (lodging-allowance, £35)	115	
		GENERAL DIVISION.		
		2 at £185 370		
		1 at £185 (6 months), £175 (6 months) 180		
		1 at £185 (10 months), £175 (2 months) 183	Ì	
5		1 at £175 175		
			908	
		Trade Representatives.		
		1 at £300 (also Tourist Agent, Melbourne,		
		£365) 300		
		1 at £100 (also Tourist Agent, £320, and		
	1	Customs Agent, £50, Sydney) 100		
3		1 at £100 (also Tourist Agent, Van-		
		couver, £100) 100	500	
		Non-permanents.	500	
		1 at £247 247	ĺ	
2		1 at £215 215		
		4	462	
		Salaries of Officers on loan from other Departments—		
		CLERICAL DIVISION.		
		Class IV—		
1		1 at £420	420	
4		GENERAL DIVISION.		
1		1 at £185	185	
		Non-permanents.		
_		1 at £156 156		
2		1 at £117 (3 months) 30		
00	-		186	
22	_		6,354	
	1		0,004	

250

75

20

50

1,250

100

100

1,250

50

25

13

45

100

300

150

200

50

650

1,075

10,000

12,500

135

110 50

450

30

25

55,070

4,295

50,775

48,716

. . .

7,500

10,588

. . .

150

217

88

620

 $\mathfrak{L}1$, 200

1,250

1,795

50 4,295

. . .

Appropriations for Consolidated Fund Services.

Number

6,

7

8

9

10

11

12

13

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

31

32

33

DEPARTMENT OF INDUSTRIES AND COMMERCE—continued. Item. VOTE No. 15—DEPARTMENT OF INDUSTRIES 1926-27.of Persons. AND COMMERCE—continued. 1926-27.OTHER CHARGES FOR AND INCIDENTAL TO-Advertising, photographs, books, newspapers, and other publications 2 175 Assistance to secondary industries British Empire Helding 3 400 British Empire Exhibition ... 1,000 Compensation on account of injuries to employees at 5

British Empire Exhibition (New Zealand Court) Exhibits of New Zealand products at New Zealand Government Offices, Melbourne

ruel, light, and heating power Gas regulations: Expenses of administration (re-

Grant towards loss sustained by Fijian Government on transport and sale of fruit at Fijian Court, New

Honorary Trade Representative, Belgium, expenses of

Maintenance and running expenses of refrigeration cabinet, High Commissioner's office ...

Membership subscriptions to Chambers of Commerce

New Zealand's representation at the Canadian

Participation by Government Departments in New

Railway passes issued to H.M. Trade Commissioners,

Special exhibition of New Zealand's products in

Telephone services (including installation, extensions, maintenance, rent, and calls) ...

Transfer and removal expenses of officers

Contingencies, including unforeseen expenditure in-

Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—

New Zealand-Vancouver (half) ... New Zealand-San Francisco (half) ...

Travelling allowances and expenses ...

cidental to the other items of the vote

British Empire Exhibition

New Zealand and South Seas Ex-

NET TOTAL—VOTE No. 15

Gas regulations

GROSS TOTAL

CREDITS-IN-AID

hibition Miscellaneous

Typewriters, purchase and repair of

Canadian and other Government Trade Commissioners and representatives; Consuls and repre-

Zealand and South Seas Exhibition ...

Office furniture, fittings, and other requisites

Postage, telegrams, and rent of boxes, &c. Printing and stationery

Publications, preparation and distribution of

...

Freight, cartage, and transport charges ...

Zealand and South Seas Exhibition ...

Fuel, light, and heating power

National Exhibition, Toronto

sentatives of other countries

Lord Mayor's Show, London

Subsidies to steamer services-

coverable)

Law-costs

Office-cleaning

Publicity work

Rent of offices— Auckland

Christchurch

Dunedin

Wellington

Industrial Exhibitions

DEPARTMENT OF JUSTICE.

		1926-27.	
	Salaries.	Other Charges.	Total.
Vote No. 16.—Department of Justice—	£	£	£
Subdivision I.—Justice: Head Office	3,981	• • •	3,981
,, II.—Patent Office	3,648	1,930	5,578
$,, III.$ —Bankru \widetilde{pt} cy	5,305	7,362	12,66
IV.—Coroners $$	•••	5,000	5,000
,, V.—Supreme Court	12,723	6,500	19,22
,, VI.—Magistrates' and Wardens' Courts	52,909	18,510	71,41
,, VII.—Criminal Prosecutions		14,650	14,656
., VIII.—Justice: Miscellaneous Services	•••	20,960	20,960
Gross Total	78,566	74,912	153,478
Credits-in-aid	1,125	9,935	11,060
NET TOTAL	77,441	64,977	142,418

of Persons.	Item.	VOTE No. 16.—DF	EPARTMENT (OF JUST	ICE.	1926-9	27.
1926–27.		Subdivision No.	I.—Justice.—	Head Office	·.	£	£
	1	*Salaries-			:		
		Adminis	STRATIVE DIVISI	ION.	!		
1		1 Under-Secretary	for Justice			850	
			RICAL DIVISION.				
1		Class I - 1 at £615		•••		615	•
1	-	Class III— 1 at £470	·	•••		470	
2		Class VI— 2 at £335				670	
б		Class VII— 1 at £295 1 at £230 (5 mor 1 at £155 (4 mor 1 at £125 (7 mor 1 at £115 (3 mor	nths), £135 (8 m nths), £120 (5 m	nonths) nonths)	£ 295 219 142 123 100	879	

^{*} For particulars of salaries see "Public Service Classification List."

NOTE.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF JUSTICE—continued.

Number of Persons.	Item.	VOTE No. 16.—DEPARTMENT OF JUSTICE—	1926–	27.
1926-27.		continued.		The transfer of the second second
		Caldiniai No. 1 Justin House Comment	£	£
7.		Subdivision No. I.—Justice—Head Office—continued.		
	1	SALARIES—continued.		
		Non-permanents. £		
		1 at £208 208		
3		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
	-	1 81 5104 104	497	
13	-	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Cost copying inquest proceedings £25	-	
		Total—Subdivision No. I		3,981
		Subdivision No II.—Patent Office.		
	2	Salaries-		
	i	CLERICAL DIVISION.		
		Class Special-		
1		1 at $\pounds665$	665	
1		Class IV— 1 at £425 (5 months), £400 (7 months)	411	
		Class VI—		
1		$egin{array}{cccccccccccccccccccccccccccccccccccc$	335	
		1 at £295 295		
		1 at £230 (3 months), £210 (9 months) 215 1 at £210 210		
		1 at £125 (2 months), £120 (10 months) 121		
6		1 at £120 (3 months), £115 (9 months) 117		
Ü		1 at £95 (2 months), £80 (10 months) 83	1,041	
		GENERAL DIVISION.	,	
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		· · · · · · · · · · · · · · · · · · ·	455	
		Non-permanents. 1 at £260 260		
		1 at £234 234		
4		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 20 2104 104	741	
15	-		3,648	
		Office Carlogue Top (ND) North Top (ND)		
	3	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising	30	
	4	Fuel, light, power, and water	80	
	5	Office fittings and requisites Postage, telegrams, rent of boxes, and telephones	50 100	
	7	Printing and stationery	1,600	
	8 9	Typewriters and office appliances Contingencies, including unforeseen expenditure in-	40	
	0	cidental to the other items of this subdivision	30	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)— Sale of Journals, Acts, &c £100		
			1,930	
	'	Total—Subdivision No. II		5,578

${\tt DEPARTMENT\ OF\ JUSTICE-} continued.$

Number Persons.	Item.	VOTE No. 16.—DEPARTMENT OF JUSTICE continued.	1926-	27.	
926–27.		Subdivision No. III.—Bankruptcy.	-	£	£
	10	Salaries-			
1		Class Special—		50	
1	<u>.</u>	1 at £50 (also £615 as Registrar, Supreme Cor	iru)	50	
		CLERICAL DIVISION. $Class\ I$	£		
2		1 at £590 1 at £70 (also £495 as Clerk of Court)	590 70		
		Class II—		660	
2		2 at £515	• •	1,030	
$_2$!	1 at £470 (8 months), £445 (4 months) 1 at £20 (also £450 as Clerk of Court)	462 20		
		Class IV—		482	
1		$1 \text{ at } \pounds 425 \hspace{1cm} \dots 1$		425	
3		3 at £335 Class VII—		1,005	
	:	2 at £295	590		
4		1 at £275 1 at £155 (7 months), £135 (5 months)	$\begin{array}{c c} 275 \\ 147 \end{array}$		
		·		1,012	
		m Non-permanents. 1 at £247 $ m$	247		
		1 at £143 1 at £134	143 134		
4		1 at £117	117	0.43	
19				641	
		OTHER CHARGES FOR AND INCIDENTAL TO-		5,305	
	11 12 13	Advertising, books, newspapers, and other publica Commission to Deputy Assignees		300 5,000	
		Fuel, light, power and water, cleaning, cartage, office equipment and maintenance		25	
	14	Grant to officer on retirement, equivalent to salar lieu of leave, in terms of Public Service Regulat		295	
	15 16	Law-costs Office fittings, furniture and requisites		50 175	
	17	Postage, telegrams, and rent of boxes and teleph		350	
	18 19	Printing and stationery Renewal of fidelity-guarantee premiums		$\begin{bmatrix} 300 \\ 52 \end{bmatrix}$	
	$\frac{20}{21}$	Rents Transfer and removal expenses		500 150	
	22	Treasury Department for services of officers		50	
	$\frac{23}{24}$	Travelling allowances and expenses Contingencies, including unforeseen expenditure	in-	100	
		cidental to the other items of this subdivision		15	
				7,362	
		Total-Subdivision No. III			12,6
4		Subdivision No. IV.—Coroners.			
		CHARGES FOR AND INCIDENTAL TO-			
	$\frac{25}{26}$	Fees and expenses on inquests Jurors, payment of		4,300	
	27	Witnesses, expenses of		400	
		$Total-Subdivision \ No, \ IV$			5,0

${\tt DEPARTMENT\ OF\ JUSTICE--} continued.$

Number Iter f Persons.		1926-	27.
1926–27.	VOTE No. 16.—DEPARTMENT OF JUSTICE— continued.		
	Subdivision No V.—Supreme Court.	£	£
28			
	CLERICAL DIVISION.		
	Class Special—		
	1 at £715 715		
4	2 at £665 1,330	}	
$4 \mid$	1 at £615 (also Official Assignee, Dunedin, £50) 615	İ	
	Class III—	2,660	
2	9 of 6470	940	
	Class V—	310	
3	3 at £380	1,140	
	Class VI—	1,110	
4	4 at £335	1,340	
	Class VII—	, ==	
	3 at £295 885		
	1 at £250 250		
	1 at £135 135		
	1 at £125 (7 months), £120 (5 months) 123	ļ	
	1 at £115 115		
9	$2 \text{ at } \pounds 95$ 190		
		1,698	
1	GENERAL Division.		
4	1 at £295 295		
4	3 at £270 810	1 105	
	Unclassified.	1,105	
1	T . 7	2,000	
9	9 Clerks to Judges at £200	1,800	
	Allowances under Public Service Regulation 24A	40	
36	-		
		12,723	
!	OTHER CHARGES FOR AND INCIDENTAL TO-		
29			
	9 Clerks to Judges, at £100	900	
30		- 000	
	Clerks	5,000	
31		con	
	Appeal	600	
	-	6,500	
İ	Total—Subdivision No. V	0,000	19,2
	10th Subditiston 10.		10,2
	Subdivision No. VI.—Magistrates' and Wardens'		
30	Courts.		
32	Salaries—Clerical Division.		
	Class I—		
1	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1	
2	1 at £495 (also £70 as Official Assignee,		
4	Invercargill) 495		
1	Class II—	1,060	
3	3 at £515 (1 for 9 months, £490 3 months)	1,539	
	Class III—	·	
	6 at £470 2,820		
7	1 at £450 (also £20 as Official Assignee,		
ı	Blenheim) 450		
•		3,270	

DEPARTMENT OF JUSTICE—continued.

Number of Persons.	Item.	VOTE No. 16.—I	1926–27.				
1926–27.		Subdivision No. VI	Magistrates' an continued.	d Wardens	' Courts-	£	£
	32	Salaries—continued					~
			L Division—con	tinued.			
5		$egin{array}{c} Class \ IV - \ 5 \ ext{at} \ \pounds 425 \end{array}$	•••	•••		2,125	
10		Class V— 10 at £380				3,800	
10		Class VI—	•••	•••	€	3,000	
		28 at £335 1 at £335 (10 r	 nonths), £320 (2	months)	$9,380 \\ 333$		
			nonths), £320 (3		664		
			nonths), £320 (4 nonths), £320 (7		$egin{array}{c} 660 \ 326 \end{array} $		
٠		1 at £335 (2 m	onths), £320 (10	months)	323		
37			nonths), £295 (6 months), £275 (2		308 292		
		Class VII—		,		12,286	
		12 at £295 1 at £295 (9 n	nonths), £275 (3	$\frac{\dots}{\text{months}}$	$\frac{3,540}{290}$		
		1 at £295 (2 m	onths), £275 (10		279		
		2 at £275 1 at £275 (10 r	months), £250 (2	months)	$\begin{array}{c} 550 \\ 271 \end{array}$		
		2 at £250	***		500		
		1 at £250 (8 m 5 at £230	nonths), £230 (4	months)	$ \begin{array}{c c} 244 \\ 1,150 \end{array} $		
		2 at £230 (7 m	nonths), £210 (5		444		
		1 at £230 (6 m 4 at £210	nonths), £210 (6	months)	$\frac{220}{840}$		
			nonths), £190 (6	months)	200		
		4 at £190	nontha) 6155 (7	mantha)	760 510		
			nonths), £155 (7 nonths), £15 5 (4		179		
		1 at £190 (4 m	nonths), £155 (8	months)	167		
		1 at £155 1 at £155 (9 n	nonths), £135 (3	months)	155 150		
		3 at £155 (6 n	nonths), £135 (6	months)	435		
			nonths), £135 (9 nonths), £135 (2		$\frac{280}{304}$		
		2 at £155 (4 n	nonths), £135 (8	months)	284		
		1 at £155 (5 m 7 at £135	nonths), £135 (7	months)	$\begin{array}{c c} 144 \\ 945 \end{array}$		
		3 at £135 (10 r	nonths), £125 (2		402		
		1 at £135 (2 m 2 at £135 (9 m	onths), £125 (10 nonths), £125 (3	months)	$egin{array}{c} 126 \ 264 \end{array}$		
		1 at £135 (2 m	onths). £115 (10	months)	119		
			nonths), £115 (8 nonths), £115 (9		$egin{array}{c} 122 \ 120 \end{array}$		
		4 at £125	•••	•••	500		
			nonths), £120 (7 onths), £120 (10		$egin{array}{c c} 244 & \\ 121 & \\ \end{array}$		
		3 at £120	•••		360		
			nonths), £115 (4 nonths), £115 (9		$\begin{bmatrix} 237 \\ 116 \end{bmatrix}$		
		2 at £115	•••	•••	230		
		2 at £115 (3 n 2 at £95	nonths), £95 (9 n	nonths)	200		
			onths), £80 (5 mc	nths)	190 178		
92		1 at £95 (2 mc	onths), £80 (10 n	nonths)	83	16 459	
			eneral Division	١.		16,453	
		1 at £295 4 at £290	•••	•••	295		
	!	3 at £270	• • •		1,160 810		
:	:	27 at £250	• • •		6,750		
		3 at £240 1 at £220	• • • • • • • • • • • • • • • • • • • •	• • •	$egin{array}{c} 720 \ 220 \end{array}$		
A.F.		4 at £215		•••	860		
45	ĺ	2 at £185	• • •	: # *	370	11,185	

${\tt DEPARTMENT\ OF\ JUSTICE\ -} continued.$

Number of Persons.	Item.	VOTE No. 16.—DEPARTMENT OF JUSTICE— continued.	1926–27.	
1926–27.		Subdivision No. VI.—Magistrates' and Wardens' Courts—continued.	£	£
	32	Salaries—continued.		
205		Non-Permanents.	1,031 160	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Salaries as Clerks Licensing Committees 900 Salaries of Cadets engaged on work of Registration of Births, Deaths, and Marriages 200		
		1,100		
		Other Charges for and incidental to—	52,909	
	33 34	Allowances to— Chief Bailiffs acting as Maintenance Officers: 3 at £50 Officers acting as Inspectors of Factories— 7 at £25	150	
	35 36 37 38 39 40 41	Police Constables acting as Clerks of Courts Amount misappropriated by Clerk of Court, Marton Mileage fees paid to Bailiffs (recoverable) Office-cleaners Rents Transfer and removal expenses Travelling allowances and expenses	1,720 165 7,500 2,000 500 1,300 5,000	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Allowances to officers acting as £ Inspectors of Factories 175 Mileage fees 7,500 Miscellaneous 60		
		${m Total-Subdivision\ No.\ VI} \qquad \ldots igg $	18,510	71,419
		Subdivision No. VII—Criminal Prosecutions.		
	42	CHARGES FOR AND INCIDENTAL TO— Expenses in connection with the defence of prisoners under the Justices of the Peace Amendment Act, 1912	150	
	43 44 45	Fees to Crown Solicitors and Prosecutors Jurors, payment of, under the Juries Act, 1908 Witnesses, expenses of	2,500 4,500 7,500	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Refund of costs of prosecution £500		
		Total—Subdivision No. VII		14,650

${\tt DEPARTMENT\ OF\ JUSTICE--} continued.$

Number of Persons.	Item.		1926-	-27.
1926–27.		VOTE No. 16.—DEPARTMENT OF JUSTICE— continued. Subdivision No. VIII.—Justice: Miscellaneous Services.	£	£
	46 47 48 49 50 51 52 53	CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications Commission on money-orders for transmission of maintenance-moneys Expenses under— Juries Act, 1908 (part recoverable) Reformatory Institutions Act, 1909 (part recoverable) Shorthand Reporters Act, 1908 Fuel, light, water, cleaning, freight, cartage, and maintenance of Court grounds and offices Office fittings, furniture, and requisites Postage, telegrams, and rent of boxes	300 275 1,500 4,000 50 3,350 1,000 2,500	
	54 55 56	Printing and stationery Proportion of cost of administering licensing laws in districts where the Counties Act is not in operation	4,600	
	57 58 59 60 61	Subsidy to Chatham Islands Steamer Service— Twelve months to 28th February, 1927 Telephone services (including installation, extensions, maintenance, rent, and calls) Transfer and removal expenses Travelling allowances and expenses Typewriters: Purchase and repairs Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	125 2,200 100 350 500	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— £ Jury fees 800 Refunds under Reformatory Institutions Act 700 Miscellaneous 100		
		Total—Subdivision No. VIII		20,960
		Gross Total Credits-in-aid (a)	•••	153,478 11,060
		NET TOTAL—VOTE No. 16		142,418

(a) Credits-in-aid

				Other	
			Salaries.	Charges.	1926-27.
			£	£	£
Subdivision	I		25		25
,,	Π			100	100
,,	\mathbf{VI}		1,100	7,735	8,835
"	VII			500	500
,,	VIII	• •	••	1,600	1,600
${f Totals}$			1,125	9,935	11,060

1926-27.

PRISONS DEPARTMENT.

							_	o o o o o o o o -	
						Salario	es. Ot	her Charges.	Total.
Vote No. 1	7.—Pı	risons Dep	artment			ı	3	£	£
Gı	Ross T	OTAL		• •		67,	436	98,608	166,044
Сь	EDITS-	-IN-AID				2,	500	68,700	71,200
N	ет то	TAL				64,	,936	29,908	94,844
Number of Persons.	Item.	ПОТ					AT (D)	192	6–27.
1926–27.	1	VOT Salarie		PRISON	IS DEP	ARTME	NT.	£	£
				NISTRATIVE	Drugg) N		~	~
1				eral of Pri			Probation	815	
			С	LERICAL D	IVISION.				
1		Class 1 at	II— : £5 15					515	
1		$Class \ 1$ at	<i>IV</i> — 5 £400					400	
1		$Class \ 1$ at	V £380					380	
4		$Class \ 4$ at	<i>VI</i> — £335			•••		1,340	
10		2 at	VII— \$295 \$190 \$120				£ 1,180 380 480		
		1 at 2 at 1 at	intendents £515 £470 £445				515 940 445	2,040	
7		1 at	£415 £310 £275	T	•••		415 310 275	2,900	
			rs— £360	eneral Di	vision.		360		
5		3 at	£325 £305			•••	325 915	1,600	-
4		3 at	y Superint £380 £205	endents—	•••		1,140 205		

Note.—Scale salaries or wages include cost-of-living increase

1,345

PRISONS DEPARTMENT—continued.

of Persons.	Item.	VOTE No. 17.—PRISON	ia Dibaa	O (T) (CT) A TOTAL	20013	1926-9	27.
1926-27.		VOIE NO. 17.—PRISON	IS DEPAI	ZIMENT-	conta.		
	1	Salaries—continued.				£	3
		General Divi	sion-cont	inued.			
		Officers in Charge—					
1		1 at £380		•••		380	
		Chief Warders— 2 at £360	•••		£ 720		
4		2 at £345			690		
		Principal Warders—				1,410	
$_{12}$		11 at £325 1 at £300	•••	•••	$\frac{3,575}{300}$		
		Acting Principal Warder	 rs—	•••		3,875	
10		10 at £295			2,950	, , ,	
13	į	3 at £275 Warders—	•••	• • •	825	9 775	
		15 at £285			$\frac{1}{4,275}$	3,775	
		11 at £275	•••	•••	3,025		
		9 at £270 7 at £265	•••	•	2,430		
	 	1 at £260	•••	•••	$\frac{1,855}{260}$		
		11 at £255	•••	•••	2,805		
		20 at £245	•••		4,900		
		4 at £240 9 at £235	•••	•••	$ \begin{array}{c c} 960 \\ 2,115 \end{array} $		
97	ŀ	10 at £225	•••		$\frac{2,110}{2,250}$		
		Warder Instructors—			1 505	24,875	
		5 at £305 1 at £295	•••		$egin{array}{c c} 1,525 \\ 295 \end{array}$		
	ļ	3 at £290	•••	•••	870		
	ŀ	3 at £285	• • •	•••	855		
		4 at £280 4 at £275	•••	•••	1,120	}	
		1 at £270		•••	$\frac{1,100}{270}$		
		1 at £265	•••	•••	265		
		2 at £260 2 at £255	•••	•••	520		
ļ		1 at £245		•••	$510 \mid 245 \mid$		
28		1 at £240		•••	240		
		Night-watch Warders—			077	7,815	
		1 at £275 3 at £255	•••	•••	$\begin{vmatrix} 275 \\ 765 \end{vmatrix}$		
		1 at £250	•••	•••	250		
7		1 at £235			235		
1		1 at £230 Matron—	•••	•••	230	1,755	
1		1 at £225	•••			225	
		Assistant Matrons—			10"		
		1 at £195 2 at £185	•••	• • •	$egin{array}{c c} 195 & \\ 370 & \\ \end{array}$		
		2 at £165	•••		330		
		1 at £160	•••	•••	160		
9		2 at £150 1 at £140	•••	•••	300 140		
·			•••	•••		1,495	
1		Office Assistant	•••			225	
2		Quarry Manager, Auckl		•••	395		
$\frac{2}{ }$		Quarry Engineer, Auckl	and	••• •	305	700	
					-	57,865	
		T	. 7 6	, 1			
		Less amount deduction quarters .	cted for t	use of no	uses and	3,200	

${\bf PRISONS} \ \ {\bf DEPARTMENT-} continued.$

Number of Persons.	Item.			1926-	27.
1926–27.	\ 	VOTE No. 17.—PRISONS DEPARTMENT—conto	<i>i</i> .		
•	1	SALARIES—continued.		£	£
		Non-classified.			
-		A . 1 . 1 (a 1 . A 7 . 2		100	
$\frac{1}{1}$	3	Police gooler		$egin{array}{c} 133 \ 245 \end{array}$	
	4	Medical Officers—	£		
			$\begin{vmatrix} 00 \\ 25 \end{vmatrix}$		
			00		
9			85		
ย		1 at £50	50	1,360	
	5	Institutional Schoolmasters—		,	
			10 50		
5			40		
1	C	To stone standing submodulations		300	
$\frac{1}{1}$	6	Dandmaston		55 78	
	- `		-		
227				2,171	
	.			56,836	
		Non-permanents.			
	8	Farm managers, experts, and clerical		3,900	
	9	Warders and matrons		4,000	
	10	Allowers and to instruction and other officers	•••	2,700 800	
	12	Futus aggistance (Probation Officers to)		800	
		·	-	10.000	
				12,200	
				69,036	
		Less proportion of salaries transferred to Prob tion Branch	a-	1,600	
		Estimated credits-in-aid under Section 22 of t			
		Appropriation Act, 1923 (see end of vote)—Salaries of officers employed on £			
		public works 2,50	00		
			-	07. 400	
		OTHER CHARGES FOR AND INCIDENTAL TO—		67,436	
		Prisons and Institutional Upkeep—		: :	
	13	Advertising, photographs, books, newspapers, a other publications	nd	250	
	14	Assistance to discharged prisoners		30	
	15	Burial of deceased prisoners	•••	50	
	$\begin{vmatrix} 16 \\ 17 \end{vmatrix}$	Farinment and instructional work		3,500	
	18	Forage		200	
	$\frac{19}{20}$	Fuel, light, power, and water Grant to officer on retirement, equivalent to salary	in	4,500	
	1	lieu of leave, in terms of Public Service Regulation	ıs	258	
	$\frac{21}{22}$	and the second s	••	100	
	$\begin{bmatrix} 22 \\ 23 \end{bmatrix}$	Gratuities to prisoners on release International Prison Conference: Expenses of Ne	w	100	
		Zealand Delegate		100	
	24 25	Maintenance of nuison buildings	••	500 300	
	26	Maintenance of prisoners in public hospitals .		900	
	27	Medical expenses of officers injured during perform		0.5	
	28	ance of duties		$egin{array}{c c} 25 \ 750 \end{array}$	
	$ \overline{29} $	Office fittings and requisites		300	

${\tt PRISONS \ DEPARTMENT-} continued.$

Number f Persons.	Item.	VOTE No. 17—PRISONS DEPARTMENT.—contd.	1926-9	27.
1926-27.	-i—— 	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Prisons and Institutional Upkeep—continued.	£	£
	30	Postage, telegrams, and rent of boxes	500	
	31	Printing and stationery	650	
	32	Rations	23,000	
	33	Sanitary services, cleaning, and disinfectants	1,100	
	34	Telephone services (including installation, extensions, maintenance, rent, and calls)	450	
	35	Uniforms and accoutrements for prison officers	500	
	36	Vehicles: Purchase and upkeep, hire charges, &c Transport Charges, Travelling Allowances, and Expenses—	2,000	
	37	Allowances and expenses of Departmental officers	950	
	38	Conveyance of prisoners on release	800	
	39	Freight, cartage, &c. (part recoverable)	500	
	40	Transfer of prisoners	1,650	
	41	Transfer and removal expenses of officers	775	
	42	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
		· · · · · -		
		-	44,988	
	10	Crimes Amendment and Borstal Institutions Acts—	[
	43	Administration expenses	500	
	44	Contributions towards expenses of after-care societies		
		formed in terms of Section 18, Borstal Institutions	100	
		Establishment Act, 1924	100	
	45	Payment to prisoners' dependants	8,800	
	46	Prisoners industry earnings	5,500	
			14,900	
	47 48	General Prison Industries, Farms, Works, &c.: Materials, Equipment, Rents, Royalties, and other expenses in connection with— Block and tile-making Bootmaking	100 3,000	
	49	Brickmaking	3,400	
	50	1 m 1 0 m 1	9,000	
	51	Invercargill Borstal Institution: Development of	3,000	
		estuary lands	300	
	52	Mail-bags, mats, general repairs, &c	800	
	53	Quarries and gravel pits	4,200	
	54	Road construction, sawmills, tree-planting, and con-	1,200	
		tracts	10,000	
	55	Tailoring	4,500	
	56	Miscellaneous industries, works, &c	500	
		! -		
		Marking and a sale in the sale of the sale	35,800	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
		Block and tile-making 200		
		Bootmaking 2,000		
		Brickmaking 5,000	:	
		Farms, gardens, &c 13,000	į	
		Mail-bags and general repairs 2,000		
		Quarries and gravel pits 23,000 !		
	1	Road construction, sawmills, and contracts 20,000	i	
	1			
		Tailoring 1 000		
		Tailoring 1,000 Miscellaneous 2,500	:	
		Miscellaneous 2,500		
			05,000	
		Miscellaneous 2,500	95,688	
		Miscellaneous 2,500	95,688 163,124	

PRISON DEPARTMENT—continued.

Number of Persons.	Item.		1926-27.		
1926–27		VOTE No. 17.—PRISONS DEPARTMENT—contd. PROBATION BRANCH—	£	£	
	57 58 59 60 61	Charges for and incidental to— Administration expenses and advances to probationers Allowances to Honorary Probation Officers Postage, telegrams, &c Printing and stationery Telephone services (including installation, extensions, maintenance, rent, and calls)	2,300 300 100 100 120		
		Gross Total	2,920	166,044	
		Credits-in-aid (a)		71,200	
		NET TOTAL—VOTE No. 17		94,84	

				1926-27. £
Salaries		• •	• •	 2,500
Other Charges				 68,700
	Total			 71,200

CROWN LAW OFFICE.

					19	26-27.	
		 ,		Salaries.	Oth	er Charges.	Total.
Vote No. 1	.8.—C	rown Law Office—		£		£	£
G ₁	ROSS !	Total		6,05	0	1,019	7,06
Съ	REDITS	S-IN-AID		56	5	200	76
N	ET T (OTAL		5,488	5	819	6,30
Number of Persons.	Item.)	CDOTTINE TAKE	· · · · · · · · · · · · · · · · · · ·		1926	-27.
1926-27.	1	VOTE No. 18	-CROWN LAV	v OFFICE.		£	£
1		Solicitor-General	•••	•••	•••	1,350	
		Profe	ssional Divisio	N.	£		
3		3 Crown Solicitors 2 Crown Solicitors 1st April, 1925, t	(arrears £37 eac	h from	74		
		Class A—	,	,		2,696	
1		1 at £615	•••	•••		615	
			RICAL DIVISION.				
1		$Class\ I - 1$ at £565	•••	•••		565	
1		Class VI— 1 at £335		•••		335	
1		Class VII— 1 at £115	•;••		.,	115	
		Nor	N-PERMANENTS.				
2		2 at £182	•••			364	
10		Cadet's lodging-allo	wance	•••	•••	.10	
		Appropria Department Salary of	dits-in-aid under tion Act, 1923 (s of Internal A Private Secreta f Internal Affairs	see end of vot ffairs: ary to			
						6,050	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

CROWN LAW OFFICE—continued.

Number of Persons.	Item.		1926-	-27.
1926-27.		VOTE No. 18.—CROWN LAW OFFICE—continued.	£	£
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Annual certificates under the Law Practitioners Act, 1908	30	
	3	Law-costs	125	
	4	Office fittings and requisites	150	
	5	Postage, telegrams, and rent of boxes	50	
	6	Printing and stationery	300	in the first section of the fi
	7	Purchase of Law Reports and Treatises and other	200	
100	8	publications Telephone services (including installation, extensions,	200	
	0	maintenance, rent, and calls)	94	
	9	Travelling allowances and expenses	20	
	10	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
			1,019	
	. !	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)	1,019	
		Law-costs 200		
Ä.		Gross Total		7,069
		Credits-in-aid (a)		765
		NET TOTAL—VOTE No. 18	,	6,304

(a) Credits-in-aid-				1926–27.
Salaries		. •.•		$\overline{565}$
Other Charges	••			200
Total				765
10001		. •	**.	===

POLICE DEPARTMENT.

						19	26-27.	
		· —			Salaries.	Othe	r Charges.	Total.
Vote No. 1	9.—P	olice Department—			£		£	£
Subdivisi	on I .	—Police Department	• •		332,525		95,400	427,928
,,		.—Miscellaneous	••				252	252
	Ross T				332,525	-	95,652	428,177
		-IN-AID	••	ĺ	10		5,800	5,810
			••	••	332,515	-	89,852	422,367
N.	ET. T.(OTAL	••	••	002,010	<u> </u>	00,002	
Number of Persons.	Item.	•		÷			192	6-27.
of Fersons.		VOTE No.	19.—POLIC	E DEPA	ARTMENT.		11,2	o 21.
1926-27.		Subdivisi	on No. I.—P	olice Der	partment.		£	£
	1	Salaries		1				
		Head Office—						
1		1 at £925 (Cor	nmissioner)				925	
_			CLERICAL DI	VICION				
-		Class I—	ODERICAL DI	V 15101V.			505	
1		1 at £565 Class VI—		•••	•••	•••	565	
1		1 at £335 Class VII—		•••	•••	£	335	
		1 at £295 1 at £210			•••	$\frac{295}{210}$		
3		1 at £210		•••		$\frac{210}{125}$		
			*General D	**********	_		630	
1		1 at £295	GENERAL D		•••	•••	295	
			Police Off	TOWNS				
1		Superintender					575	
1		1 Senior Serge	eant at 21s. p	er day		• • • •	383	
3 3		3 Sergeants : 3 Constables :				l. per	1,022	
J		day	, -				840	
		Districts-						
4		4 Superintend					2,125	
$\begin{array}{c} 13 \\ 4 \end{array}$		13 Inspectors 4 Sub-Inspect			55, 3 at £470		6,365 1,760	
28		28 Senior Sen		 t 21s., 3	at 20s. 6d.,	6 at		
90		20s. per day 90 Sergeants	y	•••	•••		10,594	
		· per day					30,980	
900		900 Constable 15s. 6d., 12	s: 120 at 168 0 at 15s., 216					
	1		er day (8 mor			•••	246,070	1

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

POLICE DEPARTMENT—continued.

Number of Persons.	Item.		1926-	-2 7.
1000 07		VOTE No. 19.—POLICE DEPARTMENT—continued.		
1926–27		Subdivision No. I.—Police Department—continued.	£	£
	1	Salaries—continued.		
		Police Officers—continued.		
17		Districts—continued.		
7		7 Senior Detectives: 5 at 21s., 1 at 20s. 6d., 1 at 20s. per day	2,655	
7		7 Detective-Sergeants: 4 at 19s., 1 at 18s. 6d,, 2 at 18s. per day	2,382	
40		40 Detectives: 3 at 19s. 6d., 2 at 16s. 6d., 8 at 16s., 12 at 15s. 6d., 6 at 15s., 9 at 14s. 6d. per day	11,424	
4		4 Native Constables	250	
6		6 District Constables	570	
8		8 Matrons: 3 at £180, 3 at £170, 1 at £160, 1 at £150	1,360	
12		12 Surgeons: 4 at £150, 8 at £25 Probationary Constables	$ \begin{array}{r} 800 \\ 5,500 \end{array} $	
1,138		Frobationary Constantes Female Searchers	$\frac{0,300}{120}$	
		Allowances to members of Force for detective,	1.20	
		clerical, and special duty	4,000	
		Estimated credits-in-aid under Section 22 of		
	i	the Appropriation Act, 1923 (see end of		
		vote)— & Contributions from other Departments 10		
			332,525	
	$ $ $_2$	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and		
		other publications	800	
	3	Bicycles: Purchase and upkeep	1,350	
	4	Clothing (free issue), including repairs, allowance for	·	
		making up uniforms, and boot allowance	9,000	
	$\begin{array}{ c c c }\hline 5 \\ 6 \end{array}$	Freight, cartage, insurance, and transport charges	350	
	$\begin{vmatrix} 6\\7 \end{vmatrix}$	Fuel, light, power, and water Horse allowances, purchase, forage, bedding, shoeing,	4,300	
		clipping, and grazing of horses, including com-		
		pensation for loss of private horses	4,500	
	8	House allowances to officers and men unprovided	07.0*0	
	9	with quarters Medical, dental, and veterinary services, medicines	21,250	
	9	and medical stores, ambulance instruction and		
		hire, and hospital charges for police disabled		
		through duty	5 00	
	10	Motor-vehicles: Purchase and maintenance	5,500	
	11	Office fittings and requisites (including typewriter allowances)	1,200	
	12	Police examinations, expenses of	150	
	13	Police prosecutions and inquests, legal and medical	i	
		advice, interpreting, payments for special services,		
		and expenses of Departmental inquiries (part recoverable)	3,000	
4	14	Postage, telegrams, and rent of boxes	4,200	
	15	Printing and stationery	5,500	
	16	Rations	1,000	
	17	Rent of stations, quarters, and paddocks, and rates	0.000	
	18	on leasehold and acquired properties	3,000 450	
	19	Repairing, painting, and improving police premises Rewards and expenses for the suppression of sly-grog	400	
	-	selling and the introduction of liquor into prohibited		
		districts	300	
	20	Rewards to members of the Force for meritorious conduct	250	
	ı J		200	

${\tt POLICE\ DEPARTMENT-} continued.$

Number of Persons.	Item.		1926	–27.
1006:07		VOTE No. 19.—POLICE DEPARTMENT—continued	J	
1926–27.		Subdivision No. I.—Police Department—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	21	Saddlery, horse-covers, &c	150	
	22	Scavenging, chimney-sweeping, cleaning stations and windows, sanitary services and washing	500	
	23	Stores, supplies, accoutrements, and expenses inci-	000	
		dental thereto	1,100	1
	24	Telephone services (including installation, extensions,	C 000	101
	25	maintenance, rent, and calls) Transfer and removal expenses	6,000 4,000	*
	26	Travelling expenses of police and transport of	: 1,000	
		prisoners	17,000	
	27	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50	
				,
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		· . !
		£	,:	
		Clothing deductions, &c 250		a market
		Recoveries of— Costs of prosecutions 1,300		
		Travelling-expenses, &c 500		
		Sick deductions 150		
		Subsidies from local bodies 3,400		
		Miscellaneous recoveries 200		
		5,800		
		$Total-Subdivision \ No. \ I \$	95,400	427,925
				121,020
		O 12 1 N TT D I MILL III O G		
		Subdivision No. II.—Police: Miscellaneous Services.		
		CHARGES FOR AND INCIDENTAL TO-		
		Compensation—		
	28	For automatic pistols; also other expenses of administration of the Arms Act, 1920	50	
	-	Compassionate allowances—		
	29	Ex-Constable E. A. Chapman, retired as medically	-	
	20	unfit	100	
	30	Widow of Senior Detective T. W. Boddam, re- presenting pay for unexpired portion of leave	1	
		granted	82	
	31	Funeral expenses of late Constable A. G. Begg,	20	
		accidentally killed while on duty	20	
		Total—Subdivision No. II		252
		GROSS TOTAL		${428,177}$
		Credits-in-aid (a)	7.5	5,810 ————
	1 1	NET TOTAL—VOTE No. 19		422,367

(a) (Cred	$_{ m lits}$	-in-	aid	-:

Creates in an		4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Other	San State ST
		Salaries.	Charges.	1926-27.
		€	is the following ${f \mathfrak E}$, the following ${f \mathfrak E}$	£
Subdivision	on I	10	•••	10
,,	$_{ m int}$ ${ m H}_{ m int}$ $_{ m int}$	1.1.	5,800	5,800
1.5				
Total	s	10	5,800	5,810
			Maria de la companya del la companya de la companya	

PENSIONS DEPARTMENT.

					, .			19	2 6– 2 7.	
						Salari	es. (ther	Charges.	Total.
Vote No. 2	0.—P	ensions Depart	ment	<u></u>			£	:	£	£
Gr	Ross [Готац		٠	•	. 37	,874	1	46,804	184,678
Cr	EDITS	3-IN-AID				. 2	,500		332	2,832
		OTAL			•	<u> </u>	,374	1	46,472	181,846
						<u> </u>				
Number of Persons.	Item.			, .			<u></u>		1926	-27.
1926-27.	- 	VOTE N	o. 2	0.—PEN	SIONS D	EPARTM	ENT.			·
	1	*Salaries-							£	£
		. 1	ΑD	MINISTRA	TIVE DIVIS	SION.				
1		1 of CQ			ioner, £8		ahar a			
1	:				ar Pension				950	
		-		Стартол	r Division	,				
		Class I—		OHEIMOA	n Division					
1		1 at £6			***,		•	••	615	
1	1	$Class\ II-1 ext{ at } \pounds 5$			٠,,				515	
		Class III					£			
4	i I	1 at £4				•••	47			×
4		3 at £4 Class IV-				•••	1,33	.	1,805	.113
		2 at £4					85	0	1,000	
3		1 at £4			• • •		42			
_		Class V—					-		1,270	
5		5 at £3 $Class VI$			•••,	•••		••	1,900	
		2 at £3					67	0		
3		1 at £3:					32		(,)	
	!	Class VII							990	
		13 at £		4	···		3,83			
		1 at £25 5 at £2	90 (I 75	1 months), £275 (1:	montnj	$\frac{29}{1,37}$			
				months)	 , £250 (4 m	nonths)	26			
					, £250 (6 r		$\frac{26}{26}$			
		3 at £2	35 È		• • • •		79	5		
		3 at £2.			•••	•••	75			
				1 months), £230 (1	month)	49			
		5 at £25		monthal	, £210 (3 n	 vonthe)	$\frac{1,15}{22}$			
					, £210 (5 n , £210 (5 n		22			
		3 at £2		Trompino)	, to to ti		63			
		1 at £2.	10 (6		£190 (6 m		200	0		
		1 at £21	to (3	months),	£190 (9 n	nonths)	19	5		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

PENSIONS DEPARTMENT—continued.

Number f Persons.	Item.	VOTE No. 20.—PENSIONS DEPARTMENT— continued.				1926–2 7.	
92 6–2 7.	1	SALARIES—continued.				£	£
		CLERICAL DIVIS	NON CONT	imaya d			-
			SION—cont	тиси.			
		Class VII—continued. 2 at £190 4 at £190 (11 months), 2 at £155 (10 months), 1 at £155 (8 months), 1 at £135 (11 months), 1 at £135 (10 months), 2 at £135 (10 months), 3 at £135 (2 months), 3 at £115 4 at £115 (2 months), 4 at £115 (1 month), 5 at £115 (1 month), 6 at £115 (1 month),	£135 (2 n £135 (3 m £135 (4 mo £115 (1 n , £115 (2 n £115 (10 m £95 (10 mo	nonths) onths) onths) nonth) nonths) nonths) onths) nonths)	£ 380 748 304 150 149 133 132 473 345 98 387	·	
67		1 at £95 (2 months), £6 1 at £80			83 80		
		General	Division			14,158	
10		1 at £295 5 at £185 1 at £185 (8 months), £1 1 at £185 (4 months), £1 1 at £160 1 at £160 (2 months), £1	 75 (4 mon 75 (8 mon	ths)	295 925 182 178 160 148		
10		,	•	iitiis)		1,888	
		Non-peri	MANENTS.				
4		Part-time Medical Office: 4 at £400	rs			1 600	
4		Clerks—	•••	•••	•••	1,600	
		1 at £375 1 at £293 2 at £286 4 at £260 1 at £247 10 at £234 3 at £228		•••	375 293 572 1,040 247 2,340 684		
26		4 at £208	•••		832		
0		Typists— 2 at £156 2 at £130 3 at £104 1 at £78		 	312 260 312 78	6,383	
8			•••			962	
16		Office Assistants— 3 at £91 8 at £78 5 at £65	•••	•••	273 624 325		
149	-	Cadets' lodging-allowance Salaries and honoraria o		s of War		1,222 216	
		Board Salary, Medical Officer in	 n charge o	f treatme	nt	2,450 950	
		Estimated credits-in Appropriation A Contribution from ment for servi payment of Im- residing in New	-aid under .ct, 1923 (s Imperial c ces rende perial pen	Section see end of lovern- red in	22 of the		
		Ü			-	37 874	
					[_	37,874	

PENSIONS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 20.—PENSIONS DEPARTMENT— continued.	1926	-27.
1926-27.	i i	3		
		OTHER CHARGES FOR AND INCIDENTAL TO—	£	£
	2	Advertising, photographs, books, newspapers, and		
		other publications	20	
	3	Amount required for transfer to Advances to other		
		Governments Account for Imperial Pensions		
		Account	95	
	4	Cartage	25	
	5	Clothing allowance to wearers of mechanical ap-		
		pliances other than artificial limbs	1,000	
	6	Exchange and commission on money-orders	350	
	7	Fuel, light, power, and water	100	
	8	Grants to recipients of New Zealand Cross	40	
	9	Loading on life-insurance premiums on account of	05.5	
	10	impaired health occasioned by war service	275	
	10	Medical fees	6,000	
	111	Medical treatment and expenses incidental thereto—	01 000	
	11	Returned soldiers	91,000	
	12	South African War veterans	100	
	13	Office-cleaning Office fittings and requisites	$\frac{25}{100}$	
	15	•	100	
	16	Pensions to epidemic widows and their dependants	14,000	
	17	Post and Telegraph Department for services of	14,000	
	11	officers	13,622	
	18	Postage, telegrams, and rent of boxes	2,000	
	19	Printing and stationery	2,000	
	20	Railway concessions to disabled ex-soldiers	2,250	
	21	Rent of offices	1,037	
	22	Special annuities (90 cases)	5,645	
	23	Telephone services (including installation, extensions,	0,010	
		maintenance, rent, and calls)	250	
	24	Transfer and removal expenses	200	
	25	Travelling allowances and expenses	3,500	
	26	War Pensions Appeal Board—	,	
		Salaries and fees 1,900		
		Travelling-expenses 1,000		
		Other expenses 100		
			3,000	
	27	Contingencies, including unforeseen expenditure in-		•
		cidental to the other items of the vote	70	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		Grants to supplement superannuation,		
		Postal Department 232		
		Miscellaneous 100		
		332		
			146,804	
		Gross Total		184,678
ļ		Credits-in-aid (a)		2,832
		, ,		404 040
		NET TOTAL—VOTE No. 20		181,846

(a) Credits-in-aid-			
()			1926-27.
			£
Salaries		 	2,500
Other Charges	• •	 • •	332

Total 2,832

MINES DEPARTMENT.

			_]	1926–27.	
						Salaries	s. 0	ther Charges.	Total.
Vote No. 21	.—М	ines Departm	nent—			,	£	£	£
Subdivision	ı I.	-Administra	tion	••	••	10,	373	• • •	10,373
,,	II.	Geological S	Survey Br	ranch	• •	4,	546	3,555	8,101
,,	III.	-Miscellane	o us Se rv io	ces				38,943	38,943
Gro	ss T	OTAL				14,	919	42,498	57,417
$C_{\mathbf{RE}}$	DITS	-IN-AID		••		•	450	990	1,440
		OTAL				14,	469	41,508	55,977
of Persons.	Item.	VOTI	E No. 23	1.—MINES	S DEPA	RTMEN	T.	192	6-27.
1926–27.		S	Subdivisio	on No. I.—.	4dminis	tration.		£	£
	1	*Salaries-		NISTRATIVE	Divisio	ON.			
1		1 at £92	5 (Unde	r-Secretary)	•••		928	5
1		1 at £79		FESSIONAL	Division	N		791	L
7	!	Class B 4 at 4 3 at 4	3540		•••	•••	£ 2,16 1,54		
1	ļ	$Class\ D$ 1 at s				•••		428	
		<i>(</i> 21 7		LERICAL DI	vision.				
1		Class I.						470	0
1		Class V 1 at s			•••	•••		33	5
7		1 at 1 at 1 at	£295 £275 £275 (3 r £250 (8 r £230 (7 r £210	months), £2 months), £2 months), £9 	230 (4 m 210 (5 m	onths) onths)	29 27 28 29 29 21 10	75 57 14 122 10	0

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

MINES DEPARTMENT—continued.

Number of Persons.	Item.					1926-2	37.
1926-27.	-	VOTE No. 21.—MII					
		Subdivision No	IAdministratio	n-contin	ued.	£	£
	1	Salaries—continued	•				
		Ger	NERAL DIVISION.		£		
		1 at £425		•••	425		
	ì	3 at £270 1 at £205			$\begin{array}{c c} 810 \\ 205 \end{array}$		
		1 at £185	•••		185		
7		1 at £175			175	1 900	
		No	ON-PERMANENTS.			1,800	
		1 at £117		•••	117		
3		1 at £104	•••	•••	104		
_ -	_	1 at £91	•••	•••	91	312	
30							
		Appropri	edits-in-aid under ation Act, 1923 (com State Coal-m	see end of			
		Total	-Subdivision No	o. I	-		10,373
		Subdivision No.	IIGeological S	urvey Bra	ınch.		
	2	SALARIES—					
			essional Divisio	N.			
1		1 at £791 (Directo	or)	•••	•••	791	
1		1 at £615	•••	•••		615	
_		Class B—					
2		2 at £540 Class C	•••	•••		1,080	
1		1 at £490	•••			490	
		Class D—			£		
2		1 at £400	onths), £355 (5 m	onths)	$\frac{400}{370}$		*
	'	1 at 2000 (1 mc	muns), 2000 (0 m	Oliviis		770	
		CI-	ERICAL DIVISION				
		Class V—	ERICAL DIVISION.	•			
1	.	1 at £380				380	
1		Class VII— 1 at £295				295	
1	•	1 80 \$250	•••	• • •	***	490	
			ON-PERMANENT.		 		
1		1 at £250 (6 mont	ths only)	•••	•••	125	
10)	Estimated cr	edits-in-aid unde	r Section	22 of the	Ì	
	-	Appropr	iation Act, 1923	(see end of	vote)—		
		Recovery ment	from Public Wo	orks Depa	rt- £ 200		
		menn	•••	••	200		
		0				4,546	
	3	OTHER CHARGES FO			ers, and		
		other publication	ons			50	
	4	Expert assistance	e (including prepa	ration of	reports)	50	
	$\begin{array}{c c} 5 \\ 6 \end{array}$	Fault map of Nev Field expenses (p			npilation	50 400	
	7	Freight, cartage,	and transport ch	arges	::: :	40	

MINES DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 21.—MINES DEPARTMENT—continued.	1926-	27.
1926–27.		Subdivision No. II.—Geological Survey Branch—continued.	£	£
	8 9 10	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Fuel, light, and water (partly recoverable) Instruments, purchase of	75 20	
	11	Instruments: Repairs and maintenance and outfit allowances	150 50	
	12 13 14 15 16	Office fittings and requisites Postage, telegrams, and rent of boxes Printing bulletins, lithographing, &c Printing and stationery Rents	60 50 1,000 30 235	
	17 18 19	Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling allowances and expenses	25 250	
	20 21	Tools and field equipment	100 900 20	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Printing bulletins £40		
		Fuel, light, &c 30 Field expenses 50 Wages of field hands 250		
		370		
		Total—Subdivision No. II	3,555	8,101
		Subdivision No. III.—Miscellaneous Services.		
	22	CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications Assistance towards—	70	
	23 24	Ambulance classes Coal-mining (recoverable) Experiments in connection with—	25 2,000	
	$\begin{bmatrix} 25 \\ 26 \end{bmatrix}$	Inflammability of coal-dust Utilization of brown coals	280 350	
	27 28 29	Maintenance of roads and works Prospecting for gold Board of Inquiry re suitability of New Zealand coals for New Zealand railways	2,000 12,000 100	
	30	Bonus of £2,000 for the successful manufacture of briquettes or of coke and any other by-products from sub-bituminous or brown coal slack for	100	
	31	commercial purposes (on account) Bounty payable to Onakaka Iron and Steel Company (Limited), under the Iron and Steel	100	
	32 33	Industries Act, 1914 Collecting goldfields revenue (partly recoverable) Diamond and other drills and appliances (partly recoverable)	$\begin{bmatrix} 7,000 \\ 250 \\ 1,250 \end{bmatrix}$	
	34 35 36	Examinations, Mining and Coal-mines Acts Freight, cartage, and transport charges Fuel, light, water, and cleaning	110 50 40	
	37 38	Grants— Flood damage, Ross Granity Creek Outlet	100	

	 -	MINES DEPARTMENT—con	tinued.		
Number of Persons.	Item.	VOTE No. 21—MINES DEPARTMENT	-continued.	1926	5 –27 .
1926–27.		Subdivision No. III.—Miscellaneous Servi	ces—contd.	£	£
		CHARGES FOR AND INCIDENTAL TO—continu	ued.		
	39	Grants—continued.		50	
	40	Libraries in mining townships Mining Conference at Dunedin	• • • • • • • • • • • • • • • • • • • •	350 350	
	41	** * *** ** ** * * * * * * * * * * * * *		100	
	42	mu ` ` · · · ·		100	
	43	Instruments and apparatus		10	
	44	Instrument and outfit allowance for Chief	Inspector of		
	45	Mines and repairs and maintenance of	instruments		
	46	Law-costs Maintenance of Water-races: Waimea-l	Xumara	50 620	
	47	Map of mining privileges, Inangahua Con		75	
	48	Motor-cars		200	,
	49	New Zealand and South Seas Exhibi	tion: Mine-		!
		model, show-cases, &c., retained		295	
	50	Office fittings and requisites (including t	ypewriters)	50	
	$\begin{array}{c c} 51 \\ 52 \end{array}$	Postage, telegrams, and rent of boxes Printing and stationery		250 450	
	53	Refunds of revenue under section 154(3) of	of the Mining		
	00	Act, 1908 (recoverable)	-	50	
	54	Rents		593	
	55	Rents, &c., in connection with the leases			
		the Blenheim Oil Company (dissolved)	•••	200	
	56	Schools of Mines	•••	4,000	
	57	Subsidies— Drybread Sludge Channel (£1 for £1)		200	
	58	Dunstan Miners Jubilee (£1 for £1)		50	
· .	59	Jubilee of pioneer miners at Kumara (207	
	60	Kauaeranga Water-race, Thames (£1 f		200	
	61	Systematic prospecting for minerals un	der Govern-		
	20	ment direction		3,000	
	62	Telephone services (including installation]
	63	maintenance, rent, and calls) Travelling allowances and expenses		180	i
	64	Contingencies, including unforeseen exp		1,000	
		cidental to the other items of this sub	livision	20	-
		Estimated credits-in-aid under Secti Appropriation Act, 1923 (see en			
		Appropriation Act, 1920 (see en	£		
	<u>'</u>	Collecting goldfields revenue	. 20		
		Drilling-expenses	. 500	:	
		Printing and stationery, publica			
		tions, &c	. 50		
		Refunds of revenue	. 50	,	
			620		
		$Total-Subdivision \ No.$	<i>III</i>		38,94
		Gross Total		•••	57,41
		Credits-in-aid (a)			1,44
		NET TOTAL—VOTE No. 21	•••		55,97
	I	its-in-aid: Other			·
(a)	Ored	Salaries. Charges.	19	26-27.	
	~	£		£	
	S	abdivision I 250		250	
		,, II 200 370 ,, III . 620		570 6 20	
		,, 111 020	_	020	
		Totals 450 990	. 1	,440	
		100a18 . 450 990	. 1	,440	

DEPARTMENT OF INTERNAL AFFAIRS.

		1926-27.	
	Salaries.	Other Charges.	Total.
Vote No. 22.—Department of Internal Affairs—	£	£	£
Subdivision I.—Head Office	06 167	08 185	£9. 94.
" II.—Government Actuary's Office	26,167	27,175	53,342
", III.—Ministers' Secretaries	4,695	2,060	6,758
,, IV.—Messengers, Office-keepers, and Char-	8,380 80,862	1.000	8,380
women	00,002	4,000	84,862
,, V.—Registrar-General's Office	10,327	7,360	17,687
VI.—Census and Statistics	15,748	44,014	59,762
", VII.—High Commissioner's Office	30,830	17,436	$\frac{48,266}{48}$
,, VIII.—Museum	3,353	7,170	10,523
,, IX.—Dominion Laboratory	8,247	8,871	17,118
,, X.—Miscellaneous Services	20,954	106,895	127,849
GROSS TOTAL	209,563	224,981	434,54
Credits-in-aid	40,513	27,201	67,714
NET TOTAL	169,050	197,780	366, 830

Number of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF AFFAIRS.	INTE	RNAL	1926–9	27.
1926–27.		Subdivision No. I.—Head Off	ice.		£	£
	1	*Salaries—				
		Administrative Division.				
1		1 at £950 (Under-Secretary)		•••	950	
		PROFESSIONAL DIVISION.				
		Class A—				
1		1 at £715 Class B—	• • •	•••	715	
1		1 at £515			515	
_		Class F—		•••	010	
1		1 at £210 (10 months), £190 (2 mont	h s)	• • • •	207	
		CLERICAL DIVISION.				
		Class Special—		£		
9		1 at £850	•••	850		
3		2 at £665 Class I —	•••	1,330	2,180	
1		1 at £565			565	
-		Class II—				
1		1 at £515	•••	•••	515	
	i	Class III—		400		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• • •	480 940		
5		Class IV—	• • •	940	1,420	
3		3 at £425			1,275	
· ·	-	Class V—			_,,_	
		1 at £380 (8 months), £335 (4 month		365		
2		1 at £380 (2 months), £335 (10 months)	ns)	343	50 0	
		Class VI— $7 \text{ at } \pounds 335$		2,345	708	
8		1 at £335 (8½ months), £320 (3½ month		331		
U		Class VII—	-~ <i>j</i>		2,676	
		$4 \text{ at } £295 \qquad \dots$		1,180	,	
		1 at £295 (6 months)		148		
		1 at £275	•••	275		
,	, ,	1 at £275 (10 months), £250 (2 month	ıs)	271	ı	

^{*} For particulars of salaries see "Public Service Classification List."

NOTE.—Scale salaries or wages include cost-of-living increase.

Number f Persons	Item.	VOTE No. 22.—DEPA	RTMENT (RS—continued		RNAL	1926-	27.
926–27.		Subdivision No. 1.	—Head Office	—continue	ed.	0 1.	0
	1	SALARIES—continued.				£	£
			ivision—cont	rnaea.			
		Class VII—continued 1 at £250 (11 mont		month)	£ 248	:	
		1 at £250 (9 month	ıs), £230 (3 m	nonths)	245		
		1 at £230 (4 month			$\begin{array}{c} 217 \\ 208 \end{array}$		
		1 at £210 ($10\frac{1}{2}$ mont 2 at £210 (3 month			390		
		1 at £190 ($3\frac{1}{2}$ month	ns), £155 ($8\frac{1}{2}$ n	nonths)	165		
		1 at £190 (2 month 3 at £155 (9 month			$\begin{array}{c c} 161 \\ 450 \end{array}$		
		1 at £135 (1 month	$\pm 130 (3 \text{ m})$	onths)	117		•
		1 at £115 (11 mont	ihs), £95 (1 m	ionth)	113		
		3 at £115 (2 mont) 1 at £95	ıs), £95 (10 m	ionths)	$\begin{bmatrix} 297 \\ 95 \end{bmatrix}$		
		1 at £95 (10 month	ns), £80 (2 mc	nths)	92		
26		1 at £95 $(5\frac{1}{2} \text{ month})$			87		
я.		Official Secretary to	Hig Evanlles	nev the C	Overnor	4,759	
1		Official Secretary to General	THIS TRYCELLE	une G	Overnor-	615	
	Į.	Allowances to officers	s temporarily	performin	g special	0.20	
		or higher duties	under Public	Service	Regula-	150	
		tions 24A and 209	•••	•••	•••	170	
			RAL DIVISION		£		
		1 at £440			440		
		1 at £265 ($10\frac{1}{2}$ month 1 at £255	18), £200 (1 § 1	montns)	$egin{array}{c c} 264 & \\ 255 & \\ \end{array}$		
		1 at £215		•••	215		
		5 at £205	•••	•••	1,025		
		7 at £185 1 at £175	•••	•••	$egin{array}{c c} 1,295 & \\ 175 & \end{array}$		
	1	2 at £160	•••	•••	320		
20		1 at £125	•••	•••	125	4 114	
		Non-	PERMANENTS.			4,114	
		1 at £600	••		600		
	!	1 at £380 1 at £312	•••	•••	380		
		2 at £273	•••		$\begin{bmatrix} 312 \\ 546 \end{bmatrix}$	Ì	
		1 at £235 (11 months	s)		216	1	
		1 at £221		• • •	221		
		1 at £208 1 at £208 (3 months)	•••	•••	$\begin{bmatrix} 208 \\ 52 \end{bmatrix}$		
		1 at £169	•••	•••	169		
	i	1 at £143	• • •	•••	143		
		1 at £130 1 at £130 (9 months)	£104 (3 mor	nths)	$\begin{array}{c c} 130 \\ 124 \end{array}$		
		3 at £117 `	•••	••••	351		
	'	1 at £104 ($10\frac{1}{2}$ month	ns), £78 (1½ n	nonths)	101		
		3 at £78 1 at £63	•••	•••	$\begin{bmatrix} 234 \\ 63 \end{bmatrix}$		
22		1 at £32	•••	•••	32		
	-	T 1 ' 11				3,882	
93		Lodging-allowances (Salary of Lady Medi-		art recover	rahla)	$\begin{array}{c} 116 \\ 470 \end{array}$	
	-	Special allowances to				110	
		employed in Minis		, •••		315	
		Estimated on 3:4	o in oid unde	n Scotion	00 of the		
		Estimated credit	on Act, 1923				
	!	Amount to be	recovered fro	m	£	ie .	
			ice Superanni				
		Salary of Lady	y Medical Rei	eree	305		
					3,012		
					4	26,167	

of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926–	27.
1926-27.		111 111110		
		Subdivision No. I — Head Office—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising	150	
	3	Bird-life, expenses in connection with preservation of	300	
	4	Cinematograph-films: Cost of administration and ex-		
	5	penses in connection with the censorship of	750	
		Commissions of Inquiry (part recoverable) Dominion Observatory—	800	
	6	Astronomical sites, testing of	250	
	7	General expenses	250	
	8	Grounds, maintenance of	80	
	9	Instruments and equipment	300	
	10	Longitude, international wireless determinations of,		
	11	temporary assistance in connection with	100	
	1 **	Fire Brigades: Railway-pass for Secretary to United Fire Brigades' Association	90	
		Fire Brigades Association Fire Brigades Annual Conference—	90	
	12	Grant-in-aid	500	
	13	Railway passes for brigades attending	500	
	14	Freight, cartage, and transport charges	150	
	1.5	Fresh-water fisheries and game—		
	15	Expenses in connection with, including wages		
		of workmen, purchase of land, and erection of buildings	1 000	
	16	Maken and considers of	$\frac{1,200}{390}$	
	17	Fuel for Government offices	2,000	
	18	Law-costs	5	
	19	Light, power, and water for Government buildings	4,500	
	20	New Zealand Academy of Fine Arts, Wellington,		
		payment to, for part services of custodian, National		
		Picture Gallery, and other charges in connection therewith	170	
	21	Office fittings and requisites	$\begin{array}{c c} 172 \\ 750 \end{array}$	
	22	Office furniture (transfer expenses)	100	
	23	Office furniture (transfer expenses) Overtime and meal allowances	50	
	$\mid 24 \mid$	Postage, telegrams, and rent of boxes (part recoverable)	750	
	0.5	Printing and Stationery—		
	25 26	Head office	1,800	
	27	Ministers' offices	1,000	
	28	Publications (including newspapers and books) Rent	$\begin{array}{c c} 750 \\ 63 \end{array}$	
	29	Telephone services (including installation, extensions,	05	
		maintenance, rent, and calls)	1,250	
		Travelling allowances and expenses of—	, -	
	30	Ministers (allowances only as authorized by the		
	31	Civil List Act, 1920)	1,750	
	32	Ministers' expenses	2,500	
	33	Private Secretaries to Ministers Officers of the Department	2,500	
	34	Tuatara lizards, protection of: Special payments to	1,200	
		lighthouse-keepers and others	175	
	35	Contingencies, including unforeseen expenditure in-	1.0	
		cidental to the other items of this subdivision	50	
		Estimated credits - in - aid under Section 22 of		
		the Appropriation Act, 1923 (see end of vote)—		
		Commissions of Inquiry 500		
		Postage 20		
		Miscellaneous 200		
		· —		
	•	720		
		<u> </u>		
			27,175	

Number of Persons.	VOTE No. 22.—DEI	PARTMENT C		RNAL	1926–	2 7.
926-27.	Subdivision No. II)ffice	£	£
		GOVO TOMORO 11	.commy o o	yies.		~
	6 SALARIES Proper	SIONAL DIVISION		1		
1	PROFESS	SIONAL DIVISIO	Ν.	£		
	1 at £1,100 (8 mon	nths)		$7\widetilde{34}$		
	1 at £850 (8 mont			567		
3	1 at £715 (8 mont	hs)	•••	477	1 770	
	Crnn	ICAL DIVISION.			1,778	
	Class V—	ICAL DIVISION.				
2	2 at £380 (8 mont	hs)	•••		507	
	Class VI—					
	1 at £335 (8 mont		•••	224		
$2 \mid$	1 at £320 (8 mont Class VII—	hs)	•••	214	438	
İ	1 at £295 (8 mont	hs)		197	#90	
1	2 at £275 (8 mont		•••	367	-	
	1 at £250 (8 mont)	hs)		167		
	1 at £210 (8 mont)		•••	140		
	1 at £155 (8 mont		•••	103		
	2 at £135 (8 mont) 1 at £115 (8 mont)		•••	$\begin{array}{c c} 180 \\ 77 \end{array}$		
12	3 at £95 (8 month	s)		190	į	
1	3 40 300 (0 223431	•)			1,421	
	Cadets' lodging-all	lowances	•••	•••	40	
		General Divis	JON.			
1	1 at £160 (8 mont	hs)	•••		107	
1	,	PERMANENTS.			ļ	
	1 at £325 (8 mont)			217	:	
3	2 at £208 (8 mont		•••	$\frac{217}{277}$		
	(3 (3	, , , , , , , , , , , , , , , , , , , ,			494	
23						
	Less proportion	of increases of	salaries r	provided	4,785	
1		yable for full te			90	
		•		-		
	OTHER CHARGES FOR	AND INCIDENTAL	г. то		4,695	
	Fuel, light, power, a		1 10		40	
	8 Government Insurai	nce Departmen	t for serv	vices of	_	
	charwomen	•••	•••	•••	20	
	9 Office fittings	**	•••	• • •	900	
i	Office requisites Overtime and meal a	llowances	• • •		100 200	
i	2 Postage and telegrar				10	
	Printing and station				300	
	4 Rent				400	
1	5 Telephone services		•••		40	
	6 Travelling allowance	_		• • •	$\frac{20}{30}$	
	7 Contingencies	• • •				
	Estimated credi				2,060	
ı	Appropriati	on Act, 1923 (s	ee end of v	vote)—		
		towards salar es rendered—	ies oi omce	ers, &c., £	ii 1	
		t Insurance De	partment	3,740	İ	
		Provident and		-,0		
1		Department		1,960		
				50	i	
	Miscellaneo	ous	• • •	00		
		ous	•••	5,750		

${\tt DEPARTMENT\ OF\ INTERNAL\ AFFAIRS--} continued.$

Number of Persons.	Item.	NOTE N. 00 DEDADEMENT OF INTERNAL	1926-	27.
1926–27.	-	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.		. 1.5, 11.5
1010 11.			£	£
		Subdivision No. III.—Ministers' Secretaries.		
	48	Salaries—		
		CLERICAL DIVISION.	1	
. 2		Class I — 2 at £565	1,130	
. 4		Class II— £	1,100	
		3 at £515 1,545		
4		1 at £490 490 490	2,035	
3		3 at £445	1,335	
		Class IV—		
3		3 at £400	1,200	
		Class VI— 1 at £335 335		
2		1 at £305 305		
		Class VII—	640	
1		1 at £295 Allowances in addition to classification—	295	
15		16 Private Secretaries to Ministers at £50 each	800	
	-	Extra classification allowance—		
	:	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		3 at £70 210	Į.	
		1 at £25 25	0.45	
		Total—Subdivision No. III	945	8,3
		Total—Subativision 140. 111		0,0
	1			
		Subdivision No. IV.—Messengers, Office-keepers, and Charwomen.		
	49	Charwomen. Salaries—		
ı	49	Charwomen. SALARIES— GENERAL DIVISION.		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.—		
	49	Charwomen. SALARIES— GENERAL DIVISION.		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— 1 at £380 380 1 at £302 302 5 at £295 1,475		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— 1 at £380380 1 at £302302 5 at £2951,475 1 at £280280		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— 1 at £380		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268		
	49	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		
	49	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £270 (1 month), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £250 1,000 1 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £270 (1 month), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £250 1,000 1 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (6 months), £225 (6 months) 230		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £270 (1 month), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £250 1,000 1 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (6 months), £225 (6 months) 230 1 at £235 (3 months), £225 (9 months) 228		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £392 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £265 (9½ months), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (6 months), £225 (6 months) 228 1 at £235 (2 months), £225 (10 months) 227 3 at £225 675		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £265 (9½ months), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £250 1,000 1 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (3 months), £225 (6 months) 228 1 at £235 (2 months), £225 (10 months) 228 1 at £235 (2 months), £225 (10 months) 227 3 at £225 675 1 at £225 (9 months), £221 (3 months) 224		
	49	Charwomen. GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £270 (1 month), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (6 months), £225 (6 months) 230 1 at £235 (3 months), £225 (10 months) 228 1 at £235 (2 months), £221 (3 months) 224 1 at £225 (5 months), £221 (7 months) 223		
	49	Charwomen. SALARIES— GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £280 280 1 at £276 276 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £265 (9½ months), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £250 1,000 1 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (3 months), £225 (6 months) 228 1 at £235 (2 months), £225 (10 months) 228 1 at £235 (2 months), £225 (10 months) 227 3 at £225 675 1 at £225 (9 months), £221 (3 months) 224		
	49	## Charwomen. Salaries		
	49	Charwomen. GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £276 280 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £270 (1 month), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £250 1,000 1 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (6 months), £225 (6 months) 228 1 at £235 (2 months), £225 (10 months) 228 1 at £235 (2 months), £221 (3 months) 227 3 at £225		
	49	Charwomen. SALARIES		
	49	Charwomen. GENERAL DIVISION. Messengers, &c.— £ 1 at £380 380 1 at £302 302 5 at £295 1,475 1 at £276 280 20 at £270 5,400 1 at £270 (6 months), £265 (6 months) 268 1 at £270 (1 month), £265 (11 months) 266 1 at £265 (9½ months), £255 (2½ months) 263 2 at £260 520 4 at £250 1,000 1 at £245 245 69 at £240 16,560 4 at £240 (7 months), £235 (5 months) 952 7 at £240 (3 months), £235 (9 months) 1,652 1 at £235 (6 months), £225 (6 months) 228 1 at £235 (2 months), £225 (10 months) 228 1 at £235 (2 months), £221 (3 months) 227 3 at £225		

${\tt DEPARTMENT\ OF\ INTERNAL\ AFFAIRS-} continued.$

Number of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF IN AFFAIRS—continued.	rernal	1926	-27.
1926-27		AFFAINS—continuea.			
		Subdivision No. IV.—Messengers, Office-kee Charwomen—continued.	pers, and	£	£
	49	Salaries—continued.			
		GENERAL DIVISION—continued.			
		Messengers, &c.—continued.	£ 416		
	1	2 at £211 (8 months), £201 (4 months) 1 at £211 (4 months), £201 (8 months)	204		
•	İ	3 at £211 (2 months), £201 (10 months)			
		1 at £130	130		
		1 at £115 (2 months), £105 (10 months)	107		
		1 at £90	90		
147		1 at £70	70		
		$\begin{array}{c cccc} Charwomen — \\ 1 \text{ at } \pounds 156 & \dots \end{array}$	156	35,408	
		2 at £130	260	00,100	
		1 at £125	125		
5		1 at £115	115		
		Non-permanents.		656	
		Charwomen—		090	
		1 at £182	182		
		1 at £156	156		
		1 at £145	145		
		3 at £130 2 at £127	$\begin{array}{c} 390 \\ 254 \end{array}$	į	
		1 at £125	125		
		115 at £117	$13,\overline{455}$		
		4 at £117 ($9\frac{1}{2}$ months)	371		• •
		11 at £115	1,265	j	
	ŀ	1 at £115 (10 months), £105 (2 months)	113		
	1	117 at £105 1 at £105 ($10\frac{1}{2}$ months)	$\begin{array}{c c}12,285\\92\end{array}$	ı	
		1 at £105 ($10\frac{1}{2}$ months) 1 at £105 ($9\frac{1}{2}$ months)	83	1	
		1 at £105 (9 months), £70 (3 months)	97		
		1 at £101	101		
		1 at £93	93		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$182 \mid 89 \mid$		
		1 at £88	88		
		1 at £88 (9 months), £82 (3 months)	86		
		1 at £87	87		
	Ì	2 at £85	170		
		2 at £83	166		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{c c} 82 \\ 79 \end{array}$		
		1 at £78	78		
		1 at £75	75		
		1 at £75 (10 months), £58 (2 months)	.72		
		$1 \text{ at } £73 \qquad \dots \qquad \dots$	73		
		1 at £72	72		
	Ì	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{bmatrix} 71 \\ 140 \end{bmatrix}$		
		1 at £70 (9 months)	53		
		1 at £68	68		
		2 at £67	134		
	1 :	2 at £65	130		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{c} 62 \\ 177 \end{array}$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	58		* * * * *
		1 at £54	54		
	1	1 at £53	53	ļ	
		2 at £52	104		
		1 at £50	50		
	I	1 at £42 (10 months)	35	i	

Number Persons.	Item.	VOTE No. 22.—DEPARTM AFFAIRS—		' INTEI	RNAL	1926-	27.
926–27.		Subdivision No. IV.—Messe Charwomen-	engers, Offi —continue	ce-keeper. 1.	s, and	£	£
	49	Salaries—continued.					
		Non-permanent	scontinu	od			
		Charwomen—continued.	sconcenu	eu.	£		
		2 at £40			80		
		1 at £39			39		
		1 at £36		•••	36		
	.	1 at £35 1 at £34	•••	•••	$35 \mid 34 \mid$		
		1 at £33		•••	33		
		1 at £32		•••	32	ļ Ī	
		2 at £26	•••	•••	52		
		3 at £25 3 at £23	•••	• • •	$\begin{array}{c c} 75 \\ 69 \end{array}$		
		1 at £22	•••	•••	$\frac{03}{22}$		
		1 at £21		•••	21	į	
		1 at £20	•••	• • •	20		
		1 at £19 1 at £18	•••	• • •	$\begin{bmatrix} 19 \\ 18 \end{bmatrix}$		
		1 at £16	•••	•••	16		
		3 at £15	• • •		45		
		1 at £12	***	• • •	$\frac{12}{2}$		
		1 at £9 1 at £7	• • •	• • •	$\begin{array}{c c}9\\7\end{array}$		
		2 at £6	•••	•••	12	İ	
		1 at £5		•••	5		
332		2 at £3	•••	•••	6		
		Messengers - 4 at £240			960	32,492	
		1 at £235	•••	•••	235		
		1 at £234	•••		234		
		1 at £221	•••	•••	221	1	
		4 at £211 1 at £208	•••	•••	844 208		
		2 at £200	•••	•••	400		
		13 at £191	•••	•••	2,483		
		1 at £191 (9 months), £		$_{ m nths})$	189		
		15 at £183 3 at £183 (10 months)	•••	• • •	$\begin{bmatrix} 2,745 \\ 458 \end{bmatrix}$		
		1 at £182	•••	•••	182		
		2 at £181		•••	362		
•		1 at £181 (11 $\frac{1}{2}$ months)	•••		174		
		1 at £114 1 at £107	•••	•••	$\begin{array}{c c} 114 \\ 107 \end{array}$		
		1 at £88	•••	•••	88		
		1 at £60		•••	60		
		1 at £48	•••	•••	48		
	1	1 at £45 $1 at £34 (9 months)$	•••	•••	$egin{array}{c} 45 \ 26 \end{array}$		
		1 at £33	•••	•••	33		
		1 at £26		•••	26		
		1 at £25	• • •	• • •	25		
		1 at £20 1 at £12	•••	• • •	$\begin{vmatrix} 20 \\ 12 \end{vmatrix}$		
64		2 at £10	•••	•••	20	}	
548	-					10,319	
	-	Payment to messengers f	or Sunday	Saturd	-	78,875	
		holiday duty	• • •			1,070	
		Special allowances to me ances to Ministerial mes	essengers, ssengers)	(includes	s allow-	917	
					-	80,862	

Number of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926-	27.
1926–27.		Subdivision No. IV.—Messengers, Office-keepers, and Charwomen—continued.	£	£
	50 51	OTHER CHARGES FOR AND INCIDENTAL TO— Medical attendance for messengers and charwomen, &c., injured on duty Motor cars, cycles, and accessories (part recoverable)	25 400	
	52	Office-cleaning (including upkeep of grounds outside main centres)	2,500	
	53 54 55 56	Transfer and removal expenses Travelling allowances and expenses Uniforms and overcoats for messengers Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	100 350 600 25	
		-	4,000	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Salaries, &c £15,723 Motor cars, cycles, and accessories 300 Office-cleaning 300 Miscellaneous 10	4,000	
		16,333		
		Total—Subdivision No. IV		84,862
		Subdivision No. V.—Registrar-General's Office.		
	57	Salaries—		
		CLERICAL DIVISION. Class I—		
1		1 at £615	615	
4		Class IV— 4 at £425	1,700	
1		Class V 1 at £355	355	
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	550	
10		1 at £320 (3½ months), £275 (8½ months) 1 at £295 (5 months), £275 (7 months) Class VII— 288	3,220	
		4 at £295 1,180 1 at £250 (3 months), £230 (9 months) 235 1 at £210 210	3,223	
		1 at £190 ($4\frac{1}{2}$ months), £155 ($7\frac{1}{2}$ month) 169 1 at £155 155 1 at £135 ($10\frac{1}{2}$ months), £115 ($1\frac{1}{2}$ months) 132 1 at £135 (9 months), £115 (3 months) 130		
		1 at £135 (½ month), £115 (11½ months) 116 1 at £115 (7½ months), £95 (4½ months) 108		
		2 at £115 (3 months), £95 (9 months) 200 1 at £115 (1½ months), £95 (10½ months) 98 2 at £95 (11 months), £80 (1 month) 188 2 at £95 (2½ months), £80 (9½ months) 166		
21		1 at £95 (2 months), £80 (10 months) 83 1 at £95 (1 month), £80 (11 months) 81		
21		Lodging-allowance	3,251 107	
		GENERAL DIVISION.		
		2 at £185 370 1 at £160 160		
4		1 at £160 (7 months), £145 (5 months) 154	684	

	1 1	DEPARTMENT OF INTERNAL AFFAIRS—continu	ied.	
Number of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926-	-27.
1926–27.		Subdivision No. V.—Registrar-General's Office—continued.	£	£
	57	Salaries—continued.		
		Non-permanents. £		
0		$1 \text{ at } \pounds 247$ 247		
2		1 at £78 78	325	
43	-	Allowances to Clerks of Court and others acting as Registrars of Births, Deaths, and Marriages: 7 at £10	70	
			10,327	
		OTHER CHARGES FOR AND INCIDENTAL TO— Births, deaths, and marriages, registration of—		
	58	Non-permanent officers	1,800	
	59	Post Office for services of postmasters	2,200	
	60 61	Office-cleaning, firing, lighting, freight, and cartage	$\begin{array}{c c} 100 \\ 200 \end{array}$	
	$\begin{vmatrix} 62 \end{vmatrix}$	Office fittings and requisites Postage, telegrams, and rent of boxes	600	
	63	Printing and stationery	1,000	
	64	Rent of offices	1,000	
	65	Telephone services (including installation, extensions,	150	
	66	maintenance, rent, and calls) Transfer and removal expenses	100	
	67	Travelling allowances and expenses	200	
	68	Contingencies, including unforeseen expenditure in-	10	
		cidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Miscellaneous £10		
		miscenaneous		
		$Total-Subdivision No. V \qquad \qquad \ldots -$	7,360	17,687
		Subdivision No VI.—Census and Statistics.	,	17,68
	69	SALARIES-		
		CLERICAL DIVISION. Class Special—		
1		1 at £765	765	
		Class II— £		
3		1 at £515 515 2 at £490 980		
IJ		Class IV—	1,495	
2		2 at £425	850	
4		Class V— 4 at £380	1,520	
1		Class VI—	1,020	
		2 at £335 670		
4		1 at £335 (6 months), £320 (6 months) 328		
4		1 at £335 (9 months) 252 Class VII—	1,250	
		2 at £295 590	1,200	
		1 at £250 250		
		1 at £250 (5 months), £210 (7 months)		
		2 at £230 (9 months), £210 (3 months) 225 1 at £230 (7 months), £210 (5 months) 222		
		8 at £210 1,680		
		1 at £210 (11 months), £190 (1 month) 208		
		1 at £210 ($2\frac{1}{2}$ months), £190 ($9\frac{1}{2}$ months) 194		
		1 at £190 (10 months), £155 (2 months) 184		
		1 at £190 ($4\frac{1}{2}$ months), £155 ($7\frac{1}{2}$ months) 177 3 at £155 465		
		2 at £155 (9 months), £135 (3 months)		
		1 at £135 (9 months), £115 (3 months) 130		
		1 at £135 (1 month), £115 (11 months) 117	[

59,762

Appropriations for Consolidated Fund Services.

DEPARTMENT OF INTERNAL AFFAIRS -- continued Number Item. 1926-27.VOTE No. 22.—DEPARTMENT OF INTERNAL of Persons. AFFAIRS—continued. 1926-27.Subdivision No. VI.—Census and Statistics—continued. C. £. 69 Salaries—continued. CLERICAL DIVISION—continued. Class VII-continued. £. 1 at £115 115 1 at £115 (1½ months), £95 (10½ months) 2 at £115 (1 month), £95 (11 months) 98 194 1 at £95 (11 months), £80 (1 month)... 94 1 at £95 (3 months), £80 (9 months)... 84 1 at £80 80 34 1 at £80 (10 months) 67 5,699 GENERAL DIVISION. 1 at £295 295 1 at £260 2601 at £260 (6 months), £245 (6 months)... 2531 at £205 205 5 at £185 925 1 at £175 (2½ months), £160 (9½ months) 10 164 2,102 NON-PERMANENTS. 1 at £245 2453 at £130 390 2 at £105 210 3 at £104 3121 at £91 91 ... 8 at £78 624 18 1,872Cadets' lodging-allowances ... 180 76 Allowance to officers performing special or higher duties under Public Service Regulations 24A and 209 15 15,748 OTHER CHARGES FOR AND INCIDENTAL TO-70 Census, 1926: Cost of taking and printing results ... 25,000 $\begin{array}{c} 71 \\ 72 \end{array}$ Freight, cartage, and transport charges... 50 Fuel, light, power, and water 140 Mechanical appliances 73 900 New Zealand and South Seas Exhibition: Lodging-74allowances and travelling-expenses ... 75 250 Office fittings and requisites ... 75 76Postage, telegrams, and rent of boxes... 850 77Printing and stationery 1,500 Printing statistical publications (part recoverable) ... Rent of offices 788,56479 1,100 Statisticians Conference, Perth, 80 New representative attending, expenses of... 120 81 Statistics, including agricultural and pastoral, collection of 5,350 82 Telephone services (including installation, extensions, maintenance, rent, and calls) 55 • • • 83 Travelling allowances and expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure 50 84 incidental to the other items of this subdivision ... 10 Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— ... **£**500 Sale of publications Work done on Powers machines, payment for, from-Land and Income Tax Department 150 Post and Telegraph Department State Fire Insurance Department Fire Underwriters' Association 750 1,300 Miscellaneous 50 1,850 44,014

Total—Subdivision No. VI

Persons.	Item.	VOTE No. 22.—DEPARTMENT OF AFFAIRS—continued.	INTE	ERNAL	1926-	27.
926-27.				-		
		Subdivision No. VII.—High Commiss	sioner's	Office.	£	£
	85	Salaries—				
		Secretary	•••		1,052	
	i i	Finance Officer and Accountant	•••	•••	830	
		Clerks and Messengers	•••	•••	25,191 1 592	
		Miscellaneous wages Emigration Officer	•••		$\frac{1,583}{844}$	
		Trade and Produce Officer	• • • •		830	
		Nov prosessing				
		Non-permanents— Miscellaneous		Ì	500	
		Estimated credits-in-aid under S	ection 4	18 of the	900	
		Public Revenues Act, 1910 (s			İ	
	1 1	Amounts recoverable from—		£		
	1 1	Immigration	• • •	7,500	İ	
		Government Insurance	•••	450		
		Post and Telegraph Printing and Stationery	• • •	$\begin{bmatrix} 550 \\ 140 \end{bmatrix}$		
		Public Trustee	•••	1,000		
		Public Trust Enemy Debts		400		
		Public Works		950		
		State Fire	•••	100		
		Working Railways	• • •	950		
				12,040		
				-	30,830	
		OTHER CHARGES FOR AND INCIDENTAL	то	-	30,630	
	86					
		Advertising, photographs, books, ne	${f ewspape}$	ers, and		
	0-	other publications	•••	ers, and	1,000	
	87	other publications Freight, cartage, and transport charge	•••	•••	60	
	88	other publications Freight, cartage, and transport charge Fuel, light, power, and water	es	•••	60 750	
	88 89	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio	 es ner (10	months)	60	
	88	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N	 es ner (10 Iew Zea	months)	60 750	
	88 89	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and	ner (10 lew Zea n the ar repairs	months) land, re- nount of	60 750 836	
	88 89 90	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re-	es ner (10 lew Zea n the ar repairs	months) land, re- mount of	60 750 836 300	
	88 89 90 91	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re- employed in the High Commission	es ner (10 lew Zea n the ar repairs	months) land, re- mount of	60 750 836 300 250	
	88 89 90 91 92	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under	es ner (10 lew Zea n the ar repairs	months) land, re- nount of of clerks ce, con-	60 750 836 300 250	
	88 89 90 91 92 93	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning	ner (10 lew Zea n the ar repairs espect o ler's offi	months) land, re- nount of of clerks ce, con	60 750 836 300 250	
	88 89 90 91 92 93 94	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites	es ner (10 lew Zea n the ar repairs	months) land, re- nount of of clerks ce, con	60 750 836 300 250 100 150 1,030	
	88 89 90 91 92 93	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c	ner (10 lew Zea n the ar repairs espect o ler's offi	months) land, re- nount of of clerks ce, con	60 750 836 300 250	
	91 92 93 94 95 96 97	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery	ner (10 lew Zea n the ar repairs espect o ler's offi	months) land, re- nount of of clerks ce, con	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000	
	91 92 93 94 95 96 97 98	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable)	ner (10 lew Zea n the ar repairs espect o ler's offi	months) land, re- nount of of clerks ce, con	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610	
	91 91 92 93 94 95 96 97 98 99	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices	ner (10 lew Zea n the ar repairs espect o er's offi	months) land, re- nount of f clerks ce, con	60 750 836 300 250 100 1,030 1,000 2,200 1,000 7,610 500	
	91 92 93 94 95 96 97 98 99 100	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and	ner (10 lew Zea n the ar repairs espect o ler's offi	months) land, re- nount of f clerks ce, con	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses	ner (10 lew Zea n the ar repairs espect o er's offi	months) land, re- nount of f clerks ce, con tions	60 750 836 300 250 100 1,030 1,000 2,200 1,000 7,610 500	
	91 92 93 94 95 96 97 98 99 100	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and	ner (10 lew Zea n the ar repairs espect o er's offi	months) land, re- nount of f clerks ce, con- tions iture in-	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen cidental to the other items of this si	ner (10 Iew Zea n the ar repairs espect o ler's offi	months) land, re- nount of f clerks ce, con- tions iture in- on	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen	ner (10 Iew Zea n the ar repairs espect o ler's offi	months) land, re- nount of f clerks ce, con- tions iture in- on 2 of the	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen cidental to the other items of this s: Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods	ner (10 Iew Zea n the ar repairs espect o ler's offi	months) land, re- nount of f clerks ce, con- tions iture in- on 2 of the	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen cidental to the other items of this s: Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods Government Departments	ner (10 Iew Zea n the ar repairs espect o ler's offi	months) land, re- nount of f clerks ce, con- tions tture in- on 2 of the vote) £ 140	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen cidental to the other items of this se Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods Government Departments Rent, &c.	ner (10 Iew Zea n the ar repairs espect o ler's offi associa expendi ubdivisi ection 2 end of for	months) land, re- nount of f clerks ce, con- tions iture in- on 2 of the vote)— £ 140 2,910	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen eidental to the other items of this s: Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods Government Departments Rent, &c. Postage, telegrams, &c.	ner (10 Iew Zea n the ar repairs espect o ler's offi associa expendi ubdivisi ection 2 end of for	months) land, re- nount of f clerks ce, con- tions tture in- on 2 of the vote) 2,910 250	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen cidental to the other items of this s: Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods Government Departments Rent, &c. Postage, telegrams, &c. Printing and stationery	ner (10 lew Zea n the ar repairs espect o ler's offi associa expendi ubdivisi ection 2 end of for	months) land, re- nount of f clerks ce, con- tions tture in- on 2 of the vote) 2,910 250 280	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen eidental to the other items of this s: Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods Government Departments Rent, &c. Postage, telegrams, &c.	ner (10 Iew Zea n the ar repairs espect o ler's offi associa expendi ubdivisi ection 2 end of for	months) land, re- nount of f clerks ce, con- tions tture in- on 2 of the vote) 2,910 250	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen cidental to the other items of this s: Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods Government Departments Rent, &c. Postage, telegrams, &c. Printing and stationery	ner (10 lew Zea n the ar repairs espect o ler's offi associa expendi ubdivisi ection 2 end of for	months) land, re- nount of f clerks ce, con- tions tture in- on 2 of the vote) 2,910 250 280	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	
	91 92 93 94 95 96 97 98 99 100 101	other publications Freight, cartage, and transport charge Fuel, light, power, and water House-allowance for High Commissio Income-tax payable in England and N fund to officers of difference between Motor-vehicles, including upkeep and National Insurance Act, 1911, in re employed in the High Commission tributions due under Office-cleaning Office fittings and requisites Official entertainments, expenses of Postage, telegrams, &c. Printing and stationery Rent (part recoverable) Repairs to offices Subscriptions to various societies and Travelling allowances and expenses Contingencies, including unforeseen cidental to the other items of this s: Estimated credits-in-aid under Se Appropriation Act, 1923 (see Shipping charges on goods Government Departments Rent, &c. Postage, telegrams, &c. Printing and stationery	ner (10 lew Zea n the ar repairs espect o ler's offi associa expendi ubdivisi ection 2 end of for	months) land, re- nount of f clerks ce, con- tions iture in- on 2 of the vote)— £ 140 2,910 250 280 50	60 750 836 300 250 100 150 1,030 1,000 2,200 1,000 7,610 500 100 400	

Number Persons.	Item.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926-27.	
926–27.		Subdivision No. VIII.—Museum.		
	103	Salaries—	£	£
	100	Professional Division.		
		Class B—		
1		1 at £765 (Director)	765	
2		Class C— 2 at £470	940	
4		Class D—	340	
1		1 at £380	380	
		GENERAL DIVISION.		
		1 at £335 (9 $\frac{1}{2}$ months), £320 (2 $\frac{1}{2}$ months) 332		
2		1 at £275 275		
24			607	
		Non-permanents.		
	.	1 at £450 450		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
			661	
9				
			3,353	
	104	OTHER CHARGES FOR AND INCIDENTAL TO—		
	104	Advertising, purchase of photographs, books, newspapers, &c	150	
		Board of Science and Art, expenses incidental to,	100	
		including publications (part recoverable)—	i	
	105	"Brachiopod Morphology": Cost of printing	200	
	106	General expenses	20	
	107	publishing Cost of	900	
	108	Manual of "New Zealand Flora" (Cheeseman)	1,600	
	109	"New Zealand Journal of Science and Tech-	_,	*
	1	nology"	750	
	110	"New Zealand Plants and their Story" (third	500	
	111	edition)	500	
	111	Cost of printing	250	
	112	" Wild Life in New Zealand (Part II)	150	
	113	Freight, cartage, and transport charges	50	
	114	Fuel, light, power, and water	250	
	$\begin{vmatrix} 115 \\ 116 \end{vmatrix}$	International Exchange Services: Freight and postage Maori Race and early history of New Zealand, collec-	20	
	110	tion and establishment of historical and other		
		matter relating to the	150	
	117	Museum fittings	100	
	118	Museum publications, printing of (part recoverable)	200 65	
	$\begin{vmatrix} 119 \\ 120 \end{vmatrix}$	Office fittings and requisites Photographic and phonographic supplies	75	
	121	Postage, telegrams, and rent of boxes	50	
	122	Printing and stationery	100	
	123	Rent (floor space occupied by exhibits in Dominion	055	
	124	Farmers' Institute) Specimens and pictures, purchase and preparation of	$\begin{array}{c c} 875 \\ 400 \end{array}$	
	$\begin{vmatrix} 124 \\ 125 \end{vmatrix}$	Telephone services (including installation, extensions,	400	
		maintenance, rent, and calls)	45	
	126	Travelling allowances and expenses	250	
	127	Contingencies, including unforeseen expenditure in-	00	
		cidental to the other items of this subdivision Estimated credits-in aid under Section 22 of the	20	
		Appropriation Act, 1923 (see end of vote)—		
		Board of Science and Art publi-		
		cations, &c 200	i	
		Museum publications 100		
		Miscellaneous 25		
		325		
	52		7,170	

Number of Persons.	Item.		т	1926	-27.
1 92 6– 27.		VOTE No. 22.—DEPARTMENT OF INTERNA AFFAIRS—continued.	λLi	£	£
		Subdivision No. IX.—Dominion Laboratory.		-	-
	128	Salaries—			
	120	Professional Division.			
1		1 at £1,000 (Dominion Analyst)		1,000	
1		Ciass A—	•••	1,000	
1		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	£	665	
		1 at £590	590		
0		1	565		
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	515	1,670	
1		1 at £470	•••	470	
		$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	125		
3		2 at £355 7	710		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	 295	1,135	
			495 586		
4		1 at £275 ($10\frac{1}{2}$ months) 2	242	1 100	
1		Class F — 1 at £80 (10 $\frac{1}{2}$ months)		$\begin{bmatrix}1,123\\70\end{bmatrix}$	
•		· · · · · · · · · · · · · · · · · · ·	•	,0	
		CLERICAL DIVISION. Class VII—			
			28		
0			27		
3		1 at £135 (2 months), £115 (9 months) 1	19	474	
		Lodging-allowances		12	
		GENERAL DIVISION.			
		2 at £380 7	60		
			$\frac{30}{278}$		
5			60		
		 -		1,628	
22				8,247	
			-		
		OTHER CHARGES FOR AND INCIDENTAL TO-	Ì		
	129	Advertising, photographs, books, newspapers, a	nd		
	130	other publications Chemicals, apparatus, and repairs to apparatus		$\frac{220}{2,900}$	
	100	Explosives Act, expenses under (part recoverable)-	_	2,300	
	131	Administration by local bodies (dangerous goolicense fees)	1	45	
	132	General expenses		$\begin{array}{c c} 45 \\ 150 \end{array}$	
		Magazines	·		
	$133 \begin{vmatrix} 134 \end{vmatrix}$	Expenses in connection with (recoverable) Salaries of keepers		$\begin{bmatrix} 2,000 \\ 346 \end{bmatrix}$	
	135	Postage, telegrams, and telephone services		125	
	$136 \mid 137 \mid$	Printing and stationery Travelling allowances and expenses	•••	$\begin{array}{c c} 125 \\ 1,000 \end{array}$	
	138	Fees of officers attending science lectures	at	1,000	
	120	Wittings now hanch laboratory Dungdin	•••	30	
	139 140	The ight contage and transport shares		$\begin{vmatrix} 400 \\ 125 \end{vmatrix}$	
	141	Fuel, light, power, and water		350	
	$\begin{vmatrix} 142 \\ 143 \end{vmatrix}$	Destage talegraphs and part of horse		60 50	
	144	Printing and stationery		180	
	$145 \mid 146 \mid$	Scientific research		$\begin{array}{c c} 260 \\ 250 \end{array}$	
ļ	110	Scientific research		400	

Number of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926-	-27.
1926–27.		Subdivision No. IX.—Dominion Laboratory—continued.	£	£
	147	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Subscriptions to Technical Societies	30	
	148 149	Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling allowances and expenses	60 150	
	150	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	15	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Salaries £150 Chemicals, apparatus, and repairs		
		to apparatus 200 Explosives Act, expenses under—		
		Expenses in connection with magazines 2,000 Miscellaneous 20		
		2,370	~	
,		Total -Subdivision No. IX	8,871	17,118
		Subdivision No. X—Miscellaneous Services.		
	151	Salaries (Relieving Staff)—	Ì	
		Clerical Division.		
1		Class II — 1 at £515	515	
1		Class III— 1 at £470	470	
2		Class IV — 2 at £420	840	
1		$egin{array}{cccccccccccccccccccccccccccccccccccc$	380	
2		1 at £335 335 1 at £335 (3 months), £320 (9 months) 324 Class VII— 4 at £295 1,180	659	
		1 at £275 (6 months), £250 (6 months) 1 at £275 (2½ months), £250 (9½ months) 2 at £230 (11 months), £210 (1 month) 458 1 at £190 (3½ months), £155 (8½ months) 1 at £135 (2 months), £115 (10 months) 119		
		1 at £115 (7 months), £95 (5 months) 107 2 at £115 (1 month), £95 (11 months) 194 1 at £115 (10 months) 97 1 at £95 95		
		2 at £95 (2 months), £80 (10 months) 166 1 at £80 80 6 at £80 (11½ months) 465 2 at £80 (10 months) 134		
27		1 at £80 (8 months) 54	3,833	
		GENERAL DIVISION. 1 at £320 320 1 at £295 295 1 at £285 285 2 at £235 470		
		$1 \text{ at £235 } (1\frac{1}{2} \text{ months})$ 29		

	Item.			1926–2 7.			
	<u> </u>	VOTE No. 22.—DEPARTM		INTE	RNAL		
926-27.		AFFAIRS—c	continued.			£	£
		Subdivision No. X.—Miscellan	ieous Servi	ces—ce	ontinued.		
	151	Salaries (Relieving Staff)—	continued		-		
		GENERAL DIVISIO	n—continu	ed.	£		
		5 at £225	• • •	• • • •	1,125		
		6 at £205	 (4 months	٠	1,230		
		1 at £205 (8 months), £195 1 at £207 (1 month)	··· (4 months)	$\begin{array}{c c} 202 \\ 17 \end{array}$		
		1 at £195 (8 months)	•••		130		
	1	7 at £185	•••		$1,\overline{295}$	ŀ	
	1	1 at £185 (8 months)	•••		123		
		1 at £175 \			175		
		1 at £160			160		
31	!	1 at £115 ($6\frac{1}{2}$ months), £95	$5~(5rac{1}{2}~{ m month})$	s)	106		
		N				5,962	
		Non-Perma 1 at £295	ANENTS.		295		
		1 at £195	•••	•••	195		
		1 at £185	•••	•••	185		
	İ	3 at £182			546	•	
		1 at £182 (11 months), £1	69 (1 mont	h)	181	į	
		3 at £169	`		507		
		1 at £169 (11 $\frac{1}{2}$ months)	•••		164		
		4 at £156		• • •	624		
		1 at £156 ($10\frac{1}{2}$ months)		• • •	137		
	1	3 at £143	•••	•••	429		
		3 at £130	•••	•••	390		
		1 at £130 (11 $\frac{1}{2}$ months) 1 at £130 (11 months), 1 a	 £ £117 /1 m	onth)	$\begin{array}{c c} 125 \\ 129 \end{array}$		
		1 at £117	e ærrı (r m	ionenj	117		
		3 at £104		•••	312	į	
		1 at £104 (10½ months), £7	78 (11 mont	hs)	101		
	!	1 at £104 (11 months), £91			103	į	
		3 at £91	···	•••	273		
		1 at £91 (10 months)			77		
		13 at £78	•••	• • •	1,014		
		1 at £78 (11 months)		•••	73		
		2 at £78 ($10\frac{1}{2}$ months)	•••	• • •	137		
		1 at £78 (9 months)	•••	•••	58		
		1 at £78 (8 months) 1 at £78 (9 $\frac{1}{2}$ months), £52	(21 months		$egin{array}{c c} 52 & \\ 73 & \\ \end{array}$		
		7 at £65	(22 moneus) • - •	455		
		6 at £65 (11 months)	•••		358		
		3 at £65 (9 $\frac{1}{2}$ months)		•••	156	İ	
		$4 \text{ at } \pounds 65 \text{ (9 months)}$	•••		195		
		3 at £65 ($8\frac{1}{2}$ months)	•••		138		
		2 at £65 (8 months)	•••	•••	86		
79		1 at £52 (10 months)	•••	•••	44	= =00	
144	.]	F - 3 - 1 1 / - 3 - 4	. `			7,729	
144		Lodging-allowances (cadeta Allowances to officers per		osial .	on biahon	416	
		duties (under Public Ser					
		and 209)	vice Hegun		1105. 214	150	
		200)	•••	•••	-		
						20,954	
		Estimated credits-in-a	id under S	ection	22 of the		
		Appropriation Ac					
	1	Salaries of officer	s relieving		£		
		other Departmen			5,292		
	1 .	Pay of non-perman	nents reliev	ving	4 000		
	'	in other Henertha	ents		4,296		
		in other Departme		• • • •	·		
		in ouner Departition					
		in omer Departin	· · · · · · · · · · · · · · · · · · ·	•	9,588		

DEPARTMENT OF INTERNAL AFFAIRS—continued.

	1 1			
Number of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926	-27.
19 26– 27.		Subdivision No. X.—Miscellaneous Services—continued.	£	£
			.~	
	152	OTHER CHARGES FOR AND INCIDENTAL TO— Aboriginal rock paintings, preservation of	30	
	153	Absentee land-tax due by officers of the High Com-	. 50	
		missioner's staff	102	
	154	Actuarial work in connection with the valuation of Public Service and Teachers' Superannuation Funds	50	
		Advertising New Zealand: Special publicity work in		
	155	connection with (part recoverable)— & Albums, picture framings 2,200		
	156	Books, folders, posters, and publications 13,450		
	157	Equipment 400		
	158	Films, preparation, purchase, and sundries 13,600		
	159	General expenses 264		
	160	Photographs, including enlargements and lantern slides 2,850		
	161	Travelling-expenses 2,600		
		 :	33,364	
	162	Expenses in the United Kingdom in connection with advertising New Zealand	2,000	
	163	Travelling expenses and allowances of Publicity	1	
	101	Officer beyond New Zealand	300	
	164 165	All Blacks football team, reception, Rarotonga Annual and sectional railway passes to Young	100	
		Citizens League, rangers and curators acclimatiza-		
		tion societies, and inspectors Society Prevention of Cruelty to Animals	1,300	
	166	"Bird-song and New Zealand Song-birds": Purchase	1,000	
	1.07	of 100 copies (subsequently recoverable)	105	
	167	Boy Scouts Association: Railway pass for Dominion Chief Commissioner	90	
	168	Compassionate allowance to Mrs. Wood	50	
	169	Cost-of-living bonus to annuitants under the Public Service, Railways, and Teachers' Superannuation		
		Funds and Civil Service Act, 1908, and to other		
		persons in receipt of retiring-allowances (part recoverable)	12,000	
		Death of Right Hon. W. F. Massey, P.C.—	12,000	
	170	Grave at Point Halswell: Beautification of area	100	
	171	in vicinity Deer herds, reduction of, in certain acclimatization	100	
		districts, bonus to assist in	1,000	
	172 173	Dominion Archives: Allowance to Controller Entertaining visitors to the Dominion and official	200	
	110	functions, cost of	2,000	
	174	Executive Council Rooms, Government Bulidings,	140	
	175	Wellington, renovation of Ex gratia payments for injury, loss, or damage	140	
		through enemy action during the war	1,483	
		Expenses in connection with representation at Imperial Conference—		
	176	Grant to Prime Minister 1,750	1	
	177	Grant to Permanent Head 750		
	178	Other expenses 1,000	3,500	
	179	Exhibits for Museums, railage on	25	
	180	Fiordland National Park: Expenses in connection with protection of moose and wapiti	35	
	181	Fire Hose: Purchased on account of Fire Brigades		
	182	(recoverable) Government Build	1,000	
		Furniture for new dining-room, Government Buildings, Wellington	400	
	183	Girl Guide Movement: Cost of annual railway pass	90 '	

DEPARTMENT OF INTERNAL AFFAIRS—continued.

of Persons.	Item.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926-	27.
1926–27.		ATTAILS—continued.		
		Subdivision No. X.—Miscellaneous Services—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	184	Government Observatory Advisory Board: Travelling-		
	101	expenses of Members	15	
	185	Grants in settlement of petitions	1,000	
	100	Grants—	100	
	186	Alexandra Day Fund	100	
	187	Captain Cook Memorial, Hawaii: Public reserva- tion around site, purchase of land	200	
	188	Empire Parliamentary Delegates to Australia (£75	200	
		each)	300	
	189	Government representative to Third Pan-Pacific		
	100	Congress, Tokyo, Japan	200	
	190	Imperial Institute	1,584	
	191	f 01 1 - 0050)	250	
	192	Memorial to late F. Lawry, ex M.P	25	
	193	Newspaper Press Fund	25	
	194	New Zealand Amateur Swimming Association	350	
	195	New Zealand Institute for research work	1,000	
	196	New Zealand Native Birds Protection Society	50	
	197	Officer investigating methods of law-drafting in Imperial Parliament and methods of registration		
		of motor-vehicles in England and America, ex-		
		penses of	300	
	198	Protection of Women and Children, to Society		
		for— £		
		Auckland 100		
		Wellington 100		
		Christehurch 100 Dunedin 100		
			400	
	199	Re-erecting memorial to late Sir John McKenzie		
		(£500, on account)	100	
	200	Royal Humane Society	100	
	$\frac{201}{202}$	Royal Life Saving Society Samson, J. R., leave on retirement, in lieu of	100 407	
	$\frac{202}{203}$	Samson, J. R., leave on retirement, in fleu of Scientific and industrial research: Expenses of	401	
		visit of Sir Frank Heath	350	
	204	Sir James Parr, to cover expenses proceeding to	b comments and the comments are comments and the comments are comments and the comments are comm	
		London	500	
	205	Sir James Allen, late High Commissioner, to cover	700	
	206	expenses London to New Zealand, on retirement St. Mary's Guild Home, Karori	500 200	
	$\frac{200}{207}$	To officer for assistance in drafting legislation	50	
	$\frac{208}{208}$	To Sir James Parr, being equivalent to salary of		
		High Commissioner from date of arrival to date		
		of entry upon office of High Commissioner	339	
	209	Towards cost of publications issued by the Maori	coo	
	210	Ethnological Research Board	600	
	210	Ladies' retiring-room, Government Buildings, Christ- church, renovation and refurnishing	34	
	211	Maintenance of New Zealand prisoners of war in	01	
		Turkey	3,408	
	212	Maori Ethnological Board: Balance of cost of printing	1	
	010	"New Zealand's First Wars"	105	
	213	Mokau Fault Line, cost of survey of, following	0.5	
	214	Taupo earthquake investigation	25	
	214	New Zealand Gazette: Cost of printing (part recoverable)	7,000	
	215	Official History of the visit of H.R.H. the Prince of	.,000	
		Wales to New Zealand, cost of printing and pub-		
		lication of	350	
	216	Opossums: Expenses under Animals Protection Act		

DEPARTMENT OF INTERNAL AFFAIRS—continued.

				
Number of Persons.	Item.		1926	-27.
1926-27.		VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	£	£
		Subdivision No. X.—Miscellaneous Services—continued.	20	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	217	Opossum fees and royalties on skins: Amounts allocated to other than Acclimatization Societies	4,500	
	218	Parliaments of the Empire: Contribution towards cost of producing journal (London publication)	200	
	219	Pouto Point Bird Sanctuary, checking sand-drift, work in connection with	50	
	220	Provision of a nominal amount to cover repatriations of New Zealand Expeditionary Force Scholarship	100	
	221	holders in the United Kingdom Public Buildings Board, travelling allowance and	100	
	222	expenses of members of Returned Soldiers' Association Conference: Rail	25	
	223	fares of delegates	138 90	
	224	Reuter's Telegram Company: Payment for special telegrams	450	
	225	Royal Commission to inquire into Agricultural Banks and Rural Credits abroad, expenses of	3,713	
	226	Stephen's Island, protection of bush on Stores Control Board, expenses of—	50	
	227	Advertising	150	
	228	Alterations to office	115	
	229	Clark testing machine	140	
	230			
		General expenses	25	
	231	Overtime and meal allowances	50	
	232	Printing and stationery	550.	
	233	Rent	185	
	234	Travelling-expenses Stranded New-Zealanders—	50	
	$\frac{235}{236}$	Assistance to return to New Zealand (recoverable) Board and lodging for, and small advances to those	500	
		in destitute condition Subsidy towards—	100	
	237	Dominion Boy Scouts' Association (£1 for £1 up to £1,000)	1,000	
	238	Memorial to late Hon. Tame Parata, M.L.C., and C. Parata, M.P. (£1 for £1 up to £150)	150	
	239	Superannuation contributions on house allowance of officers of Public Service absent on war service	120	
	$\begin{array}{c} 240 \\ 241 \end{array}$	Telegrams beyond the Dominion Totalizators, expenses incidental to inspection of (part recoverable)	200	
	242	Town-planning legislation, expenses in connection with	1,000	
	243	Turnbull Library— Expenses in connection with	1,750	
	244	Grant to Charles Wilson, Advisory Director, for year 1925–26	50	
	$245 \\ 246$	Grant to Dr. G. H. Scholefield, Advisory Director Unemployment relief: Cost of carriage of cloth-	50	
	247	ing, &c United States of America Fleet, visit of, to New	150	
	248	Zealand, expenses in connection with Visit of His Excellency the Governor-General to the Pacific Islands: Cost of gifts to Natives	100	
	249	Visit of T.R.H. the Duke and Duchess of York to New Zealand	5,000	
	250	War Funds Act, expenses in connection with ad-	5,000	
	. (ministration of	100	

$A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

	DEPARTMENT OF INTERNAL AFFAIRS—conti	ниеd. 	
Number of Persons.	VOTE No. 22.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1926-	-27.
1926–27.	Subdivision No. X.—Miscellaneous Services—continued.	£	£ 127,84 434,54 67,71 366,83 7. 20 30 00 00 50
251	OTHER CHARGES FOR AND INCIDENTAL TO—continued. War Graves and Memorials— New Zealand war graves and memorials (including those to be erected in provincial cemeteries) to soldiers and others (including wives and daughters of officers, and also of men of the British and allied navies who were killed or died in connection with the Maori and Great Wars), headstones		
252	and permanent work for, maintenance, renovation of, and expenses in connection therewith Overseas war graves and cemeteries— Battlefield memorials, maintenance of— France and Belgium 108 Gallipoli 5	5,500	
253	Contingencies, including unforeseen expenditure in-	- 113	
255	cidental to the other items of this subdivision	50	
	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Advertising New Zealand: Special & publicity work 800 Contributions towards		
	12,086		
		106,895	
	Total—Subdivision No. X		
	Gross Total		·
	Credits-in-aid (a)		67,714
	NET TOTAL—VOTE No. 22		366,830
. ,	s-in-aid— Salaries. Other Charges. \mathfrak{L}	1926–27 €	•
	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	3.732 5,750 16,333 10 1,850	I
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$15,670 \ 325 \ 2,370 \ 21,674$	
	With conductors and construction of the constr		

AUDIT DEPARTMENT.

				1926-27.	
		-	Salaries.	Other Charges.	Total.
Vote No. 23.—Audit Depar	${ m tment}$		£	£	£
GROSS TOTAL		 	44,094	5,480	49,574
CREDITS-IN-AID		 	17,000	2,000	19,000
NET TOTAL		 	27,094	3,480	30,574

Number of Persons.	Item.	VOTE No. 23.—AUD	VOTE No. 23.—AUDIT DEPARTMENT.					
1926–27.	1	Salaries—			-			
1		Audit Officer, London				£ 685	£	
		Classification	UNDER	Acr.				
		CLERICAL	Division.					
		$*Class\ Special$ —			£			
		1 at £ 800			800			
7	-	6 at £665	•••		3,990			
		$Class\ I$ —				4,790		
6		6 at £615	•••	• • •		3,690		
		$Class\ II$ —						
2		2 at £515	• • •	•••	•••	1,030		
	i l	Class III						
5		5 at £470	***		•••	2,350		
		$Class\ IV$ —			,			
		$8 ext{ at } \pounds 425$		•••	3,400			
		5 at £400	•••	•••	2,000			
14		1 at £400 (9 months), £	$425~(3~\mathrm{m})$	$_{ m nths})$	407			
		Class V—				5,807		
		10 at £380		•••	3,800			
		1 at £380 ($7\frac{1}{2}$ months)	• • •	•••	231			
		2 at £355	•••		710			
14		1 at £355 (3 months), £	380 (9 m)	on ths)	374			
		Class VI—				5,115		
		11 at £335		• • •	3,685			
		2 at £320		•••	640			
	!	1 at £320 (2 months), £			300			
		1 at £320 (3 months), £			302			
		1 at £320 (1 month), £2	95 (11 m	on ths)	298			
		1 at £295		•••	295			
		1 at £295 (10 months),			292			
19		1 at £295 (1 month), £2	275 (11 m	onths)	277			
		Class VII—				6,089		
		10 at £295 (6 months)	•••	•••	1,475			
		1 at £275 (2 months)			46			
		1 at £275 (7 months), £			265			
		2 at £275 (6 months), £3			525			
	1	2 at £275 (3 months), £			514			
		3 at £275 (1 month), £2	50 (11 m	onths)	757			
	! !	1 at £275 (7 months), £	3230 (5 m	onths)	256			
		2 at £250 (1 month), £2	50 (11 m	ontns)	464			
		4 at £250			1,000			
		1 at £250 (9 months), £	23U (3 mo	ontns)	243			
		2 at £250 (8 months), £	230 (4 m	onths)	488			
		2 at £250 (7 months), £			484			
		1 at £250 (4 months), £	230 (8 m	onths)	236			
] [2 at £230			460			
	· I	1 at £230 (10 months), a	£210 (2 m	$_{ m ionths}$	$227 \mid$,		

^{*} For particulars of salaries see "Public Service Classification List."
NOTE.—Scale increases or wages include cost-of-living increase.

AUDIT DEPARTMENT—continued.

Number f Persons.	Item.	VOTE No. 23.—AUDIT DEPA	RTMENT	continued.	1926-	27.
926-27.	 1	Salaries - continued.				
.020 21.					£	£
		CLERICAL DIVISION-	-continuea.			
		Class VII—continued.	(2 months)	£ 225		
		1 at £230 (9 months), £210 1 at £230 (8 months), £210		224		
		1 at £210	(1 monuns)	210	İ	
		1 at £190		190		
		1 at £230 (7 months), £190		214		
		4 at £210 (3 months), £190	(9 months)	780		
		1 at £230 (2 months), £190 1 at £210 (2 months), £190		$\begin{array}{c c} 197 \\ 194 \end{array}$		
		3 at £190 (11 months), £150		562		
		1 at £190 (4 months), £155		167		
		1 at £155 `		155		
		1 at £135	·	135		
		3 at £135 (2 months), £115	(10 months)	355		
	1	5 at £115 6 at £95	• • • • • • • • • • • • • • • • • • • •	$\begin{bmatrix} 575 \\ 570 \end{bmatrix}$		
7 0		4 at £80	• • • • • • • • • • • • • • • • • • • •	320		
10			• • • • • • • • • • • • • • • • • • • •		12,513	
		Lodging-allowances .			260	
		Allowances to officers tempor	carily perform	ing special		
		or higher duties (P.S. Regu		nd 209)	25	
		Audit Officers, London, allow	ance to		220	
		Non-perman	ENT.	£		
		1 at £208 (6 months)		104		
		2 at £196 ` .		392		
		3 at £190		570		
		1 at £157		157		
8		1 at £92	• • • • • • • • • • • • • • • • • • • •	92	1 01"	
		General Div	ISION.		1,315	
1		1 at £205			205	
				ļ_		
147		•			44,094	
	-	OTHER CHARGES FOR AND INCI		, -		
	2	Advertising, photographs, l	ooks, newsp	-	140	
	3	other publications . Law-costs .	••	•••	$\begin{vmatrix} 140 \\ 25 \end{vmatrix}$	
	4	Office fittings and requisites	••	•••	200	
	5	Overtime and meal allowance	•		230	
	6	Postage, telegrams, and rent			225	
	7	Printing and stationery .		•••	400	
	$\begin{vmatrix} 8 \\ 0 \end{vmatrix}$	Rent			375	
	9	Telephone services (including maintenance, rent, and cal		extensions,	165	
	10	Transfer and removal expens		•••	300	
	11	Travelling allowances and ex			3,400	
	12	Contingencies, including uni	oreseen expe	nditure in-	<i>'</i>	
		cidental to other items of t	he vote	•••	20	
				-	£ 400	
		Estimated credits-in-aid	under Sectio	n 22 of the	5,480	
		Appropriation Act, 1				
		Audit inspection—	(555 511	£		
		T 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		15,000		
		Government Depar		1		
		Loan Accounts wh		4 000	İ	
		are kept on a com	merciai basis	4,000	***************************************	
				19,000		
		GROSS TOTAL .				49,5
				l l		
		CREDITS-IN-AID .	••			19,0

PUBLIC SERVICE COMMISSIONER'S OFFICE.

							1	926–27.	
						Salaries	. Oti	her Charges.	Total.
Vote No. 2	4.—Pı	ublic Servi	ce Commis	sioner's Offi	ce—	Ŧ	3	£	£
G	ross T	OTAL				5,8	803	5,283	10,586
Cr	EDITS	-IN-AID						2,000	2,000
	E T T(• •	• •		5,8	303	3,283	8,586
Number of Persons.	Item.		7 / Americania and American American Company				1	1926	3–27.
1926-27.		VOTE		-PUBLIC IONER'S			MIS-	£	£
	1	*Salarii	es						
			(CLERICAL D	ivision.				
		Class	Special-				£		
2		1 a	.t £765 .t £715		•••		765 715		
_		Class						1,480	
1			± £615		•••			615	
1		Class 1 a	<i>V</i> — t £380		•••	•••		380	
2		1 a	VI— .t £335 .t £320				335 320		
-			VII—					- 655	
		1 a 1 a	at £295 at £275 at £210		•••	•••	295 275 210		
6		2 a	t £115 .t £95				230 95		
				GENERAL I	Di v ision.				
2		1 at 3 1 at 3			•••	•••	$\frac{295}{255}$		
2		1 40 3	5 200	,	•••	•••		- 550	
			00.40	Non-perma	NENTS.				
3		2 at s 1 at s	£3 10s. per £2 per wee!	: week k	•••	•••	$\frac{364}{104}$		f
	_	Allow	-	ı.				468	
	-							5,303	
								3,333	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

PUBLIC SERVICE COMMISSIONER'S OFFICE—continued.

Number of Persons.	Item.		1926-	-27.
		VOTE No. 24.—PUBLIC SERVICE COMMIS-		
1926–27.		SIONER'S OFFICE—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising vacancies in the Public Service Appeal Board—	300	
	3	Allowance to General Manager, State Fire Insurance, for services on Board at the rate of	-	
	4	£100 per annum Expenses: Hearing of appeals	$\frac{117}{500}$	
	5	Examinations: Public Service Entrance	3,359	
	6	Office fittings and requisites	100	
•	7	Printing and stationery	300	
	8	Postage and telegrams	150	
	9	Rent	52	
	10	Telephone services (including installation, extensions,	00	
	1	maintenance, rent, and calls)	80	
	11	Travelling allowances and expenses	300	
	12	Contingencies, including unforeseen expenditure incidental to the other items of the vote	25	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
		Examination Fees £2,000	,	
			5,283	
		Gross Total		10,586
		Credits-in-aid		2,000
		NET TOTAL—VOTE No. 24		8,586

PRINTING AND STATIONERY DEPARTMENT.

	-				1926–27.	
				Salaries.	Other Charges.	Total.
Vote No. 25.—Printing and	Stationery	Department	5—	£	£	£
GROSS TOTAL	• •	••		129,155	112,765	241,920
CREDITS-IN-AID	••			•••		•••
NET TOTAL	••	• •		129, 155	112,765	241,920

				1	· · · · · · · · · · · · · · · · · · ·		
Number of Persons.	Item.					1926-	-27.
1926–27.	- !	VOTE No. 25.—PRI DEI	NTING AND PARTMENT.	STATIO	NERY	£	£
	1	*Salaries Administ	rative Divis	ion.			
1		1 at £850 (Governme	ent Printer)		•••	850	
		Profess	sional Divisi	ON.			
1		1 at £425 (Chief Eng	gineer)			425	
		Cleri	CAL DIVISION				
		Class I—			£	İ	
2		1 at £615 1 at £590	•••	•••	$egin{array}{c} 615 \ 590 \end{array} igg $		
		Olmon III				1,205	
. 1		$Class\ III1$ at 470	•••			470	
		Class IV—					
2		2 at £425	•••	•••		850	
		Class V—					
1		1 at £380	•••	***		380	
۲		Class VI— 5 at £335				1 675	
5		•	•••	•••	•••	1,675	
		Class VII—			1 100		
		4 at £295 1 at £190	•••	•••	1,180 190		
		3 at £135	•••	•••	405		
		1 at £120	•••	• • •	120		
		1 00 0120	•••	•••		1,895	
		GENE	RAL DIVISION	•		,	
		1 at £450	•••		450		
		1 at £425	•••	•••	425		
		10 at £420	•••	•••	4,200		
		3 at £375	•••	•••	1,125		
		11 at £355	•••	• • •,	3,905		
		2 at £345	•••	•••	690		
	1 1	1 at £340	•••	• • •	340^{-1}	ı	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

PRINTING AND STATIONERY DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 25.—PRINTIN DEPARTMEN'	1926	1926–27.			
1926–27.	1	Salaries—continued.					
		GENERAL DIVISIO	on—contin	wed		£	£
			JI - 0010001	www.	£		
		9 at £338	• • •	•••	3,042	-	
		6 at £335	•••	•••	2,010		
		1 at £334	• • •	•••	334		
		3 at £325 7 at £320	•••	• •	975		
		2 at £312	•••		$\begin{bmatrix} 2,240 \\ 624 \end{bmatrix}$		
		1 at £310	•••	•••	310		
		11 at £307		•••	3,377		
•		56 at £306	• • •		17,136		
	İ	1 at £299 6 at £296	,		299		
		5 at £295 (1 for 1 month)	•••	•••	$\begin{bmatrix} 1,776 \\ 1,205 \end{bmatrix}$		
		56 at £293	•••	• • •	16,408		
		2 at £290	•••		580		
		1 at £286	•••	•••	286	ļ	
		5 at £285	•••	• • •	1,425		
		6 at £283 1 at £280	•••	•••	$\frac{1,698}{280}$		
		1 at £230 1 at £278		•••	$\begin{array}{c} 280 \\ 278 \end{array}$		
		1 at £277			277		
		3 at £273			819		
		7 at £270		• • •	1,890		
		1 at £268	• • •	•••	268		
		4 at £267 2 at £260	•••	•••	1,068		
		1 at £255	•••	• • •	$\begin{array}{c} 520 \\ 255 \end{array}$		
	1 1	3 at £254			$\frac{260}{762}$		
		1 at £253	•••	•••	253		
	į	7 at £239	•••	•••	1,673		
		1 at £221	•••	•••	$\frac{221}{2}$		
		4 at £220 1 at £219	•••	•••	880		
		2 at £208	• 3	•••	$\begin{bmatrix} 219 \\ 416 \end{bmatrix}$		
		1 at £188	•••		188		
		5 at £187		•••	935		
		1 at £185	•••	•••	185		
		2 at £184	•••	•••	368		
		1 at £180 3 at £177	• • •	•••	$\begin{array}{c} 180 \\ 531 \end{array}$		
		1 at £176	• • •	•••	176		
		4 at £174		•••	696		
		1 at £171	•••	•••	171		
		5 at £164	•••	•••	820	*	
	1	1 at £161 1 at £160	•••	•••	161		
		6 at £157	•••	•••	$\begin{array}{c} 160 \\ 942 \end{array}$		
		6 at £156	•••		936		•
		1 at £155	•••	• • • • • • • • • • • • • • • • • • • •	155	ļ	
		32 at £150	•••	•••	4,800		
		3 at £149	•••		447	1	
		1 at £137 5 at £118	•••	•••	137	,	
		3 at £92	•••	•••	$590 \\ 276$		
		2 at £86		•••	$\frac{276}{172}$		
		5 at £79	•••	•••	395		
338		1 at £73	•••		73	1	
360						88,433	
	_					96,183	
		Non-permanents	•••	•••	•••	33,279	
		Less increases to salaries	provided	for but	not pay-		
		able for the full year	• • •,	•••		307	
						129,155	
	1						

PRINTING AND STATIONERY DEPARTMENT—continued.

Number of Persons.	Item.		1926	-27.
	_	VOTE No. 25.—PRINTING AND STATIONERY		
1926-27.	1	DEPARTMENT—continued.		0
		0	£	£
	$\begin{vmatrix} 2 \end{vmatrix}$	OTHER CHARGES FOR AND INCIDENTAL TO—	50	
	$\begin{bmatrix} 2\\3 \end{bmatrix}$	Audit fees	50	
	3	Department of Internal Affairs: Proportion of rent		3
		and clerical work, High Commissioner's Office,	300	
	4	77 11 1	8,800	
	5		3,300	
	$\begin{vmatrix} 6 \end{vmatrix}$	Fuel, power, gas, lighting, and water	100	
	7	Linotype machines	7,000	
	8	Machinery Medical services	175	
	9	3.4 1 1 3	515	
	10	Management with	600	
	11	TMT + 1	600	
	12	Motor robiolog. Maintonance fra	75	
	13	Office conjument and advertising	150	
	14	Owertime and meal allowances	4,000	
	15	Postage and telegrams	1,500	
	16	Repairs to buildings, &c	750	
	17	Services of charwomen, messengers, &c	2,300	
	18	Stationery, paper, &c., and office requisites	75,000	
	19	Stores, bookbinding-material, and printing-ink	6,500	
	20	Telephone services (including installation, extensions,	, , , , ,	
		maintenance, rents, and calls)	150	
	21	Type and printing material	700	
	22	Window-cleaning and rubbish-removal	150	
	23	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	50	
			110 705	
		C	112,765	041 004
		Gross Total		241,920
		Credits-in-aid	•••	•••
		NET TOTAL—VOTE No. 25	-	241,920

MENTAL HOSPITALS DEPARTMENT.

							1926–27.	
				Table Per	Salari	es. Of	her Charges.	Total.
Vote No. 2	6.—Mental Ho	spitals Departme	nt		£	,	£	£
Gr	ROSS TOTAL	••			241,	494	206,640	448,134
$\mathbf{C}_{\mathbf{R}}$	EDITS-IN-AID	••					117,000	117,000
NI	ET TOTAL	••	••		241,	494	89,640	331,134
Number of Persons.	Item.						199	26–27.
1000 07	<u> </u>	VOTE No. 26.—	-MENTA	L HOS	PITAI	s .		
1926–27.	1 *Salar	ies—	PARTME				£	£
1	1 at	£1,250 (Inspect				••	1,250)
		Profess	SIONAL D	vision.				
8		eputy Inspector- edical Superinte		£1,001	 	•••	1,100 7,007	
5	$\begin{array}{ c c c c }\hline & 1 \\ & 1 \\ & 2 \\ \hline \end{array}$	Medical Officer of Medical Officer of Medical Officers Chief Engineer Department of	at £740 at £650 at £440	(also £	200,	£ 790 740 1,300		
14	$\begin{array}{c c} 1\\2\\4\end{array}$	ss B— Medical Officers Medical Officers Medical Officers Medical Officers	at £615 at £600 at £540			61 <i>t</i> 1,200 2,160 3,605	3,270	
14		medicai Onicers	au 2010		•••		7,580)
			ICAL DIVI	SION.			20,207	7
1	1	ss I at £565	•••		•••	•••	565	5
1	1	at £515	•••		•••	•••	515	5
1	1	at £470	•••		•••	•••	470)
4	4	at £425			•••	•••	1,700)
2	l 1 1 Clas	ss V— at £380 at £355 ss VI—	•••			380 355	- - 735	i
3		at £335 at £320 (8 mont	hs)		•••	$\frac{670}{214}$		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

884

MENTAL HOSPITALS DEPARTMENT—continued.

Number f Persons.	Item.	VIOLET N. AC MERSON	T 7700	IDIM AT C	DE	1926-	27 .
926-27.		VOTE No. 26.—MENTA PARTMENT-			DE-		
	1	Salaries—continued.				£	£
		CLERICAL DIVISI	on—cont	inued.			
		Class VII—			£		
		5 at £295	•••	• • •	1,475	i .	
1.0		3 at £120	•••	•••	360	į	
13		5 at £115	•••	•••	575	2,410	
						2,110	
						7,279	
		General I	Oivision.		-		
		1 Assistant Inspector		•••	420		
		1 Dietitian at £300			300	ļ	
		9 Storekeepers at £250		•••	2,250		
		2 Office Assistants at £185		•••	370		
		1 Office Assistant at £156			156		
		2 Office Assistants at £14 1 Office Assistant at £90	Ð	• • •	290 90		
		1 Shorthand-writer and ty	nist at £	2156	156		
		1 Shorthand-writer and ty	pist at £	2120	120		
20		1 Shorthand-writer and ty	pist at £	3104	104		
			•			4,256	
		Head Attendants-			-		
4		Class A - 4 at £405				1,620	
4		Class B		•••	•••	1,020	
8		8 at £365				2,920	
					. -		
		Matrons—				4,540	
		Class A—					
		3 at £300		• • •	900	j	
5		2 at £280			560		
		Class B —				1,460	
3		3 at £260		• • •		780	
		Class C—				1 005	
5		5 at £245	• • •	•••	•••	1,225	
						3,465	
		Engineers—			050		
		2 at £425		• • •	850 400		
		1 at £400 1 at £350			350	İ	
		3 at £320	,		960		
9		2 at £295		•••	590		
		77 7.6				3,150	
		Estate Manager—				220	
1		1 at £330	• • •	•••	• • • •	330	
		Farm Supervisor—					
1		1 at £400 (9 months)	•••	• • •		300	
		,	•				
		Farm Managers—			015		
		1 at £315	•••		315 305		
77		1 at £305 5 at £285	•••	***	1,425		
7		ຍ ໝ ສຸຊຸບບ	• • •	•••	., 120	2,045	
		Farm Overseers—					
2		2 at £260	• • •		•••	520	
						2 105	
	1					3,195	

${\tt MENTAL \ HOSPITALS \ DEPARTMENT-} continued.$

Number of Persons.	Item.	VOTE No. 26.—M	ENTAL HOS ENTcontinu		DE-	1926	5–27.
1926-27.	-		EN 1continu	ea.			0
	1	Salaries—continued.				£	£
		GENERAL I	Division—cont	inued.			
		$Engine \hbox{-} drivers$			£		
14		1 at £250 13 at £240	•••	•••	$\begin{bmatrix} 250 \\ 3,120 \end{bmatrix}$		
14		Electricians—	• • •	•••	5,120	3,370	
		2 at £260	•••	•••	520	ŕ	
4		1 at £228 1 at £145	•••		$\begin{array}{c} 228 \\ 145 \end{array}$		
		Fitter—				893	
1		1 at £260 $Labourers$ —	•••		•••	260	
2		2 at £225				450	
		Attendants— 5 at £290			1 450	,	
		48 at £280	•••		$\begin{array}{c c} 1,450 \\ 13,440 \end{array}$		
		6 at £270		••,•	1,620		
		39 at £260 1 at £255	•••		$\begin{array}{c c} 10,140 \\ 255 \end{array}$		
	1	55 at £250	•••	•••	13,750		
		3 at £240 37 at £235	••	• • •	720 8,695		
		60 at £225	•••		13,500		
		30 at £220	•••		6,600		
		$26 \text{ at } £220 \\ 11 \text{ at } £215$	•••	• • •	$\frac{5,720}{2,365}$		
		10 at £210	• • •		2,100		
435		54 at £205 50 at £200	•••		11,070 10,000		
400		Works Overseers—	•••	•••		101,425	
		1 at £330	•••	• • •	330	·	
		1 at £295 1 at £290	•••		295 290		
5		2 at £285		•••	570	- 10#	
		Carpenters— 5 at £260			1,300	1,485	
		5 at £252	•••		1,250		
		3 at £250 3 at £244	•••	• • •	$\begin{array}{c} 750 \\ 732 \end{array}$		
		4 at £236	•••		944		
00		2 at £140	*.*		280		
23		1 at £125 Bricklayers—	•••	•••	125	5,391	
		2 at $ ilde{\mathfrak{L}}260$	••••		520	0,00-	
3		1 at £252 $Blacksmiths$ —	•••	•••	252	772	
		2 at £260			520	112	
4		1 at £236	•••		236		
4		1 at £125 $Painters$ —		•••	125	881	
		3 at £260	, •••		780		
		3 at £252 2 at £250	•••		756 500		
10	•	2 at £244	•••		488	_	
		Bootmakers2 at £260			520	2,524	
		1 at £252	•••		252		
6		3 at £228	•••	•••	684	1 450	
		$rac{Bakers}{1 ext{ at } \pounds 280}$	•••		280	1,456	
		1 at £260	•••	•••	260	,	
6		1 at £252 3 at £244	•••	•••	252 732	1	
Ü		U WU WAIT	· • •	•••	102	1,524	

MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 26—M	ENTAL HOS		DE-	1926-	-27.
926–27.	1		2717		-	e	
	1	Salaries—continued.				£	£
			Division—cont	inued.			
		Butchers—			£	ĺ	
		$egin{array}{l} 1 ext{ at } \pounds 250 \ 1 ext{ at } \pounds 221 \end{array}$	•••	• • •	$\begin{array}{c c} 250 \\ 221 \end{array}$		
		1 at £215	•••		$\frac{221}{215}$	ĺ	
		1 at £208	•••	•••	208		
5		1 at £195			195	İ	
		Poultry man—				1,089	
1		1 at £185	• • •	• • •	•••	185	
*		Plumbers—			1 0/0		
		$rac{4}{6}$ at £252	•••	•••	$\begin{bmatrix} 1,040 \\ 1,512 \end{bmatrix}$		
11		$1 \text{ at } \pounds 244$	•••		244	ł	
1.		Gardeners—		•••		2,796	
		2 at £260	•••		520		
		3 at £252		•••	756		
		2 at £244	•••	•••	488		
		1 at £236 1 at £228	•••	• • •	$\frac{236}{228}$		
		1 at £205	***		$\frac{226}{205}$		
		1 at £195			195		
12		1 at £190	• • • •	•••	190		
		Tinsmith—				2,818	
1		1 at £244	•••			244	
-		Fisherman—				0.40	
1		1 at £240 $Motor-drivers$ —	•••	***		240	
4		4 at £250		•••		1,000	
		Farm Hands—		•••		1,000	
		1 at £235			235		
		3 at £225			675		
		2 at £220	• • •	• • •	440		
		1 at £215	•••	•••	215		
		3 at £210 1 at £195	•••	• • •	630 195		
		1 at £165	•••		165		
		5 at £150	•••		750		
		1 at £145	•••		145		
		2 at £140	***	•••	280		
		1 at £135	• • •		135		
		1 at £130	•••		130		
28		5 at £104 1 at £65	•••	•••	520 65		
40		Messengers-	•••	•••		4,580	
		1 at £150	••••		150	2,000	
3		2 at £130	• • •	•••	260		
	i	Nurses-				410	
1		28 at £210	••	•••	5,880	100	
		8 at £205	•••		1,640		
		5 at £200 7 at £195		•••	1,000 1,365		
		4 at £190	•••		760		
		$2 \text{ at } \pounds 170$	•••		340		
'	-	1 at £165			165		
		9 at £160			1,440		
:		1 at £155	• • •	• • •	155		
		3 at £150			450	ļ	
		45 at £145 1 at £145	•••	•••	$\begin{bmatrix} 6,525 \\ 145 \end{bmatrix}$		
		87 at £135	•••	•••	11,745		
		88 at £130	•••	•••	11,440		
		93 at £120	•••		11,160		
412					3,600		

$\label{eq:mental} \textbf{MENTAL HOSPITALS} \quad \textbf{DEPARTMENT--} continued.$

Number of Persons.	Item.	NOTE No. 26 MENU	DAT TIO	ODIMAT C	DE	1926-	-27.
1926–27.		VOTE No. 26.—MENT PARTMENT			DE-	!	
	$\begin{vmatrix} 1 \end{vmatrix}$	Salaries—continued.				£	£
		General Divis	ION-cont	inued.			
		Cooks—			£		
		1 Male at £228			228	i	
		1 Male at £220	•••	• • •	220		
		1 Male at £210 1 Male at £185	•••		$egin{array}{c} 210 \ 185 \end{array}$	w	
	ļį	1 Female at £210	• • •	•••	210		
		2 Females at £195	• • •	•••	390		
12		2 Female at £155 3 Females at £130	•••	• • •	$\begin{array}{c c} 310 \\ 390 \end{array}$	1	
1.2		Laundresses—	•••	•••		2,143	
		1 at £195	•••	•••	195	, -	
		1 at £160		•••	160		
		1 at £145 1 at £135	••	•••	$egin{array}{c c} 145 & \\ 135 & \\ \end{array}$		
8		4 at £130			520		
		$Ward ext{-}maids ext{}$				1,155	
9		1 at £120	• • •	•••	120	-	
3	į	2 at £30 Official Visitors—	•••	•••	160	280	
		8 at £26			208	200	
9		1 at £13	•••	•••	13	l İ	
						221	
1,141						241,494	
		OTHER CHARGES FOR AND IN	CILINDAM	mo.	[-		
	2	Advertising, photographs			rs, and		
		other publications	•••	•••		200	
	3	Bacteriological research	• • •	•••	•••	50	
	$\begin{array}{c c} 4 \\ 5 \end{array}$	Bedding and clothing Buildings, improvements,	 rongira	ond replace	manta	28,000 6,500	
	6	Dental services	, repairs,	and reprace		700	
	7	Developmental work in co					
	0	into cultivation, purcha			ock, &c.	2,000	
	8 9	Farms, maintenance of (preferring, draining, and ro	part recov	,	•••	18,000	
	10	Freight, cartage, and tran		rges		1,500	
	11	Fuel, light, power, water,				26,000	
	12	Funerals, expenses of				400	
	13 14	Furniture and furnishings Gardens and shrubberies,		 s of		$\frac{2,000}{250}$	
	15	Grant to officer on retir				200	
		in lieu of leave, in ter	rms of Pu	blic Service	e Regu-		
	16	lations Laundry	•••	•••		65	
	$\begin{vmatrix} 10 \\ 17 \end{vmatrix}$	Machinery, repairs, and s	stores	•••	•••	6,000 1,100	
	18	Maintenance fees overpai				50	
	19	Medical fees for certifica				0.000	
	20	recoverable) Motor-vehicles, maintena	nce of	•••	•••	2,200	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Motor-vehicles, purchase				2,500	
		Nursing staff—					
	$\begin{vmatrix} 22 \\ 92 \end{vmatrix}$	Engagement of	•••	••••	•••	25	
	$\begin{array}{c c} 23 \\ 24 \end{array}$	Uniforms, purchase of Office equipment	•••	• • •	•••	3,000 150	
	ΔX	Patients, expenses connec	eted with	•••	•••	Utox	
	25	Gratuities				750	
	26	"Patients' Friends"		•••		200	
	$\frac{27}{28}$	Recreation Transfer		•••		$8,200 \\ 400$	
	i 0 m	ALGEGIOL	• • •	• • •	•••	±00	

MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item.			1926-	27.
		VOTE No. 26.—MENTAL HOSPITALS DE	-		~
1926-27.		${\tt PARTMENT} continued.$			6
		Omices Cringra von den marken me continu	und	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—contin	aea.		
	29	Postage, telegrams, and rent of boxes		650	
	30	Printing and stationery		1,000	
	31	Rations		80,000	
	32	Rents and rates		2,200	
	33	Stores		4,700	
		Surgery and dispensary—		-,	
	34	Drugs and instruments		2,000	
	35	Wine, spirits, ale, and porter		100	
	36	Telephone services (including installation, extens		200	
		maintenance, rent, and calls)		900	
	37	Transfer and removal expenses		600	
	38	Travelling allowances and expenses	•••	2,000	
	50	Treatment and maintenance in general hospitals-		2,000	
	39	Patients general nospitals		350	
	40	Staff	• • • •	200	
	41	Contingencies, including unforeseen expenditure	. in	200	
	41	cidental to the other items of the vote		100	
		craental to the other tiens of the vote		100	
		Estimated credits-in-aid under section 22 of	the	i	
		Appropriation Act, 1923 (see end of vote			
		Fees for maintenance of patients £98,			
			000		
			000		
			000		
		Miscellaneous 5	000		
		Miscentaneous o	000	1	
		117	,000		
	1	11.7	,000		
				206,640	
		Gross Total		200,040	448,13
		GROSS TOTAL	• • •		440,10
		Credits-in-aid			117,000
	į.	NET TOTAL—VOTE No. 26			331, 134

DEPARTMENT OF HEALTH.

			•			,	19	926-27.	
			_			Salaries.	Oth	er Charges.	Total.
Vote No. 2	27.—D	epartment	of Health-			£	3	£	£
G	aoss T	OTAL				131,4	-38	243,309	374,747
			• •	••	• •				
$C_{\mathbf{R}}$	REDITS-	·IN-AID	• •	• •	••	1,4		92,290	93,720
NI	ET TO)TAL	••		••	130,0	008	151,019	281,027
Number of Persons.	Item.	VOME	N - 07	DELLADOR	ATTANIA () TO TITE A T	mrr	192	6-27.
$\overline{1926-27}$.	- -!	VOTE	No. 27.—	DEPARTI	MENT.	JE HEAL	illi.		
	1	*Salarie	s—					£	£
			Adm	IINISTRATIV	E Divisi	ON.	•		
1		1 at £	1 250 (Dire	ector-Genei	ral of He	ealth)		1,250	
1		1 20 2				•		1,200	
		1 at £		FESSIONAL	Division		£ 1,100		
		2 at £			•••	•••	1,912		
		1 at £				•••	897		
		4 at £				•••	3,404		
		1 at £					850		İ
		2 at £					1,674		
		1 at £					800		
13		1 at £					791		
								11,428	
		Class	A					,	
		1 a	t £715				715		
5		4 a	t £615				2,460		
								-3,175	
		Class							
			t £590		• • •		4,720		
10		2 a	t £515		• • •		1,030		
		<i>(17</i>	a					5,750	
		Class						1 000	
4		ક સ	t £4 90			••	•••	1,960	
		Class	D						
	!		t £ 425				850		
. 6			t £355		•••	• •	1,420	1	
. 0					•••		-,	2,270	
		Class	E					2,210	
4			£320					1,280	
									!
	į	Class					010		
-			t £210			• • • •	210		
2		1 a	t £190		•••		190		
	1	. 11 -		manta	a are	ممندين ال	(D ₁ -1-1):	- 400	
	-	MOULE	ances for	performing	-		(Public		
		Ser	vice Regul	аыон 24A)			•••		
	1	Hous	e allowance	es	• •	• • •	• • •	225	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons	Item.	NOTE N. OF	рарурамама Оп	пъл.	ו יידו	1926-	27.
1926–27.		VOTE No. 27	-DEPARTMENT OF continued.	пра.	nru	£	£
	1	Salaries—conti	nued.			æ	ಪ
			CLERICAL DIVISION.				
		$Class\ I$ —			£	1	
		1 at £615	•••	• • •	615		
2	1	1- at £565	• • •	•••	56 5	1 100	
		Class III—				1,180	
1		1 at £470 $Class IV$ —	• • •	•••	•••	470	
	-	2 at £425	,		850	ļ	
3		1 at £400			400		
		Class V				1,250	
5	.	5 at £380	•••		•••	1,900	
		Class VI—			j	0.045	
7		7 at £335	•••	• • •	•••	2,345	
		Class VII— 6 at £295			1,770		
	:	1 at £275			275		
		$\begin{array}{c} 1 \text{ at } \mathfrak{L}250 \\ 1 \text{ at } \mathfrak{L}250 \end{array}$			250		
	1	2 at £230			460		
	1	6 at £210	•••		1,260		
		4 at £190	•••		760	į	
		3 at £135	• • •		405	:	
	;	3 at £115 6 at £95	• • •		$ \begin{array}{c c} 345 \\ 570 \end{array} $		
34		2 at £80	••		160		
OT.				•••		6,255	
		Cadets' lodgir	ng-allowances	•••		130	
			GENERAL DIVISION.		400		
		1 at £490		• • •	490	1	
		1 at £425 4 at £410	•••	• • •	$\begin{array}{c}425\\1,640\end{array}$	İ	
		2 at £400	***		800		
		3 at £380	•••		1,140		
		4 at £370	•••		1,480	1	
		9 at £360		• • •	3,240	ŀ	
		3 at £350	•••		1,050		
	l i	3 at £335		• • •	1,005		
		9 at £330 21 at £320	• •		2,970 6,720	!	
		2 at £310	***		620		
		2 at £300	•••	• • •	600		
		2 at £295	•••		590	:	
	1	6 at £280	• • •	•••	1,680	1	
		5 at £275	• • •	•••	1,375	i	
	!	2 at £270	•••	•••	$\begin{array}{c c} 540 \\ 795 \end{array}$		
	1	3 at £265 4 at £260	•••	•••	1,040	·	
		4 at £255	•••		1,020		
		3 at £245	•••		735		
		16 at £240	•••		3,840		
		2 at £236	•••	•••	472		
		4 at £235		• • •	940		
		2 at £229	***	• • •	$egin{array}{c} 458 \ 4,500 \ \end{array}$		
		20 at £225 23 at £215	•••	•••	4,945		
		8 at £205			1,640		
		1 at £200	•••	•••	200		
		19 at £195	•••		3,705	1	
		12 at £185	•••		2,220		
		2 at £180	••		360		
		1 at £175	•••	•••	175	-	
	i	1 at £165	7 T T		165		

Number Persons.	Item.	VOTE No. 27—DEPARTM	rianim o	n rinat	(DT)	1926-	27.
926–27.	-!	continu	_	r HEAL	/TH- .	£	£
	1	Salaries—continued.				æ	æ
		General Divisio	n—contin	ned.		:	
					£		
		3 at £160	• • •	•••	480		
		1 at £145		• • •	145	1	
	i	2 at £135		• • • •	270		
050		5 at £125		• • •	625		
276		61 at £75	• • •	• • •	4,575	59,670	
		Allowances for performing	g specia	l duties	(Public		
		Service Regulation 24A)	• • • •	• • • •		40	
		Locality and horse allowan	ces		•••	96	
		Lodging-allowances	•••	•••		2,320	
		Unclassified (Non	N-PERMAN	ENTS).			
		4 Medical Superintendents-			£	;	
		2 at £1,059			2,118	į	
		1 at £900			900		
		1 at £615		•••	615	0.000	
		1 Inspector of Hospitals				3,633 850	
		17 Medical Officers—	•••	•••	•••	300	
		2 at £800			1,600		
		2 at £765			1,530		
		1 at £700			700		
		2 at £590			1,180		
	1 1	2 at £500		• • •	1,000		
		1 at £300	• • •	• • •	300		
		1 at £250		• • •	250		
		1 at £175	• • •		175		
		2 at £150	•••	•••	300		
		3 at £100	•••	•••	300	7,335	
		1 Assistant Medical Officer	•••		•••	750	
		1 Consulting Obstetrician	* * *			600	
		1 Advisory Medical Officer				500	
		1 Chemist			•••	500	
	1	8 Inspectors of Health—					
		1 at £390	***	•••	390		
		1 at £380	• • • •		380		
	1	2 at £360	•••	•••	720		
	-	2 at £285	• • •	• • •	570		
	į	2 at £275 4 Port Health Officers—	•••	•••	5 50	2,610	
		2 at £350			700	۵,010	
		2 at £75	•••		150		
		11 School Dental Officers—	_	•••		850	
		3 at £300			900	000	
		8 at £250			2,000		
		3 Clerks—	•••	•••		2,900	
		1 at £286			286	_,	
		1 at £275 \dots		•••	275		
		1 at £265 \dots	•••		265		
						826	
	1	1 Matron	•••	•••	• • •	305	
		1 House Surgeon	•••	• • •	••• ;	250	
	i	1 Storekeeper's Assistant	•••		•••	250	
		1 Port Disinfecting Officer 2 Ante-natal Nurses—	•••	•••	•••	235	
		1 at £260			260		
		1 at £240	•••		240		
					~~~	500	

of Persons.	Item.	VOTE 27—DEPARTMENT OF continued.	HEALT	H—	1926-	27.
1926–27.	1	Salaries—continued.			£	£
		Unclassified (Non-permanents)	continue	ed.	~	~
		3 District Health Nurses—		£		
		1 at £245 $\dots$		245		
		$egin{array}{lll} 1 &  ext{at } \pounds 225 & & \dots \ 1 &  ext{at } \pounds 185 & & \dots \end{array}$	•••	$   \begin{array}{c c}     225 \\     185   \end{array} $		
			•••		655	
		1 Sorter 1 Pathologist		•••	208 100	
		1 Health Patrol			181	
		8 Assistant District Health Nurses-		510		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	•••	$\frac{510}{60}$		
		1 at £52	•••	52		
		1 Inspector of Farms			$ \begin{array}{c c} 622 \\ 133 \end{array} $	
		7 Shorthand-typistes—	•••	•••	100	
		3 at £130	•••	390		
		$egin{array}{lll} 2 &  ext{at } \pounds 117 & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & \dots & $	•••	$   \begin{array}{c c}     234 \\     182   \end{array} $		
					806	
		1 Bacteriologist 4 School Dental Attendants—	•••		100	
		1 at £117		117		
	.	2 at £85	•••	170 78		
		1 at £78 29 Medical Officers (Native)—	•••		365	
		2 at £100	•••	200		
		1 at £80 $\dots$ 3 at £75 $\dots$	•••	$\begin{array}{c c} 80 & \\ 225 & \end{array}$		
		2 at £60		120		
		14 at £50		700		
	:	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	•••	$\begin{bmatrix} 80 \\ 100 \end{bmatrix}$		
		1 at £20	•••	20		
		2 Professional Cadets— 1 at £135		135	1,525	
114		1 at £95		95		
407	-	Allowance for neviewing specie	l dution	(Public	230	
487		Allowance for performing specia Service Regulation 24A)		(Fubile	100	
		Lodging and house allowances	•••		100	
		Estimated credits-in-aid under Appropriation Act, 1923 (see	end of vo	ote)—		
		Amounts deducted from sa Institutional employees for b				
		lodging		1,000		
	,	Native Trust Department: Con-				
		towards salaries medical offic	ers	430		
				1,430		
		OTHER CHARGES FOR AND INCIDENTAL	то		131,438	
		General Administration—				
	2	Advertising, photographs, books, other publications	new <b>s</b> pape	ers, and	400	
	3	Australian Medical Congress, 1927:	Cost of	printing		
	.	Transactions Compassionate allowances to—	•••		1,000	
	4	Mrs. M. Wilde, late Cook, St.	Helens F	Hospital,		
		Wellington Widow of the late Dr. Sharm	an Port	Health	20	
	5	Officer, Auckland	au, lore	TTGSTRII	350	

Number of Persons.	Item.		1926-	-27.
1926–27.		VOTE No. 27.—DEPARTMENT OF HEALTH— continued.	3	
1040-41.		commuea.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		General Administration—continued.		
	6	Compensation for goods damaged by overflow of water	60	
		from Dental Clinic, Gisborne Commissions of Inquiry—	00	
	7	Auckland District water and drainage	750	
	8	Auckland Hospital Board Examination of unregistered dentists Expenses of Departmental Exhibit at Wellington	500	
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	Examination of unregistered dentists	500	
	10	Expenses of Departmental Exhibit at Wellington Winter Show, 1926	50	
	11	Freight, cartage, and transport charges	50	
	12	Fuel, light, and water Grant to Miss S. E. Warnock	100	
	$\begin{vmatrix} 13 \\ 14 \end{vmatrix}$	TT	$104 \\ 1,250$	
	15	Law-costs	100	
	16	Maternity homes, refund of fees	50	
	17	Motor-cars, motor-cycles, bicycles, &c.: Purchase,	70	
	18	repairs, and running-expenses	50 50	
	19	Office-cleaning Office fittings and requisites	800	
	20	Overtime and meal allowances	100	
	21	Postages and telegrams Printing and stationery	2,000	
	$\begin{vmatrix} 22 \\ 23 \end{vmatrix}$	Printing and stationery Private Maternity Homes: St. Helens patients' ex-	2,200	
	25	penses penens patients ex-	50	
	24	Quackery Prevention Act	10	
	25	To .	2,350	
	23	Sending nurses abroad for training (balance)	1 050	
	$\begin{vmatrix} 27 \\ 28 \end{vmatrix}$	Services rendered by other Departments Stores and material	1,050 400	
	29	Telephone services (including installations, exten-	100	
		sions, maintenance, rent, and calls)	1,400	
	30	Transfer and removal expenses	750	
	31	Transfer expenses and maintenance New Zealand	1,000	
	32	lepers at Makogai Travelling allowances and expenses	9,000	
		Travelling-expenses of—		
	33	Miss Pope, dietitian, inspecting New Zealand		
	34	hospitals Dr. McEachern, of U.S.A., and Dr. Main	50 185	
	35	W. Downs, attending Conference of Hospital Stores	100	
		Officers, Wellington	7	
	36	Typewriters: Purchase and repairs	100	
	37   38	Uniform allowance to nurse Contingencies, including unforeseen expenditure inci-	12	
	00	dental to other items of the vote	50	
		-		
		TT 111 A .	26,918	
	39	Health Act— Board of Health: Expenses (including fee to mem-		
	09	bers) best of meaning lee to mem-	100	
	40	Compensation payable under Health Act	10	
	41	Disinfectants, purchase of (part recoverable)	200	
	42 43	Infectious diseases (part recoverable)	1,450	
	44	Inspection of vessels (part recoverable) Motor-cars, motor-cycles, &c.: Purchase, repairs, and	1,500	
		running-expenses (part recoverable)	5,000	
	45	Notification of infectious diseases	1,000	
	46	Refund to local bodies of fines imposed for breaches		
		of regulations made under Section 132, Health Act,	10	
	47	Sera, purchase of (recoverable)	5,000	
	<b>4</b> 8	Other expenses	50	
	49	Quarantine expenses	1,000	
		-	15,320	
*		_		
I		I		

#### ${\tt DEPARTMENT~OF~HEALTH-} continued.$

Number of Persons.	Item.		1926-	-27.
1926-27.		VOTE No. 27.—DEPARTMENT OF HEALTH— continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	~	
	50	Masseurs Registration Act— Examination expenses, &c	100	
	51	Medical Practitioners Act— Expenses	500	
	52	Nurses and Midwives Registration Act— Examination expenses, &c. (part recoverable)	600	
	<b>5</b> 3	Plumbers Registration Act— Examination expenses, &c. (part recoverable)	950	
	54 55	Sale of Food and Drugs Act—  Law-costs  Other expenses (including purchase of samples)	250 450	
		Secial Hamilton And	. 700	
	56	Social Hygiene Act— Expenses	150	
	57	Treatment, &c., of indigent patients by medical practitioners	25	
	į	Pastonial missal Tahanatanias	175	
	58	Bacteriological Laboratories— Laboratory expenses (part recoverable)	3,300	
	59 60 61	Child Welfare Administration— Expenses Sir Truby King attending Conference on Child Welfare, Sydney Travelling expenses and allowances Other expenses (including hire of halls, advertising, &c.)	76 100 300	
			476	
	62 63	Dental Hygiene Administration— Dental clinics and travelling-ambulances, expenses of Travelling allowances and expenses	8,465	
		Maori Hygiene Administration (part recoverable)—	9,165	
	64 65	Maintenance of nurses cottage, Kahukura Other expenses (including establishment of temporary	300	
	66 67	camp hospitals, &c.) Supply of medicines Travelling expenses and allowances	2,500 1,000 1,500	
8		Maternal Welfare Administration—	5,300	
	68 <b>6</b> 9	Ante-natal clinics Other expenses	400 50	
		School Hygiene Administration—	450	
	70 71 72	Travelling allowances and expenses Uniforms, allowances to nurses for Other expenses (including equipment)	5,000 200 1,000	
		Grants-in-aid	6,200	
	73 74	Hospital Boards' Association of New Zealand Hospital Board, Dunedin, towards cost of providing	100	
	12	accommodation for mental cases under observation	500	

#### ${\tt DEPARTMENT\ OF\ HEALTH---} continued.$

Number of Persons.	Item.		1926-	27.
000 07	-	VOTE No. 27.—DEPARTMENT OF HEALTH—		
926-27.		continued.	£	£
	1 1	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	~	~
		Grants-in-aid—continued.		
	75	Knox Home for Incurables	500	
	76	Maternity Hospital, Hastings	9,000	
	77	Maternity Hospital, Palmerston North	700	
	78	Medical research work	5,000	
	79	Mothers' Help Division, Wellington	150	
	80	Mount Magdala Asylum	600	
	01	Otago University—	50	
	81 82	Analytical laboratory	50 500	
	83	Bacteriological laboratory	500	
	84	T 111	200	
	85	Pathological laboratory	100	
	86	Relief of indigent persons	50	
		Royal N.Z. Society for Health of Women and		
		Children		
	87	Karitane Hospital, Auckland (maintenance)	1,000	
i	88	Karitane Hospital, Auckland (building grant)	450	
	89	Karitane - Wolfe Hospital, Christchurch (main-		
		tenance)	1,000	
	90	Karitane-Harris Hospital, Dunedin (maintenance)	4,200	
	91	Karitane-Harris Hospital, Dunedin (building grant)	800	
	92   93	Karitane Hospital, Invercargill (maintenance)	375	
	95	Karitane-Stewart Hospital, Wanganui (main-	1,000	
	94	tenance) Karitane Hospital, Wellington (maintenance)	1,000	
	J =	Grants towards salaries—	1,000	
1	95	Director	350	
	96	Assistant Director	225	
	97	Secretary	175	
	98	Assistant Secretary	60	
		Incidental grants—		
	99	Railway passes, &c	1,250	
	100	Upkeep of cars	210	
	101	Subsidies towards salaries of Plunket nurses	$\frac{14,250}{1000}$	
	102	Salvation Army	1,000	
	103 104	St. John Ambulance Association	$\begin{vmatrix} 400 \\ 200 \end{vmatrix}$	
	105	St. Mary's Home, Otahuhu Women's National Reserve (Residential Nursery)	200	
ľ	100	Women's National Deserve (Desidential Naisery)	200	
		Subsidies—		
[]	106	Buller Hospital Board (£1 for £1), (up to £250)	250	
]	107	Coromandel Hospital Board (£1 for £1)	400	
]	108	Inangahua Hospital Board: Grant by way of subsidy		
	-	on account of the Waiuta Medical Association (£1		
		for £1)	550	
1	109	Mercury Bay Hospital Trustees (£1 for £1)	300	
	İ	-	45 505	
		Tractitudian and I amount of Demonstrated	47,595	
		Institutions under control of Department— Wages—		
1	110	Hanmer Hospital	14,200	
	111	King George V and Infectious Diseases Hospitals,	11,200	
1		Rotorua	18,000	
1	112	Otaki Sanatorium and Hospital	4,400	
	13	Pukeora Sanatorium	12,000	
		St. Helens Hospitals—	, -	
	14	Auckland	1,600	
	15	Gisborne	460	
1			200	
1	16	Wanganui	600	
1 1 1	.16 .17	Wellington	1,300	
1 1 1 1	16			

#### ${\tt DEPARTMENT\ OF\ HEALTH--} continued.$

Number of Persons.	Item.	VOTE No. 27.—DEPARTMENT OF HEALTH—	1926-	-27.
1926-27.	į	continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Institutions under control of Department—continued.	£	£
	$121 \\ 122$	Maintenance— Hanmer Hospital King George V and Infectious Diseases Hospitals,	18,600	
•	$123 \\ 124$	Rotorua Otaki Hospital and Sanatorium Pukeora Sanatorium	17,000 4,500 14,000	
	125 126	St. Helens Hospitals— Auckland Gisborne	5,000 1,200	
	127 $128$ $129$	Wanganui	1,200 3,700 3,000	
	130 131	$egin{array}{cccccccccccccccccccccccccccccccccccc$	1,500	
			125,560	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Bacteriological Laboratories: £ Sales and services 200 Civil List contributions towards Maori medical service 3,600 Institutional Patients' Fees— Otaki Hospital and Sanatorium 6,500 Pukeora Sanatorium 22,000 Rotorua, King George V Hospital 15,000 Hanmer, Queen Mary Hospital 18,500 Kahukura Cottage Hospital 100 Trentham Hospital	243,309	054.545
		Credits-in-aid $(a)$	•••	374,747 <b>93,720</b>
		NET TOTAL—VOTE No. 27	<u> </u>	281,027
	(a)	Credits-in-aid	1926–27.	
		Salaries              Other Charges	1,430 $92,290$	
		Total	93,720	

#### NAVAL DEFENCE.

				1926–27.		
				Salaries.	Other Charges.	Total.
Vote No. 28.—Naval Defen	nce—			£	£	£
Gross Total	••			236,360	339,833	576,193
CREDITS-IN-AID	• •			5,200	25,467	30,667
NET TOTAL		••	-	231,160	314,366	545,526

Number of Persons.	Item.	VOTE No 28.—NAVAL DEFENCE.	1926–	27.
1926–27.	1	Salaries—	£	£
11 1,040 +70 1,121		Full Pay, Wages, Allowances, Extra Pay, &c.— Administrative staff (excluding Naval Secretary) Officers and ships' companies, H.M. Ships "Dunedin," "Diomede," and "Philomel," (†) new entries under training (part recoverable), and R.F.A. "Nucula"—  H.M.S. "Dunedin" 93,830 H.M.S. "Diomede" 80,250 H.M.S. "Philomel" 48,010 R.F.A. "Nucula" 10,110	4,160 232,200	
		Other Charges for and incidental to—		
	2	Administration—  Admiralty: On account of payment of allotments	400	
		Victualling, Clothing, Implements, and Mess Traps—		•
	3	Clothing Accounts— Clothing purchases, for issue as free kits to new entries and reservists and on repayment (less		
	4	repayment issues), (part recoverable) Kit-upkeep allowance, and clothing gratuities	12,450 8,800	
	5	Implement and Mess Trap Accounts— Purchase of mess traps, implements, &c., for supply and replacement Victualling Accounts—	1,500	
	6	Leave allowance and compensation in lieu of provisions Victualling of personnel: Purchase of provisions	4,500	
	7	and payment of victualling and messing allow- ances to officers and men (less repayment issues), (part recoverable)	37,000	
		MEDICAL SERVICES-		
+	8 9	Dental treatment ashore Medical examination of recruits for sea-going	500	
I	10 11	forces	$egin{array}{c} 200 \\ 1,200 \\ 650 \\ \end{array}$	

#### NAVAL DEFENCE—continued.

f Persons.	Item.	VOTE No. 28.— NAVAL DEFENCE—continued.	1926–27.	
926–27.		Charges tor and incidental to—continued.	£	£
		Repairs, Alterations, Docking, &c.—	æ	20
	12	Admiralty: In respect of priority use of Calliope	£ 000	
	13	Dock, workshops, &c H.M.S. '' Diomede''	5,000 2,000	
	14	H.M.S. "Diomede H.M.S. "Dunedin"	$\frac{2,000}{1,500}$	
	15	H.M.S. "Philomel"	900	
	16	Fuel and Lighting (including freight of coal)— Oiler "Nucula" (hire from Admiralty, repairs and stores)	16,500	
	17	H.M.S. "Philomel" (including Sick Quarters and Base)	500	
	18	Coal for stocks at Auckland, "Diomede," "Dunedin" and "Nucula" (part recoverable)	1,350	
	19	Electricity from shore to ships and buildings	2,500	
	20	Gas for buildings at Devonport	5C	
	21	Oil fuel for tanks and ships	30,000	
		Stores-		
	22	Naval, engineers, shipwrights, ordnance, tor-	90 400	
	23	pedo and electrical Battle Practice Target	32,400 4,000	
	$\begin{vmatrix} 25 \\ 24 \end{vmatrix}$	Fittings for laboratory for testing ammunition	730	
	25	Maintenance of torpedo reserves	500	
	26	Mine-sweeping gear	2,500	
	27	Reserve of ammunition for local defence guns	200	
	28	Saluting-guns for H.M.S. "Philomel"	100	
	30 30	Spare propellers and boiler tubes for "Diomede" Steam or motor boat for H.M.S. "Philomel"	$\begin{bmatrix} 5,200 \\ 750 \end{bmatrix}$	
		Works—		
	31	Additional berthing for H.M. Ships	7,500	
	32	Additions to "sick quarters" at Devonport	600	
	33 34	Conversion of Fort Takapuna into naval magazine Erecting and furnishing lecture-room for training	1,000	
	35	purposes at Devonport	630	
	36	Erection of two 5,000-ton oil-tanks at Devonport Fencing magazines at Fort Victoria	$\begin{array}{c c} 6,720 \\ 365 \end{array}$	
	37	Maintenance of dockyard plant, naval base and	303	
	••	sick quarters	250	
	38 39	Repairs to jetty at Suva damaged by "Nucula" Salvage plant placed aboard tug "St. Boniface,"	71	
		now "Toia"	4,700	
	40	Store for reserve torpedoes Upkeep and improvement of recreation-ground	$\begin{vmatrix} 365 \\ 350 \end{vmatrix}$	
		Reserves.		
	42	Courses of emergency list officers (in-		
		cidental expenses) 50		
		Furnishing and outfitting of drill-hall 120		
		Hire of drill-hall and vessels 300   Instructors 75	1	
		Medical examination recruits 50		
		Pay and allowances 1,700		
		Retaining fees 1,200		
		Stores and fittings for instruction 150		
		Travelling-expenses 500 Upkeep of mine-sweeping trawler 1,000		
		Miscellaneous 1,000		
			5,345	
	43	Miscellaneous Effective Services— Advertising, books, newspapers, and other publica-		
	70		500	
		uions	อบบ เ	
	44	tions Allowances in lieu of quarters (lodging-allowance)	500 550	

#### ${\tt NAVAL\ DEFENCE--} continued.$

Number of Persons.	Item.	VOTE No. 28.—NAVAL DEFENCE—continued.	1926-	-27.
1926-27.		Charges for and incidental to—continued.	£	£
		MISCELLANEOUS EFFECTIVE SERVICES—continued.	20	~
	47	Compensation for injuries and accidental death		
		and disease contracted on duty	1,500	
	48	Freight, insurance, landing, and transport charges	,	
		(excluding freight, &c., on coal)	6,000	
	49	Gunnery and torpedo efficiency funds, good-shoot-		
	50	ing prizes	120	
	50	Interments	50	
	$\begin{vmatrix} 51 \\ 52 \end{vmatrix}$	Office fittings and requisites  Passages, travelling allowances and expenses	$\frac{200}{21,320}$	
	53	TOI 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	30	
	54	Playing narmonium at divine service Postage, cablegrams, telegrams, and rent of boxes	700	
	55	Printing and stationery	550	
	56	Rebate to officers and ship's company on account		
		of duty paid on uniforms	25	
	57	Rent of Navy office, storerooms, magazine (over-		
		head charges), &c. (part recoverable)	450	
	58	Telephone services (including installation, exten-	2.5	
	50	sions, maintenance, rent, and calls)	245	
	59	Training of New Zealand ratings in gunnery,		
		torpedo, &c., training establishments in the United Kingdom	150	
	60	Training-service Fund	100	
	61	Trawler for training purposes: Initial expenses	7,400	
	62	Typewriters, repairs and renewal	50	
		Non-effective Services—		
		Admiralty—		
	63	On account of unemployment benefit fund for		
		ratings serving in New Zealand	120	
	64	On account of widows' pensions, &c. (part re-	1 150	
	65	coverable)	1,150	
	00	Deferred pay (including portion payable to Admiralty as pension contributions of officers and		
		men lent from Royal Navy) to officers and men	37,500	
	66	National Health Insurance to Admiralty	520	
	67	Panama Canal dues: H.M.S. "Diomede" and		
		trawler	200	
	68	Stores supplied, work done, pay and allowances,		
		allotments, and other services rendered by	F. F. F. O.	
	CO	Admiralty	57,500	
	69	Contingencies, including unforeseen expenditure incidental to other items of vote (part recoverable)	1,000	
		· · · · · · · · · · · · · · · · · · ·	1,000	
	1	Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
	1	Clothing and victualling £12,000		
		Admiralty on account of coal 1,000		
		Admiralty on account of widows' pensions 575		
	i i	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Stores, &c., issued to H.M. ships		
		and sold 5,420		
		Rent 72		
		Wellington Harbour Board: Sal-		
	1	vage plant placed aboard tug		
		"St. Boniface," now "Toia" 4,700		
		Contingencies          700           Miscellaneous          1,000		
		manufacture (Table ) for the		
		30,667		
		Gross Total		576,19
		Credits-in-aid		30,66
		NET TOTAL—VOTE No. 28		545,52

# DEFENCE DEPARTMENT.

	•							1926–27.	
Subdivision   L.—N. Z. Staff Corps   38, 104   44, 541   44, 541   44, 541   44, 541   44, 541   44, 541   44, 541   44, 541   111.—Royal N. Z. Artillery 39, 688   39, 688   39, 688   11.—N. Z. Army Ordnance Corps 38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38, 666   38							Salaries.	Other Charges.	Total.
II.—N.J. Permanent Staff	Vote No. 2	9—Defe	nce De	partment-		-	£	£	£
II.—N.J. Permanent Staff	Subdivisio	on I	-N.Z. S	Staff Corns			38.104		-38 104
III									
Number of Persons									
VN.Z. Army Pay Corps						İ			
VI.—N.Z. Army Medical Corps									
VIII.—General Duty Section						1			
VIII.—General Duty Section   7,111									
IX.									
X. — Military Education of Officers undergoing Instruction abroad						i			
Number of Persons.   Item.   1926-27.						n aa	17,000		17,000
XII.—Purchases, Maintenance, and Training	,,	∠1.—	-minuur anda	y Hawa	travation abro			8 005	9 005
XIII.—Non-effective Services   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34, 958   34,		VΙ	Damaha	ngoing ins	mana and T	au			
XIII. — Non-effective Services   365   11,451   11,816   1,470   1,470   1,470   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   565   5	,,				mance, and I	raining			
Number of Persons.   Item.	,,					• • • •			
GROSS TOTAL 204,182 325,033 529,215  CREDITS-IN-AID 204,182 296,683 529,215  NET TOTAL 204,182 296,683 500,865  Number of Persons.	,,	A111.—	Non-ejje	ecuve serv	ices	• • •	309		
CREDITS-IN-AID	,,				sociation		•••		
NET TOTAL   28,350   28,350   NET TOTAL   204,182   296,683   500,865	,,	X V	Rifte C	iubs			•••	565	565
NET TOTAL   1926-27.   1926-27.   1926-27.   29.—DEFENCE DEPARTMENT.   1926-27.   29.—DEFENCE DEPARTMENT.   1,100   3   3   Colonel-Commandants: 1 at £850, 1 at £825, 1 at £785   1   Colonel   2,460   6   6   LieutColonels: 3 at £765, 1 at £700, 2 at £650	Gross	TOTAL					204,182	325,033	529,215
Number of Persons.   Item.   VOTE No. 29.—DEFENCE DEPARTMENT.   1926–27.     Subdivision No. 1.—N.Z. Staff Corps.   £ £	CREDIT	S-IN-AID		•••	•••		••	28,350	28,350
Number of Persons.   Item.   VOTE No. 29.—DEFENCE DEPARTMENT.   1926–27.     Subdivision No. 1.—N.Z. Staff Corps.   £ £   £     1   1   Commandant	NET T	TOTAL			•••		204,182	296,683	500,865
1926-27.  VOTE No. 29.—DEFENCE DEPARTMENT.  Subdivision No. 1.—N.Z. Staff Corps.  1 PAY—  1 1 Commandant 1,100 3 Colonel-Commandants: 1 at £850, 1 at £825, 1 at £785 2,460 1 1 Colonel 825 6 LieutColonels: 3 at £765, 1 at £700, 2 at £650 4,295 17 Majors: 12 at £615, 2 at £565, 3 at £515 10,055 25 Captains: 1 at £515, 12 at £485, 7 at £440, 5 at £400 11,415 18 I Lieutenants: 14 at £385, 3 at £383 5s., 1 at £340 6,880 2 Cadets at £52 104 1 Captain (attached) 515 Additional amount required for increments and promotion 455  Total—Subdivision No. I 38,104  Note.—Scale salaries or wages include cost-of-living increase.			James Comment						
1 PAY—  1 Commandant 1,100 3 Colonel-Commandants: 1 at £850, 1 at £825, 1 at £785 2,460 1 Colonel 825 6 LieutColonels: 3 at £765, 1 at £700, 2 at £650 4,295 17 Majors: 12 at £615, 2 at £565, 3 at £515 10,055 25 Captains: 1 at £515, 12 at £485, 7 at £440, 5 at £400 11,415 18 Lieutenants: 14 at £385, 3 at £383 5s., 1 at £340 6,880 2 Cadets at £52 104 1 Captain (attached) 515 Additional amount required for increments and promotion 455  Total—Subdivision No. I		Item.						192	6-27.
1 PAY—  1 Commandant 1,100 3 Colonel-Commandants: 1 at £850, 1 at £825, 1 at £785 2,460 1 Colonel 825 6 LieutColonels: 3 at £765, 1 at £700, 2 at £650 4,295 17 Majors: 12 at £615, 2 at £565, 3 at £515 10,055 25 Captains: 1 at £515, 12 at £485, 7 at £440, 5 at £400 11,415 18 Lieutenants: 14 at £385, 3 at £383 5s., 1 at £340 6,880 2 Cadets at £52 104 1 Captain (attached) 515 Additional amount required for increments and promotion 455  Total—Subdivision No. I			VOTE	No. 29	_DEFENCE	E DEPA	RTMENT.		
Subdivision No. 1.—N.Z. Staff Corps.   £   £	1926–27.	i							
1   1   Commandant           1,100   3   Colonel-Commandants : 1   at £850, 1   at £825, 1   at £785                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                     .			S	lubdivi <b>si</b> on	No. 1.—N.	Z. Staff	Corps.	£	£
3 Colonel-Commandants: 1 at £850, 1 at £825, 1 at £785		1 1	Pay—						
3 Colonel-Commandants: 1 at £850, 1 at £825, 1 at £785			• 0	7 .				1 100	
### ### ##############################									
1 Colonel	3				andants: 1	at £800,	1 at £825, 1		
6 LieutColonels: 3 at £765, 1 at £700, 2 at £650 4,295 17 Majors: 12 at £615, 2 at £565, 3 at £515 10,055 25 25 Captains: 1 at £515, 12 at £485, 7 at £440, 5 at £400 11,415 18 Lieutenants: 14 at £385, 3 at £383 5s., 1 at £340 6,880 2 Cadets at £52 104 1 Captain (attached) 515 Additional amount required for increments and promotion 455  Total—Subdivision No. I 38,104  Note.—Scale salaries or wages include cost-of-living increase,	_ `				• •		• • •		
17 Majors: 12 at £615, 2 at £565, 3 at £515 10,055 25 Captains: 1 at £515, 12 at £485, 7 at £440, 5 at £400	1	·			0 / 0505				
25 Captains: 1 at £515, 12 at £485, 7 at £440, 5 at £400	-		6 Lieu	itColonel	$\mathbf{s} : 3 \text{ at } \mathbf{\pounds} 765$	, 1 at £70	JO, 2 at £650		
### ### ##############################		}	17 Ma	jors: 12 a	t £615, 2 at a	£565, 3 a	it #919	10,055	
18	25				at £515, 12 a	at £485,	7 at £440, 5		
2 Cadets at £52 104 1 Captain (attached) 515 Additional amount required for increments and promotion 455  Total—Subdivision No. I 38,104  Note.—Scale salaries or wages include cost-of-living increase,			£40	0	•••	• •	_ <b></b>		
1 Captain (attached) 515 Additional amount required for increments and promotion 455  Total—Subdivision No. I 38,104  Note.—Scale salaries or wages include cost-of-living increase,	18		18 Lie	utenants:	14 at £385,	3 at £383	3.5s., 1 at £3	6,880	i
Additional amount required for increments and promotion	2		2 Cade	ets at £ $52$	••	••	•••		
Total—Subdivision No. I 455  Note.—Scale salaries or wages include cost-of-living increase,	1						•••		
Total—Subdivision No. I 38,104  Note.—Scale salaries or wages include cost-of-living increase,			Additi	onal amou	nt required f	for incre	ments and p		
Note.—Scale salaries or wages include cost-of-living increase,	74		mot	ion		•	•••	455	
Note.—Scale salaries or wages include cost-of-living increase,				To	tal—Subdivi	sion No.	I		38.104
	'					_			
18B. 7.		T		.—Scale sal	aries or wages	include co	st-of-hving inc	rease,	•
	18-	—В. 7						*	

#### DEFENCE DEPARTMENT—continued.

Number of Persons.	tem.	WOULD NO DEHENGE DEDITIONENT	1926-	27.
<b>192</b> 6–27.		VOTE No. 29.—DEFENCE DEPARTMENT—contd.		
	ถ	Subdivision No. II.—N.Z. Permanent Staff.	£	£
13 51 17 12 34 127	2	Pay—  13 Hon. Lieutenants at 21s. per diem	4,982 19,151 6,050 3,942 10,031 385	
		Total—Subdivision No II Subdivision No. III.—Royal N.Z. Artillery.		44,541
	3	Pay-		
1 1 7 3 1 3 5 2 1 2 7 6 19 5 8 10		1 LieutColonel 1 Major 2 Captains: 6 at £485, 1 at £440 3 Lieutenants: 2 at £385, 1 at £340 1 Cadet at £52 3 Hon. Lieutenants at 21s. per diem 3 Master Gunners at 21s. per diem 5 Regimental Sergeants-major: 2 at 21s., 1 at 20s. 6d., 2 at 20s. per diem 2 Sergeants-major Artificer at 21s. per diem 1 Sergeant-major Coxswain at 21s. per diem 2 Quartermaster-Sergeant Artificers at 19s. 6d. per diem 2 Quartery Sergeants-major at 18s. 9d. per diem 2 Battery Sergeants-major at 18s. 9d. per diem 2 Battery Quartermaster-Sergeants at 18s. 6d. per diem 3 Sergeants at 18s. 6d. per diem 4 Sergeants at 18s. 6d. per diem 5 Lance Sergeants at 17s. 3d. per diem 5 Lance Sergeants at 17s. 3d. per diem 8 Bombardiers at 17s. 3d 10 Lance-Bombardiers: 9 at 16s. 6d., 1 at 14s. 10d. per diem 18 Gunners: 3 at 16s., 3 at 15s. 6d., 12 at 12s. 10d. 17 Drivers: 2 at 16s., 2 at 15s. 6d., 1 at 15s., 2 at 14s. 6d., 1 at 13s. 8d., 9 at 12s. 10d. per diem Additional amount required for increments and promotion	765 515 3,350 1,110 52 1,150 1,150 1,871 767 383 712 342 675 2,363 2,026 6,242 1,574 2,519 2,981 4,535 4,311	
<del></del> -		promotion  Total—Subdivision No. III	295	39,688

#### DEFENCE DEPARTMENT—continued.

Number of Persons.	Item.		1926-	27.
1926–27.	-   	VOTE No. 29.—DEFENCE DEPARTMENT—contd.		
		Subdivision No. IV.—N.Z. Army Ordnance Corps.	£	£
	4	Pay-		
$\begin{array}{c} 1 \\ 5 \end{array}$		1 Major 5 Captains: 2 at £515, 3 at £485	$\begin{bmatrix}515\\2,485\end{bmatrix}$	
1		1 Lieutenant at 21s. per diem	383	
$\frac{1}{3}$		1 Hon. Lieutenant at 21s. per diem 3 Warrant Officers, Class I: 2 at 21s., 1 at 19s. 4d.	383	
8		per diem 8 Warrant Officers, Class II: 7 at 19s. 6d., 1 at	1,120	
11		17s. 10d. per diem 11 Staff Sergeants: 1 at 21s. 3d., 8 at 18s. 6d., 1 at	2,817	
*1		18s. 6d. per diem from 6th April, 1926, and 1 at	0.505	
20	1	16s. 10d. per diem from 6th April, 1926 20 Sergeants: 18 at 18s., 2 at 16s. 4d. per diem	$\frac{3,725}{6,509}$	
15 20		15 Corporals: 13 at 17s. 3d., 2 at 15s. 7d. per diem 20 Lance Corporals: 16 at 16s. 6d., 4 at 14s. 10d.	4,661	
		per diem	5,901	
$\begin{array}{c} 4 \\ 24 \end{array}$		4 Artificers at 16s. 6d. per diem 24 Privates: 6 at 16s., 4 at 15s. 6d., 3 at 15s., 1 at	1,205	
		14s. 6d., 4 at 13s. 8d., 1 at 12s. 10d., 5 at 12s. per diem	6,296	
			0,200	
1		Temporary section— 1 Staff Quartermaster-Sergeant at 18s. 6d. per diem	338	
$1 \\ 5$		1 Sergeant at 17s. per diem 5 Corporals: 3 at 16s. 3d., 2 at 14s. 7d. per diem	$egin{array}{c} 310 \ 1,422 \end{array}$	
1		1 Private at 14s. per diem	256	
121		Additional amount required for increments and promotions	340	
	-	Total-Subdivision No.IV		38,666
		Subdivision No. V.—N.Z. Army Pay Corps.		
	5	Pay		
1		1 Lieutenant-Colonel	765	
1 3		1 Major 3 Captains at £515	$\begin{array}{c c} 615 \\ 1,545 \end{array}$	
8		8 Warrant Officers, Class I: 4 at 21s., 3 at 20s., 1 at 18s. 4d., per diem	2,963	
2		2 Staff Quartermaster-Sergeants at 19s. 6d. per diem	712	
1		1 Staff Sergeant at 18s. 6d. per diem	338	
16		Total-Subdivision No.V	Ŷ	6,938
		Subdivision No. VI.—N.Z. Army Service Corps.		
	6	Pay—		
1		1 Hon. Lieutenant at 21s. per diem	383	
1 3		1 Warrant Officer, Class I, at 21s. per diem	383 986	
4		3 Staff Sergeant-Instructor at 18s. per diem 4 Sergeants at 17s. per diem	1,241	
1		1 Private at 14s, per diem Additional amount required for increments and	256	
10		promotions	15	
	1	Total—Subdivision No. VI  -		3,264

DEFENCE DEPARTMENT—continue	DEFENCE
-----------------------------	---------

Number of Persons.	Item.	VOTE No. 29.—DEFENCE DEPARTMENT—contd.	1926-	<b>27.</b>
1926–27.	-	Subdivision No. VII.—N.Z. Army Medical Corps.	Α	
	7	Pay—	£	£
1 1 5 1		1 Major at £615	615 150 215 383 329	
1 1		1 Staff-sergeant, at 16s. 6d. per diem 1 Private at 14s. 6d. per diem Additional amount required for promotions and incre-	301 265	
11	_	ments	55	
		Total—Subdivision No. VII —		<b>2</b> ,31
	8	Subdivision No. VIII.—General Duty Section (Caretakers, Range Wardens, Firemasters, Night-watchmen, &c.).		
$\begin{array}{c} 2 \\ 10 \\ 3 \\ 4 \\ 4 \end{array}$		2 Company Sergeants-major at 18s. 9d. per diem 10 Sergeants at 18s. per diem 3 Corporals: 2 at 17s. 3d.; 1 at 16s. 3d. per diem 4 Lance-Corporals at 16s. 6d. per diem 4 Privates: 1 at 15s., 1 at 13s. 8d., 2 at 12s. per	684 3,285 926 1,205	
23	-	diem Additional amount required for increments and pro-	961	
		$egin{array}{cccccccccccccccccccccccccccccccccccc$	50	7,11
	9	Subdivision No. IX.—Civilian Personnel.  *Salaries—  Clerical Division.		
3		Class IV— 3 at £425	1,275	
		Class VI—		
7		7 at £335 £  Class VII — £  11 at £295 3,245  1 at £295 (10 months), £275 (2 months) 292  1 at £190 (4 months), £155 (8 months) 168  1 at £155 155  1 at £125 (6 months), £120 (6 months) 122  1 at £125 (3 months), £120 (9 months) 121	2,345	
20	-	1 at £120 120 1 at £115 115 2 at £115 (9 months), £95 (3 months) 222  General Division.	4,560	
6		1 at £285 (6 months), £275 (6 months)       280         1 at £255 (5 months), £245 (7 months)       249         4 at £205        820         5 at £185        925         1 at £175        175         3 at £175 (6 months), £160 (6 months)       503         1 at £160        160		·
U	i	100	3,112	

# 

		VOTE No. 29.—DEFENCE DEPARTMENT—contd.			-contd.	1926–27.	
1926–27.		Subdivision No. IX.—C	ivilian Pers	nnelcon	tinued.	i	6 :
	9	Salaries— $continued$ .			i I	£	£
		Non-Pi	ERMANENTS.		£		
	1	1 at £326	• • •		326		
	!	1 at £295	• • •		295	ï	
		1 at £267	•••	***	267		
i		1 at £261 2 at £260	• • •		$\begin{bmatrix} 261 \\ 520 \end{bmatrix}$		
	İ	2  at  £241			482		
	İ	2 at £225		• • •	450		
	•	1 at £215			215		
		1 at £144	• • •		144		
	:	1 at £130 1 at £128		• • •	$\begin{array}{c} 130 \\ 128 \end{array}$		
	i	1 at £117	• • • •	***	117		
	j	1 at £105			105		
	ĺ	2 at £92			184		
00		1 at £78			78		
20		1 at £65	•••	* * *	65	3,767	
66	ļ	Salaries of messengers	and charwo	men		2,000	
	Ì				***	_, 550	
	l	Total— $S$	ubdivision 1	Vo. IX	-		17,059
	10 11 12	Subdivision No. X.—Mundergoing In undergoing In Allowances.  Allowances (quarters, Other Charges.— Rail, steamer, and oth War Office.— Charge for Dominion Staff College, Carper annum) Royal Military Ac (1 Cadet) Royal Military Collegets) Total—S	married, &c. er charges a Officers attached in berley (2 a ademy, Wo	oroad.   sending t £400  colwich  urst (2	£ 800 398 777	3,750 2,300 1,975	8,025
	13 14 15 16 17	Clothing— Cost of new issues making up uniform Laundering, dyeing uniforms Field and heavy gur plosives Medals, purchase of Ordnance Stores: Ac chine-guns, camp equitools, materials, sign barrack and hospital	aining.  and provisions  g, and reno  a ammuniti  coutrements uipment, ha alling and e al stores, F	on of mat  ovating pa  on and of   , small-ar rness and s lectric-ligh	erial for art-worn ther ex ms, ma- saddlery, at stores, Garrison	31,000 5,000 33,000 80	
1	1	cellaneous stores				18,500	

#### DEFENCE DEPARTMENT—continued.

Number	Item.			1926–27.	
of Persons. 1926-27.			1920-	-41.	
	-	VOTE No. 29.—DEFENCE DEPARTMENT—contd.	£	£	
		Subdivision No. XI.—Purchases, Maintenance, and Training—continued.	~	~	
		Purchases—continued.			
	19	S.A.A., including refund of Customs Duty	35,000		
	20	Supplies, catering and allowance in lieu of rations for camps, courses of instruction, and general	22,700		
		Maintenance and Training			
	21	Advertising, office requisites, photographs, books, newspapers, training manuals, and other publications	2,000		
	22	Allowance for upkeep of Government bicycles	225		
	23	Camps, maintenance of Burnham, Trentham, Featherston, Ngaruawahia, Narrow Neck, and general			
	24	Compensation in respect of accidents, sickness, and	7,500		
	O.F	damages	350		
	$\begin{array}{c} 25 \\ 26 \end{array}$	Courts of inquiry, expenses in connection with Drill-halls, offices, and buildings (maintenance of,	10		
	20	including building material, stores, insurance, inspection of machinery, and insurance of halls let			
	1	to the public)	7,000		
	27	Efficiency fees, skill at arms	12		
	28	Engraving medals, trophies, prizes, &c., including	900		
	29	pay of Medal Engraver Fees for technical-school training of members of New Zealand Medical Corps in "Invalid cookery"	300 45		
	30	Fuel	175		
	31	Grants to Officers' Clubs for the purpose of providing	2.0		
		military instruction	<b>5</b> 55		
	32	Hire of launches	215		
	33	Horse-hire and provision of horses	4,000		
	34	Horses, permanent maintenance of	250		
	35 36	Law-costs	45		
	37	Libraries at G.H.Q. and Command Headquarters License fees for all motor vehicles and drivers	50 10		
	38	Lighting	2,500		
	39	Maintenance of "Janie Seddon," including cost of	2,000		
	-	fuel, stores, and other charges (exclusive of wages)	600		
	40	Medical fees for examination of officers and trainees	900		
	41	Medicine, medical stores, and attendance, including			
	40	veterinary medicines	<b>5</b> 00		
	42	Offices, rent of, also hire of buildings and parade grounds for drills	3,000		
	43	Ordnance stores and miscellaneous equipment, re-	150		
	44	Pay and allowances of Territorials attending camps			
	4.5	(including casual civilian labour at camps)	32,000		
	45 46	Pay of caretakers of drill-halls and rifle ranges Postages	1,300		
	47	Prizes for rifle shooting for Dominion Regimental	1,660		
	40	District and Area Rifle Meetings	1,800		
	48	Regimental and Cadet bands grant	1,600		
	49	Regimental Funds grant	<b>2</b> , <b>2</b> 50		
	50	Riffe ranges and targets, maintenance of	1,500		
	51	Scavenging, cleaning, and washing	300		
	52 53	Telegraph charges Telephone services, including installation, extensions, maintenance, rent, and calls	120 1,750		
	54	Tram, coach, and ferry fares	2,000		

# ${\tt DEFENCE} \ \ {\tt DEPARTMENT---} continued.$

Number of Persons.	Item.		1926–27.	
1926-27.		VOTE No. 29.—DEFENCE DEPARTMENT—contd.		TO THE RESIDENCE OF THE PROPERTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PARTY OF THE PART
		Subdivision No. XI.—Purchases, Maintenance, and Training—continued.  Maintenance and Training—continued.	£	£
	55 56 57 58 59 60 61 62 63 64	Transport—  Motor-vehicles, hire of Rail fares and freights Shipping charges, freights, cartage, &c. Steamer fares Transfer and removal expenses Travelling-allowances Uniform allowance to members of the Permanent and Territorial Forces Water Contingencies, including unforeseen expenditure incidental to the other items of this subdivision  Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Ammunition £5,000 Clothing 13,000 Hire of Defence vessels 1,150 Insurance of buildings 50 Ordnance stores 3,200 Sale of horses 100 Miscellaneous 2,500	1,800 20,000 8,000 2,225 1,000 5,500 1,800 6,000 400	
		Total—Subdivision No. XI		274,702
		Subdivision No. XII.—Aviation.		
	65	PAY (N.Z. PERMANENT AIR FORCE)—		
1 3 1 3 1 6		1 Captain-Director of Air Services 3 Captains: 1 at £605, 1 at £560, 1 at £520, from 16th July, 1926 1 Lieutenant at 21s. per diem 3 Sergeants, 2 at 18s., 1 at 16s. 4d. per diem 1 Corporal at 17s. 3d. per diem 6 Artificers: 1 at 16s. 6d. per diem from 6th May,	485 1,534 383 955 315	
1 1 3 20	-	1926, 3 at 14s. 10d., 1 at 14s. 10d. per diem from 1st May, 1926, 1 at 14s. 10d. per diem from 31st May, 1926	1,570 301 216 312 62	
		OTHER CHARGES FOR AND INCIDENTAL TO—	6,133	
	66 67	Advertising, books, stationery, office requisites, &c. Buildings, maintenance of and repairs to (including	100 700	
	68	light and power) Clothing, badges, &c., supply, maintenance, and		
	69 70	allowances	100 650 30	

#### ${\bf DEFENCE} \ \ {\bf DEPARTMENT-} continued. \\$

	NOME N. 90 DEFENCE DEDARMENT	1926–27.	
		£	£
7.1		150	
72	Instruction abroad: Allowances and expenses of		
73	Pay, expenses, and supplies in connection with refresher courses	1,500	
74	equipment	19,400	
76	Stores and supplies	3,000	
78	Telephone and telegraph charges	40	
80	Contingencies, including unforeseen expenditure inci-	i	
		10	
	Appropriation Act, 1923 (see end of vote)————————————————————————————————————		
	and public services 350		
	Total —Subdivision No. XII	28,820	34,953
	Subdivision No. XIII.—Non-effective Services.  CHARGES FOR AND INCIDENTAL TO—		
81	Advance by way of loan to College Rifles Club, Limited, for erection of hall (on account)	1,000	
82	Amount required for settlement of outstanding pay of member of New Zealand Expeditionary Force	97	
	O'Neill, Clerk, Defence Department, Wellington	107	
84	non-commissioned officers on loan to New Zealand Cost of printing gradation list and record of personal	72	
96	Force during the Great War	525	
87	coverable) Funeral expenses	3,000 50	
88	Grants— Towards salaries of Y.M.C.A. secretaries at the		
89	Burnham (£100 each) Rewards payable to the Police for securing convic-	300	
90	Defence Act	200	
91 92	Staff Sergeant-Major—Government House Orderly University fees for ex Duntroon College Cadets	365 100	
	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
	Expenses in connection with military £ 3,000		
	73 74 75 76 77 78 79 80 81 82 83 84 85 86 87 88 89 90 91	Instruction abroad: Allowances and expenses of officer undergoing aviation instruction abroad	Subdivision No. XII.—Aviation—continued.  OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Flying pay and allowances: Casual duty flights

### ${\tt DEFENCE\ DEPARTMENT--} continued.$

Number of Persons.	Item.	VOTE No. 29.—DEFENCE DEPARTMENT.—	contd.	1926-	27.
1926–27.	93 94 95	Subdivision No. XIV—National Rifle Association  CHARGES FOR AND INCIDENTAL TO— Grant-in-aid of annual meeting Miscellaneous charges Railway warrants  Total—Subdivision No. XIV	on	1,000 20 450	1,470
	1				
	96 97	Subdivision No. XV.—Rifle Clubs.  CHARGES FOR AND INCIDENTAL TO— Miscellaneous charges Railway warrants		65 500	
		Charges for and incidental to— Miscellaneous charges	1		565
		CHARGES FOR AND INCIDENTAL TO— Miscellaneous charges Railway warrants			
		CHARGES FOR AND INCIDENTAL TO— Miscellaneous charges Railway warrants  Total—Subdivision No. XV			565 529,215 <b>28,350</b>

(a) Credits-in-aid-	_				0	1926–27. ther Charges.
Subdivision	$\mathbf{XI}$					25,0 <b>0</b> 0
"	XII					350
<b>3</b> ,	XIII	• •				3,000
Total			, ,	• •		$\frac{1}{28,350}$

### CUSTOMS DEPARTMENT.

								199	26-27.	
						Salaries		)the	r Charges.	Total.
Vote No. 30	.—Cı	ıstoms De	partment—			£			£	£
Subdivision	n $I$ .	-Customs	Offices and A	Services		94,1	89		18,358	112,547
	11.	-Customs	: Miscellane	eous Service	s	,			62,054	62,054
,			. 1/2/000000000	30 W 201 V 10 C	-					
Gro	oss T	OTAL	• •	• •	• •	94,1	89		80,412	174,601
Cre	DITS	-IN-AID				1,4	<b>↓</b> 50		150	1,600
NE'	т т	OTAL			]-	92,	739		80,262	173,001
Number of Persons.	Item.	77/05	DE N. 00	QII QMQ	MG DED	A TOMBATE			1926	3–27.
1926–27.		Ī	TE No. 30.  vision No.						£	£
	1	*Salari		NISTRATIVE	Divisio	N.	£			
1 1			£1,300 (Con £850 (Assist	ant-Compt	,	•••	1,30	00 50	2,150	
·			C S Special— ut £765	LERICAL D	ivision.	•••	1,5	30		
7		4 8	rt £715 rt £665				2,8		5,055	
10		3 a 6 a	at £615 at £565 at £540		•••	***	$\frac{1,8}{3,3}$		2,000	
		Class 6	s <i>II</i> at £515			•••	3,0		5,775	
8		Clas 19	at £490 s III— at £470		•••	•••	8,9	 30	4,070	
21		Clas 20	at £445 s <i>IV</i> — at £425				8,5		9,820	
27		6 : Clas	at £425 (6 n at £400 s V—	nonths), £4	:00 (6 mo 	nths) 	2,4		11,313	
27		1 : 1 :	at £380 at £380 (6 n at £380 (3 n at £355					68   62		
41			a		•••	•••	~		10,005	I

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

## CUSTOMS DEPARTMENT—continued.

		COSTOMS DEFAITMENT—contin			
Number of Persons.	Item.	VOTE No. 30.—CUSTOMS DEPARTMEN	va.	1926-	27.
1926–27.		continued.	.,		
		Subdivision No. 1.—Customs Offices and Service continued.	vices—	£	£
	1	Salaries—continued.			
		CLERICAL DIVISION—continued.			
	}	Class VI—	£		
		10 at £335 2 at £335 (6 months), £320 (6 months)	3,350 655		
		3 at £335 (5 months), £320 (7 months)	982		
1.0		1 at £335 (4 months), £320 (8 months)	327	!	
17		1 at £320	320	5,634	
		Class VII—		3,001	
		20 at £295 4 at £295 (9 months), £275 (3 months)	5,900		
		1 at £275 (9 months), £250 (3 months)	1,160 $269$		
		1 at £275 (1 month), £250 (11 months)	252		
		5 at £250 (8 months), £230 (4 months) 1 at £250 (6 months), £230 (6 months)	$\begin{array}{c c} 1,217 \\ 240 \end{array}$		
		1 at £250 (1 month), £230 (11 months)	232		
		2 at £230	460		
		1 at £230 (9 months), £210 (3 months) 1 at £230 (7 months), £210 (5 months)	$\begin{array}{c c} 225 \\ 222 \end{array}$		
		6 at £230 (1 month), £210 (11 months)	1,270		
		2 at £210 4 at £210 (6 months), £190 (6 months)	$\frac{420}{800}$		
		2 at £210 (5 months), £190 (7 months)	397		
		3 at £210 (4 months), £190 (8 months)	590 585		
		3 at £210 (3 months), £190 (9 months) 2 at £210 (2 months), £190 (10 months)	387		
		2 at £190	380		
		3 at £190 (11 months), £155 (1 month) 1 at £190 (2 months), £155 (10 months)	561 161		
		1 at £155 (11 months), £135 (1 month)	153		
		2 at £155 (1 month), £135 (11 months) 2 at £135	$\begin{bmatrix} 273 \\ 270 \end{bmatrix}$		
		4 at £135 (11 months), £115 (1 month)	533		
•		1 at £135 (8 months), £115 (4 months)	129		
		1 at £135 (6 months), £115 (6 months) 4 at £135 (2 months), £115 (10 months)	$\begin{array}{c c} 125 \\ 474 \end{array}$		
		2 at £135 (1 month), £115 (11 months)	234		
		1 at £115 1 at £115 (11 months), £95 (1 month)	115 113		
		8 at £115 ( $\grave{2}$ months), £95 (10 months)	787		
	ŀ	2 at £115 (1 month), £95 (11 months) 2 at £95 (6 months), £80 (6 months)	$egin{array}{c c} 194 & & \\ 175 & & \end{array}$		
		3 at £95 (5 months), £80 (7 months)	259		
112		7 at £95 (2 months), £80 (10 months) 6 at £95 (1 month), £80 (11 months)	578 488		
112		o at 250 (1 month), 200 (11 months)		20,628	
-		Cadets' lodging-allowances	•••	497	
		General Division.			
		3 at £305	915		
		1 at £300	3 920		
		14 at £280 1 at £270	$\begin{array}{c c} 3,920 \\ 270 \end{array}$		
		1 at £270 (5 months), £260 (7 months)	265		
		37 at £250 $\dots$ 1 at £245 (9 months), £235 (3 months) $\dots$	$9,250 \begin{vmatrix} 243 \end{vmatrix}$		
		1 at £245 (1 month), £235 (11 months)	236		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$   \begin{array}{c c}     960 \\     235   \end{array} $		
		1 40 4200	-00		

### CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 30.—CUSTOMS DEPARTMENT—	1926-	<b>27.</b>
1926–27.		convinuea.		
		Subdivision No. I. — Customs Offices and Services— continued.	£	£
	1	Salaries—continued.		
		GENERAL DIVISION—continued.		
		1 at £230 230		
		1 at £225 (6 months), £215 (6 months) 220		
		1 at £205 205   2 at £185 370	j	
		1 at £185 (9 months), £175 (3 months) 183		
71		1 at £160 160		
			17,962	
		Non-permanents.  1 at £130 130		
		1 at £130 130   130   117		
3		1 at £78 78		
		Others not specified 405		
305			730	
	1	Coastwaiters at sub-ports (not being classified Customs officers)	250	
		Allowances under Public Service Regulations 24A and	200	
		209 to officers temporarily performing special or	[	
		higher duties	300	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		Charges for services rendered to other		
		Government Departments, &c.— £		
		Land and Income Tax Department 200		
		New Zealand Dairy-produce Control Board 500		
		New Zealand Honey Control Board 50		
		NewZealand Meat Producers Board 250		
	ŀ	To the public 450		
		1,450		
			94,189	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	$\frac{1}{1}$	Advertising, photographs, books, newspapers, and other publications	100	
		Head Office and local offices— £	100	
	3	Launch hire 480		
	4	Lighting, heating, and fuel 270		
	5	Sundry expenses 350		
	6	Uniforms for officers 300	1,400	
	7	Office-cleaning	175	
	8	Office fittings and requisites	300	
		Official Representative, London—		
	9	Special allowance while stationed away from New Zealand	215	
	10	Travelling and general expenses	300	
		Official Representative, New York—	300	
	11	Special allowance while stationed away from New		
	12	Zealand	300	
	$\begin{vmatrix} 12\\13 \end{vmatrix}$	Travelling and general expenses  Overtime and meal allowances	$\begin{array}{c c} 1,200 \\ 1,650 \end{array}$	
	1.0	Payment to other Departments for services of	2,000	
		officers—	j	
	14	Police	10	
	$\begin{array}{ c c } 15 \\ 16 \end{array}$	Post and Telegraph Tourist	4,953	
	17	Working Railways	$\begin{bmatrix} 50 \\ 10 \end{bmatrix}$	
	18	Postage, telegrams, and rent of boxes	1,000	
	10	1 Dougo, totograms, and ront of boxes	-,000	

## ${\tt CUSTOMS\ DEPARTMENT--} continued.$

Number of Persons.	Item.		1926-	27.
1926–27.	 	VOTE No. 30.—CUSTOMS DEPARTMENT— continued.		
		Subdivision No. 1. — Customs Offices and Services—continued.	2	£
	20 21 22	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Prosecutions and seizures and legal expenses Rent of offices Rewards in connection with the protection of the revenue and the detection of offences against the Customs Acts or the Immigration Restriction	150 650	
	23 24 25 26 27 28	Acts Telephone services (including installation, extensions, maintenance, rent, and calls) Testing and gauging instruments Transfer and removal expenses Travelling allowances and expenses Typewriters Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	700 770 200 1,100 1,000 75	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—  Recoveries of postage and legal & and miscellaneous expenses 150	00	
		Total-Subdivision No. $I$ $-$	18,358	112,547
	29	Subdivision No. II.—Customs: Miscellaneous Services.  CHARGES FOR AND INCIDENTAL TO— Censorship Appeal Board— Payment for services of Chairman and members	100	
	30	Compassionate allowance to the widow of the late O. Jones, Searcher, Wellington Customs Building, Wellington	140 400	
	32	Grants— To Cook and Niue Islands Governments of an amount equivalent to the Customs duties collected in New Zealand on goods afterwards		
	33	shipped to those Islands To Main Highways Account, Revenue Fund, of an amount equivalent to the Customs duties collected on tires imported as part of the equipment of motor-vehicles and motor-cycles	2,817	
	34	To Officer on retirement, equivalent to salary in lieu of leave, in terms of Public Service Regulations	358	
	35	Immigration Restriction Act: Administrative expenses Refund of duty on—	15	
	36	Advertising folders, stationery, or similar articles, as may be approved by the Minister of Customs, sent by oversea municipal, or similar bodies, or harbour, railway, steamship, or similar organizations, for free distribution in New Zealand	10	
	37	Baggage not fully complying with the terms of the exemption under the tariff, but being baggage and effects not for sale	20	
	38	Chairs for invalids, and clothing, apparatus, and other articles for persons in poor circumstances who cannot pay the duty	50	

# $A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

### CUSTOMS DEPARTMENT—continued.

Number f Persons.	Item.	VOTE No. 30.—CUSTOMS DEPARTMENT—	1926–	<b>27.</b>
926–27.		Subdivision No. 11.—Customs: Miscellaneous Services —continued.	£	£
		CHARGES FOR AND INCIDENTAL TO—continued.		
	39	Refund of duty on—continued.  Flanders poppies to be sold for relief of French		
		war orphans and the children of the devasted regions in France and for the benefit of returned		
	40	New Zealand soldiers Foodstuffs of a kind not obtainable in New Zea-	353	
		land for the use of the Indian Army Hockey Team while touring New Zealand	6	
	41	Foreign salt shipped for export to New Zealand before the coming into operation of the increased		
		duty of £1 per ton imposed on 16th April, 1925, and sold on basis of previous duty	724	
	42	Memorial cup to perpetuate the memory of the late Albert Walter Manning	11	
	43	Milk pasteurizer on which the full duty was paid but which was afterwards sold for use in a dairy		
	44	factory Miniature rifles and ammunition for same for the	60	
	45	use of Territorials, Cadets, or Rifle Clubs Oil-boring plant and material entered for home	10	
		consumption by the Taranaki Oil Fields, Limited, before 9th April, 1926, and used for the purpose		
		of developing the Taranaki Oil Fields, to the extent of the difference between the British Pre-		
		ferential Tariff and the General Tariff, under conditions approved by the Minister of Customs	4,005	
	46	Orthopædic or surgical boots imported by exsoldiers of the British Empire resident in New		
		Zealand, in such cases as may be approved by the Minister of Customs	10	
	47	Peal of bells donated to St. Paul's Church, Inver- cargill, for erection therein	145	
	48	Printed matter for the use of Boy Scouts, Girl Guides, Navy League and similar patriotic		
		societies, Red Cross Society, and Young Helpers' League, as may be approved by the Minister	40	
	49	Printed matter (including photographs and cinematograph films), advertising Canada and Hawaii,	ĺ	
		sent by the Canadian Government and by the Hawaiian Tourist Bureau for distribution or		
	50	exhibition, free of charge, in the Dominion Prints entitled "The Landing of the Anzacs,"	54	
		donated to schools, training colleges, and similar institutions	20	
	51	Pulp-board for manufacturing purposes, approved by the Minister, which would have been exempt		
		from duty under the Customs Duties Act, 1908, and which was ordered from abroad in error	73	
	52	South African maize which, owing to shipping difficulties, did not arrive in New Zealand until		
		after 1st December, 1925, the date of the coming into operation of increased duty at the rate of		
	53	2s. per cental, less 3 per cent Statuette presented to the Waikato Regiment by	2,137	
		the West Yorkshire Regiment, to which it is affiliated	10	
	54	Uniforms for Highland Pipe Bands, and materials and fittings for making the same	150	
	55	Uniforms not obtainable in New Zealand for Officers of His Majesty's cable ship "Iris," the		
	56	property of the Pacific Cable Board Wireless equipment for ships	50 50	

#### CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1926-	<b>-27.</b>
1926–27.		VOTE No. 30.—CUSTOMS DEPARTMENT—		
1920-21.		continuea.	£	£
		Subdivision No. II.—Customs: Miscellaneous Services—continued.		
٠.		Charges for and incidental to—continued. Refund of—		
	57	Duty, to the extent of the British preferential rate, on racing-boats and spoon-blade oars and sculls imported by or for rowing clubs	200	
	58	Excise duty to the extent of the difference between duty at the rate of 1s. per lb. and duty at the rates payable under section 22 of the	200	
		Finance Act, 1921 (No. 2), on tobacco (cut or uncut) not suitable for the manufacture of cigarettes, and containing not less than 75 per		
		cent. by weight of leaf grown in New Zealand and entered for home consumption not later than		
		30th September, 1926	1,700	
	59	License fees legally due by Customs agents for years during which the licenses were not used	5	
	60	License fees for stills to be used in universities and		
		public hospitals, and for stills not in use sealed up to the satisfaction of the Collector of Customs	30	
•	61	Primage duty on scientific publications containing articles by officers of the Cawthron Institute		
	62	when imported by such officers Supervision fees for breweries paid in excess	1	
		through being overestimated	200	
•		$Total-Subdivision \ No. \ II \ \$		62,05
		Gross Total		174,601
		Credits-in-aid $(a)$	•••	1,600
		NET TOTALVOTE No. 30		173,001

#### (a) Credits-in-aid:—

Subdivision I	Salaries. $\pounds$ 1,450	$\begin{array}{c}  ext{Other} \\  ext{Charges.} \\  ext{\pounds} \\ 150 \end{array}$	1926–27. £ 1,600
Totals	1,450	150	1,600

#### MARINE DEPARTMENT.

•							19	26–27.	
						Salaries.	Othe	r Charges.	Total.
Vote No. 3	1.—M	arine Depar	tment			£		£	£
Subdivisio	n 1.	—Head Office	e			0 7		7 740	***
,,		-Harbours	• • • • • • • • • • • • • • • • • • • •			9,1		1,540	10,658
,, ,,		-Lighthouse				2,2 $16,2$		$2,997 \\ 10,670$	5,219 26,884
,,		-Meteorolog				10, z $1, 8$		4,456	6,311
;,		—Me <b>r</b> cantile				13,3		2,690	16,026
,,		-Inspection	of Machin	ery		20,0		8,720	28,819
,,		-Fisheries	• •			5,2		12,165	17,44
", 1		Governmen					65	20,760	21,528
,,	IX.	— <b>Mis</b> cellane	ous Service	?s	• •			3,000	3,000
Gr	oss T	OTAL			••	68,8	89	66,998	135,887
Cri	EDITS	-IN-AID	• •	••		5	00	6,826	7,326
NE	ET TO	OTAL	••	••		68,3	89	60, 172	128, 561
Number of Persons.  1926–27.	Item.	VOTE	E No. 31	—MARIN	E DEP	ARTMEN	Ф	1926	5–27.
1020-21.				on No. I.			1.	£	£
1320-21.	1	*Salaries-	Subdivisi 	on No. I.	—Head (	Office.	1.	£	£
1	1		Subdivisi — Admin	on No. I.	—Head (	Office.		£ 925	£
	1		Subdivisi — Admir 5 (Secreta	on No. I.	—Head (	Office.			£
	1	1 at £92 1 at £9	Subdivisi — Admir 5 (Secreta	on No. I.  NISTRATIVE  TY)  FESSIONAL  Logineer-in	—Head ( Division Division	Office.			£
1	1	1 at £92 1 at £9	Subdivisi  ADMIR  5 (Secreta: PROP  11 (also E  ks Departr	on No. I.  NISTRATIVE  TY)  FESSIONAL  Logineer-in	—Head ( Division Division  -Chief, F	Office.		925	£
1	1	1 at £92 1 at £9	Subdivisi  ADMIR  5 (Secreta  PROP  11 (also E  ks Departr	on No. I.  NISTRATIVE  TY)  FESSIONAL  Lugineer-in  nent, £1,4	—Head ( Division Division  -Chief, F	Office.		925	£
1	1	1 at £92  1 at £9  Worl  Class 1 1 at	Subdivisi  ADMIN  5 (Secreta: PROP  11 (also E  ks Departr  CI  £615	on No. I.  NISTRATIVE  TY)  FESSIONAL  Lugineer-in  nent, £1,4	—Head ( Division Division  -Chief, F	Office.		925	£
1	1	1 at £92  1 at £9  Worl  Class 1  1 at Class 1	Subdivisi  ADMIN  5 (Secreta: PROF  11 (also E  ks Departr  4—  £615  III—	on No. I.  NISTRATIVE  TY)  FESSIONAL  Lugineer-in  nent, £1,4	—Head ( Division  Division  1-Chief, I  09)	Office.  v. Public	  £	925	£
1	1	1 at £92  1 at £9  Worl  Class 1  1 at  Class 1  1 at	Subdivisi  ADMIR  S (Secreta: PROP  O1 (also E ks Departr  L— £615  III— £470	on No. I.  NISTRATIVE  TY)  FESSIONAL  Lugineer-in  nent, £1,4	—Head ( Division  Division  1-Chief, I  09)	Office.  v. Public	  £ 470	925	£
1	1	1 at £92  1 at £92  Worl  Class 1  1 at  Class 1  1 at  1 at	Subdivisi  ADMIR S (Secreta: PROB O1 (also E ks Departs  L— £615 III— £470 £445	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head Orivision  Division  1-Chief, I  09)	Office.   Public	  £	925 91 615	£
1 1 2	1	1 at £92  1 at £9  Worl  Class 1  1 at  Class 1  1 at  Class V	Subdivisi  ADMIR S (Secreta: PROP O1 (also E ks Departr  L— £615 III— £470 £445	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head O	Office.  Public	  £ 470	925 91 615	£
1	1	1 at £92  1 at £92  Worl  Class I 1 at Class I 1 at 2 at 2 at 3 at	Subdivisi  ADMIN 5 (Secreta: PROP 91 (also E ks Departr CI 4615 III— £4170 £445 II— £380	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head O	Office.  Public	  £ 470	925 91 615	£
1 1 1 2 2	1	1 at £92  Vorl  Class I 1 at Class I 1 at 2 at Class V 2 at Class V	Subdivisi  ADMIN 5 (Secreta: PROF 91 (also E ks Departr  CI 1— £615 III— £470 £445 7— £380 VI—	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head On Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Div	Office.  ON.   Public	 £ 470 445	925 91 615 915 760	£
1 1 2	1	1 at £92  Vorl  Class I 1 at Class I 1 at 1 at Class V 2 at Class V 3 at	Subdivisi  — ADMIN 5 (Secreta: PROF 91 (also E ks Departr  — £615 III— £445 7— £380 III— £335	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head O	Office.  ON.   Public	 £ 470 445	925 91 615	£
1 1 1 2 2	1	1 at £92  Vorl  Class I 1 at Class I 1 at Class V 2 at Class V 3 at Class V	Subdivisi  — Admir 5 (Secreta: Property 01 (also E ks Departy 4615 III— £615 III— £445 II— £380 II— £335 III—	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head On Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Div	Office.  ON.   Public	 £ 470 445 	925 91 615 915 760	£
1 1 1 2 2	1	1 at £92  Vorl  Class I 1 at Class I 1 at 1 at Class V 2 at Class V 3 at	Subdivisi  ADMIN 5 (Secreta: PROF 91 (also E ks Departr  £615 III— £445 7— £380 7I— £335 7II— £295	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head On Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Div	Office.  ON.   Public	 £ 470 445   1,180	925 91 615 915 760	£
1 1 1 2 2	1	1 at £92  Vorl  Class I 1 at Class I 1 at Class V 2 at Class V 3 at Class V 4 at	Subdivisi  ADMIN 5 (Secreta: PROF 91 (also E ks Departr  £615 III— £445 7— £380 7I— £335 7II— £295 £275	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head On Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Div	Office.  ON.   Public	 £ 470 445 	925 91 615 915 760	£
1 1 1 2 2	1	1 at £92  1 at £92  Worl  Class I 1 at Class I 2 at Class V 3 at Class V 4 at 2 at 1 at	Subdivisi  ADMIR  5 (Secreta: PROF  1 (also E ks Departr  £615  III— £470 £445  III— £335  III— £295 £275 £190 £155	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head On Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Division Div	Office.  ON.   Public	£ 470 445   1,180 550 190 155	925 91 615 915 760	£
1 1 1 2 2	1	1 at £92  1 at £92  Worl  Class I 1 at . Class I 2 at . Class V 2 at . 3 at . Class V 4 at . 2 at . 1 at .	Subdivisi  ADMIN  5 (Secreta: PROF  1 (also E  ks Departr  £615  III— £470 £445  7— £335  7II— £295 £295 £190 £155 £135	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head O	Office.  ON.   Public	£ 470 445 1,180 550 190 155 135	925 91 615 915 760	£
1 1 1 2 2	1	1 at £92  1 at £92  Worl  Class I 1 at Class I 2 at Class V 3 at Class V 4 at 2 at 1 at 1 at 1 at 1 at 1 at 1 at 1 at 1	Subdivisi  ADMIN  5 (Secreta: PROF  1 (also E  ks Departr  £615  III— £470 £445  7— £335  7II— £295 £275 £190 £155 £135 £115	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head O	Office.  ON.   Public	£ 470 445 1,180 550 190 155 135 115	925 91 615 915 760	£
1 1 1 2 2	1	1 at £92  1 at £92  Worl  Class I 1 at . Class I 2 at . Class V 2 at . 3 at . Class V 4 at . 2 at . 1 at .	Subdivisi  ADMIR  5 (Secreta: PROF  1 (also E ks Departr  £615  III— £470 £445  7— £335  7II— £295 £190 £155 £115 £95	on No. I.  NISTRATIVE  TY)  Lugineer-in  nent, £1,4	—Head O	Office.  ON.   Public	£ 470 445 1,180 550 190 155 135	925 91 615 915 760	£

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

2,595

## ${\bf MARINE} \quad {\bf DEPARTMENT--} continued.$

Number of Persons.	Item.	VOTE No. 31.—MARINE DEPARTMENT—continued.	1926-	27.
1926–27.		Subdivision No. 1.—Head Officecontinued.	£	£
	1	Salaries—continued.	2	æ
		GENERAL DIVISION.		
		1 at £215 215		
		1 at £205 205		
		2 at £185 370	!	,
5		1 at £160 160	950	
		Non-permanents.	i	
		2 at £208 416   2 at £169 338	İ	
	İ	2 at £109 358 1 at £156 156		
6		1 at £104 104		
	-		1,014	
34		Allowances to officers performing special or higher duties under Public Service Regulations Nos. 24A		•
		and 209	20	
		Proportion of salary of Private Secretary to the Hon.		
		Minister of Marine	130	
	İ	Lodging-allowances	95	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Recoverable from Westport Harbour		
	1	Account for Head Office adminis-		
		tration 500		
		ļ	9,115	
		Other Charges for and incidental to—		
	2	Advertising, photographs, books, newspapers, and other publications	50	
	3	Freight, cartage, and transport charges	10	
	4	Fuel, light, power, and water	20	
	5	Mechanical appliances	20	
	6 7	Office fittings and requisites  Overtime and meal-allowance	200 50	
	8	Postage, telegrams, and rent of boxes	450	
	9	Printing and stationery	450	
	10	Telephone services (including installation, extension,	100	
	11	maintenance, rents, and calls)	100 50	
	$\begin{array}{ c c }\hline 11\\12\\ \end{array}$	Transfer and removal expenses Travelling allowances and expenses	100	
	13	Typewriters: Purchase and repairs	30	
	14	Contingencies (including unforeseen expenditure inci-		
		dental to the other items of this subdivision)	10	
			1,540	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)— Miscellaneous £20		
		Total—Subdivision No. 1		10,655
		Tout Sudawision 10. 1	•	10,000
		Subdivision No. 11.—Harbours.		
	15	Salaries—		
		PROFESSIONAL DIVISION.		
		Class D—		
		Kaipara—   1 at £425	425	
	1	Picton—	420	
2		1 at £385	385	
2.3	ı		(	

### ${\tt MARINE\ DEPARTMENT-} continued.$

Number f Persons.		1926-9	27.
006 07	VOTE No. 31.—MARINE DEPARTMENT—continued		
926-27.	Subdivision No. II.—Harbours—continued.	£	£
15	Salaries—continued.		
	GENERAL DIVISION.		
	Hokianga— £		
	1 at £335 335   1 at £210 210		
	Kaipara—	545	
3	1 at £240	240	
	Unclassified.		
	Awakino—		
	Light-attendant	25	
	Collingwood— Harbourmaster and Lightkeeper	70	
	Karamea—	. 10	
	Harbourmaster, Signalman, and Wharfinger	150	
	Mokau Signalman	90	
	Okarito	30	
	Signalman	50	
	Okuru— Signalman	70	
	Piako Beacons—	10	
	Light-attendant	65	
	Port Waikato— Beacon-attendant	40	
	Waikawa—	10	
	Harbourmaster	12	
10	Waitapu— Harbourmaster	30	
	Contribution to salary of Customs officer at Auckland	25	
15	-	0.000	
		2,222	
	Other Charges for and incidental to—		
16		50	
17   18		110	
	maintenance of	400	
19		TEO.	
20	beacons, and harbour lights)  Launch, Hokianga Harbour: New hull	750 600	
21	Mokau Harbour Board: Grant for assistance	150	
22	Office expenses	50	
$\begin{vmatrix} 28 \\ 24 \end{vmatrix}$		$\begin{bmatrix} 20 \\ 27 \end{bmatrix}$	
25		20	
26	Telephone services (including installation, extensions,		
27	maintenance, rent, and calls)	$\begin{bmatrix} 50 \\ 50 \end{bmatrix}$	
$\frac{27}{28}$		100	
29	Wages	300	
30		300	
31	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	20	
	Hotimoted quality in aid and a Gastian 00 of 11	2,997	
	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
	Miscellaneous £20	;	
į.			

## ${\tt MARINE} \quad {\tt DEPARTMENT--} continued.$

f Persons.	Item.					1926-	27.
926–27.	-	VOTE No. 31	MARINE DEI - continued.	PARTME	ENT		
						£	£
		Subdivision	No. III—Lighti	houses.			
	32	Salaries—					
		Geni	ERAL DIVISION.		£		
		1 at £420	•••	• • •	420		
	1	1 at £295	•••	•••	295		
		7 at £250 15 at £245	• • •	•••	$\frac{1}{2},750$		
		2 at £235	•••		$\frac{3,675}{470}$		
		1 at £230	•••	•••	$\begin{array}{c} 470 \\ 230 \end{array}$	İ	
		3 at £228	•••	•••	684		
	1	3 at £225	•••	•••	675		
	1 :	34 at £210	•••		7,140		
	1 1	1 at £200			200		
		2 at £185	••		370		
71		. 1 at £155	•••		155	4 11 204	
						16,064	
			NCLASSIFIED.				
2		1 at £100 1 at £50	•••	•••	100		
		1 80 2500	•••	•••		150	
73					-		
						16,214	
	33 34 35 36 37 38 39 40 41 42 43 44 45 46 47 48	Other Charges for an Automatic lights, m Books, magazines, a Carriage of mails Fencing (£100 recovering for Fog-signals, cartridg Horses, vehicles, and Keepers' station allowed Medical examination Oil and stores Repairs and mainten Telephone allowance Telephone services (maintenance, rent Transfer and remova Travelling-allowance Wages of temporary Contingencies, includental to the other Appropries.)—	aintenance of and newspapers rerable) ges, and mainted harness: Purowances nance of lighthouses (recoverable) including install is, and calls) al expenses es and expenses keepers uding unforeseement items of this	enance chase and uses, dwel ation, ext n expend subdivisi	tensions,  iture inion	500 100 500 200 600 500 800 50 3,500 1,500 60 400 400 50 1,500	
		Recoveries— Half-cost G	fodley Head fen allowances		£ 100   60   100		

## ${\bf MARINE} \quad {\bf DEPARTMENT--} continued.$

Number of Persons.	Item.	VOTE No. 31MAR	TNE DEDARM	IENT a	mtimus	1926-	27.
1926-27.			. IV.—Meteorolog			£	£
	40		. тү.—метеотою	jioui Ojjioi			æ
	49	Salaries—	D				
		Class $A$ —	essional Division	Ν.			
1		1 at £665	•••	•••	•••	665	
1		Class C1 at £490	•		•••	490	
		CL	ERICAL DIVISION.				
		Class VII—	21,1320111	i	£		
2		1 at £295 1 at £135	•••	•••	$egin{array}{c} 295 \ 135 \end{array}$		
4				•••		430	
1		GE1 1 at £185	NERAL DIVISION.			185	
1		T WA WITOO	•••	•••	••	i .	
0			Unclassified.			0.5	
8		8 Local Reporters	•••	• • •		85	
13		047	7 1 1 7 1 1 1			1,855	
	50	Other Charges for an District weather-re		establishı	nent of	50	
	51	Fuel, light, power	, and water			20	
	52 53	Instruments: Pur				200	
	54	Observatories, mai	intenance of	• • • • • • • • • • • • • • • • • • • •		$\begin{bmatrix} 30 \\ 20 \end{bmatrix}$	
	55	Office fittings and	requisites	•••		50	
	56	Postage, telegrams	s, and rent of box	es		3,450	
	57	Printing and static	onery	•••	•••	250	
	58 59	Rent Telephone services	(inaluding instal	lation ext	ongiong	256	
	00	maintenance, re			ensions,	70	
	60	Travelling allowan	ces and expenses	• • •		50	
	61	Contingencies, inc	cluding unforesee other items of this			10	
			311 1 2 3	a •		4,456	
			edits-in-aid under ation Act, 1923 (s				
		Sale of inst	ruments		£10		
		Miscellaneo	ous	•••	10		
	-				20		
		Total-	$-Subdivision \ No.$	<i>IV</i>			6,311
				•			
		Subdivision N	o. V.—Mercantil	e Marine.			
	62	Salaries—					
			ESSIONAL DIVISIO	N.			
1		1 at £765	•••	• • • • • •	e	765	
		Class B— 5 at £590			2,950		
7	İ	2 at £540	•••	· · · · · · · · · · · · · · · · · · ·	1,080		
						4,030	
		Class - C—			3 000		
9		8 at £490 1 at £470	•••		$\begin{bmatrix} 3,920 \\ 470 \end{bmatrix}$		
				•		4,390	

## MARINE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 31.—MA	DING DEDARM	MENT am	timand	1926–9	27.
1926–27.	 	Subdivision No. V.			j	£	е
	60			rtnecontin	ueu.	, <b>2</b> 5	£
	62	Salaries—continue		. 7			
			al Division—cor	itinued.	Ì		
		Class D— 1 at £425			£ 425		
3		2 at £400			800	1 00#	
			LERICAL DIVISION	•		1,225	
		Class VII—	,		<b>500</b>		
		2 at £295 1 at £250	•••	***	$ \begin{array}{c c} 590 \\ 250 \end{array} $		
4		1 at £155	•••	• • • •	155		
*		1 00 2100	•••	•••		995	
		1	ENERAL DIVISION				
		2 at £420	•••	• • •	840		
3		1 at £335	•••	• • •	335	1 175	
			Unclassified.			1,175	
		Shipping Officer,	Onehunga	• • •		50	
4		Shipping Officer,		•••	• • • •	25	
4		2 Load-line Insp	ectors at £10	***.	•••	20	
		1	Non-permanents.				
		1 at £247	•••	•••	247		
4		2 at £130 1 at £91	• • •	•••	$\frac{260}{91}$		
4		1 80 291	•••	• • •	91	598	
35		Contribution to	Post and Telegra	ph Departm	ent for	000	
	-	services perfo	ormed by Postmas			25	
		Overall allowand				18	
		Public Service	ficers performing Regulation 209	nigner auties	under	20	
						13,336	
	Co	Other Charges for			6 6 6		
	63	other publicat	otographs, books	пемврарег		100	
	64		Expenses connect	ed with		420	
	65	Fuel, light, power		••		20	
	66	Inquiries into sh	ipping casualties	•••		600	
	67	Office fittings an	d requisites	•••		250	
	68		ns, and rent of bo			150	
	69	Printing and star		Goomon Aut		400	
	70 71	Rent	der Shipping and	beamen Act	•••	100 130	
	$\frac{71}{72}$		es (including insta	llation. exte	nsions.	190	
	"		rent, and calls)			200	
	73	Transfer and ren	noval expenses	•••	•••	200	
	74	Travelling allow	ances and expense			100	
	75		ncluding unforese		1 L	00	
		cidental to the	e other items of th	is subdivisio	n		
					}	<b>2</b> ,690	
	-		eredits-in-aid und			.	
			riation Act, 1923				
			of costs of nautical	l inquiries	£50	!	
		Miscellan	eous	•••	10		
					60		
		To	tal-Subdivision .	No. V	• • •		16,0

### MARINE DEPARTMENT --continued.

umber Persons.	Item.	VOTE No. 31	-MARINE DEP.	ARTMEN	NT—	1926–	27.
26–27.		Subdivision No. 1	71.—Inspection of Survey of Ships.	Machine	ry and	£	£
	76	SALARIES-	Б.				
1		1 at £765	FESSIONAL DIVISIO			765	
1		Class B—	•••		$\mathfrak{E}_{\dots}$	100	
		4 at £590	•••		2,360		
		1 at £565			565		
17		12 at £540	•••		6,480		
		$Class\ C$				9,405	
		1 at £495	•••		495		
0		6 at £490	• • •	• • •	2,940		
8		1 at £470	***	• • •	470	0.005	
		$Class\ D \ 8\ { m at}\ \pounds 425$			9 400	3,905	
12		4 at £400	• • •	•••	3,400 1,600		
14		ተ ል፣ ዴታህህ	•••	•••	1,000	5,000	
		Cr.	ERICAL DIVISION.			5,000	
		Class VII—				manana amu	
		1 at £275	•••		275		
2		1 at £250	•••		250		
		_	_			525	
			Non-Permanents.		200		
0		1 at £200	•••	• • •	200		
2		1 at £104	•••	• • •	104	304	
42	-[					304	
	-		fficers performing Public Service Re				
			Public Service Re			20 175	
		duties under l 209 Overall allowanc	Public Service Re  es		24A and	1	•
	77	duties under 1 209 Overall allowanc Other Charges for a	Public Service Reger es and incidental to—	gulations 	24A and	175	
	77	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho	Public Service Resease  es  and incidental to— btographs, books,	gulations 	24A and	175	
	77	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho- other publicati	Public Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research	gulations   newspap	24A and	20,099	
	į	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: 1 Fuel, light, power	es  es  ind incidental to— otographs, books, ons  Expenses connected or, and water	gulations   newspap	24A and	20,099	
	78 79	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: 1 Fuel, light, powe Motor-vehicles—	es  es  ind incidental to— otographs, books, ons  Expenses connected or, and water	gulations   newspap	24A and	20,099 50 200 200 20	·
	78 79 80	duties under 1 209 Overall allowance Other Charges for a Advertising, pho- other publicati Examinations: 1 Fuel, light, power Motor-vehicles— Maintenance	Public Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research	gulations   newspap	24A and	20,099 50 200 200 20 400	
	78 79 80 81	duties under 1 209 Overall allowance Other Charges for a Advertising, pho- other publicati Examinations: 1 Fuel, light, power Motor-vehicles— Maintenance Purchase of	Public Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research Service Research	gulations   newspap	24A and	20,099 50 200 200 20 400 320	
	78 79 80 81 82	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: 1 Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning	es  es  ond incidental to— otographs, books, ons  Expenses connecter, and water	gulations   newspap	24A and	20,099 50 200 20 400 320 20	
	78 79 80 81 82 83	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an	es  es  ond incidental to— otographs, books, ons  Expenses connected, and water d requisites	gulations newspar d with	24A and	20,099 50 200 200 20 400 320	·
	78 79 80 81 82	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr	es  and incidental to— btographs, books, ons  Expenses connected, and water d requisites aph Department:	newspar d with	ers, and t for ser-	20,099 50 200 20 400 320 20 200	
	78 79 80 81 82 83 84	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered	es  es  md incidental to— tographs, books, ons  Expenses connecte r, and water  d requisites aph Department: (collection of insp	newspar d with Paymen ection fee	ers, and t for sers)	20,099  50 200 20 400 320 20 200 600	
	78 79 80 81 82 83	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and stat	es  and incidental to— btographs, books, ons  Expenses connected, and water  d requisites aph Department: (collection of inspens, and rent of boottonery	newspap d with Paymen ection fee	24A and t for sers)	20,099 50 200 20 400 320 20 200	
	78 79 80 81 82 83 84 85	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and stat	es  and incidental to— btographs, books, ons  Expenses connected, and water  d requisites aph Department: (collection of inspens, and rent of boottonery	newspap d with Paymen ection fee	24A and t for sers)	20,099  50 200 20 400 320 20 200 600 350	
	78 79 80 81 82 83 84 85 86 87 88	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and stat Prosecutions und Rent	es  es  end incidental to— otographs, books, ons  Expenses connected, and water  d requisites aph Department: (collection of inspens, and rent of boottonery ler the Inspection	newspap d with Paymen ection fee ces of Mach	24A and  pers, and  t for ser- s)  inery Act	20,099  50 200 20  400 320 20 200 600 350 450	
	78 79 80 81 82 83 84 85 86 87	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and state Prosecutions und Rent Telephone service	es  es  end incidental to— otographs, books, ons  Expenses connected, and water  d requisites aph Department: (collection of inspens, and rent of boottonery ler the Inspection es (including insta	newspap d with Paymen ection fee ces of Mach	24A and  pers, and  t for ser- s)  inery Act  ttensions,	20,099  50 200 20  400 320 20 200 600 350 450 50 300	
	78 79 80 81 82 83 84 85 86 87 88 89	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and stail Prosecutions und Rent Telephone servic maintenance, 1	es  es  end incidental to—  tographs, books, ons  Expenses connected or, and water   d requisites aph Department: (collection of inspens, and rent of booking or and collection of inspens, and rent of booking or and rent of booking  ler the Inspection es (including instatent, and calls)	newspap d with Paymen ection fee kes of Mach llation, ex	24A and  pers, and  t for sers)  inery Act  tensions,	20,099  50 200 20  400 320 20 200 600 350 450 50 300	
	78 79 80 81 82 83 84 85 86 87 88 89 90	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and stail Prosecutions und Rent Telephone servic maintenance, i Transfer and ren	es  es  end incidental to— tographs, books, ons  Expenses connected, and water  d requisites aph Department: (collection of inspens, and rent of books) tionery ler the Inspection es (including instatent, and calls) toval expenses of	newspap d with Paymen ection fee tes of Mach llation, ex	ers, and t for sers) inery Act ttensions,	20,099  50 200 20  400 320 20  600 350 450 50 300  250 500	
	80 81 82 83 84 85 86 87 88 89 90 91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegran Printing and star Prosecutions und Rent Telephone servic maintenance, I Transfer and ren Travelling allowa	es  es  end incidental to—  tographs, books, ons  Expenses connected or, and water   d requisites aph Department: (collection of inspens, and rent of bookionery ler the Inspection es (including instated on the content of the content on the content on the content on the content on the content on the content on the content on the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the c	newspap d with Paymen ection fee ses of Mach llation, ex officers s	ers, and  t for sers)  inery Act  ttensions,	20,099  50 200 20  400 320 20 200 600 350 450 50 300	
	78 79 80 81 82 83 84 85 86 87 88 89 90	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and star Prosecutions und Rent Telephone servic maintenance, I Transfer and ren Travelling allowa Contingencies, in	es  es  end incidental to—  tographs, books, ons  Expenses connected or, and water   d requisites aph Department: (collection of inspens, and rent of bookionery ler the Inspection es (including instated or and calls) noval expenses of ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances	newspap d with Paymen ection fee ces of Mach llation, ex officers s en expend	24A and  pers, and  t for sers)  intery Act  ttensions,  diture in-	20,099  50 200 20  400 320 20  600 350 450 50 300 250 500 5,000	
	80 81 82 83 84 85 86 87 88 89 90 91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and star Prosecutions und Rent Telephone servic maintenance, I Transfer and ren Travelling allowa Contingencies, in	es  es  end incidental to—  tographs, books, ons  Expenses connected or, and water   d requisites aph Department: (collection of inspens, and rent of bookionery ler the Inspection es (including instated on the content of the content on the content on the content on the content on the content on the content on the content on the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the content of the c	newspap d with Paymen ection fee ces of Mach llation, ex officers s en expend	24A and  pers, and  t for sers)  intery Act  ttensions,  diture in-	20,099  50 200 20  400 320 20  600 350 450 50 300  250 500	
	80 81 82 83 84 85 86 87 88 89 90 91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegrar Printing and star Prosecutions und Rent Telephone servic maintenance, I Transfer and ren Travelling allowa Contingencies, in	es  es  end incidental to—  tographs, books, ons  Expenses connected or, and water   d requisites aph Department: (collection of inspens, and rent of bookionery ler the Inspection es (including instated or and calls) noval expenses of ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances and expense or ances	newspap d with Paymen ection fee ces of Mach llation, ex officers s en expend	24A and  pers, and  t for sers)  intery Act  ttensions,  diture in-	20,099  50 200 20  400 320 20  600 350 450 50 300  250 5,000 10	
	80 81 82 83 84 85 86 87 88 89 90 91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, phosphore other publications: I Examinations: I Fuel, light, power Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings and Post and Telegranders of Postage, telegranders of Printing and start Prosecutions und Rent Telephone service maintenance, in Transfer and rentravelling allowation contingencies, in cidental to the	es  and incidental to— btographs, books, ons  Expenses connected, and water  d requisites aph Department: (collection of inspens, and rent of bootionery ler the Inspection es (including instated and calls) noval expenses of ances and expense other items of thi	newspap d with Paymen ection fee ses of Mach Officers s en expends s subdivis	24A and  Ders, and  t for sers)  inery Act  tensions,  diture in- ion	20,099  50 200 20  400 320 20  600 350 450 50 300 250 500 5,000	
	78   79   80   81   82   83   84   85   86   87   88   89   90   91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, phosphore other publications: I Fuel, light, power Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings and Post and Telegrostage, telegrar Printing and star Prosecutions und Rent Telephone service maintenance, I Transfer and rem Travelling allowated Contingencies, in cidental to the	es  and incidental to— btographs, books, ons  Expenses connected or, and water  d requisites aph Department: (collection of inspens, and rent of bookionery ler the Inspection es (including instated and calls) noval expenses of ances and expense other items of thi redits-in-aid unde	newspap newspap d with Paymen ection fee ees of Mach llation, ex officers s en expends s subdivis	24A and  Ders, and  t for sers)  inery Act  tensions,  diture in- ion  22 of the	20,099  50 200 20  400 320 20  600 350 450 50 300  250 5,000 10	
	78   79   80   81   82   83   84   85   86   87   88   89   90   91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegran Printing and stai Prosecutions und Rent Telephone servic maintenance, i Transfer and ren Travelling allowa Contingencies, in cidental to the  Estimated c Appropri	es  and incidental to— btographs, books, ons  Expenses connected, and water  d requisites aph Department: (collection of inspens, and rent of bootionery ler the Inspection es (including instated and calls) noval expenses of ances and expense other items of thi	newspap newspap d with Paymen ection fee ees of Mach llation, ex ss s en expends s subdivis r Section see end of	24A and  Ders, and  t for sers)  inery Act  ttensions,  liture in- ion  22 of the vote)—	20,099  50 200 20  400 320 20  600 350 450 50 300  250 5,000 10	
	78   79   80   81   82   83   84   85   86   87   88   89   90   91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, pho other publicati Examinations: I Fuel, light, powe Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings an Post and Telegr vices rendered Postage, telegran Printing and stai Prosecutions und Rent Telephone servic maintenance, i Transfer and ren Travelling allowa Contingencies, in cidental to the  Estimated c Appropri	es  es  end incidental to— otographs, books, ons  Expenses connected or, and water  d requisites aph Department: (collection of insp ns, and rent of bootionery ler the Inspection es (including insta rent, and calls) noval expenses of ances and expense other items of thi redits-in-aid unde riation Act, 1923 ( xpenses of special i	newspap newspap d with Paymen ection fee ees of Mach llation, ex ss s en expends s subdivis r Section see end of	24A and  Ders, and  t for sers)  inery Act  ttensions,  liture in- ion  22 of the vote)—	20,099  50 200 20  400 320 20  600 350 450 50 300  250 5,000 10	
	78   79   80   81   82   83   84   85   86   87   88   89   90   91	duties under 1 209 Overall allowanc  Other Charges for a Advertising, phosophore publicati Examinations: I Fuel, light, power Motor-vehicles— Maintenance Purchase of Office-cleaning Office fittings and Post and Telegranders and Telegranders and star Prosecutions und Rent Telephone service maintenance, I Transfer and rent Travelling allowal Contingencies, in cidental to the Estimated of Appropring Refunds et allowance of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start of the start	es  es  end incidental to— otographs, books, ons  Expenses connected or, and water  d requisites aph Department: (collection of insp ns, and rent of bootionery ler the Inspection es (including insta rent, and calls) noval expenses of ances and expense other items of thi redits-in-aid unde riation Act, 1923 ( xpenses of special i	newspap newspap d with Paymen ection fee ees of Mach llation, ex ss s en expends s subdivis r Section see end of	24A and  Ders, and  t for sers)  inery Act  ttensions,  liture in- ion  22 of the vote)— s £150	20,099  50 200 20  400 320 20  600 350 450 50 300  250 5,000 10	

## MARINE DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 31.—MARINE DEPARTMENT— continued.	1926–	<b>27.</b>
1926–27.	, ,	$Subdivision\ No.\ VIIFisheries.$	£	£
1	93	Salaries—  Professional Division.  Class $A$ —  1 at £615	615	
		GENERAL DIVISION.		
11	The state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the s	2 at £380        760         1 at £335        335         1 at £295        295         1 at £250        250         3 at £240        720         2 at £230        460         1 at £200        200	3,020	
	Ì	Unclassified.		
32		32 Inspectors: 3 at £40, 5 at £25, 1 at £20, 10 at £12, 8 at £10, 1 at £7 10/, 2 at £6, 2 at £5	495	
3		Non-permanents.  1 at £750 750 1 at £325 325 1 at £78 78		
47	-	<u>-</u>	1,153	
		Other Charges for and incidental to—	5,283	
	94 95 96 97 98 99 100 101 102 103 104 105 106 107 108	Advertising, photographs, books, newspapers, and other publications  Collection and distribution of brown-trout ova Grant for maintenance of Portobello Fish-hatcheries Kaikoura Fishermen's Harbour: Repairs Maintenance and working-expenses of launches Nugget Bay Fishermen's Harbour: Repairs Office fittings and requisites Picking and sale of oysters (recoverable) Planting oysters (recoverable) Prosecution under the Fisheries Act, 1908 Rewards for detection of offences under Fisheries Acts Salmon fisheries, expenses in connection with Sea fisheries investigation Telephone services (including installation, extensions, maintenance, rent, and calls) Transfer and removal expenses of officers Travelling allowances and expenses Contingencies, including unforeseen expenditure in cidental to the other items of this subdivision	50 20 775 200 1,000 100 6,000 600 200 50 1,500 500 60 100 900	
	111	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Sale of trout ova £50 Miscellaneous 10  60  Total—Subdivision No. VII  Subdivision No. VIII.—Government Steamers.	12,165	17,448
	TIT	Salaries— Professional Division.		
1		1 at £765	765	
			765	

MARINE	DEPARTMENT-	-continued.

Subdivision No. VIII.—Government Steamers—contd.	Number of Persons.	Item.	VOTE No. 31MARINE DEPARTMENT	1926-	-27.
OTHER CHARGES FOR AND INCIDENTAL TO—   Working-expenses of lighthouse and harbour vessels, including wages, maintenance, repairs, replacements, and other expenses incidental to their upkeep	1926–27.	-   	continued.		
112   Working-expenses of lighthouse and harbour vessels, including wages, maintenance, repairs; replacements, and other expenses incidental to their upkeep			Subdivision No. VIII.—Government Steamers—contd.	£	£
Contingencies, including unforeseen expenditure incidental to the other items of this subdivision   10		112	Working-expenses of lighthouse and harbour vessels, including wages, maintenance, repairs, replacements, and other expenses incidental to their	20.750	
Restimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—  Freight, passages, and hire		113	Contingencies, including unforeseen expenditure in-		
Restimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—  Freight, passages, and hire				20.760	
Subdivision No. IX.—Miscellaneous Services.   CHARGES FOR AND INCIDENTAL TO—			Appropriation Act, 1923 (see end of vote)—	20,100	
Charges for and incidental to—			Total—Subdivision No. VIII		21,52
114			Subdivision No. IX.—Miscellaneous Services.		
115					
Checking passenger traffic					
New Zealand Nautical Almanac (part recoverable)   650			Unarts (recoverable)		
118			New Zealand Nautical Almanac (part recoverable)	1	
land Representative, &c			Relief of distressed seamen	- 1	
120		119	Ross Sea Dependency: Expenses of New Zea-		
Subsidy to Bluff-Stewart Island Steamer Service (£666 recoverable)		100			
122   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000   1,000				100	
Tide-tables, preparation of (Lands Department)   War medals and ribands for crews of mercantile marine vessels		121		1.000	
Marine vessels		122			
Contingencies, including unforeseen expenditure incidental to the other items of this subdivision  Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Sales: Nautical Almanac £150 Charts 250 Saleable books and forms 150 Miscellaneous 10 Portion subsidy Bluff-Stewart Island Steamer Service— Vote, Post and Telegraph Working-expenses 333 Vote, Department of Tourists and Health Resorts 333  Total—Subdivision No. IX 3,  Gross Total		123		2.2	
cidental to the other items of this subdivision  Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Sales: Nautical Almanac £150 Charts 250 Saleable books and forms 150 Miscellaneous 10  Portion subsidy Bluff-Stewart Island Steamer Service— Vote, Post and Telegraph Working-expenses 333  Vote, Department of Tourists and Health Resorts 333  Total—Subdivision No. IX 3,  Gross Total 3,  CREDITS-IN-AID (a) 7,		104		20	
Appropriation Act, 1923 (see end of vote)— Sales: Nautical Almanac £150 Charts 250 Saleable books and forms 150 Miscellaneous 10 Portion subsidy Bluff-Stewart Island Steamer Service— Vote, Post and Telegraph Working-expenses 333 Vote, Department of Tourists and Health Resorts 333  Total—Subdivision No. IX 3,6  Gross Total 3,7  CREDITS-IN-AID (a) 7,7	,	124		10	
Charts 250 Saleable books and forms 150 Miscellaneous 10 Portion subsidy Bluff-Stewart Island Steamer Service— Vote, Post and Telegraph Working-expenses 333 Vote, Department of Tourists and Health Resorts 333  Total—Subdivision No. IX 3,6  GROSS TOTAL 3,6  CREDITS-IN-AID (a) 7,7			Appropriation Act, 1923 (see end of vote)—		
Saleable books and forms   150   Miscellaneous     10   Portion subsidy Bluff-Stewart Island Steamer Service—   Vote, Post and Telegraph Working-expenses     333   Vote, Department of Tourists and Health Resorts     333					
Miscellaneous 10 Portion subsidy Bluff-Stewart Island Steamer Service— Vote, Post and Telegraph Working-expenses 333 Vote, Department of Tourists and Health Resorts 333  Total—Subdivision No. IX 3,6  Gross Total		İ			
land Steamer Service—       Vote, Post and Telegraph Working-expenses					
Vote, Post and Telegraph Working-expenses        333         Vote, Department of Tourists and Health Resorts        333         Indicated Subdivision No. IX         3,4         Gross Total           135,4         Credits-in-aid (a)           7,4					
ing-expenses 333  Vote, Department of Tourists and Health Resorts 333  1,226  Total—Subdivision No. IX 3,  Gross Total					
Vote, Department of Tourists and Health Resorts       333         1,226       1,226         Total—Subdivision No. IX          Gross Total          CREDITS-IN-AID (a)          Total—Subdivision No. IX          3,4          135,4          7,5					
Total—Subdivision No. IX 3,  Gross Total			Vote, Department of Tourists	į	
Total—Subdivision No. IX 3,  Gross Total		1	and Health Resorts 333		
Gross Total			1,226		
Credits-in-aid (a) 7,				-	3,00
				•••	135,88
NEI TOTALI—VOLE NO. 51   — — 128,			` '		7,320
Other		1 '			128,56

			Other	
(a.) Credits-in-aid:—		Salaries.	Charges.	1926-27.
		£	£	[£
${f Subdivision}  {f I}$		500	20	520
,, II			20	20
,, III			260	260
,, IV	- •		20	20
,, V			60	60
,, VI			160	160
" VII			60	60
,, VIII			5,000	5,000
,, IX			1,226	$1$ , ${f 22}6$
$\operatorname{Totals}$		500	6,826	7,326

1926-27.

## DEPARTMENT OF LABOUR.

				Salaries	. Oth	ner Charges.	Total.
Vote No. 3	2.—D	epartment of Labour-		£		£	£
GF	oss T	TOTAL		36,0	17	20,069	56,086
		-IN-AID			:	1,000	1,00
			••		45		
NI	ET TO	OTAL	••	36,0	17	19,069	55,080
Number of Persons.	Item.					1926	3-27.
1926–27.	-	VOTE No. 32.—	DEPARTMENT	OF LABO	UR.		I
1320-21.	1	*Salaries—				£	£
		Admin	NISTRATIVE DIVISIO	on.		i i	
1		1 at £850 (Secre	etary, Chief Inspec	etor of Fac	ctories,	1	
		Registrar Ind Apprentices)	ustrial Unions, a	nd Regist	rar of	850	
		<u> </u>	Deverage				4
		Class I—	ERICAL DIVISION.				
1		1 at £615				615	
1		$Class~II \ 1~$ at £515				515	
•	1	Class III—	•••	•••	£		
		1 at £470	•••	•••	470		
3		2 at £445	•••	•••	890	1 000	}
1		Class~IV— 1 at £425				1,360 425	
1		Class V—	•••	•••	•••	420	
1	1	1 at £380				380	
_		Class VI—				1	
5	1	5 at £335	•••	•••	• • •	1,675	
	!	Class VII—			1 4075		
		5 at £295	•••	• • •	1,475		
	:	1 at £275 1 at £250	•••	•••	$\frac{275}{250}$		
	1	3 at £230	•••	•••	690		
	: 1	3 at £210	•••	,	630		
	·	2 at £190	•••		380		
		4 at £135	•••	•••	540		
		4 at £115	•••	•••	460		
24		1 at £95	•••	•••	95		
		O.	ann a December			4,795	
		1 at £420	ENERAL DIVISION.		420		
		4 at £420	•••	•••	1,600		
		2 at £390	• •	• • •	780		
		1 at £380	•••	•••	380		
		Tan mooo	• • •		900	1	

^{*} For particulars of salaries see "Public Service Classification List."

Norg.—Scale salaries or wages include cost-of-living increase.

## ${\tt DEPARTMENT} \ \ {\tt OF} \ \ {\tt LABOUR--} continued.$

Number of Persons.	Item.	VOTE No. 32DEPAR	RTMENT (	)F LAB(	OUR—	1926-	27.
1926–27.		cont	tinued.		-		
	1	Salaries—continued.				£	£
		GENERAL DIV	ision—conti	nued.	£		
		<b>6</b> at £350	•••		2,100		
		12 at £335		•••	4,020		
		11 at £320 4 at £305	•••	•••	$\begin{array}{c c} 3,520 \\ 1,220 \end{array}$		
-		3 at £295			885		
		1 at £285	•••		285	ŀ	
		3 at £270	•••	•••	810		
		1 at £255 1 at £225	•••		$\begin{array}{c c} 255 \\ 225 \end{array}$		
		1 at £205	•••	•••	205	ĺ	
		7 at £185	•••	•••	1,295		
64		2 at £175	•••	•••	350	10 000	
		Ti				19,830	
			ASSIFIED.				
		3 at £615	•••	•••	1,845		
4		1 at £515	•••	•••	515	0.960	
		Non-Pei	RMANENTS.			2,360	
		2 at £313 (1 for 5 mont		nonths			
		approximately)	•••	•••	216		
		1 at £305 1 at £305 (7 months)	•••	•••	305   178		
		1 at £247			247		
		1 at £208			208		
	1	2 at £208 (1 for 4 month	hs, 1 for 3 n	nonths	100		
		approximately) 2 at £169	•••	•••	120 338		
		1 at £156		•••	156		
		3 at £143		•••	429		
		1 at £130 2 at £117	•••	• • •	130		
		1 at £104	• • •	•••	$\begin{vmatrix} 234 \\ 104 \end{vmatrix}$		
22		4 at £91		•••	364		
			, ,	3		3,029	
127		Administration of Sheat Department of Agrica		ımodatıoı	n Act by	350	
	i i	Allowances to officers to		oerformin	g special	500	
		or higher duties (Pu	ablic Servic	e Regulat	ions 24A		
		and 209)	 D	•••	f T	50	
		Allowances to Officers acting as Clerks of A		irtment o	Justice	135	
	i	Lodging-allowances		•••		100	
		Salary of special officer		ck House	appren-		
		tices (2 months at £4)	00)	• • •		65	
					-	36,534	
		Less salaries provi	ded but no	t require	d for full	50,001	
		year	• • •	• • • • • • • • • • • • • • • • • • • •		517	
						96 017	
		OTHER CHARGES FOR AND	INCIDENTA	ь то—		36,017	
	2	Advertising, photograph other publications		newspap	ers, and	300	
	3	Allowances to police a	and other	officers a		1,000	
	4	Arrears of wages collect	cted on beh		Walker	-,500	
		and paid in error to so	ome person			5	
	5	Bicveles, motor-cycles, Maintenance of and re			£ 50		
		Purchase of	charra 10	•••	50		
		•				100	

## ${\tt DEPARTMENT\ OF\ LABOUR-} continued.$

Number of Persons.	Item.	WORM W. ac. DED DEWNINE OF LABOUR	1926-	-27.
1926–27.	 	VOTE No. 32.—DEPARTMENT OF LABOUR—  continued.	£	£
	6	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Expenses, Medical Referees, under the Workers'	æ	æ
	7	Compensation Act, 1908 Fares, board and lodging, and supplies advanced to	10	**
		persons proceeding to employment (part recoverable)	250	
	8	Fees to— Acting members of the Court of Arbitration	50	
	9	Assessors of Industrial Councils Chairmen of Labour Disputes Investigation	1,000	
	11	Committees Footwear Regulation Act, 1913: Purchase of boots	50	
	12	and shoes under section 5 (3) of the Freight, cartage, and transport charges (part re-	10	
	13 14	coverable) Fuel, light, and water	$\begin{vmatrix} 120 \\ 200 \end{vmatrix}$	
	15	Industrial Conciliation and Arbitration Act, cost of special typewritten reports under Law-costs (part recoverable)	$\begin{bmatrix} 25 \\ 200 \end{bmatrix}$	
	16	Motor-cars—  Maintenance of and repairs to	1,200	
	17	Purchase of	1,350	
	$egin{array}{ c c c c c c c c c c c c c c c c c c c$	Office fittings and requisites	$\frac{300}{30}$	
	20	Overtime and meal allowances Postage, telegrams, and rent of letter-boxes	1,200	
	$\frac{20}{21}$	Deinting and station and	2,800	
	$\frac{22}{22}$	Rates and repairs, &c., of dwelling-house used for	2,000	
		official purposes	20	
	23	Renovations, Head Office	300	
	24	Rent and rates of office accommodation	1,050	
	25	Telephone services (including installation, extensions,		
	0.0	maintenance, rent, and calls)	500	
	26	Transfer and removal expenses	700	
	$\begin{bmatrix} 27 \\ 28 \end{bmatrix}$	Travelling allowances and expenses	$\begin{bmatrix} 5,720 \\ 79 \end{bmatrix}$	
	29	Travelling-expenses of two officers visiting Australia Typewriters and other office appliances: Purchase and repairs	100	
	30	Weights and Measures Act: Purchase and repair of standard weights, scales, measures, &c.	1,350	
	31.	Contingencies, including unforeseen expenditure incidental to the other items of the vote	50	
		Estimated credits-in-aid under Section 22 of		
		the Appropriation Act, 1923 (see end of		
	- 1	$\mathrm{vote})$ — £		
		Fares 250		
	1	$egin{array}{ccccc} { m Freight} & \dots & \dots & 100 \ { m Law\text{-costs}} & \dots & \dots & 100 \ \end{array}$		
		Sale of publications 100		
	-	Services to Government Statistician 210		
		Travelling-expenses 240	[	
i		Miscellaneous 50		
		1,000		
			20,069	<b>#</b> A
		GROSS TOTAL		56,086
		· CREDITS-IN-AID	-	1,000
		NET TOTAL—VOTE No. 32		55,086

### DEPARTMENT OF LANDS AND SURVEY.

		1926–27.			
_	-	Salaries.	Other Charges.	Total.	
Vote No. 33.—Department of Lands and Survey—		£	£	£	
Subdivision I.—Administration		189,582	75,950	265,532	
" II.—Miscellaneous Services		•••	32,417	32,417	
Gross Total		189,582	108,367	297,949	
Credits-in-aid		75,867	40,433	116,300	
NET TOTAL		113,715	67,934	181,649	

_ NE	T TC	TAL		113,	715	67,934	181,649
Number of Persons.	Item.		-DEPARTMENT AND SURVEY.	OF LA	NDS	1926-	-27.
1926-27.			n No. I.—Admini	stration.		£	£
	1	*Salaries—	***				
		ADM	INISTRATIVE DIVIS	ION.			
1		1 at £1,150 (Unc	der-Secretary)	•••		1,150	
		Pro	FESSIONAL DIVISIO	N			
1		1 at £800 (arrear				835	
_		Class A—	,,		£		
	!	4 at £715		•••	2,860	1	
		3 at £665	•••	•••	$\frac{1}{1},995$		
8		1 at £615	•••	•••	615		
O		Class B—	•••			5,470	
		3 at £590			1,770	3,2,0	
	İ	3 at £565	•••		1,695		
10		4 at £540		•••	2,160	ļ	
10	Ì	Class C—	•••	•••		5,625	
	ļ	3 at £495			1,485	0,020	
		9 at £490	•••	•••	4,410		
	ļ	4 at £470	•••		1,880		
19		3 at £445	•••	•••	1,335		
19	!	Class D—	•••	•••	1,000	9,110	
		3 at £425		•••	1,275	3,110	
	ļ	14 at £400	,	•••	5,600		
	1	5 at £380	•••		1,900		
		3 at £355		***	1,065		
91		6 at £335	•••	•••	2,010	-	
31		Class E—	•••	•••	2,010	11,850	
		5 at £320			1,600	11,000	
6	-	1 at £295	•••	• •	295		
O		Class F—	•••	•••	450	1,895	
		3 at £210			630	1,000	
4		1 at £155	•••	•••	155		
4		1 21 2133	•••	•••	100	785	
	1		LERICAL DIVISION.			,00	
		Special Class	DEMORE DIVISION				
2	İ	2 at £715				1,430	
	1	Class I—	•••	•••	•••	1,100	
1		1 at £615			•••	615	
T	į	Class II—	•••	•••	•••		
		4 at £515			2,060		
7	-	3 at £490	•••	•••	1,470		
•	ļ	Class III—	•••	•••		3,530	
	-	2 at £470			940	0,000	
6	1	4 at £445	•••	•••	1,780		
Ü			•••	•••		2,720	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

		DEPARTMENT	OF LIANDS AN	שוטפ ת	EY - contin	.uea.	
Number of Persons	Item.	VOTE No. 33.—D	EPARTMENT ( JRVEY—continue		DS AND	1926-	27.
1926–27.	i	Subdivision No.	. I.—Administrati	on—conti	nued.	£	£
	1	Salaries—continu	ued.			~	2
	-	•	SAL DIVISION—con	tinued.			
		$Class\ IV$ —	217151011 0010				
19		13 at £425 6 at £400		•••	$\begin{bmatrix} 5,525 \\ 2,400 \end{bmatrix}$		
19		Class V—	•••	•••	2,400	7,925	
0.4		25 at £380	•••	•••	9,500		
34		9 at £355 Class VI	***	•••	3,195	12,695	
		44 at £335	•••		14,740	12,000	
58		14 at £320 Class VII—	•••	•••	4,480	19,220	
		67 at £295	•••	•••	19,765	19,220	
		12 at £275		•••	3,300	İ	
		17 at £250 26 at £230	•••		$\frac{4,250}{5,980}$		
		27 at £210	•••	•••	5,670		
		16 at £190		•••	3,040		
		8 at £155 36 at £135	•••	•••	$\begin{bmatrix} 1,240 \\ 4,860 \end{bmatrix}$		
		49 at £115	•••	•••	5,635		
240		31 at £95	•••	•••	2,945		
310		21 at £80	•••	•••	1,680	58,365	
		G	ENERAL DIVISION	,		30,303	
		9 at £450	•••	•••	4,050		
		6 at £440 3 at £425	•••	•••	$egin{array}{c c} 2,640 \ 1,275 \end{array}$		
		1 at £435	•••	•••	435		
		4 at £400		•••	1,600		
		7 at £365 2 at £350	•••	•••	$\begin{bmatrix} 2,555 \\ 700 \end{bmatrix}$		
		2 at £340	•••	•••	680		
	1	1 at £335	•••	•••	335		
		5 at £320 1 at £315	•••	•••	$\begin{array}{c c} 1,600 \\ 315 \end{array}$		
		1 at £310	•••	•••	310		
		3 at £305	• • •		915		
		2 at £300 3 at £295	•••	• • •	600		
		3 at £285	***	•••	885 855		
		1 at £270	•••		270		
		3 at £265	•••	•••	795		
		2 at £255 1 at £250	•••		510 250		
		7 at £230	•••		1,610		
		7 at £225	•••	•••	1,575	-	
		1 at £215 2 at £210	•••	•••	$\begin{bmatrix} 215 \\ 420 \end{bmatrix}$		
		3 at £205	•••	•••	615		
		1 at £190	•••	•••	190		
		21 at £185 4 at £175	•••	•••	3,885 700		
110		4 at £160	•••	•••	640		
		7	Non-permanents.			31,425	
		2 at £400	ON-FERMIANENTS.		800		
		1 at £310	•••	•••	310		
		6 at £290 1 at £282	•••	•••	$\frac{1,740}{282}$		
		3 at £275	•••	•••	$\begin{array}{c c}282\\825\end{array}$		
		4 at £270	•••	•••	1,080		
		1 at £266 5 at £260	•••	•••	266		
		1 at £255	•••	•••	$\begin{array}{c c} 1,300 \\ 255 \end{array}$		
		5 at £250	•••	•••	1,250		
		1 at £245	•••	•••	245		
		2 at £235	***	•••	$470^{-1}$	[	

19

20

21

Overtime and meal allowances

Postage, telegrams, and rent of boxes ...

#### Appropriations for Consolidated Fund Services.

#### DEPARTMENT OF LANDS AND SURVEY-continued. Number Item. 1926-27.VOTE No. 33—DEPARTMENT OF LANDS AND SURVEY—continued. 1926-27. Subdivision No. I.—Administration—continued. £ 1 Salaries—continued. Non-permanents—continued. 1 at £230 230 1 at £210 210 3 at £195 585 ... . . . 1 at £182 182 ... 1 at £169 169 2 at £156 312. . . . . . 1 at £145 145... 7 at £143 1,001 .. 1 at £141 141 . . . 3 at £130 390 ... 10 at £117 1,170 . . . . . . . 1 at £115 115 5 at £104 5205 at £91 455. . . . . . 3 at £78 234 . . . . . . 75 1 at £75 80 2 at £65 130 . . . Others not specified 500 707 15,387Cadets' lodging-allowances ... 1,750 Special allowances under Public Service Regulations 24A and 209 to officers performing special or higher duties 300 192,082 Less salaries provided but not payable for full year 2,500 189,582 OTHER CHARGES FOR AND INCIDENTAL TO- $\mathbf{2}$ Account, record, and other books (including cost of material, printing, and binding) 350 Advertising, photographs, books, newspapers, and other publications ... ... 3 3,200 Classification and valuation of lands and special re-4 ports (estimated recoveries, £800) 1,100 Commission on— Gum royalties 5 50 6 Money-orders 2,200 . . . . . . Contract and schedule surveys 7 250 8 Education Reserves: Expenses of management (recoverable) 500 Freight, cartage, and transport charges ... 9 300 Fuel, light, power, and water 10 250 Inspection, management, &c., expenses of settlement, 11 forest, and flax lands— Field Inspectors— 1,750 Travelling-expenses . . . Travelling-allowances 9,600 11,350 12 25Kauri-gum Industry Act, 1910— Rangers' salaries, travelling and other expenses 13 (estimated recoveries, £250) 100 Land Boards: Fees to members, and including ex-14 4,500 penses in lieu of fees • • • • ... Law-costs 15 300 Map printing (estimated recoveries, £1,000) 2,000 16 £ Motor-vehicles— 17 2,000 Purchase Maintenance 2,000 4,000 Office-cleaning 18 75 . . . . . . 1,300 Office fittings and equipment

. . .

400

4,100

Number of Persons.	Item.	VOTE No. 33.—DEPARTMENT OF LANDS SURVEY—continued.	AND	1926-9	27.
92627.	i I	Subdivision No. I.—Administration—continue	ed.		
٠	22	OTHER CHARGES FOR AND INCIDENTAL TO—conti Premiums to teaching-surveyors (teaching		£	£
		cadets)		150	
	23	Printing and stationery	•••	4,000	
	24	Rent		2,200	
	25	Survey and engineering instruments— Purchase	£		
		M - i - t	$\begin{bmatrix} 575 \\ 25 \end{bmatrix}$		
		Maintenance	40	600	
	26	Typewriters and calculating-machines, &c		000	
		Purchase	1,100		
		Maintenance	300		
				1,400	
		Surveys—			
	27	Settlement	•••	16,500	
	28	Standards	•••	4,000	
	29	Topographical Trigonometrical	•••	750	
	30   31	Telephone services (including installation, exter	ngiong	1,250	
	or	maintenance, rent, and calls)	1510115,	1,350	
	$\begin{vmatrix} 32 \end{vmatrix}$	Tracing-cloth and tracing-paper and other draug	hting-	1,550	
	02	material		1,500	
	33	Transfer and removal expenses		1,500	
	34	Travelling allowances and expenses		4,250	
	35	Refunds of credits-in-aid received erroneously	during	ľ	
		preceding financial year		100	
	36	Contingencies, including unforeseen expenditucidental to the other items of the vote	ire in-	50	
		cidential to the other hems of the vote	•••	50	
				75,950	
		Estimated credits-in-aid under Section 22	of the		
		Appropriation Act, 1923 (see end of vote)-			
		Administration expenses of—	£		
		Cheviot Estate Account	850		
		Discharged Soldiers Settlement Ac-			
			0,000		
		Education Reserves Hauraki Plains Settlement Account	6,350		
		Hunter's Soldiers Assistance Trust	3,500	ł	
		Account	25		
		Kauri-gum Industry Account	550		
	į		0,000		
		Land for Settlements Account (Dis-			
		charged Soldiers Settlement Ac-			
		count)	2,000		
		National Endowment Account	8,625		
		Native Land Settlement Account	4,000		
		Rangitaiki Land Drainage Account Swamp Land Drainage Account	$\begin{bmatrix} 1,000 \\ 2,450 \end{bmatrix}$		
		Classification, &c., of lands	800		
		Education Reserves	500		
		Kauri-gum Industry Act, 1910	100		
		Land for Settlements Account: Re-			
		covery of survey charges	1,000		
		Marine Department for computation of	F F C		
		Tide Tables	550		
		Miscellaneous credits, representing charges for surveys, draughting work,			
		&c., performed for other departments,			
		survey fees, search fees, &c	7,500		
		Native Land Settlement Account: Re-	,,,,,,		
		covery of survey and other charges	9,000		
		Sale of maps, lithographs, &c	1,000		
		Stamp Duties Department for Services			
		rendered 1	4,000		
	4			1	
		1.7	3,800		

DEPARTMENT	OF	TANDO	AND	CITTOTITY	
DEFARIMENT	O.F.	LANDS	AND	- 8 H K V B Y =	-continued

Number of Persona.  VOTE No. 33.—DEPARTMENT OF LANDS AND SURVEY—continued.  Subdivision No. II.—Miscellaneous Services.  CHARGER FOR AND INCIDENTAL TO— Cemeteries— Fencing, forming, and improving cemeteries Compassionate allowances to— Sister of late F. B. Leonard, Fields Inspector, Dursedin Widow of late W. M. Alkinson, Draughtsman. Lands and Survey Office, New Plymouth Compensation for— Injuries to employees while in discharge of their duties, medical and other attendance during with same.  Shortage in area, Lots 17, 38, and 39, Parish of Whangape Crown lands draining, &c. (general)  Shortage in area, Lots 17, 38, and 39, Parish of Whangape Crown lands draining, &c. (general)  Destruction of wild pigs (above the Department of Agriculture, 2550, and State Forests Service, 8350) Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable)  Grants—  Especial Compensation of the Cown (Particular) of the Espainage of Crown lands to private lands, equality of Espainage of Crown lands reverted to the Crown (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of State (Particular) of Stat			DEPARTMENT OF LANDS AND SURVEY—contin	iued.	
Charages for And incidental and improving cometeries— Fencing, forming, and improving cometeries Compassionate allowances to— Sister of late V. B. Leonard, Fleids Inspector, Dunedin Widow of late W. M. Atkinson, Draughtsman, Lands and Survey Office, New Plymouth Compensation for— Injuries to employees while in discharge of their duties, medical and other attendance during illness, and contingent expenses in connection with same Shortage in area, Lots 17, 38, and 39, Parish of Wangape Crown lands draining, &c. (general) Destruction of valbriss on Crown lands: Wages and other expenses Destruction of valbriss on Crown lands: Wages and other expenses Destruction of valbriss on Crown lands: Wages and other expenses Destruction of valbriss on Crown lands: Wages and other expenses of the Land Laws (new edition): Cost of Agriculture, £350, and State Forests Exprise, £350) Digess of the Land Laws (new edition): Cost of Spronses of inquiries Example of Crown lands and publishing (part recoverable) Example of Crown lands and publishing (part recoverable) Expenses of inquiries Expenses of inquiries Expenses of inquiries Expenses of inquiries Cost of destruction of wild goats in Park Fertilizers for lands reverted to the Crown Grants— Egmont National Park Board— Grants towards— Cost of destruction of wild goats in Park General administration expenses Royal Geographical Society, England Surveyors Board Tongario National Park Board— Administration expenses Tongario National Park Board— Tongario National Park Board—  Grants towards— Grants for the Cost of the Crown Tongario National Park Board—  Grants for the Cost of the Crown lands of the Cost of destruction of the Cost of destruction of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the Cost of the		Item.		1926-	27.
Camerierisa—  Camerierisa—  Seneing, forming, and improving cemeteries  Feneing, forming, and improving cemeteries  Sister of late F. B. Leonard, Fields Inspector, Dunedin  Widow of late W. M. Atkinson, Draughtsman, Lands and Survey Office, Naw Plymouth  Compensation for—  Injuries to employees while in discharge of their duties, medical and other attendance during illness, and contingent expenses in connection with same  Shortage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in American in a supplied of the Land of Windsage in area, Lots 17, 38, and 39, Parish of Windsage in American in a supplied of the Land Constant in a supplied of the Land of the Cook of Copyright, printing, and publishing (part recoverable)  Expenses of inquiries  Fest to examiners, draughtsmen's examinations  10 Fertilizers for lands reverted to the Crown  Grants—  Egmont National Park Board—  Grants towards—  Cost of destruction of wild goats in Park  Cost of destruction of wild goats in Park  More of Cost of destruction of wild goats in Park  More of Cost of General administration expenses  250  Tongariro National Park Board—  Grants towards—  Grants towards—  Grants towards—  Settlement  50  Half-cost of purchase of hay for relief of settlers in Te Kura Settlement wild for the Crown in the development of Half-cost of purchase of hay for relief of settlers in Te Kura Settlement Account: Settlers in Te Kura Settlement Account: Settlers in Te Kura Settlement Account: Settlers in Te Kura Settlers in Account	1926-27.	Î	Subdivision No. II.—Miscellaneous Services.		
Cameteries			CHARGES FOR AND INCIDENTAL TO-	£	£
Sister of late F. B. Leonard, Fields Inspector, Dunedin  Widow of late W. M. Atkinson, Draughtsman, Lands and Survey Office, New Plymouth  Compensation for—  Injuries to employees while in discharge of their duties, medical and other attendance during filmess, and contingent expenses in connection with same  Shortage in area, Lots 17, 38, and 39, Parish of Whangape  Crown lands draining, &c. (general)  Destruction of vabits on Crown lands: Wages and other expenses  Lots 17, 38, and 39, Parish of Whangape  Crown lands draining, &c. (general)  Destruction of vilid pigs (also votes Department of Agriculture, 2850, and State Forests Service, 2850)  Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable)  Exchange of Crown lands for private lands, equality of 25  Exponses of inquiries  Fession oxaminers, draughtsmen's examinations  Bemont National Park Board—  Grants towards—  Cost of destruction of wild goats in Park 250  Goneral administration expenses 500  Exponses of inquiries  Cost of destruction of wild goats in Park 250  Goneral administration expenses 500  Exponses of inquiries 500  Tongariro National Park Board—  Grants towards—  Cost of destruction of wild goats in Park 250  Grassing stock in flooded area: Omehu Soldiers' 500  Exponses of surveys 140  Exponses of surveys 140  Exponses of surveys 140  Exponses of surveys 140  Exponses of ordinistration expenses 500  Exponses of surveys 140  Grassing stock in flooded area: Omehu Soldiers' 500  Exponses of supervision and maintenance of ciliaunch 150  Exponses of supervision and maintenance of crooverable) 150  Exponses of supervision and maintenance of crooverable 150  Exponses of supervision and maintenance of crooverable 150  Exponses of supervision of perturbation of drought 150  Exponses of supervision of tree-protection with the development of 150  Exponses of supervision of perturbation of 150  Exponses of control Board, preliminary expenses of (recoverable) 150  Exponses of ordining 150  Exponses of contro		37	Cemeteries—		
Sister of late F. B. Leonard, Fields Inspector, Dunedin Widow of late W. M. Akkinson, Dranghtsman, Lands and Survey Office, New Plymouth Compensation for— Injuries to employees while in discharge of their duties, medical and other attendance during illness, and contingent expenses in connection with same Shortage in area, Lots 17, 38, and 39, Parish of Whangape Crown lands draining, &c. (general) Destruction of rabbits on Crown lands: Wages and other expenses  42 Destruction of vild pigs (also votes Department of Agriculture, £350, and State Forests Service, £350) 45 Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable) Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Fortilizers for lands reverted to the Crown Grants— Egmont National Park Board— Grants towards— Cost of destruction of wild goats in Park General administration expenses  Royal Geographical Society, England  Surveyors Poard  Royal Geographical Society, England  Tongarron National Park Board— Administration expenses  Royal Geographical Society, England  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded area: Omehu Soldiers  Settlement  Grazing stock in flooded are		20		50	
Dunedin Widow of late W. M. Alkinson, Draughtsman. Lands and Survey Office, New Plymouth Compensation for— Injuries to employees while in discharge of their duties, medical and other attendance during illness, and contingent expenses in connection with same Shortage in area, Lots 17, 38, and 39, Parish of Whangape Crown lands draining, &c. (general)		30			
Lands and Survey Office, New Plymouth Compensation for— Injuries to employees while in discharge of their duties, medical and other attendance during illness, and contingent expenses in connection with same Shortage in area, Lots 17, 38, and 39, Parish of Whangage Crown lands draining, &c. (general) Destruction of vibits on Crown lands: Wages and other expenses Destruction of wild pigs (also votes Department of Agriculture, £350, and State Foresta Service, £350) Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable) Exchange of Crown lands for private lands, equality of Expenses of inquiries Fertilizers for lands reverted to the Crown Grants— Egmont National Park Board— Grants towards— Cost of destruction of wild goats in Park General administration expenses Spand Georgaphical Society, England Surveyors' Board Tongariro National Park Board— Administration expenses Surveyors' Board Tongariro National Park Board— Administration expenses Surveyors' Board Tongariro National Park Board— Administration expenses Surveyors' Board Tongariro National Park Board— Administration expenses Surveyors' Board Tongariro National Park Board— Administration expenses Surveyors' Board Tongariro National Park Board— Administration expenses Surveyors' Board Tongariro National Park Board— Administration expenses Surveyors' Board Tongariro National Park Board—  50 Graxing stock in flooded area: Omehu Soldiers' Settlement Texture Settlement owing to conditions of drought Kapiti Island— Expenses of supervision and maintenance of oil- launch Fencing and improvements Capital value of Quarry Reserve in Tokiri Settlement of Agri- culture towards cost of  60 Kea suppression, contribution to Department of Agri- culture towards cost of  61 Cand for Settlements Account: Capital value of Quarry Reserve in Tokiri Settlement  62 Committee of Inquiry  63 Patotonga Settlers: Cost of removal from unsuitable holdings Forested the Settlement of New Lotter works to protect adjoining Crown land			Dunedin	106	
Compensation for— Injuries to omployees while in discharge of their dutties, medical and other attendance during illness, and contingent expenses in connection with same  Shortage in area, Lots 17, 38, and 39, Parish of Whangape Crown lands draining, &c. (general) Destruction of rabbits on Crown lands: Wages and other expenses  Destruction of wild pigs (also votes Department of Agriculture, 2850, and State Forests Sevrice, 2830) Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable) Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands for private lands, equality of Exchange of Crown lands are verted to the Crown Grants—  Egmont National Park Board—  Grants towards—  Cost of destruction of wild geats in Park General administration expenses  Boyl Geographical Society, England  Destruction of wild private lands  Cost of destruction of wild geats in Park  General administration expenses  Royal Geographical Society, England  Destruction of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the c		39	Widow of late W. M. Atkinson, Draughtsman,	100	
1   1   1   1   1   1   1   1   1   1				100	
illness, and contingent expenses in connection with same Shortage in area, Lots 17, 38, and 39, Parish of Whangape 13 Crown lands draining, &c. (general)		40	Injuries to employees while in discharge of their	;	
with same Shortage in area, Lots 17, 38, and 39, Parish of Whangape Crown lands draining, &c. (general) Destruction of rabbits on Crown lands: Wages and other expenses.  Lestruction of wild pigs (also votes Department of Agriculture, 2350, and State Forests Service, £350) Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable) Exchange of Crown lands for private lands, equality of 25 Expenses of inquiries Fees to examiners, draughtsmen's examinations.  Fertilizers for lands reverted to the Crown Grants— Egmont National Park Board— Grants towards— Cost of destruction of wild goats in Park 250 General administration expenses 500 Expenses of inquiries 250 Royal Geographical Society, England 10 Surveyors Board 250 Goneral administration expenses 270 Surveys 140 Surveys 140 Grazing stock in flooded area: Omehu Soldiers' Settlement Gum lands, experiments in connection with the development of tall-cost of purchase of hay for relief of settlers in Te Kura Settlement 500  Half-cost of purchase of hay for relief of settlers in Te Kura Settlement owing to conditions of drought Kapiti Island— Expenses of supervision and maintenance of oillaunch 500 Expenses of supervision and maintenance of oillaunch 500 Kea suppression, contribution to Department of Agriculture towards cost of 500 Kea suppression, contribution to Department of Agriculture towards cost of					
Shortage in area, Lots 17, 38, and 39, Parish of Whangape  42 Crown lands draining, &c. (general)				500	
Destruction of rabbits on Crown lands: Wages and other expenses  Destruction of rabbits on Crown lands: Wages and other expenses  Destruction of wild pigs (also votes Department of Agriculture, £350, and State Forests Service, £350)  Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable)  Exchange of Crown lands for private lands, equality of Expenses of inquiries 25  Fees to examiners, draughtsmen's examinations 10  Fertilizers for lands reverted to the Crown Grants—  Egmont National Park Board—  Grants towards—  Cost of destruction of wild goats in Park 250  General administration expenses 500  Surveyors' Board 250  Royal Geographical Society, England 10  Surveyors' Board 250  Tongarito National Park Board—  Administration expenses 270  Surveyors' Board 250  Grass-seed for Crown lands 1, 200  Grazing stock in flooded area: Omehu Soldiers' 1, 200  Grazing stock in flooded area: Omehu Soldiers' 500  Half-cost of purchase of hay for relief of settlers in Te Kura Settlement 500  Half-cost of purchase of hay for relief of settlers in Te Kura Settlement owing to conditions of drought Kaniti Island—  Expenses of supervision and maintenance of oilaunch 500  Kaa suppression, contribution to Department of Agriculture towards cost of 500  Kaaringum Control Board, preliminary expenses of (recoverable) 500  Kaaringum Control Board, preliminary expenses of Committee of Inquiry 151  Money stolen from Overseer's residence, Patetonga, Hauraki Plains 151  Money stolen from Overseer's residence, Patetonga, Hauraki Plains 150  Patetonga Settlement of survey lien 7  Patetonga Settlement of survey lien 7  Patetonga Settlerict, Hauraki Plains: Expenses of Committee of Inquiry 160  Protective Works: Erection of river-protective works to protect adjoining Crown lands 50  Rates on Unoccupied Crown Lands— 100  Rates on Unoccupied Crown Lands— 100  Rates on Unoccupied Crown Lands—		41		000	
Destruction of rabbits on Crown lands: Wages and other expenses  144 Destruction of wild pigs (also votes Department of Agriculture, 2350) and State Forests Service, 2350)  156 Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing part recoverable)  157 Expenses of inquiries  158 Fees to examiners, draughtsmen's examinations  150 Expenses of inquiries  150 Fertilizers for lands reverted to the Crown  151 Grants —  152 Egmont National Park Board —  153 Grants towards —  154 General administration expenses  155 General administration expenses  156 Surveyor's Board  157 Grants daministration expenses  158 Surveyor's Board  159 Grass-seed for Crown lands  150 Grass-seed for Crown lands  150 Grass-seed for Crown lands  150 Grass-seed for Crown lands  157 Grazing stock in flooded area: Omehu Soldiers' Settlement  158 Gun lands, experiments in connection with the devolopment of  159 Half-cost of purchase of hay for relief of settlers in Te Kura Settlement owing to conditions of drought Kapiti Island —  150 Expenses of supervision and maintenance of oillaunch  159 Fereing and improvements  150 Kauri-gum Control Board, preliminary expenses of (recoverable)  150 Kae suppression, contribution to Department of Agriculture towards cost of  150 Committee of Inquiry  150 Protective Works: Brection of river-protective works to protect adjoining Crown lands  161 Protective Works: Frection of river-protective works to protect adjoining Crown lands  170 Protective Works: Frection of river-protective works to protect adjoining Crown lands  171 Refunds for improvements effected  172 Refunds for improvements effected  173 Reflet of drought conditions in Watea and Marokeke Settlements, Hawke's Bay: Half-cost of fodder		40			
Other expenses			Destruction of rabbits on Crown lands: Wages and	90	
Destruction of wild pigs (also votes Department of Agriculture, 2350, and State Forests Service, 2350)  45 Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable)  46 Exchange of Crown lands for private lands, equality of 25 Expenses of inquiries			other expenses	8,500	
Digest of the Land Laws (new edition): Cost of copyright, printing, and publishing (part recoverable)		44			
copyright, printing, and publishing (part recoverable)   400		45	Digest of the Land Laws (new edition): Cost of	300	
## Expenses of inquiries ## 5			copyright, printing, and publishing (part recoverable)		
Fee's to examiners, draughtsmen's examinations		1 " [			
Fertilizers for lands reverted to the Crown   Grants					
Egmont National Park Board—  Grants towards—  Cost of destruction of wild goats in Park 250					
Grants towards—   Cost of destruction of wild goats in Park     250					
Cost of destruction of wild goats in Park   250					
Society   England   10   250		50	Cost of destruction of wild goats in Park	250	
Surveyors' Board				_	
Tongariro National Park Board—  Administration expenses					
Surveys Grass-seed for Crown lands			Tongariro National Park Board—	100	
Grass-seed for Crown lands		1 :			
Grazing stock in flooded area: Omehu Soldiers' Settlement		1 (			
Gum lands, experiments in connection with the development of			Grazing stock in flooded area: Omehu Soldiers'	1,200	
velopment of		50		70	
Half-cost of purchase of hay for relief of settlers in Te Kura Settlement owing to conditions of drought Kapiti Island— Expenses of supervision and maintenance of oillaunch		96		500	
Kapiti Island— Expenses of supervision and maintenance of oillaunch Expenses of supervision and maintenance of oillaunch Fencing and improvements  Kauri-gum Control Board, preliminary expenses of (recoverable)  Kea suppression, contribution to Department of Agriculture towards cost of		59	Half-cost of purchase of hay for relief of settlers in	000	
Expenses of supervision and maintenance of oil- launch				140	
Saunch   Sauri-gum Control Board, preliminary expenses of (recoverable)   1,000		60			
Kauri-gum Control Board, preliminary expenses of (recoverable)			launch	100	
(recoverable)				50	
Kea suppression, contribution to Department of Agriculture towards cost of		υZ	(recoverable)	1.000	
Land for Settlements Account: Capital value of Quarry Reserve in Tokiri Settlement		63	Kea suppression, contribution to Department of Agri-		
Quarry Reserve in Tokiri Settlement		64		375	
Money stolen from Overseer's residence, Patetonga, Hauraki Plains		04		151	
Noxious weeds on Crown land, eradication of 4,500 Ohinemuri 20 B 3 Block: Payment of survey lien 7 Patetonga District, Hauraki Plains: Expenses of Committee of Inquiry 100 Patetonga Settlers: Cost of removal from unsuitable holdings 75 Protective Works: Erection of river-protective works to protect adjoining Crown lands 50 Rates on Unoccupied Crown Lands— Hauraki Plains Settlement Account: Section 5, Hauraki Plains Amendment Act, 1911 920 Refunds for improvements effected 100 Relief of drought conditions in Watea and Marekeke Settlements, Hawke's Bay: Half-cost of fodder		65	Money stolen from Overseer's residence, Patetonga,		
Ohinemuri 20 B 3 Block: Payment of survey lien 7 Patetonga District, Hauraki Plains: Expenses of Committee of Inquiry 100 Patetonga Settlers: Cost of removal from unsuitable holdings 75 Protective Works: Erection of river-protective works to protect adjoining Crown lands 50 Rates on Unoccupied Crown Lands— Hauraki Plains Settlement Account: Section 5, Hauraki Plains Amendment Act, 1911 920 Refunds for improvements effected 100 Relief of drought conditions in Watea and Marekeke Settlements, Hawke's Bay: Half-cost of fodder		66		i i	
Patetonga District, Hauraki Plains: Expenses of Committee of Inquiry			Ohinemuri 20B 3 Block: Payment of survey lien	_ ;	
Patetonga Settlers: Cost of removal from unsuitable holdings			Patetonga District, Hauraki Plains: Expenses of		
holdings		RO		100	
Protective Works: Erection of river-protective works to protect adjoining Crown lands 50 Rates on Unoccupied Crown Lands— Hauraki Plains Settlement Account: Section 5, Hauraki Plains Amendment Act, 1911 920 Refunds for improvements effected 100 Relief of drought conditions in Watea and Marekeke Settlements, Hawke's Bay: Half-cost of fodder		0.0	holdings	75	
71 Rates on Unoccupied Crown Lands— Hauraki Plains Settlement Account: Section 5, Hauraki Plains Amendment Act, 1911 920  72 Refunds for improvements effected 100 Relief of drought conditions in Watea and Marekeke Settlements, Hawke's Bay: Half-cost of fodder		70	Protective Works: Erection of river-protective works	·	
Hauraki Plains Settlement Account: Section 5, Hauraki Plains Amendment Act, 1911 920 Refunds for improvements effected 100 Relief of drought conditions in Watea and Marekeke Settlements, Hawke's Bay: Half-cost of fodder		71		50	
Hauraki Plains Amendment Act, 1911 920 Refunds for improvements effected 100 Relief of drought conditions in Watea and Marekeke Settlements, Hawke's Bay: Half-cost of fodder		1.1			
Relief of drought conditions in Watea and Marekeke Settlements, Hawke's Bay: Half-cost of fodder			Hauraki Plains Amendment Act, 1911	i	
Settlements, Hawke's Bay: Half-cost of fodder				100	
		10			
		1		90	

		DEPARTMENT OF LANDS AND SURVEY—cont	inued.	
Number of Persons.	Item.	VOTE No. 33.—DEPARTMENT OF LANDS AND SURVEY—continued.	1926	-27.
1926–27.		Subdivision No. II—Miscellaneous Services—continued.	£	£
	74	Charges for and incidental to—continued.  Removal of sunken and derelict logs: Northern	~	~
		Wairoa River and its tributaries Repairs and alterations to buildings on Crown lands	200	
	75	Road Access—	150	
	76	Kumara-Kapitea Road: Payment of compensation and erection of fencing	160	
	77	Run 15A, Cloudy Range, Marlborough	500	
	$\begin{array}{c} 78 \\ 79 \end{array}$	Special rates to local authorities Stewart Island: Interest on £2,000, part purchase-	50	
		money; annual payment, £160 Subsidies—	160	
	80	Lake Wanaka mail-service	25	
	81	Rangitaiki land drainage: Maintenance of completed works (subsidy, £1 for £1)	4,000	
	82	South Westland mail-steamer	600	
	83   84	Te Akau to Raglan ferry service Wanganui River (improvement)	$\begin{bmatrix} 45 \\ 3,000 \end{bmatrix}$	
	85	Wanganui River mail-service	1,705	
	86	Westport-Karamea steamer-service (£100 recoverable)	500	
	87	Tokatoka, Nos. 1, 2, and 3 Blocks—	000	
		Formation of roads and widening drains under control of Otamatea County Council	25	
ļ	88	Value of improvements on pastoral and small grazing-		
		runs on expiry of license, payment of, to outgoing lessees	500	
	89	Waikare Accommodation House, Putorino, improvements to	200	
		Water-supply—	329	
	90 91	Section 10, Block XII, Norsewood Survey District Tokatoka and Whenuanui Blocks Cost of experi- mental bores	135	
	92	Tukituki Block (recoverable)	150 450	
			33,917	
		Less commitments which will not be expended during the year	1,500	
!		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
		Department of Agriculture: Contribution towards Westport— $\pounds$		
!		Karamea Mail-service (subsidy) 100		
!		Recovery from sale of kauri-gum purchased out of Consolidated	ļ	
	İ	Fund to relieve cases of distress		
!	ļ	(on account of £10,000) 2,000 Removal of sunken logs from		
		Northern Wairoa River: Esti-		
	ļ	mated amount recoverable from operating millers 200		
		Miscellaneous 200		
		2,500		
		Total Subdivision No. II		32,417
		Gross Total		297,949
		Credits-in-aid $(a)$	•••	116,300
		NET TOTAL—VOTE No. 33  -		181,649
(a) (	 Credit	Other Salaries. Charges. 1926-	-27	,

(a) Credits-in-aid:—	Salaries.	$ \begin{array}{c} \text{Other} \\ \text{Charges.} \\ \mathbf{f} \end{array} $	1926–27. £ ₹
$egin{array}{ll}  ext{Subdivision} &  ext{I} \  ext{,,} &  ext{II} \end{array}$	$75,\overset{\circ}{8}67$	37,933 $2,500$	113,800 $2,500$
Totals	 75,867	40,433	116,300

# SCENERY PRESERVATION.

					1926–27.	
_	··········		-	Salaries.	Other Charges.	Total.
Vote No. 34.—Scenery Pres	ervation-			£	£	£
GROSS TOTAL	• •				12,797	12,797
CREDITS-IN-AID	• •	• •			50	50
NET TOTAL	••			• • •	12,747	12,747

Number of Persons.	Item.	SCENERY PRESERVATION.	1926-9	27.
1006 07		VOTE No. 34.		
1926–27.		CHARGES FOR AND INCIDENTAL TO—	£	£
	1	Administration of reserves and historic spots (includ-	~	
		ing fencing and other works)	750	
	2	Britomart Memorial site, Akaroa, acquisition of	100	
	$\bar{3}$	Capital value of Greystoke Settlement, Section 9		
		(subsidy)	445	
		Compensation, &c.—		
	4	For Native lands taken for scenery purposes (in-		
		cluding historic spots) under the Public Works		
		Act, 1908, and the Native Land Act, 1909	250	
	5	In connection with lands taken under the Scenery		
		Preservation Act, 1908	150 ¦	
	6	Hundalee Scenic Reserves, improvements to	6	
	7	Kawhia Harbour Scenic Reserve, acquisition of	350	
	8	Mangamuka - Victoria Valley Scenic Reserve, acquisi-	1	
		tion of	2,729	
	9	Mungaroa Hill Scenic Reserve, acquisition of	130	
	10	Okuratope Pa, acquisition of	70	
	11	Parr's Park, Swanson, Auckland: Cost of fencing	100	
	12	Peel Forest Scenic Reserve, acquisition of 10 acres		
	1.0	adjacent to	200	
	13	Pelorus Bridge Reserve: Improvements	100	
	14	Roose's Bush, Pukekohe (subsidy, £1 for £1)	675	
	15	Ross Borough Endowment Exchange	300	
	16	Rotoiti Scenic Reserve and Hongi's Track: Cost of	4.5	
	1.77	fencing	45	
	$\begin{array}{ c c }\hline 17\\18\\ \end{array}$	Round Bush, Foxton: Fencing	180	
	19	Ruapekapeka Pa: Improvements Scenery Preservation Board, expenses of	100	
	19	Subsidies—	20	
	20	C. 1 D. 1 W	1,000	
	21	Maungatautari Mountain, Waikato	2,812	
	22	Peel Forest, Canterbury, acquisition of	150	
	23	Smith's Bush, Takapuna, Auckland, acquisition of	1,250	
	$\frac{23}{24}$	Sugar Loaf Reserve: Erection of rabbit-proof fence	250	
	25	Surveys, valuations, and incidental expenses	700	
		Trounson's Kauri Forest—	, 00	
	26	Charges in connection with protection of	1,000	
	27	Road access	100	
	28	Wallaceville Blockhouse, renovation of	100	
	29	Wanganui Scenic Reserve, acquisition of	4,000	
	30	White Pine Bush, Whakatane, 29 acres in vicinity of	185	
	31	Whitianga Bay Scenic Reserve	50	
	İ		18,297	
	-	Less estimated amount of items provided for but		
		not required during current year	5,500	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		Miscellaneous £50		
		GROSS TOTAL		12,79
		CREDITS-IN-AID		Ę
	i	NET TOTAL -VOTE No. 34		40 =
	1	1,111 TOTAL = 1,0113 NO, 0±  -		12,74

### VALUATION DEPARTMENT.

						19 <b>26</b> –27.				
					Salarie	s. Oth	er Charges.	Total.		
Vote No. 3	5Va	aluation Depar m	ent—		£		£	£		
G	oss T	OTAT			90	419	29,155	67 579		
			••	• •	30,	418	29,100	67,578		
Cr	EDITS-	-IN-AID	• •	• •	ļ 	350	11,445	11,795		
NJ	ET TO	OTAL	• •	• •	38,	068	17,710	55,778		
Number of Persons.	Item.						1926	5–27.		
1926-27.	·   	VOTE No. 3	5.—VALUAT	TION DI	EPARTM	ENT.				
	1	*Salaries—					£	£		
		A	DMINISTRATIV	e Divisio	ON.					
1		1 (Valuer-Ge					925			
		1 (10000	norary are were	<i>y</i>	•••	•••	020			
			CLERICAL I	Division.						
0		Class I—					1 100			
2		2 at £565 Ulass II—		• • •	• • •	٠٠٠	1,130			
1	I ;	1 at £515					515			
		$Class\ III-\!\!\!-$								
1	1	1 at £470					470			
		$Class\ IV-$								
4		4 at £425			• • •		1,700			
	1 1	Class V—				£				
		5 at £380		• • •	• • •	1,900				
6	1	1 at £355				355	0.055			
11	İ	Class VI— 11 at £335					2,255			
11	ļ	Class VII—		•••	***	•••	3,685			
		8 at £295				2,360				
	i	2 at £250				500				
		3 at £230				690				
		1 at £210				210				
	-	2 at £135				$\frac{1}{270}$				
		1 at £115				115				
	i İ	2 at £95				190				
21		2 at £80				160				
		Cadets' lodgi	ng-allowances	S	•••	•••	4,495 65			
		22200 1048.	_			,,,				
		19 at 0565	GENERAL I			7 245				
		13 at £565		• • •		7,345 $2,650$	Į.			
		5 at £530 1 at £515			•••	515	į l			
	1	4 at £490			• • • •	1,960	ĺ			
		9 at £460			* * *	920	]			

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase

2 at  $\pounds 460$ 

### ${\tt VALUATION} \quad {\tt DEPARTMENT--} continued.$

	Item.					1926-	27.
1000 05		VOTE No. 35.—VALU.		PARTME	ENT—		
1926–27.		con	tinued.			£	£
	1	Salaries—continued.				~	~
		General Div	ision—contin	ued.			
					£		
		1 at £235	• • •		235		
		1 at £225 2 at £205	•••		$\begin{bmatrix} 225 \\ 410 \end{bmatrix}$		
		3 at £195	•••		585		
		3 at £185			555		
40		5 at £175	•••		875	10 075	
		Non-Pi	ERMANENTS,			16,275	
		3 at £391	ZIEMZINIZAVIS.		1,173		
		1 at £274			274		
		1 at £241		* * *	241		
		1 at £235 1 at £228	•••	* * *	$\begin{vmatrix} 235 \\ 228 \end{vmatrix}$		
		$1 \text{ at } \pounds 224$	•••	•••	224		
		2 at £209			418		
		3 at £144	•••		432		
		1 at £141 2 at £131		* * *	$\begin{bmatrix} 141 \\ 262 \end{bmatrix}$		
		2 at £117	•••		$\frac{202}{234}$		
		2 at £105		• • •	210		
		4 at £91	•••		364		
		1 at £80	•••	• • •	80	İ	
35		7 at £78 3 at £66	• • •		$\begin{bmatrix} 546 \\ 198 \end{bmatrix}$		
		Others not specified	•••	•••	1,800		
122		1				7,060	
	-					20 575	
		Less proportion o	f scale incre	ases not	pavable	38,575	
		during the yea		•••	r	157	
						90.410	
			•		_	38,418	
		OTHER CHARGES FOR ANI					
	2	Adjustment of " credits	in-aid'' from	Land an	d Income	2 222	
	3	Tax Department Advertising, books, n	ovenenore s	und other	ar publi	2,000	
	9	cátions				130	
	4	Assessment Court expe				400	
	5	Fees to valuers				14,500	
	1	Historiant contoan and tr				20	
	6		cansport char	ges	• • •		
	6 7	Fuel, light, power, and	cansport char	ges		45	
	6	Fuel, light, power, and Law-costs	cansport char water 	ges 			
	6 7 8	Fuel, light, power, and Law-costs Maps and tracings, sche New maps	cansport char water 	ges 	ons, &c.—	45	
	6 7 8	Fuel, light, power, and Law-costs Maps and tracings, sche	cansport char water 	ges  ransactio	ons, &c.—	45 100	
	6 7 8 . 9	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance	ransport char water  dules of land t 	ges  ransactio 	ons, &c.— £1,040 260	1,300	
	6 7 8 9	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance Office expenses	ransport char water  dules of land t 	ges  ransactio	ons, &c.—	45 100	
	6 7 8 9 10 11 12	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requ Overtime and meal allo	ransport char water  dules of land t   isites wances	ges ransactio	£1,040 260	1,300 340	
	6 7 8 .9	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requ Overtime and meal allo Post and Telegraph	ransport char water  dules of land t   isites wances	ges ransactio for ser	£1,040 260 	1,300 340 200 70	
	6 7 8 .9 10 11 12 13	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requ Overtime and meal allo Post and Telegraph officers	ransport char water dules of land t isites wances Department	ges ransactio for ser	£1,040 260 260 	1,300 340 200 70	
	6 7 8 9 10 11 12 13	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requ Overtime and meal allo Post and Telegraph officers Postage, telegrams, and	ransport char water dules of land t isites wances Department l rent of boxe	ges ransactio for ser	£1,040 260 260 	1,300 340 200 70 100 750	
	6 7 8 .9 10 11 12 13	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requestime and meal allower and Telegraph officers Postage, telegrams, and Printing and stationery Rent	ransport char water dules of land t isites wances Department l rent of boxe	ges ransactio for ser	£1,040 260 260 	1,300 340 200 70	
	6 7 8 .9 10 11 12 13 14 15 16 17	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requ Overtime and meal allo Post and Telegraph officers Postage, telegrams, and Printing and stationery Rent Revision of districts (co	ransport char water dules of land t isites wances Department d rent of boxe ontracts)	ges ransactio for ser	evices of	1,300 340 200 70 100 750 1,000	
	6 7 8 .9 10 11 12 13 14 15 16	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requ Overtime and meal allo Post and Telegraph officers Postage, telegrams, and Printing and stationery Rent Revision of districts (of Telephone services (inc	ransport char water dules of land t isites wances Department d rent of boxe ontracts) luding install	ges ransactio for ser ation, ex	£1,040 £1,040 260 .	1,300 340 200 70 1,000 500 500	
	6 7 8 .9 10 11 12 13 14 15 16 17	Fuel, light, power, and Law-costs Maps and tracings, sche New maps Maintenance  Office expenses Office fittings and requ Overtime and meal allo Post and Telegraph officers Postage, telegrams, and Printing and stationery Rent Revision of districts (co	ransport char water dules of land t isites wances Department d rent of boxe ontracts) luding install	ges ransactio for ser	evices of	1,300 340 200 70 1,000 500	

## ${\tt VALUATION\ DEPARTMENT--} continued.$

Number of Persons.	Item.	VOTE No. 25 VALUATION DEDADEMENT	1926-	27.
1926–27.		VOTE No. 35.—VALUATION DEPARTMENT— continued.	£	£
	21	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Typewriters: Purchase and repairs	140	p.
	22	Contingencies, including unforeseen expenditure incidental to the other items of the vote	10	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—  Land-tax Department 10,000  New Zealand State Advances Office 1,250		
		Department of Internal Affairs: Salaries of District Valuers while engaged on Commissions of inquiry re alteration of boundaries of local districts 100		
		Department of Lands and Survey: Salaries of officers while employed on Deteriorated Lands Committees 250 Hospital and Charitable Institu-	:	
		tions Act, 1909, Section 46— Expenses of levying hospital rates in Sounds, Taupo, and Chatham		
	:	Islands Counties $\dots 195$ $11,795$		
			29,155	0= ==0
		Gross Total		67,573
	į į	Credits-in-aid		11,795
		NET TOTAL—VOTE No. 35		<b>5</b> 5, <b>77</b> 8

### ELECTORAL DEPARTMENT.

						192	6-1927.	
					Salaries.	Othe	r Charges.	Total.
Vote No. 36	5.—El	ectoral Department	5—		£		£	£
Gross	Тота	L			3,27	9	3,350	6,629
Credit	'S-IN- A	JD					50	5(
Ç112.911		r total			3,27	9	3,300	6,579
· · · · · · · · · · · · · · · · · · ·								
Number of Persons.	Item.						1926	5-27.
1926-27.	<b> </b> -	VOTE No. 36	.—ELECTOI	RAL DEI	PARTME	NT.		
1020 21.	1	*Salaries—					£	£
•			CLERICAL D	IVISION.				
		Class $I$ —				-		
1		1 at £565		•••	•••		565	
4			$0\frac{1}{2}$ months), $\frac{1}{2}$			£ 155 135 113		
4		1 at £95 (3)	months), £80	(9 month	s)	84	487	
_			GENERAL D	ivision.			405	
1		1 at £185		•••	***	•••	185	
			Non-perma	NENTS.				
1		1 at £91		•••	•••	•••	91	
7		Allowance to duties under Cadet's lodgin For payments Payment for s of Electo	Public Services Public Services of Registrars ervices of Offices	e Regulat 	ions 24 a aı	nd 209 	15 12 1,248	
			l Telegraph D	epartmen	t	•••	676	
							3,279	
	2 3 4 5 6	OTHER CHARGES Advertising, j other public By-elections, c Compulsory c checking Freight, cartag Fuel, light, po	photographs, ations expenses of enrolment of ge, and transp	books, r electors ort charge	ewspapers : Expen		10 500 1,150 20 50	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

### ${\tt ELECTORAL\ DEPARTMENT-} continued.$

Number of Persons.	Item.		2.1	1926-9	27.
		VOTE No. 36.—ELECTORAL DEPARTMEN	T—		
1926-27.		continued.		£	£
	1	OTHER CHARGES FOR AND INCIDENTAL TO—continu	red.	~	~
	7	General Election: Expenses of taking		350	
	8	Licensing Committee elections, 1926	]	50	
	9	Licensing Poll, under Licensing Act, 1908	•••	100	
	10	Office furniture, fittings, &c.		50	
	11	Office requisites		50	
	12	Postage, telegrams, and rent of boxes		200	
	13	Printing and stationery		300	
	14	Rent		300	
	15	Travelling allowance and expenses		150	
	16	Telephone services (including installation, exter			
		maintenance, rent, and calls)	•••	50	
	17	Contingencies, including unforeseen expenditu	ire in-		
		cidental to the other items of the vote		20	
		Estimated credits-in-aid under Section 22 Appropriation Act, 1923 (see end of v Miscellaneous			
			!	3,350	
		Gross Total			6,629
		Credits-in-aid		•••	50
		NET TOTAL-VOTE No. 36			6,579

## DEPARTMENT OF AGRICULTURE.

				1926-27.	
			Salaries.	Other Charges.	Total.
Vote No. 37.—Department of Agricultur	·e—		£ .	£	£
Subdivision I.—Head Office , II.—Live-stock Division ,, III.—Horticulture Division ,, IV.—Dairy Division ,, V.—Fields Division	•••		31,404 87,262 16,726 44,308 21,553	$116,938 \ 87,425 \ 13,184 \ 19,055 \ 20,565$	148,342 174,687 29,910 63,363 42,118
Gross Total	• •		201,253	257,167	458,420
Credits-in-aid			9,515	79,825	89,340
NET TOTAL	• •	-	191,738	177,342	369,080

Number of Persons.	Item.	NOME N. OF THE	DWMINW OF	4 C DICI		1926-	-27.
1926–27.	·[	VOTE No. 37.—DEPA	RIMENT OF	AGRICU	LTURE		
1920-21.		Subdivision	No. I.—Head	Office.		£	£
	1	*Salaries—					
		Adminis	TRATIVE DIVISI	ON	£		
		1 at £1,250 (Directo		021.			
. 2		1 at £800 (Assistan	t Director-Gene	 ral)	$\begin{array}{c c} 1,250 \\ 800 \end{array}$	Ì	
. 4		i nu 2000 (Hasiatan	Director-Gene	101)		2,050	
		Profes	SIONAL DIVISIO	N.		2,000	
		Class A-				1	
1		1 at £715	•••			715	
		Class C—					
0		1 at £490	•••	• • • •	490		
2		1 at £445 Class D—	• • •		445	00#	
		1 at £425			425	935	
2		1 at £355	•••	•••	355		
_	1		•••	•••		780	
	1		RICAL DIVISION.				
		Ciass I-					
1	İ	1 at £565				565	
		Class II—					
3		3 at £515 Class IV—	• • •	• • •	•••	1,545	
		3  at  £425			1,275		
4		1  at  £400	•••	• •	400		
		Class V—	•••		100	1,675	
4		4 at £380				1,520	
		Class VI—					
14		14 at £335			i	4,690	
	1	Class VII—			4.500		
		16 at £295	• • •	• • •	4,720		
		4 at £275 1 at £250	•••	• • •	$egin{array}{c c} 1,100 & \\ 250 & \\ \hline \end{array}$		
		1 at £230	• • •	• • •	230		
		3 at £210		•••	630		
		2 at £190			380		
					300		

^{*} For particulars of salaries see "Public Service Classification List" Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT	OF	AGRICULTURE—continued.
17191 /3 (6) (18) (9)	171	- /\(\T\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

,	Item.	VOTE No. 37—DE	1926-	27.			
1926–27.		Subdivision Ne	o. 1.—Head Offic	econtinu	ied.	£	£
	$\begin{vmatrix} & & \\ & 1 & \end{vmatrix}$	Salaries—continue					
			L Division—cont	inued	ĺ		
				orotoc ce .		į	
	1.	Class VII—contin	nued.		£		
		9 at £135	•••	•••	$\begin{array}{c} 455 \\ 1,215 \end{array}$	Ì	
		5 at £115	•••		575		
	1 1	7 at £95	•••	•••	665		
56		5 at £80	•••		400		
		Cadets' lodging-a	Howanee			$10,630 \\ 330$	
				•••	***	000	
			ENERAL DIVISION.		405		
		1 at £485	•••	•••	485		
		1 at £345 1 at £295	•••	•••	$ \begin{array}{c c} 345 \\ 295 \end{array} $		
		3 at £280	•••	•••	840	İ	
		1 at £260	***	• • •	260		
	.	1 at £245	***	•••	$\frac{200}{245}$		
	i i	2 at £240	•••	•••	480		
		1 at £225	•••	•••	225		
	!	2 at £205			410		
18		5 at £185			925		
						4,510	
			ON-PERMANENTS.		005		
	1	1 at £295	•••	•••	295		
		1 at £245	•••	• • •	245		
	1	1 at £169	•••		169		
	1	2 at £130 2 at £104	•••	•••	$\frac{260}{208}$	1	
		1 at £100	•••	• • •	100	•	
10		2 at £91	•••		182	1	
	-	7 90 27 T	•••	***	102	1,459	
117	<u> </u>						
111		Estimated er	edite in aid unda	r Section	22 of the		
111	<u>-</u>     	Appropri	cedits-in-aid unde iation Act, 1923 ( o other Departmen	see end of			
111		Appropri Services to	iation Act, 1923 ( o other Departmen	see end of ats, &c.	vote)—	31,404	
111		Appropri Services to OTHER CHARGES FO	iation Act, 1923 ( o other Department or and incidenta	see end of ats, &c.	vote)—		
111	2	Appropri Services to OTHER CHARGES FO Advertising and p	iation Act, 1923 ( o other Department or and incidental chotographs	see end of nts, &c. L TO —	vote)— £1,015	31,404	
111	2 3	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins	iation Act, 1923 ( o other Department or and incidental chotographs truction (special	see end of nts, &c.  L TO —  ) charge	vote)— £1,015 -  able to	50	
111	3	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En	iation Act, 1923 ( cother Department of And Incidental chotographs truction (special adowment	see end of nts, &c. L TO —	vote)— £1,015	50	
111	3 4	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult	iation Act, 1923 ( cother Department of And Incidental hotographs truction (special adowment ure	see end of ats, &c.  L TO —  charge	vote)— £1,015	50	
111	3	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext	iation Act, 1923 ( cother Department of And Incidental hotographs truction (special adowment ure	see end of nts, &c.  L TO —  ) charge  ckberry (£	vote)— £1,015	50 1,600 400	
111	3 4	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account	iation Act, 1923 ( cother Department of AND INCIDENTA hotographs truction (special adownent ure termination of bla	see end of nts, &c.  L TO —  ckberry (£	vote)— £1,015	50 1,600 400 1,000	
111	3 4 5	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ex	other Department of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of t	see end of nts, &c.  L TO —  charge ckberry (£ Ramsden ons and a	vote)— £1,015  able to  £10,000),  t A. and	50 1,600 400	
111	3 4 5 6	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ex	other Department of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of the Control of t	see end of nts, &c.  L TO —  charge ckberry (£ Ramsden ons and a	vote)— £1,015  able to  £10,000),  t A. and	50 1,600 400 1,000	
111	3 4 5 6	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Exl P. Association S Expenses of New	o other Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Depa	see end of nts, &c.  L TO	vote)— £1,015  able to 210,000), t A. and xpenses	50 1,600 400 1,000 100	
111	3 4 5 6 7	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ex P. Association S Expenses of New Experimental and	other Department of the Department of AND INCIDENTA hotographs truction (special adownent ure termination of bla lowance to T. B. hibits at Exhibiti Shows: Wages at Zealand Wool Coll Instructional Fa	see end of nts, &c.  L TO	vote)— £1,015  able to 210,000), t A. and xpenses ges and	50 1,600 400 1,000 100 950	
111	3 4 5 6 7	Appropri Services to OTHER CHARGES FO Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ex P. Association S Expenses of New Experimental and General Wo	other Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Depart	see end of nts, &c.  L TO	vote)— £1,015  able to £10,000), t A. and xpenses ges and f Land,	50 1,600 400 1,000 100 950	
	3 4 5 6 7	Appropri Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ex P. Association S Expenses of New Experimental and General Wo Buildings, F	other Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Depart	see end of onts, &c.  L TO	vote)— £1,015  able to £10,000), t A. and xpenses ges and f Land, sion for	50 1,600 400 1,000 100 950	
111	3 4 5 6 7	Appropri Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ex P. Association S Expenses of New Experimental and General Wo Buildings, F	other Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of Stock of Salaries of Stock of the Department of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salarie	see end of nts, &c.  L TO	vote)— £1,015  able to 210,000), t A. and xpenses ges and f Land, sion for sistants,	50 1,600 400 1,000 100 950	
	3 4 5 6 7	Appropri Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ext P. Association S Expenses of New Experimental and General Wo Buildings, F Visitors, and Learners, Spe	other Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of Stock of S	see end of nts, &c.  L TO	vote)— £1,015  able to 210,000), t A. and xpenses ges and f Land, sion for sistants,	50 1,600 400 1,000 100 950	
	3 4 5 6 7 8	Appropri Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ex P. Association S Expenses of New Experimental and General Wo Buildings, F Visitors, and Learners, Spe sistants (part	other Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of Stock of Salaries of Stock of the Department of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Stock of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salaries of Salarie	see end of nts, &c.  L TO	vote)— £1,015  able to £10,000), t A. and xpenses ges and f Land, sion for sistants, estic As-	50 1,600 400 1,000 100 950	
	3 4 5 6 7	Appropri Services to Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ext P. Association S Expenses of New Experimental and General Wo Buildings, F Visitors, and Learners, Spe sistants (part Ruakura—	other Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of the Department of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of Store of S	see end of onts, &c.  L TO	vote)— £1,015  able to  £10,000),  t A. and xpenses ges and f Land, sion for sistants, estic As-	50 1,600 400 1,000 100 950	
	3 4 5 6 7 8	Appropri Services to Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ext P. Association S Expenses of New Experimental and General Wo Buildings, F Visitors, and Learners, Spe sistants (part Ruakura—	other Department of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertm	see end of nts, &c.  L TO	vote)— £1,015  able to  £10,000),  t A. and xpenses ges and f Land, sion for sistants, estic As-  £ 8,000	50 1,600 400 1,000 100 950	
	3 4 5 6 7 8	Appropri Services to Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ext P. Association S Expenses of New Experimental and General Wo Buildings, F Visitors, and Learners, Spe sistants (part Ruakura—	other Department of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertm	see end of onts, &c.  L TO	vote)— £1,015  able to  £10,000),  t A. and xpenses ges and f Land, sion for sistants, estic As-	50 1,600 400 1,000 100 950 100	
	3 4 5 6 7 8	Appropri Services to Services to Other Charges fo Advertising and p Agricultural ins Moumahaki En Board of Agricult Bonus for the ext on account Compassionate all Departmental Ext P. Association S Expenses of New Experimental and General Wo Buildings, F Visitors, and Learners, Spe sistants (part Ruakura—	other Department of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertment of the Propertm	see end of nts, &c.  L TO	vote)— £1,015  able to  £10,000),  t A. and xpenses ges and f Land, sion for sistants, estic As-  £ 8,000	50 1,600 400 1,000 100 950	

Number of Persons.	Item.		1926-	27.
1006 05		VOTE No. 37.—DEPARTMENT OF AGRICULTURE—		
1926–27.		continued.	£	£
	i	Subdivision No. I.—Head Office—continued.	æ	æ
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	12	Extension of instructional work in connection with	1	
		rural industries, including fostering of boys' and	4 500	
	13	girls' agricultural clubs Freight, cartage, and transport charges	$\frac{4,500}{50}$	
	14	Fuel, light, water, furniture, office requisites, in-	50	
		surance, cleaning offices, outbuildings, yards, and		
		approaches	1,000	
		Grants-		
	15	Cawthron Institute towards cost of Dr. Tillyard's	250	
	10	visit to America and Europe	250	
	$\begin{array}{c c} 16 \\ 17 \end{array}$	Dargaville Demonstration Farm	325	
	T.	To G. H. Cunningham, towards cost of his expenses as representative of the New Zealand	1	
		Government at the Mycological Conference in		
		London in 1924	150	
	18	Imperial Bureau of Entomology	400	
	19	Imperial Bureau of Mycology	300	
	20	International Institute of Agriculture, and cost of	000	
	0.1	representation at	200	
	$\frac{21}{22}$	International Institute of Refrigeration	160 20	
	$\frac{22}{23}$	International Seed-testing Association Lincoln Agricultural College, in connection with	20	
	20	plant breeding and selection (seed wheat and		
		oats)	1,200	
	24	Moa Seed Farm Association	50	
	25	Repairs to road between Ross and Ross Lime	·	
		Works	25	
	26	Royal Agricultural Society	1,000	
	$\frac{27}{28}$	Stratford model dairy farm and experimental area Waimate West Demonstration Area	$\begin{array}{c c}425\\100\end{array}$	
	29	Waimate West Demonstration Area Winton Experimental Area	850	
	30	Laboratory (chemical)	550	
	31	Law-costs	25	
		Lime production—		
	32	Development of	20	
	33	Subsidy to Farmers' Co-operative Lime Companies	200	
	34	Misappropriation by Cadet in Head Office	5 000	
	3 <b>5</b> 36	Postage, telegrams, and rent of boxes Preparation and distribution of publications	5,000 3,200	
	37	Printing and stationery	3,000	
	]	Purchase of—	-,	
	38	Books, newspapers, and other publications	400	
	39	Stud stock, including expenses of importation	500	
	1	Railways Department—	20.000	
	40	Carriage of lime for bona fide farmers	30,000	
	$\begin{array}{ c c c } 41 \\ 42 \end{array}$	Portion of freight rates on fertilizers Rents of Offices in New Zealand and abroad	$\begin{array}{c c} 30,000 \\ 5,500 \end{array}$	
	12	Subsidies—	3,000	
	43	Chatham Islands steamer-service (partly re-	į	
		coverable) (parti)	500	
	44	Westport-Karamea steamer-service	100	
	45	Telephone services (including installation, extensions,		
	1.0	maintenance, rent, and calls)	200	
	46	Transfer and removal expenses	200	
	47	Travelling allowances and expenses	1,600	
		Upkeep and Improvement of Buildings and Fences on Departmental Reserves and Grounds—		
	48	Waysa and other expenses	200	
	149	Woolston Tanneries Commission	200	

### DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.	VOTE No. 37.—DEPARTMENT O	F AGRICU	ULTURE—	1926	-27.
926–27.		continued.  Subdivision No. I.—Head Of	<i>ffica</i> aonti	haun	£	£
		Subdivision 140. 1.—Hedd Of	<i>fice</i> — 601161	nueu.	æ	ಕ
	50	OTHER CHARGES FOR AND INCIDENT Contingencies, including unfore cidental to the Head Office its	eseen expe	enditure in-	100	
		Estimated credits-in-aid un Appropriation Act, 192 Contributions towards con ham Islands steamer Vote, Public Buildings ,, Post and Telegray Working-expens ,, Department of Just	23 (see end st of Chat- c service— £169 ph ses 114	on 22 of the of vote)—	116,938	٠ .
		_		407		
		Farm areas Laboratory (chemical) Moumahaki Endowment Publications	•••	$ \begin{array}{c c} 14,243 \\ 50 \\ 1,600 \\ 1,500 \end{array} $		
				17,800		
		$Total-Subdivision\ No.$				148,34
•	51	Subdivision No. IILive-s	tock Divis	ion.		
		Professional Divi	sion.			
1		1 at £765 (Director) Class A—	• • • •	• • ·	765	
3		3 at £615	•••		1,845	
		$\begin{array}{c} Class~B \\ 1~{ m at}~\pounds 590 \end{array} \qquad \ldots$		£ 590		
		1 at £565	•••	565		
5		3 at £515	•••	1,545	0.700	
		Class C 2 at £495		990	2,700	
		5 at £490	•••	2,450		
		6 at £470		2,820		
15		$\begin{array}{ccc} 2 \text{ at } \pounds 445 & \dots \\ Class \ D & \end{array}$		890	7 150	
		$4 \text{ at } £425 \qquad \dots$	•••	1,700	7,150	
5		1 at £400	***	400		
İ		CLERICAL DIVISIO			2,100	
		Class III—	N.		j	
1		1 at £470	•••		470	
		Class V—				
1		$\begin{array}{ccc} 1 \text{ at } £380 & \dots \\ Class \ VII & \end{array}$	•••		380	
		1 at £295		295		
1		1 at £135	•••	135		
3		1 at £115	•••	115		
		Cadet's lodging-allowance	•••	•••	$\begin{bmatrix} 545 \\ 10 \end{bmatrix}$	
		GENERAL DIVISION	Ň.			
		4 at £500	•••	2,000		
		$1 \text{ at } \pounds 460 \qquad \qquad \dots \\ 14 \text{ at } \pounds 435 \qquad \qquad \dots$	•••	6 000		
		$4$ at £430 $\dots$		$\frac{6,090}{1,720}$		
İ		$2 \text{ at } £400 \qquad \dots$	***	800		
	1	12 at £370	•••	4,440	i	

of Persons.	Item.	VOTE No. 37DEPARTME	1926–27.				
			nued.	.GRIUUL	IIUKE		
192627.		Subdivision No. 11.—Live-s	stock Divis	sion—con	tinued.	£	£
	51	Salaries—continued.					
		General Divis	SIONcont	inued.	£		
1		2 at £365	•••		730		
		15 at £360	• • •		5,400		
		1 at £356	•••	•••	356		
		1 at £355 1 at £345	•••	• • •	$\begin{vmatrix} 355 \\ 345 \end{vmatrix}$		
		45 at £340	•••	•••	15,300		
İ	İ	1 at £330			330	į	
		22 at £320			7,040		
		8 at £310	•••		2,480		
		14 at £300	•••		4,200		
		1 at £295 3 at £290	•••	• …	$\frac{295}{870}$		
		5 at £280			1,400		
		21 at £275	•••	•••	5,775		
		8 at £270	•••		2,160	İ	
		7 at £265		•••	1,855		
		1 at £255	•••	• • • •	255		
		1 at £250 2 at £240	•••	• • •	$ \begin{array}{c c} 250 \\ 480 \end{array} $		
	ĺ	1 at £235	• • •	• • •	235		
		1 at £234	•••	•••	234		
		7 at £230			1,610		
		1 at £220	***		220		
000		1 at £200	• • •	• • •	200	İ	
208		1 at £175	• • •	• • •	175	68,060	
1		1 Inspector of Manure-se	terilizing	•••	•••	515	
		Non-per	MANENTS.				
		1 at £400		• • •	400		
		1 at £250		•••	250		
		4 at £240 4 at £240 (8 months)	•••	• • •	960 640		
		1 at £195	•••		195		
		1 at £130	•••		130		
		1 at £80			80		
14		1 at £47	• • •	•••	47	0.700	
257		Allowances for perform:	ing special	l or high	er duties	2,702	
		under Public Service I				20	
	1	Estimated credits-in	n-aid unde:	r Section	22 of the		
		Appropriation A	Act, 1923 (	see end o	of vote)—		
		Recoveries from le	ocal bodies	s, &c.	£2,000		
					-	87,262	
		OTHER CHARGES FOR AND	INCIDENTA	L TO-	_		
	52	Bicycles, motors, and re	pairs	•••		1,500	
	100	Destruction of noxious v				9. 500	
	53 54	Crown lands (recovera Native lands (recovera		•••	•••	3,700 2,000	
	55	Other lands (recoverable)		•••		500	
		Destruction of Rabbits—				330	
	56	Advances to Boards in	terms of S				
		Rabbit Nuisance Ac			s)	2,000	
	57	On Crown lands (reco		•••	•••	8,500	
	58	On Native lands (reco Rabbit Boards, subsid			•••	$6,500 \\ 15,000$	
	00	Wages and general		····expenses.	poison-	10,000	
		mixing depots,					
	1	(recoverable)—			1		
	60	Trading section (rec			i	8,500	

# $\label{eq:def-def-def-def} \mbox{DEPARTMENT OF AGRICULTURE---} continued.$

Number of Persons.	VOTE No. 37.—DEPARTMENT OF AGRICULTURE—	1926–2	
1926-27.	Subdivision No. II.—Live-stock Division—continued.	£	£
65		750	
68	Destruction of wild pigs; also votes Department of Lands and Survey, £350, and State Forest Service, £350	350	
6	Diseases of Live-stock—		
66		$\begin{array}{c c}25\\750\end{array}$	
6'	at crossing places	2,000	
68		350 150	
70	financial assistance Subsidies to cost of erection of cattle-dips	3,500 600	
7.	Experimental Farm, Mamaku: Wages and general working-expenses, buildings, purchase of stock, and provision for visitors	1,500	
7:	Grants— Contributions to cost of egg-laying competitions at		
7:	Auckland and Christchurch Brinting Poultry Conference report	200	
7	Inspection of manure-sterilizing (Australia and India): Labour, travelling, office, and other ex-		
7:	penses (part recoverable) 5 Inspection of meat	$\begin{array}{c c} 750 \\ 750 \\ \end{array}$	
7		250	
7	7 Poultry Experimental Station (Wallaceville) equipment and working-expenses (partly recoverable)	500	
78	poses	50	
79	Quarantine - stations, Auckland, Wellington, and Lyttelton (partly recoverable)	2,150	
80	Telephone services (including extensions, maintenance, rent, and calls)	1,200	
8:	Transfer and removal expenses	1,250	
	from Australia	250	
88	.   🗸	20,000	
8	diseases	850	
	cidental to the Live-stock Division items of the vote	$\frac{40}{87,425}$	
-	Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
	Destruction of noxious weeds— & Solution of Lands and Survey 3,700 Native Department 2,000		
	Other lands 500 Destruction of rabbits 8,500 Destruction of rabbits—		
	Department of Lands and Survey 8,500 Native Department 6,500		
	Farm areas 900 Quarantine-stations 1,675 Sundry items 100		
	32,375		
	Total—Subdivision No. II		174,

## DEPARTMENT OF AGRICULTURE continued.

Number of Persons.	Item.	VOTE No. 37—DEPARTN	MENT OF .	AGRICUI	ЛURE—	1926-	27.
1926–27.		Subdivision No. III	.—Horticult	ture Divis	ion.	£	£
	86	Salaries—				£	<b>ಪ</b>
			nal Divisio	ON.		į	
		Class A				515	
1		$1 \text{ at } \pounds 715$ $Class B$ —		• • •	•••	715	
1		1 at £540	***			540	
		~ .					
		Class IV—	L Division.		:		
1		$1 \text{ at } \pounds 425$				425	
1		$Class\ VI-$				120	
1		1 at £335	•••	•••		335	
		$Class\ VII-1 \ { m at}\ \pounds 295$			£ 295		
		1 at £230			$\frac{230}{230}$		
		1 at £210			210		
4		1 at £80	• • •		80	0.5	
		Cadet's lodging-allov	vance			$\begin{bmatrix} 815 \\ 35 \end{bmatrix}$	
		Cadet's lodging-allov	vance	•••	•••	99	
			г Divisior.				
		2 at £435	• • •	• • • •	870		
		8 at £400 2 at £375		• • •	$\frac{3,200}{750}$		
		3 at £355	•••		1,065		
		3 at £345			1,035		
		1 at £340	•••	••••	340		
		1 at £330 1 at £320		•••	330 320		
		2 at £310			$\frac{320}{620}$		
		3 at £300			900		
		4 at £295		•••	1,180		
		1 at £290 1 at £285	••		290 285		
		3 at £245			735	_	
		1 at £197		•••	197		
38		2 at £185	•••	•••	370		
		Non-pe	ERMANENTS.			12,487	
		1 at £345	ERMANENTS.	• • • •	345		
		1 at £280	•••		280		
		1 at £211	•••	•••	211		
4		1 at £150 Others not specified	• • • •	***	$\frac{150}{388}$		
50		Others not specified	•••	•••		1,374	
	-				-		
		Omana Changaga non an	D 111/11/D 711/11	T 1910		16,726	
		<ul> <li>OTHER CHARGES FOR AND Apiary Industry—</li> </ul>	D INCIDENTA	L FO-	-		
	87	Purchase of beekee	ping requis	ites, mat	erial for		
		experiments, &c.	· · · · · · · · · · · · · · · · · · ·			100	
	88	Subsidy: National E				100	
	89	Zealand (£1 for £1 Bicycles, motors, and a	l) repairs	•••		$\begin{array}{c c} 100 \\ 1,000 \end{array}$	
		Fruit Industry—	coparis	•••	•••	1,000	
	90	Collection of orchard				300	
	91	Compensation to nu				500	
	92	outbreak of fireblig Control of fireblight		1akl		529 200	
	93	Co-operative fruit-te				50	
	94	Cutting out of aband	oned orchar			60	
	95	Fumigation and des	truction of	diseased	`	900	
	96	coverable) Orchard requisites, f	ruit for expe	riments z	kc	200 150	
	97	Visit of Argentine ho				200	
	98	Grant: Institute of				100	

## ${\tt DEPARTMENT\ OF\ AGRICULTURE-} continued.$

	Item.	VOTE No. 37—DEPARTM	ENT OF A	GRICUI	LTURE	1926-	27.
1926–27.		Subdivision No. III.—H		Division-	-contd.	£	£
	99	OTHER CHARGES FOR ANI Horticultural Station, T Rent of land, wages ar stock, expenses, but and provision for vis Contribution to Who Board towards the Orchard Road	l'e Kauwha nd general w ildings, purc sitors (recov angamarinc	ta— vorking chase of erable) Road	£ 4,000		
	100 101 102 103 104	Law-costs Telephone services (incl maintenance, rent, ar Transfer and removal e Travelling allowances a Contingencies, includin cidental to the Horti	nd calls) xpenses and expense ag unforesee	s en expend	liture in-	4,040 30 200 400 5,500	
		vote	•••	•••	•••		
	-	Estimated credits-i Appropriation Collection of orch Farm areas Fumigation and c	Act, 1923 ( hard-tax 	see end or 		13,184	
		${\it Total-Subdiv}$			0,000		29,910
1	105	1 at £765 (Director)	IV—Dairy nal Divisio 			765	
1		Class B— 1 at £590	•••			590	
		Chapter	Division.				
		Class IV—	1 DIVISION.				
1		1 at £425			1		
	1	$Class\ VI$	• • • •	•••	•••	425	
2		·2 at £335 Class VII— 6 at £295 1 at £230 1 at £210			 £ 1,770 230 210	425 670	
		·2 at £335 Class VII— 6 at £295 1 at £230			1,770 230		
		·2 at £335 Class VII— 6 at £295 1 at £230 1 at £210 2 at £135			$\begin{array}{c} £ \\ 1,770 \\ 230 \\ 210 \\ 270 \end{array}$	670	
2		2 at £335 Class VII— 6 at £295 1 at £230 1 at £210 2 at £135 1 at £115 1 at £95			1,770 230 210 270 115		

		DEPARTMENT OF AGRICULTURE—continued	<i>l</i> .			
Number f Persons.	Item.	VOTE No. 37.—DEPARTMENT OF AGRICULTURE—		VOTE No. 37.—DEPARTMENT OF AGRICULTURE—		-27.
1926–27.		·				
		Subdivision No. IV.—Dairy Division—continued.	£	£		
	105	Salaries—continued.				
		Non-permanents.				
		$\pounds$ 1 at £505 505				
	İ	22 at £320 7,040				
		2 at £234 468				
		1 at £234 (part time) 160				
	-	16 at £225 3,600				
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$				
	1	1 at £104 104				
67	İ	1 at £91 91				
1.41			14,308			
141		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote) —				
		Recoveries from dairy-factory com-				
		panies, &c 6,500				
			44,308			
	7.00	OTHER CHARGES FOR AND INCIDENTAL TO-				
	$\frac{106}{107}$	Bicycles, motors, and repairs Certificate of record testing of purebred dairy cows	2,500			
	101	(recoverable)	400			
	108	Cow-testing Associations (recoverable)	50			
	109	Dairy requisites and produce for experiments (re-	0.50			
	110	coverable)	250			
	110 111	Dairy factory equipment, &c Dairy Research Laboratory: Equipment, &c	$\begin{bmatrix} 3,220 \\ 1,500 \end{bmatrix}$			
	$1\overline{12}$	Fees for certificate of record testing of purebred dairy	1,000			
		cows in Nelson District (recoverable)	120			
	113	Grading of dairy-produce (recoverable)	700			
	114	Law-costs	50			
	$\frac{115}{116}$	Subsidy: Dairy laboratory in Taranaki Telephone services (including installation, exten-	1,000			
	110	sions, maintenance, rent, and calls)	250			
	117	Transfer and removal expenses	500			
	118	Travelling allowances and expenses	8,500			
	119	Contingencies, including unforeseen expenditure inci-	1.5			
		dental to the Dairy Division items of the vote	15			
			19,055			
		Estimated credits-in-aid under Section 22 of the				
		Appropriation Act, 1923 (see end of vote)— Cow-testing £1,100	ĺ			
	.	Dairy-produce grading \$1,100				
	,	Semi-official testing 4,000				
		18,800				
		Total—Subdivision No. IV		63,3		
		Subdivision No. V.—Fields Division.				
	100	C. v. Lavana				
	120	Salaries— Professional Division.				
		Class A—				
1		1 at £715 (Director)	715			
		Class B— £ 540				
5		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	·			
U		Class C— 2,000	2,600			
5		5 at £490	2,450			

#### . DEPARTMENT OF AGRICULTURE -continued.

Number Persons.	Item.	VOTE No. 37DEPARTM	ENT OF inued.	AGRICUI	TURE-	1926-	27.
26–27.		Subdivision No. V.—Fi	elds Divis	ion—conti	nued.	£	£
	120	Salaries—continued.				æ .	æ
		Professional Di	vision—ca	mtinued.			
		Class D—			£		
		$3 \text{ at } \pounds 425$		•••	1,275		
		1 at £400 1 at £380		• • •	400 380	9	
		1 at £355			355		
		1 at £335		•••	335		
	İ	2 at £335 (8 months)	•••	•••	447		
10		1 at £330 Class $E$ —		•••	330	3,522	
		11 at £320	•••		3,520	5,022	
		1 at £295 (8 months)	•••	• • •	197		
13		1 at £275	• • •	• • •	275	2.000	
		CLERICAL	Division			3,992	
		Class IV—					
1		1 at £425	•••	•••	• • •	425	
1		Class VI— 1 at £335				335	
1		Class VII—	•••	•••	•••	559	
		1 at £295			295		
		1 at £135	•••	•••	135		
4		1 at £115 1 at £95	• • •	•••	$\begin{array}{c c} 115 \\ 95 \end{array}$		
#		1 200	•••	•••		640	
		Cadet's lodging-allowa	ance	•••		25	
		GENERAL	Division				
	1	1 at £470	•••		470		
		1 at £425 3 at £400		•••	1 200		
		1 at £315	•••	•••	$\begin{array}{c c} 1,200 & \\ 315 & \end{array}$	Ì	
		1 at £260		• • •	260		
		1 at £250	•••	•••	250	ļ	
10		1 at £235 1 at £175	••	•••	$egin{array}{c} 235 \ 175 \end{array}$		
10		I We will	•••	•••		3,330	
			MANENTS.		999		
		1 at £445 (9 months) 1 at £360	•••	•••	333 360		
		1 at £320			320		
		2 at £295		•••	590		
		2 at £250	•••	•••	500		
		$1  ext{ at } \pounds 240$ $1  ext{ at } \pounds 215$	• • •	•••	$\begin{array}{c c} 240 \\ 215 \end{array}$		
		1 at £208	•••	•••	208		
		1 at £182		•••	182		
		1 at £181		•••	181		
15		2 at £156 1 at £78	• • •	•••	$egin{array}{c} 312 \ 78 \end{array} igg $		
	-		•••	•••		3,519	
65					-	21,553	
		OTHER CHARGES FOR AND		AL TO—			
	101	Agricultural investigatio	n—			200	
	$\begin{vmatrix} 121 \\ 122 \end{vmatrix}$	Blackberry Injurious insects	•••	•••	•••	$\begin{array}{c c} 300 \\ 250 \end{array}$	
	123	Co-operative field experi	$_{ m ments}^{\dots}$			1,500	
	124	Bicycles, motors, and re	pairs			400	
	125 126	Biological Laboratory as Experiments and inve	stigations	into me	thods of	1,000	
		arresting deterioration which are reverting to				1,800	

#### DEPARTMENT OF AGRICULTURE—continued.

Number of Persons.	Item.	VOTE No. 37.—DEPARTMENT OF AGRICULTURE	1926-	-27.
1926–27.		-continued.  Subdivision No. VFields Division—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	,	
	[	Experimental areas—		
	127	Albany	100	
	128	Ashburton	1,100	
	129	Galloway	1,000	
	130	Gore	400	
	131	Marton (part recoverable)	500	
	132	Puwera	1,500	
	133	Winton	600	
	134	Experimental seeds and plants for distribution	50	
	135	TN - 11 - 11 1 1	100	
	136	Grant to J. G. Myers, Entomological Correspondent	100	
	130	in United States	100	
	137	Irrigation in Central Otago: Experimental and in-	100	
	194		7 000 E	
	190	vestigation work New Zealand hemp industry: Grading New Zealand	1,000	
	138		100	
	100	hemp	100	
	139	Plant-breeding	100	
	140	Storage of agricultural seeds	100	
	141	Telephone services (including installations, extensions,		
		maintenance, rent, and calls)	150	
	142	Top-dressing danthonia brown-top grassland	250	
	143	Transfer and removal expenses	400	
	144	Travelling allowances and expenses	7,600	
	145	Treatment of field-crop diseases	150	
	146	Contingencies, including unforeseen expenditure in-		
		cidental to the Fields Division items of the vote	15	
			20,565	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—	]	
		Farm areas 3,000		
		Grading hemp 1,500		
		Seed-testing 800	- 1	
			· · · · · · · · · · · · · · · · · · ·	
		5,300		
		$TotalSubdivision \ No. \ V                                  $		42,11
		GROSS TOTAL	•••	458,42
		Credits-in-aid $(a)$		89,34
		NET TOTAL—VOTE No. 37		369,08

#### (a.) Credits-in-aid :—

			Other	
		Salaries.	Charges.	1926-27.
•		£	£	£
Subdivision	ı I	 1,015	17,800	18,815
,,	II	 2.000	32,375	34,375
,,	III	 	5,550	5,550
,,	IV	 6,500	18,800	25,300
,,	V	 	5,300	5,300
Totals		 ${9,515}$	${79,825}$	89,340
				·

#### DEPARTMENT OF TOURIST AND HEALTH RESORTS.

		والمستعدد	-					199	26–27.	
						Salarie	es.	Other	r Charges.	Total.
Vote No.	38	-Department	of To	urist and	Health	£		-	£	£
Gr	oss I	Resorts-—		• •		35,	092		42,544	77,636
CR	EDITS	-IN-AID		• •			116		650	766
NE	T TO	TAL				34	976		41,894	76,870
Number of Persons.	Item.					All a manufacture and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second and a second			1926	<b>-27.</b>
1926–27.	<b></b> -	VOTE 1	No. 38 AND	-DEPARTM HEALTH	IENT C RESOR	F TOU IS.	RIST	-	£	£
	1	*Salaries-								
			ADM	INISTRATIVE	Division	N.				
1		1 at £85	0 (Gene	ral Manager	)	•••			850	
			Pro	FESSIONAL	Division	•			İ	
1		1 at £1,0	001 (Bal	neologist)	•••	•••		•••	1,001	
1		$Class\ I$ at	ara-ta	CLERICAL DI lso Departi		Indust	ries ai	nd		
1			amerce,				iics ai		365	
1		$egin{array}{c} Class & II \ 1 &  ext{at } \mathfrak{L} \end{array}$							515	
		$Class \ II \ 1 \ { m at} \ \pounds$						<b>£</b>   70	!	
2				lso Departi l Commerce,		In-	37	70		
5		$egin{array}{c} Class & V - \ 5 &  ext{at } \mathfrak{L} \end{array}$			••				1,900	
2		$Class\ VI \ 1 \ { m at}\ \mathfrak{L} \ 1 \ { m at}\ \mathfrak{L}$	335				38 <b>3</b> 2	35 20		
4		Class VI 4 at £ 1 at £	I— 295 275	· ·			$\frac{1,18}{27}$	80 75	655	
		2 at £ 5 at £	250			***		00		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase

## DEPARTMENT OF TOURIST AND HEALTH RESORTS--continued.

Number of Persons.	Item.				-	1926-	27.
926–27.	-   	VOTE N. 90 DED	ADMINITARIO OF	MOHDI	COTT. A NI IN	]	
		VOTE No. 38.—DEP	ARTMENT OF RESORTS—cor		ST AND	£	£
		HEALLE	NESONIS—CO	umuea.			
	1	Salaries—continued.					
		CLERICAL	Division—cont	inued.			
		Class VII—contin	ued.		£		
		2 at £135			270	-  -	
		5 at £115	• • •		575		
0.6		3 at £95		• • •	285	!	
26		4 at £80	•••		320	4,455	
		Cadets' lodging-allo	owances			160	
		,	General Divis	ION.		-	
		1 at £420	•••		420		
		1 at £380		•••	380	[ :	
		1 at £335	•••		335	İ	
		3 at £330		•••	990		
		1 at £325			325		
		1 at £320	• • •	•••	320	į	
		1 at <b>£</b> 310 2 at <b>£</b> 300	***	•••	310 600		
		1 at £285	•••	•••	285		
		2 at £280	• • •		560		
		1 at £270	•••	•••	270		
		1 at £265	***	•••	265		
		2 at £260			520	l İ	
		3 at £255	• • •	•••	765		
		6 at £252 3 at £250	•••	•••	1,512		
		3 at £245	•••		750 735		
		1 at £235	• • •	•••	235	ļ	
		6 at £230			1,380		
		5 at £229			1,145		
		4 at £220			880	ļ	
		1 at £215			215		
		1 at £205	•••	•••	205		
		5 at £185	•••	•••	925	!	
		1 at £175 2 at £156	•••	•••	$\begin{array}{c c} 175 \\ 312 \end{array}$	į	
		1 at £150	•••		150		
		2 at £140	•••		280		
		3 at £135			405		
		6 at £130	•••		780	:	
72		1 at £100	•••	•••	100	16,529	
		Unclassi	FIED (NON-PERM	ANENT).		,	
		1 at £565		•••	565		
		4 at £260			1,040	i	
		1 at £252	•••	•••	252		
		4 at £235			940		
		1 at £230 1 at £225	•••		$egin{array}{c c} 230 &   & \\ 225 &   & \\ \hline \end{array}$		
		2 at £221	•••		$442 \mid$		
		4 at £220	•••	•••	880		
		3 at £210	•••	•••	630		
		1 at £208	• • •		208		
	1 .	1 at £205			205		

#### DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.

Number of Persons.	Item.	VOTE No. 38—DEPARTME	ent of	TOURIST	AND	1926-	27.
19 <b>2</b> 6–27.		HEALTH RESOI				2	£
	1	Salaries—continued.			į		~
		Unclassified (non-per	MANENT)-	-continued	. £		
		2 at £190	,		380	İ	
		1 at £180			180	į	
		1 at £161			$\overline{161}$		
		1 at £143			143 +		
		1 at £130			130	1	
		$1  ext{ at } \pounds 125$			125		
		2 at £110		•••	220	İ	
		3 at £105			315		
		4 at £100		• • •	400		
		1 at £100 (also Department	nt of Ind	ustries	100		
		and Commerce, £100)	•••	• • • •	100		
		2 at £91		•••	182	:	
		1 at £78 2 at £65		•••	$\begin{bmatrix} 78 \\ 130 \end{bmatrix}$		
4 C		2 at £05 1 at £25	• •		25		
46		1 80 \$20	• •	• • •	20	0 106	
157		Allowance to officers tempor higher duties (Publi	porarily p	performing Regulation	special	8,186	
		and 209)				50	
		ŕ				35,506	
		Less— Amounts deducted for Proportion of increa provided but not p	ses to s	alaries	£ 208 206	!	
		year	•••	•••	200	414	
		Estimated credits-in-aid Appropriation Act, Salaries of officers pooffice duties Officers performing du Customs Department Department of Inte	1923 (see erforming  aties for— nt ernal Affa	end of vote Post			
					_	35,092	
		OTHER CHARGES FOR AND I	NCIDENTA	L TO	•		
	3	Adjustment of "Credits material, &c., in Austral ments" Advertising, photographs,	ia for Go 	$egin{array}{c}  ext{vernment I} \ \dots \end{array}$	Depart-	50	
	-	other publications				4,000	
	4	Bonuses and commissions				50	
	5	Claims in connection with	passenge	r booking		5	
	6	Entertainment-allowances			•••	490	
	7	Fox and Franz Josef Glaci			ts	60	
	8	Freight, cartage, and trans		ges	•••	35	
	9	Fuel, light, power, and wa		 " Маканал	lua cla	130	
	10	Glade House and Te Anau- Maintenance, including t				5 000	
	11	Government ticket orders,				5,000	
	12	payment of (recoverable Grant to H. Croker, Head	)			100	
		$\mathbf{England}$		• • •	•••	85	

#### DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.

Number of Persons.	Item.		1926-	27.
1926–27.		VOTE No. 38.—DEPARTMENT OF TOURIST AND	-	
		HEALTH RESORTS—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	13	Lakes Te Anau and Manapouri—		
		Maintenance of steamers and jetties, including repairs	125	
	14	Maintenance of hostels, baths, or reserves at Little	120	
		Barrier Island, Waiotapu, Te Puia, Tokaanu,		
	i	Morere, Tarawera, Pukaki, and Te Anau, and reserves vested in Department	1,100	
	15	Marine Department: Subsidy to Bluff-Stewart		
	16	Island steamer	333	
	10	Agent, Melbourne	30	
	17	Office-cleaning	230	
	18 19	Office fittings and requisites	$\frac{425}{200}$	
	$\begin{vmatrix} 19\\20 \end{vmatrix}$	Overtime and meal allowances Postage, telegrams, and rent of boxes	750	
	21	Printing and stationery	750	
	22	Queenstown Reserves— Maintenance, improvements, music, &c	340	
	23	Rents of offices	2,940	
*	24	Rotorua Acclimatization District—		
		Repairs and wages, including bonuses to honorary rangers, &c	250	
	25	Rotorua Baths—	200	
	0.0	Wages, repairs, and sundry expenses	1,000	
	26	Rotorua Sanatorium—  Maintenance, including wines, spirits, furniture,		
		supplies, and repairs	3,500	
		Rotorua Works, including Whakarewarewa—		
	27	Wages, repairs, and sundry expenses— Electric light and power system	2,750	
	28	Reserves, gardens, parks, and bands or orchestra	400	
	30	Water-supply and sewerage Wharves and beacons	3,000	
	31	Rotorua: Purchase of stores (including freight,	200	
	1	part recoverable)	5,350	
	32	Subsidies— Accommodation-house, Makarora	50	
	33	Accommodation-house, Waimarino	80	
		Coach, motor, and steamer services—	250	
	34   35	Fairlie-Pukaki-Hermitage-Queenstown Lumsden-Te Anau	$egin{array}{c} 650 \ 150 \end{array}$	
	36	Ross-Waiho Gorge-Weheka	150	
	37	Te Anau-Glade House	26	
	38	Stewart Island County Council (£1 for £1) for improvements	150	
	39	Te Aroha Hot Springs—		
		Maintenance of baths, gardens, music, furniture,	1 200	
	40	and repairs	1,200	
		maintenance, rent, and calls)	385	
	41	Transfer and removal expenses	130	
	$\begin{vmatrix} 42 \\ 43 \end{vmatrix}$	Travelling allowances and expenses  Typewriters: Purchase and repairs	550 75	
	44	Waikaremoana: Maintenance of Lake House	1,400	
	45	Waimangu Round-trips and Hostel—	200	
	46	Wages, repairs, and sundry expenses Waitomo Caves and Hostel—	320	
		Maintenance, including furniture and repairs	3,500	

# ${\tt DEPARTMENT} \ \ {\tt OF} \ \ {\tt TOURIST} \ \ {\tt AND} \ \ {\tt HEALTH} \ \ {\tt RESORTS--} {\it continued}.$

Number of Persons.	Item.	HOME N. 60 DEDARGMENT OF TOURNET AND	1926-27.		
1926-27.		VOTE No. 38.—DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.	£	£	
	47	OTHER CHARGES FOR AND INCIDENTAL TO—continued.  Contingencies, including unforeseen expenditure incidental to the other items of the vote	50		
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Stores used on work chargeable to £ Public Works Fund 500 Purchase of material, &c., in Australia for Communication Depart			
		tralia for Government Depart- ments 50 Refunds of amounts paid on ticket orders on behalf of other De- partments 100			
		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$			
		Gross Total	42,544	77,636	
		Credits-in-aid $(a)$		766	
		NET TOTAL—VOTE No. 38		76,870	

(a) Credits-in-aid—				Estimated 1926–27.
Salaries		 		$\tilde{116}$
Other Charges	• •	 		650
Total		 	. •	766

#### DEPARTMENT OF EDUCATION.

		1926–27.	
- <del></del>	Salaries.	Other Charges.	Total.
Vote No. 39.—Department of Education—	£	£	£
Subdivision I.—Head Office	30,442	1,900	32,342
EDUCATIONAL AGENCIES.			
Subdivision II.—Elementary Education	37,954	2,053,300	2,091,254
" III.—Secondary Education	2,636	287,808 $21,405$	290,444 $21,405$
,, IV.—Higher Education	2,621	169,320	171,941
,, V.—Technical Education		162,580	162,580
,, VI Training of Teachers	60,380	12,040	72,420
,, VIII.—School buildings, furniture, and sites		184,260	184,260
,,	103,591	2,890,713	2,994,304
PHYSICAL AGENCIES. Subdivision IX.—Physical Instruction	5,195	4,110	9,305
SOCIAL AGENCIES.			
Special Schools—			
Subdivision X.—Education of the Blind		700	700
$XISchool\ for\ the\ Deaf$ $XIISchools\ for\ the\ Feeble-minded$	5,605	2,050	7,655
VIII Child Walfana	7,150	$6,000 \\ 91,765$	13,150
" AIII. Ghua Wegare	21,914	91,700	113,679
	34,669	100,515	135,184
" XIV.—Material and Stores	1,355	Cr. 2,800	Cr. 1,445
,, XV.—Miscellaneous Services		55,590	55,590
	1,355	52,790	54,145
Gross Total	175,252	3,050,028	3,225,280
Credits-in-aid	900	238,360	239,260
NET TOTAL	174,352	2,811,668	2,986,020

Number of Persons.	Item.	. VOTE No. 39—DEPARTMENT OF EDUCATION	1926–27.	
1926-27.	1	Subdivision No. I.—Head Office. *Salaries—	£	£
		Administrative Division.		
1		1 at £1,250 (Director of Education)	1,250	
1		Professional Division.  1 at £1,000 (Assistant Director of Education), also arrears at £50 per annum, 1925–26	1,050	
2		Class A— 1 at £715 (General Professional Officer £ and Inspector), (5 months) 298 1 at £665 (Architect) 665	963	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

## ${\tt DEPARTMENT\ OF\ EDUCATION--} continued.$

Number f Persons.	Item.	VOTE No. 39.—DEPAR	1926–27.				
926–27.		Subdivision No. I	Head Office	e—continu	ied.	£	£
	1	Salaries—continued.			•		
			AL DIVISION				
		Class Special—	327131011	•	£		
		1 at £765	•••	•••	765		
2		1 at £665	•••		665	1 400	
		$\begin{array}{c} Class\ I \\ 1\ { m at}\ \pounds 590 \end{array}$			590	1,430	
2		1 at £540	•••		540		
		$Class \ II-$				1,130	
1		1 at £515	•••	•••		515	
		$Class \; III - 2 \;  ext{at $\pounds 470}$			940		
3		1 at £445	•••		445		
_		$Class\ IV$ —			·	1,385	
1		1 at £425	• • •		• • •	425	
		$Class\ V7\ { m at}\ { m \pounds}380$			2,660		
9		2 at £355	•••	•••	710		
	i	Class VI—				3,370	
		9 at £335	• • •		3,015		
15		5 at £320 1 at £295	•••	•••	$\begin{array}{c c} 1,600 \\ 295 \end{array}$		
15		Class VII—	•••	•••		4,910	
		2 at £295	•••		590	1,010	
		1 at £275	•••	•••	275		
		4 at £250	•••	• • •	1,000		
		2 at £230 3 at £210	•••	• •	$460 \mid 630 \mid$		
		3 at £190	•••	•••	570		
		8 at £155	•••	•••	1,240		
		8 at £135	•••	•••	1,080		
		3 at £115 8 at £95		•••	$\begin{bmatrix} 345 \\ 760 \end{bmatrix}$		
46		4 at £80	•••		320		
		Cadets' lodging-allows	inces	•••	390		
			. Dressacou			7,660	
		1 at £295	al Division.		295		
		1 at £285	•••	•••	285		
		4 at £255	•••		1,020		
		1 at £225	•••	•••	225		
		2 at £205 1 at £195	•••	•	$\begin{array}{c c} 410 \\ 195 \end{array}$		
		3 at £185	•••	•••	555		
		1 at £160	•••	•••	160		
16		2 at £145	•••	• • •	290	0.405	
	.	Non-P	ERMANENTS.	•		3,435	
		3 at £234	ERMANENTS.		702		
		1 at £221	•••		221		
		1 at £208	***	•••	208		
		1 at £182 2 at £169	•••	•••	182 338		
		1 at £156	•••	•••	156		
	.	2 at £145	•••	•••	290		
		1 at £130	• • •	•••	130		
13		1 at £92	•••	••	92 500	-	
112		Others not specified		• • •	500	2,819	
			ASSIFIED.			_,510	
		Special allowances to	officers for		ties per-		
		formed (Public Serv	ice Regulatio	on 209).		100	
						30,442	
					1_	50,112	

## ${\tt DEPARTMENT\ OF\ EDUCATION-} continued.$

Number of Persons.	Item.		1926-	27.
1926–27.	<u> </u>	VOTE No. 39.—DEPARTMENT OF EDUCATION— continued.		
		Subdivision No I.—Head Office—continued.	£	£
	2 3	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications Overtime and meal allowances	120 200	
	5 6	Telephone services (including installation, extensions, maintenance, rent, and calls)  Travelling allowances and expenses  Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	350 1,200 30	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Teachers' Superannuation Fund: £ Payment for services rendered 900		
		Total—Subdivision No. I	1,900	3 <b>2</b> ,342
		Subdivision No. II.—Elementary Education.		·
	7	Salaries—		
1		PROFESSIONAL DIVISION.  1 at £791 (Chief Inspector) £  Class A—	791	
51		3 at £665 (3 months) 498 6 at £615 3,690	31,866	
1		Non-permanent Inspectors 1 at £650 (Supervisor of School Music), also arrears, £55	705	
1		Non-PERMANENT.  1 at £400 (Supervisor of Education of Girls and Infants)	400	
1		Class C— 1 at £490 (Editor, School Journal)	490	
. 1		Class D— 1 at £380 (Sub-editor, School Journal)	380	
		Education Division.		
		TEACHERS OF CORRESPONDENCE CLASSES— £ 1 at £475 475		
٠		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
5		1 at £200 200 TEACHERS (NON-PERMANENT)—	1,510	
2		1 at £208 208 1 at £200 200	408	

Number of Persons.	Item.		1926–27.		
1926–27.	-   	VOTE No. 39.—DEPARTMENT OF EDUCATION— continued.	£	£	
		Subdivision No. II.—Elementary Education—continued.			
	7	Salaries—continued.			
	f 1	CLERICAL DIVISION. $Class\ VII-$			
1		1 at £155 (School Journal and Education Gazette)	155		
		GENERAL DIVISION.			
		Correspondence Classes (Non-permanent)— £			
		2 at £92 184			
3		1 at £65	249		
67					
-			37,954		
		Other Charges for and incidental to-			
	8	Conveyance of school-children, instructors, and teachers, and allowances for board of children who have to live away from home to attend school—			
		School-children by rail        13,300         School-children by road        26,700         Manual Instructors        7,700         Board of children        6,300			
	9 10 11	Correspondence classes  Education Gazette (part recoverable)  Fares of pupils attending Standard VI examination Grants to Education Boards for the following purposes:—	54,000 500 1,120 50		
	12	General Administrative Purposes— Additional grant to Wellington Education Board	3,000		
	$egin{array}{ c c c c c c c c c c c c c c c c c c c$	Capitation on average attendance and £750 to each Board Incidental expenses of School Committees (clean-	39,750		
		ing, disinfecting, &c.)	105,000		
	15 16	Inspection: Extra clerical assistance, typing, &c. Teachers' Salaries: Including pupil-teachers' and probationers' allowances, and salaries of super-	400		
	17	numary teachers Manual instruction: Capitation, salaries, material,	1,740,000		
	18	and incidentals Organizing teachers: Salaries and travelling allowances and expenses	78,000 10,000		
	19 20	ances and expenses Removal of teachers School and class libraries: Capitation and grants for supply of books in necessitous cases, and in cases where newly-entered pupils elsewhere have already purchased class-books different from those	750		
	21	in use in the school School Inspectors	2,600		
	22	Rent, office requisites, telephones, cleaning, firing, advertising, &c School Journal: Printing, material, apparatus, con-	270		
	23 24	tributors' fees, postages, &c Special survey of Junior High School system Travelling expenses and allowances	7,000 50 10,000		

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF EDUCATION— continued.	1926	-27.
1926–27.		Subdivision No. II.—Elementary Education—continued.	£	£
	25 26	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Transfer and removal expenses Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	750 60	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (£53,000), (National Endowment Revenue), and Section 4 (2) of the Education Reserves Amendment Act, 1924 (£108,000) 161,000 Refund portion advance for purchase of buses 400 Sale of School Journals and Education Gazette, &c., and fees for special examination 1,300		
		162,700	0.000.000	
		Total—Subdivision No. II	2,053,300	2,091,254
		Subdivision No. III.—Secondary Education.		
	27	Salaries—		
1		Professional Division. 1 at £791	791	
		Class A—	İ	
2		$2 \text{ at } \pounds 665$ $Class \ B$ —	1,330	
1		. 1 at £515	515	
4		O C	<b>2</b> ,636	
	28	OTHER CHARGES FOR AND INCIDENTAL TO— Conveyance and board of pupils District High Schools: Grants for salaries of	13,000	
	-	secondary teachers	49,000	
	30	Grant: Wellington College Board, expenditure on Junior Department Hutt High School Board: Payment of accumulated	1,328	
	32	rents from High School site  Junior High Schools: Incidental expenses	220 700	
	33 34	Manual Instruction: Capitation, salaries, and material Secondary Schools and Colleges— & Grant for salaries 182,000	4,000	
		Incidental expenses 37,000	219,000	
	35 36	Transfer and removal expenses Travelling expenses and allowances of Inspectors, &c.	50 500	
	37	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 7,000		
			287,808	
	I	Total—Subdivision No. III		290,444

Number of Persons.	Item.	NOWE N. OO. DEDITONATION	1926-	27.
1926-27.	 	VOTE No. 39.—DEPARTMENT OF EDUCATION—  continued.	£	£
		Subdivision No. IV.—Higher Education.		, <b>~</b>
		Charges for and incidental to-		
	38	Assistants, Home Science Department, Otago University	450	
	39	Grants—	170	
	40	Agricultural scholarships Imperial College research scholarships	$\begin{array}{c c} 255 \end{array}$	
	41	Salaries of Professors of Education	3,150	
	42	"Sir George Grey" Scholarships: One to each Uni-	,	
		versity College (science)	220	
	43	Special assistance to deserving students in cases of		
		hardship	100	
	1 4 4	University Colleges—	900	
	44	Agricultural bursaries: Allowances and tuition fees Educational bursaries	800 600	
	46	Engineering bursaries	1,600	
	47	Home Science bursaries	4,600	
	48	National Research Scholarships	800	
	49	Otago University: For addition to salaries of Medi-	ļ	
		cal Professors (£400 per annum), and additional	1 000	
	F0	grant, £1,400	1,900	
	50	Schools of Forestry: Auckland and Christchurch (maintenance)	2,250	
	51	Special Technical Classes	2,900	
	52	University Entrance Board, expenses of	100	
	53	Workers' Educational Association: For organizing		
		purposes	1,500	
	54	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—		
		Credits under Sections 296 and 297		
		of the Land Act, 1924 (National £		
		Endowment Revenue) 400		
		400		
		Total—Subdivision No. IV		21,405
		Subdivision No. V.—Technical Instruction.		
	55	Salaries—		
		Professional Division.		
1	'	1 at £791 (Superintendent, Technical Education)	791	
0		Class A — 2 at £665	1 220	
2		2 at £000	1,330	
1		1 at £500	500	
4			2,621	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
		Grants for—		
	56	Conveyance of instructors and students attending	1	

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF EDUCATION—	1926–27.	
1926–27.		continued.	£	2
		Subdivision No. V.—Teehnical Instruction—continued.	æ	, æ
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	57 58 59 60 61 62 63 64 65	Conveyance and board of pupils  Examination expenses (part recoverable)  Material  Technical and continuation classes— Salaries  Incidentals  Technical Schools Board: Expenses of meetings  Transfer and removal expenses  Travelling allowances and expenses  Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	7,000 400 5,000 127,200 28,300 100 100 800	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—Credits under Sections 296 and 297 of the Land Act, 1924 (National Endowment Revenue) 4,000 Examination fees, &c 120		
		4,120		
		Total—Subdivision No. V	169,320	171,941
•				
		Subdivision No. VI.—Training of Teachers.		
		CHARGES FOR AND INCIDENTAL TO—		
	66 67	Training Colleges— Allowances to students and transport expenses Salaries of staffs of training colleges (one-half, the other half is charged to "Elementary Education"), including associated teachers	120,000	
	68 69	Science apparatus and material Special instruction, libraries, clerical assistance,	1,050	
	70	and incidental expenses  Students' University College fees  Training of Teachers (other than Students of Training Colleges)—	3,000 4,620	
	71	Classes at sub-centres, including fares of instruc-	5 000	
	72	tors and teachers attending training classes  Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	5,900	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 5,000		
		Total—Subdivision No. VI		162,580

#### Ammonriations for Consolidated Fund Services

		DEPARTMENT OF EDUCATION—continued.		
Number of Persons.	Item,	VOTE No. 39.—DEPARTMENT OF EDUCATION—	1926–27.	
1926-27.		Subdivision No. VII.— Native Schools.	£	£
				~
	73	Salaries—		
285		Salaries of teachers of village schools	59,000	
		Professional Division.		
		$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$		
2		1 at £665 665	1 220	
287	-		1,380	
	-	OTHER CHARGES FOR AND INCIDENTAL TO—	60,380	
	74	Advertising, forwarding charges, translation fees, fuel,	ALLIAN AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERTY AND PROPERT	
	75	planting, sanitation, water, &c	$\begin{bmatrix} 50 \\ 2,250 \end{bmatrix}$	
	75   76	Books, apparatus, and other school requisites Conveyance, ferrying, and board of children	$\begin{bmatrix} 2,250 \\ 2,300 \end{bmatrix}$	
	77	Courses of instruction for teachers	100	
	78 79	Higher Education, Scholarships, and Apprenticeship Manual instruction (including equipment and material,	5,250	
		instructors, and scholarships)	450	
	80	Special allowances to teachers in isolated places	$\begin{bmatrix} 200 \\ 120 \end{bmatrix}$	
	$\begin{vmatrix} 81 \\ 82 \end{vmatrix}$	Storage and despatch of school books and material  Transfer and removal expenses	750	
	83	Travelling allowances and expenses	550	
	84	Contingencies, including medical examination of teachers and unforeseen expenditure incidental to		
		the other items of this subdivision	20	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (National & Endowment Revenue) 1,800 Tauranga Educational Endowment Reserves Act, 1896 (rents, &c., from reserves) 275 Fines for non-attendance, &c 5		
		2,080		
			12,040	
		Total—Subdivision No. VII		72,42
	,			
		Subdivision No. VIII.—School Buildings, Furniture,		
		and Sites.		
		CHARGES FOR AND INCIDENTAL TO—		
	85	Contribution to Fire Insurance Fund	10,000	
		General maintenance of school buildings under control of Education Department, including small		
		additions to buildings, alterations, rebuilding,		
		furniture, fittings, fencing, rents, additions and		
	86	improvements of sites, and incidental expenses— Institutions established under Child Welfare		
		Act, 1925	1,800	
	87	Native schools School for the Deaf	$\frac{3,000}{300}$	
	89	Schools for the Feeble-minded	750	
	90	Grant to Devonport Borough Council for improve-		
		ments to domain used as a playground by children attending Stanley Bay School	300	
		Public Schools—	500	
	91	Maintenance and repair of school buildings and		
		residences (including alterations and small additions); repair and renewal of outbuildings,		
		furniture, and fences; rents of buildings and sites	114,000	

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF EDUCATION—	1926-	-27.
1926–27.		continued. Subdivision No. VIII.—School Buildings, Furniture, and Sites—continued.	£	£
	92 93 94 95 96 97 98	CHARGES FOR AND INCIDENTAL TO—continued.  Grants to Education Boards—  Alterations to provide accommodation for Inspectors at Boards' Offices	100 46,000 300 1,000 5,500 1,200	184,260
	99	Salaries—  General Division.  Physical Instructors—  1 at £500 500 2 at £350 700 3 at £330 990		
16		3 at £320         960         4 at £300        1,200         1 at £295         295         1 at £285         285         1 at £265	5,195	
		0	5,195	
	100 101 102 103 104 105	OTHER CHARGES FOR AND INCIDENTAL TO— Courses of instruction for teachers (including railway fares)  Material, Officers' requisites, uniform allowances, advertising, printing, forwarding charges, books, &c. Reprinting Syllabus Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of this subdivision  Estimated credits-in-aid under Section 22 of the	25 150 200 25 3,700	
		Appropriation Act, 1923 (see end of vote)— Credits under sections 296 and 297 of the Land Act, 1924 (National Endowment Revenue) 200 Sale of material and books, &c 10		
		$Total-Subdivision \ No. \ IX                                  $	4,110	9,30

Number of Persons.	Item.					1926-2	27.
1926-27.	-   	VOTE No. 39—DEPA	$\begin{array}{c} { m ARTMENT} { m \ OF} \\ { m \it continued.} \end{array}$	' EDUCAT	LION—  -		
		Subdivision No.	X.— $Education$	of the Blin	d.	£	£
	106	Charges for and in Grant to trustees	CIDENTAL TO-				
	107	pupils Special instruction	•••			650	
		education of pur	oils			40	
	108	Contingencies, inc.	ther items of thi	en expendi is subdivisi	on	10	
			dits-in-aid under tion Act, 1923 ( 				
		Total	- Subdivision 1	Vo. X			700
	109	Subdivision No. XI	.—School for th	e Deaf (S	umner).		
		Professional	AND EDUCATION	Divisions	s.		
		Teachers—			£	1	
		1 at £615 1 at £440	•••	• •	$615 \begin{vmatrix} 440 \end{vmatrix}$		
		1 at £400	•••	•••	400		
		1 at £370	•••	•••	370		
		1 at £335		•••	335		
		2 at £285	•.••		570		
		2 at £225	• • •	• • • •	450		
		1 at £215	• • •	• • • •	215		
1.0		1 at £205	• • •		205		
13		2 at £195	***	• • •	390	3,990	
			ERAL DIVISION.			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
		Maintenance Staff- 1 at £260		•••	260		
		1 at £225	•••	•••	225		
		2 at £205 1 at £185	•••	•••	$\frac{410}{185}$		
	i	1 at £150	•••	•••	150		
		1 at £145	•••	•••	145		
		1 at £125	•••	•••	125		
		1 at £120	•••		120		
		3 at £110	•••		330		
13		1 at £50	•••		50	0.000	
26					_	5,000	
		Less deduction	ns for board	•••		$\begin{bmatrix}5,990\\385\end{bmatrix}$	
						5,605	
		OTHER CHARGES FOR			ers, and		
	110	Advertising, photo other publication		пемараре	20, 020	50	
	110 111	other publication  Maintenance of	ıs	•••	•••	50	

Number of Persons.	Item.		A TOMA CONT.	THE TY O	mr o > r	1926-	27.
1926–27.	-	VOTE No. 39. –DEP	ARTMENT OF continued.	EDUCA	TION—		
2020 2,,		Subdivision No. XI		Deafco	ntinued.	£	£
	113 114	OTHER CHARGES FOR Travelling allowan of children) Contingencies, inc	ces and expenses	L то— <i>con</i> s (includin  n expend	itinued.  ig transit  iture in-	300 25	
		Appropriation Credits under		end of vond 297			
				*	2,200		
		Tota	.—Subdivision N	o. XI		2,050	7,65
		Subdivision No. XII	.—Schools for th	ıe Feeble-	minded.		
	115	Salaries—	,		12		
	110		and General D	THICKOIL	- N		
						•	
		Special School for Gr	rls, Richmond,	-			
		Teachers—			£		
3		2 at £225 1 at £100		•••	450 100		
		Maintenance Staff-	_				
		1 at £320	• • • •	•••	320		
	;	1 at £245 1 at £185	•••	•••	$\begin{array}{c c} 245 \\ 185 \end{array}$		
		1 at £150		•••	150		
		3 at £140		•••	420		
8		1 at £135	•••	• • •	135		
	į				2,005		
		Less deduct	ions for board		260		
		Special School for Be	oys, Otekaike,			1,745	
		Teachers—					
		1 at £320			320	İ	
		1 at £285		•••	285		
		1 at £225	***		225		
		1 at £205			205		
		1 at £175	•••		175		
6		1 at £155	•••	• • • •	155		
		Maintenance Staff					
		1 at £445			445		
		1 at £295	•••		295	ļ	
		3 at £225			675		
		1 at £220	•••	****	220		
		2 at £205			410		
		1 at £195 1 at £190			195 190	1	
		3 at £185	• • •	•••	555		
		1 at £180	•••	•••	180	İ	
		1 at £165	,		165		

## ${\tt DEPARTMENT\ OF\ EDUCATION--} continued.$

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF EDUCATION— continued.	1926-	27.
1926-27.		Subdivision No. XII.—Schools for the Feeble-minded— continued.	£	£
	115	Salaries—continued.		
		Education and General Divisions—continued.	* -	
		Maintenance Staff—continued.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £130 130		
28		$ \begin{array}{cccccccccccccccccccccccccccccccccccc$		
	-			
45		Less deductions for board 955		
		Less deductions for board 995	5,405	
			7,150	
		OTHER CHARGES FOR AND INCIDENTAL TO-	7,100	
	116 117	Advertising, photographs, books, newspapers, and other publications Maintenance of institutions, including provisions, cloth-	50	
	118	ing, equipment, stock, farm expenses, legal expenses, &c	5,500	
	119	Transfer and removal expenses Travelling allowances and expenses, including transit of children	350	
	120	Contingencies, including unforeseen expenditure in-	50	
		cidental to the other items of this subdivision  Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Credits under Sections 296 and	50	
	1.1.	297 of the Land Act, 1924 £ (National Endowment Revenue) 200 Maintenance fees, sale of produce,		
		&c 2,750		
		2,950		
	Ces	Total—Subdivision No. XII	6,000	13,150
		10000-50000000000 110. 2111		,
	10.52	Subdivision No. XIII.—Child Welfare.		
	121	Salaries and Wages—		
		EDUCATION AND GENERAL DIVISIONS.		
		The state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the s		
	1.54	Receiving Homes, Special Schools, and Child Welfare Centres—		
		Whangarei— Child Welfare Centre—		
		1 at £340 310		
2	1 1 1	1 at £181	521	
		Augkland-		
		Child Welfare Centre—		
		1 at £320 320		
	1001	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	+	
		1 at £225 225		
		1 at £215 215 185	İ	
		1 at £155 155		
9		1 at £140	9 140	
	1 - 1		2,140	

Number f Persons.	Item.	VOTE No. 39.—DEPAR'	rion—	1926–2	27.		
926–27.		Subdivision No. XIII.—	uued —	£	£		
	121			o —-conun	idou.	æ	<b>3</b> 5
	121	SALARIES AND WAGES			7		
		Education and Gene		$\mathbf{s}$ — $contin$	ued.		
		Receiving Homes, &c.— $e$	ontinued.			}	
		Auckland—continued.					
	1	Receiving Home— 1 at £205			£ 205		
		1 at £205 1 at £145	•••	•••	145		
		1 at £135	• • •	•••	135		
4		1 at £100	•••	•••	100	ĺ	
3		1 at £100	•••	•••			
		T - 1.1			585		
		Less deduction	ons for board	•••		480	
		Boys' Receiving Home	) <del></del>		245		
		1 at £245	• • •	•••	245	ĺ	
0		1 at £205	• • •	•••	205		
3	'	1 at £130	• • •		130		
					580		
•		Less deduction	ons for board		70		
						510	
		Hamilton—					
		Child Welfare Centre-	_		0.10		
		1 at £340	•••	***	340		
•		1 at £275	•••	•••	275		
3		1 at £156	•••	+ + +	156		
		Receiving Home—			7.00	771	
		1 at £180	•••	•••	180		
2		1 at £110	•••	•••	110		
					290		
	ŀ	Less deduction	ons for board		60		
						230	
		Wanganui—			ł		
		Child Welfare Centre-	_		25.5		
		1 at £275	•••	•••	275	1	
2		1 at £145	• • •	•••	145	100	
	1	Receiving Home—			1.40	420	
0		1 at £140	• • •	•••	140	ļ	
2		1 at £115	•••	•••	115		
	İ				255		
		Less deductions for	or board		60		
						195	
		PALMERSTON NORTH-					
		Child Welfare Centre-					
		1 at £340	•••	• • •	340		
		1 at £275	•••	•••	275		
3		1 at £168	•••	•••	168		
		Numer				783	
		NAPIER— Child Wolfers Centre					
		Child Welfare Centre- 1 at £340			940	1	
		1 at £340 1 at £228	•••	•••	340		
9	,		•••	•••	228		
3	<b>'</b>	1 at £135	•••	•••	135	703	
		Receiving Home—			105	708	
0	,	1 at £185 1 at £130	•••	•••	185		
2	'	1 80 2100	•••	•••	130		
					315		
		Less deducti	ons for board	•••	75		
	1					240	

	i						
Number of Persons.	Item.	VOTE No. 39.—DEPARTM	TION—	1926-9	2 <b>7.</b>		
1926–27.		Subdivision No. XIII.—C	hild Welf	are—cont	inued.	£	£
	121	SALARIES AND WAGES—contr	•				
		Education and General	Division	s-contin	ned.		
		Receiving Homes, &c.—cont	inued.				
		Gisborne— Child Welfare Centre—					
1		1 at £50	•••			50	
		Wellington— Child Welfare Centre—			£		
		1 at £370			370		
		1 at £350			350		
		$1 \text{ at } \pounds 275$	•••		275		
		1 at £228		•••	228		
		2 at £225			450		
		1 at £200	•••	•••	200		
		1 at £170	•••		170		
		1 at £161	•••		161		
		1 at £145			145		
11		1 at £50 (Medical Office		ıе)	50		
		Children's Home, Mirams	ar			2,399	
		1 at £185	•••	• • •	185		
		1 at £145	•••	•••	145	İ	
_		1 at £135	•••	•••	135		
5		2 at £130	• • •	•••	260		
	į				725		
		Less deductions	for board		135		
		Para' Pagairing Haya				590	
		Boys' Receiving Home-			105	ĺ	
2		1 at £130	•••	•••	$\begin{array}{c c} 185 \\ 130 \end{array}$		
2		1 80 200	•••	•••	130	•	
					315		
		Less deductions	for board		75		
						240	
		Nelson—					
		Child Welfare Centre—					
		1 at £340	•••		340		
		1 at £205	•••	•••	205		
3		1 at £126	•••	•••	126		
						671	
	[	GREYMOUTH-					
	-	Child Welfare Centre—				305	
1		1 at £185	• • •	•••	•••	185	
		C					
		Christchurch— Child Welfare Centre—					
					240		
		1 at £340	•••	• • •	340		
		1 at £320 1 at £253	•••	•••	320 253		
		1 at £245	•••	***	245	i	
		1 at £225	•••		225		
		1 at £185	•••	•••	185		
		1 at £155			155		
8		1 at £55 (Medical Office			55		
J		Receiving Home—	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	- /		1,778	
		1 at £185		•••	185	_,	
		1 at £135			135		
		1 at £126	•••	•••	126	1	
4		1 at £123	•••	•••	123		
	1						
		_			569		
	1	Less deductions	for board		135		
		12035 dedderions	ioi boaru	•••	100	434	

Number of Persons	Item.					1926-	27.
1926–27.	 	VOTE No. 39.—DEPART	MENT OF I	EDUCA'	FION—		
		Subdivision No. XIII	-Child Welfar	re—conti	nued.	£	£
	121	SALARIES AND WAGES—co	ntinued.				
		Receiving Homes, &c.—ce	ontinued.				
		Christchurch—continu	ed .				
		Boys' Receiving Home-			£		
		1 at £205	•••	•••	205		
0	İ	1 at £185	•••	•••	185	ĺ	
3		1 at £135	•••	•••	135		
					525		
		Less deduction	ns for board	•••	105	400	
		Ashburton—				420	
		Child Welfare Centre—					
1		1 at £15	•••	•••		15	
		TIMEDI					
		Timaru — Child Welfare Centre—	-				
		1 at £340	•••		340	1.1	
	-	1 at £275			275		
3		1 at £130	•••	• • •	130	-1-	
		Dunedin-				745	
		Child Welfare Centre—	<u>.</u>				
		1 at £340			340		
		2 at £275	•••		550		
		1 at £225	•••	•••	225		
6		1 at £205 1 at £185	•••	•••	$\begin{vmatrix} 205 \\ 185 \end{vmatrix}$		
U		Boys' Receiving Home-	• • • • · · · · · · · · · · · · · · · ·	•••		1,505	
		1 at £165	•	•••	165		
2		1 at £135	•••	•••	135		
					300		
		Less deductions fo	r board		60		
		-				2 <b>4</b> 0	
		Invercargill— Child Welfare Centre—					
		1 at £340			340		
		1 at £230	***	•••	230		
3	1 - 2 %	1 at £143		•••	143	<b>-</b> 10	
		Special Schools—				713	
		Weraroa Boys' Trainin	g Farm		,	,	
		1 at £405	•••	•••	405		
	İ	1 at £300	•••		300		
	İ	2 at £295	***	•••	$\begin{array}{c c} 590 \\ 280 \end{array}$		
		1 at £280 1 at £270	•••	• • •	270		
	ĺ	1 at £265			265		
		1 at £245	***	•••	245		
		3 at £225	•••	•••	675		
	Ì	1 at £205	•••		205		
	İ	1 at £195 2 at £160	•••		$\begin{array}{c} 195 \\ 320 \end{array}$	•	
	1	1 at £156	•••	• • • • •	156		
		1 at £140		•••	140		
18		1 at £135	•••		135		
		N. S. S. S. S. S. S. S. S. S. S. S. S. S.			4 101		
		Less deductions fo	r hoard	•	4,181 565		
	1	חז פווסוויסוויסוו פפסרדי	LOGULA		500	3,616	

Number of Persons.	Item.	VOTE No. 39.—DEPARTMENT OF EDUCATION—	1926-	-27.
1926-27.	 	continued.	_	
el.		Subdivision No. XIII.—Child Welfare—continued.	£	£
	121	Salaries and Wages—continued.		
		Receiving Homes, &c.—continued.		
		Special Schools—continued.		
		Special School for Girls, Dunedin—         £           1 at £420 (8 months)		
		1 at £315 315		
		1 at £185 185		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$	į	
		1 at £140 140	İ	
8		1 at £130 130	!	
114		1 515	1	
114		1,515 Less deductions for board 195		
			1,320	
			21,914	
	122	OTHER CHARGES FOR AND INCIDENTAL TO— Boarding-out of children, maintenance of infants in foster homes and upkeep of orphans whose parents		
	100	have died from influenza (part recoverable)	65,000	
	$\frac{123}{124}$	Legal expenses Levin Co-operative Dairy Co. Ltd.: Payment in	50	
	124	lieu of purchase of bonus shares	50	
		Maintenance of—		
	125	Inmates in Government Schools and of probationers in Boys' Receiving Homes, medical attendance of infants, and general upkeep of the institutions, including stock and work on land (part recoverable)	15,000	
	126	Inmates in private Industrial Schools: Capitation, refunds of maintenance payments, &c. (part re-		
	127	coverable) Maintenance of inmates sent to other institutions	1,700	
	128	Payment to Post and Telegraph Department for		
		services of officers	700	
	129	Inmates' earnings	200	
	130 131	Maintenance payments Rent, office requisites, telephones, lighting, &c	300	
	132	Transfer and removal expenses	$\frac{2,000}{100}$	
	133	Travelling allowances and expenses	6,500	
	134	Wages of inmates employed on farm work, &c	75	
	135	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	40	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Credits under Sections 296 and 297 of the Land Act, 1924 (National £ Endowment Revenue) 3,000 Maintenance fees, sale of produce, rent of property, &c 33,000		
			01 705	
	:		91,765	

Number of Persons.	Item.	VOTE No 90 DEDIDOMENT OF EDUCATION	1926	<b>-27.</b>
1926–27.		VOTE No. 39.—DEPARTMENT OF EDUCATION—continued.		
		Subdivision No. XIV.—Material and Stores.	£	£
	136	Salaries—		
1		CLERICAL DIVISION.  1 at £335	335	
		GENERAL DIVISION.		
1		1 at £320	320	
		Non-permanents.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £160 320		
4		1 at £130 130	F00	
6			700	
	-	OTHER CHARGES FOR AND INCIDENTAL TO—	1,355	
	137	Material and stores—		
	100	Purchase and manufacture	3,000	
	$ ^{138}$	Store (rent, lighting, cleaning, &c.), cartage, &c	200	
		Less issues to other items of this Vote	3,200 6,000	
		Less issues to other items of this vote		
		Estimated credits-in-aid under Section 22 of the	Cr. 2,800	
		Appropriation Act, 1923 (see end of vote)—		
		Issues on payment £200		
		$Total-Subdivision\ No.\ XIV \ \ldots$		Cr. 1,445
		Subdivision No. XV.—Miscellaneous Services.		
		Charges for and incidental to-		
	139	Accidents to school children and teachers: Grants for medical and legal expenses, scholarships, and		
		compensation	200	
	140	Conferences of Education Authorities	500	
	141	Council of Education, including District Advisory Committees: Allowances and travelling-expenses		
		of members, clerical assistance, advertising, in-		
	140	cidental expenses, &c Examinations: Teachers', Public Service, Scholar-	200	
	142	ships, &c. (part recoverable)	8,000	
•	143	Exchange of Teachers: Allowances, bursaries, &c	50	
	144	Exhibitions: Preparing and forwarding school exhibits	50	
	145	Grading and certificates of teachers (including cost of		
		inquiries, legal expenses, Courts of Appeal connected therewith, advertising, travelling-expenses, &c.)	420	
	146	Grant in aid of free kindergartens for infants under	420	
		school age	3,400	
	$\begin{array}{c} 147 \\ 148 \end{array}$	N.Z. Ensigns for schools Office furniture, fittings, and requisites	$\begin{vmatrix} 120 \\ 600 \end{vmatrix}$	*
	149	Printing and stationery, including supply of Par-		
	150	liamentary Papers	4,450	
	$\frac{150}{151}$	Postage, telegrams, and rent of boxes Purchase of motor-cars (recoverable)	2,800 1,000	
	152	Purchase of gramophones and records for schools (re-		
	153	coverable) Salaries of English teachers on exchange in New	1,000	
	]	Zealand (recoverable)	2,500	

# 

Number of Persons.	Item.	VOTE No. 39—DEPARTMENT OF EDUCATION— continued.	1926	5–27.
1926–27.		Subdivision No. XV.—Miscellaneous Services—contd.	£	£
	154 155 156 157 158 159 160 161	Charges for and incidental to—continued.  Storage and despatch of stores and stationery Subsidies to public libraries  Superannuation contributions of teachers on active service, 1914–19  Superannuation contributions on house allowances of teachers absent on war service  Teachers' Superannuation Fund (additional subsidy) Visits of Department's officers and representatives to other countries  War bursaries  Contingencies, including unforeseen expenditure incidental to all other items of this subdivision  Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Examination fees, &c. (including refund from Public Service Commissioner's Office and Railway Department for conduct of examinations) 5,000  Recoveries on account of— Gramophones for schools 1,000 Purchase of motor-cars 1,000 Salaries, English teachers 2,500	50 3,000 550 750 25,000 500 400 50	•
_		9,500		
•		$Total-Subdivision\ No.\ XV                                   $		55,590
•		Gross Total		3,225,280
		Credits-in-aid $(a)$		239, 260
		NET TOTAL—VOTE No. 39		2,986,020

(a)	Credi	ta in	bio.	•
(a, )	-Ureai	$ ext{ts-in} \cdot$	-aia	:

1001100 142 (42.00 )		Other	
	Salaries.	Charges.	1926-27.
	£	£	£
Subdivision I	900		900
,, II		162,700	162,700
" III		7,000	7,000
" IV		400	400
,, V		4,120	4,120
,, VI		5,000	5,000
,, VII		2,080	2,080
,, VIII	• •	5,500	5,500
" IX		210	210
,, X		. 500	500
,, XI		2,200	2,200
" XII		2,950	2,950
" XIII		36,000	36,000
,, XIV		200	200
., XV	• •	9,500	9,500
Totals	900	238,360	${239,260}$
100000			

# DEPARTMENT OF SCIENTIFIC AND INDUSTRIAL RESEARCH.

							195	26–27.	•
					,	Salaries.	Othe	er Charges.	Total.
Vote No. 40		epartment Research-		ific and Inc	dustrial	£		£	£
Gı	KOSS [	<b>Fotal</b>	•••	•••		1,700		4,415	6,115
Сь	EDITS	S-IN-AID							•••
N	ет т	OTAL	•••	•••		1,700		4, 415	6, 115
Number	Item.						.	1926	97
of Persons.		VOTE 1	Jo. 40 —	DEPARTM	ENT OI	SCIENTIF	'IC	1920	-21.
1926-27.				DUSTRIAL			10		
	1	Salarie	s					£	£
			Армі	NISTRATIVE	Division	r <b>.</b>			
1		1 Seco	etary at a	£1,200 (8 m	onths)	•••	•••	800	
4			ROFESSION	nal Divisio Division		nths (on acco	unt)	900	
		G	ENERAL ]	Division	)	`	1	1,700	_
									,
	2	$\operatorname{Adver}$	tising, pl er publica	tions	books, 	newspapers,		300	
	$\begin{vmatrix} 3 \\ 4 \end{vmatrix}$		ory Coun <b>c</b> nion Labo		ces and to	avelling-expe	enses	250	
		Add Fitt	litional st	aff to be app apparatus	oointed (fuel re	esearch, phys	sical	750	
	5 6	Fuel, Grant	light, pow s for resea	ver, and wat arch	er		•••	$\begin{matrix}20\\1,750\end{matrix}$	
	7 8 9	Ext Ma	ra cost in intenance	Branch— volved in re of Observat	tories		···	250 200	
		&c.)	)	_	•••			500	
	$\begin{vmatrix} 10 \\ 11 \\ 12 \end{vmatrix}$	Printi	ng and st	ams, and re ationery ices (includi		es  lation, extensi	  ions	$\begin{array}{c} 40 \\ 120 \end{array}$	
	13	$rac{ ext{mat}}{ ext{Trave}}$	intenance, lling allov	, rent, and c vances and	alls) expenses	•••		35 150	
	14	Conti- cide	ngencies, ental to th	including u ie other iten	inforeseen as of the	n expenditure vote	e in-	50	
								4,415	
			Gross	TOTAL		•••	•••	-	6,1
			Credi	TS-IN-AID		•••	•••	•••	
			NET	TOTAL—V	OTE N	40			6,1

## NAURU AND OCEAN ISLANDS ACCOUNT.

			19:	26–27.	
		Salaries.	Othe	r Charges.	Total.
Vote No. 41.—Nauru and Ocean Islands		£		£	£
GROSS TOTAL				1,000	1,000
CREDITS-IN-AID				•••	•••
NET TOTAL		•••		1,000	1,000
Number of Persons. VOTE No. 41.—NAURU A	ND	OCEAN		1920	6–27.
1926-27. ISLANDS.  1 Charges for and incidental to-Administration, travelling-expense.				£ 1,000	£
GROSS TOTAL CREDITS-IN-AID					1,000
NET TOTAL—VOTE	No.	41			1,000

#### DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.

	_				1926–27.				
					Salaries.	Other Charges.		Total.	
7ote No. 68—E	Expenses of M	anagement			£		£	£	
Gross Total							41,200	41,200 <b>25</b>	
Credits-in			25						
NET TOT.	AL	• •	••	• •	***		41,175	41,175	
Number of Persons.		[o. 68.—E]	XPENSES	OF MA	ANAGEME	1926–27.			
1926–27.		FOR AND I					£	£	
2	depart tration	mental ex	penses con charged Sc	nected woldiers Se	gement and with the adsettlement A	minis-	40,000 1,200		
	E				Section 22 o	ote)—			
		Miscellane	eous	•••		£ 25			
		Gross 7	l'otal	•••	•••	•••		41,200	
		CREDITS	S-IN-AID	•••	•••			25	
		NET T	OTAL-V	OTE No	. 68			41,175	

#### LAND FOR SETTLEMENTS ACCOUNT.

								199	26–27.		
		<del></del>				Salaries.		Other Charges.		Total.	
Vote No. 6	9.—La	and for Set	tlements	Expenses—		£			£	£	
Gı	oss T	ОТАЦ				1,1	92		3,644	4,836	
				• •		1,1					
Cr	EDITS-	IN-AID	• •	• •	••	• •			50	50	
N	ЕТ ТО	TAL		••	• •	1,1	92		3,594	4,786	
Number of Persons.	Item.								1926	6–27.	
1926–27.	-	VOTE	No. 69.–	-LAND FO EXPENS		TLEME	NTS	1			
1020-27.	1	*Salarie	es	EXI END	140.				£	£	
1		1 -4 05		LERICAL DI	vision.				765		
1		1 at £7	101	•	•••	•••		•••	767		
_		Class 1						ŀ			
1		1 at	£425		• • •	•••		•••	425		
2	_								1,192	_	
				OR AND INC							
	2			otographs,			rs, a	nd	~		
	3	otne Audit :		ons	•••	•••		• • • •	5 30		
	4			Ritchie, La	 ind Pur	chase Con	itroll	er.	•		
		on r	etirement,	in lieu of le	eave of a	bsence			413		
	5	Office	fittings an	d requisites	i	•••			10		
	6			ns, and ren					50		
	7	Prelim	inary expe	nses: Valu	iations,	&c			250		
	8	Printin	ng and sta	tionery	•••_			•••	25		
	9			n of land-ta	x due oi	n Te Wera	Est		940		
	10	Dofus	ear 1926-	-27 ortion of la	ond tor	and make	a •		349		
	10	nerun(	toe prop	sed for sett	anu-tax lemente	anu rate	s up	1	25		
	11	Sarvia	oco parena	d by other 1	Denertr	ents		•••	50		
	$\begin{vmatrix} 11\\12 \end{vmatrix}$			es (includin			ensio	ns.	50		
				rent, and ca		***			25		
	13			ances and e					250	-	
	14			irchase and					5		
	15	Contin	gencies, in	ncluding un other item	oforeseer		ture		10		
		Lands I	Departmen	t							
		Roadir or th	ng, drainag protectio	ge, improver n of settler r Settlemen	nents ur	ider Sectio			·		
	16		or purpos Albury (	se of extir Coal-mine, Chamberlai	situated	l on Sec			100		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

# $Appropriations \ for \ Land \ for \ Settlements \ Account.$

#### ${\tt LAND} \ \ {\tt FOR} \ \ {\tt SETTLEMENTS} \ \ {\tt ACCOUNT--} continued.$

Number of Persons.	Item.		1926–27.		
1926–27.		VOTE No. 69—LAND FOR SETTLEMENTS EXPENSES—continued.		0	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£	
		Lands Department—continued.			
	-	Roading, drainage, improvements, &c.—continued.			
	17	Pahurehure Domain: Purchase of land	350		
	18	Hadlow Settlement: Metalling access road	250		
	19	Maerewhenua Settlement: River protection works	10		
	20	Remuera Settlement: Roading Reporoa Settlement—	215		
	21	Erection of bridge over Waiotapu Stream	133		
	22	Maintenance of drains	519		
	23	Road access to Section 29s Subsidies—	170		
	24	Allenby Settlement: Drainage (£1 for £1)	250		
	25	Otway Settlement Drainage (£1 for £2)	485		
	26 27	Te Pua Settlement: Completion of roading Tawaha Settlement: Removal of logs in Ruatanga	75		
		Stream	40		
		Less estimated amount of items provided for but	4,094		
. •		not required during the current year	450		
			3,644		
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—			
	i i i	Miscellaneous £50			
	261.	GROSS TOTAL		4,836	
		CREDITS-IN-AID	•••	50	
		NET TOTAL—VOTE No. 69		4,786	

Appropriations for Land for Settlements Account (Discharged Soldiers Settlement Account).

# LAND FOR SETTLEMENTS ACCOUNT. (DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.)

Gross	— Land for Settlement of Discharged Soldiers: Expenses—  TOTAL	Salaries.	Other	£	Total.
Gross	Soldiers: Expenses—  TOTAL	£		£	£
	TS-IN-AID			ı	
CREDI				6,101	6,101
	MOMAT.	•••		693	693
NET	TOTAL	•••		5,408	5,408
Number of Persons.	m. VOTE No. 70.—LAND FOR SET	PTLEMENT	OF	1920	3–27.
1926–27	DISCHARGED SOLDIERS:	EXPENSES.	Or	£	£
	Audit fees Glencoe Settlement: Drainage Goat Hills Settlement— Maintenance of access road Road access Mataikona Estate: Grant towar county roads	•••	  ce of	55 580 75 220 706	
	Oakwood Settlement, Canterbury road Orongo Settlement : Maintenance Otahome Settlement : Roading (pa Strathvale Settlement : Drainage ( Waitohi Peaks Settlement : Roading	of drains, &c. art recoverable subsidy, £1 for ang	  )	255 250 2,460 750 50 1,700	
	Less amount of items provide quired during the current y  Estimated credits-in-aid under Appropriation Act, 1923	ear r Section 22 o	 f the te)—	7,101 1,000	
	Otahome Settlement: Road Miscellaneous	ling	$ \begin{array}{c c} £ \\ 635 \\ 58 \\ \hline 693 \end{array} $		
	GROSS TOTAL				6,101
	CREDITS-IN-AID	•••	•••		693
	NET TOTALVOTE 1	 No. 70	•••	•••	5,408

#### MAIN HIGHWAYS ACCOUNT.

(MAIN HIGHWAYS REVENUE FUND).

					1926–27.				
					Salaries. O		ner Charges.	Total.	
Vote No. 72.—Maintenance of Main Highways—						£		£	£
Gr	OTAL	••			656,500	656,500			
Cr	EDITS-	-IN-AID	••	• •				10,000	10,000
. NI	<b>T T</b> C	<b>TA</b> L	••	• •	••	•••	646,500		646,500
Number of Persons.	Item.	VOTE	No. 72	MAINTE	NANCE	OF MAI		1926	<b>–27.</b>
1926–27.			VOTE No. 72.—MAINTENANCE OF MAIN HIGHWAYS.  CHARGES FOR AND INCIDENTAL TO—					£	£
	2	ways, and p expen- travell accide tingen Post and	includir lant or ses, inc ling-expe nts or cies l Telegre	ng hire and other eq luding adm enses, com injuries to	d purcha uipment ninistration pensation o works  ment : (	eair of main use of mach, and all on, supervolument in respendent, and  Cost of collections	other other of con-		
				propriation		r Section 923 (see e			•
			Gross	TOTAL					656,500
			CREDIT	S-IN-AID	•••				10,000
			NET T	COTAL—V	OTE No	. 72			646,500

### NATIVE LAND SETTLEMENT ACCOUNT.

		e e e e e e e e e e e e e e e e e e e			19	26-27.	
				Salaries.	Othe	r Charges.	Total.
Vote No. 7	4.—N	Vative Land Purchase Exp	enses—	£		£	£
GR	oss '	Total	•••	2,005		2,700	4,705
CR	EDITS	S-IN-AID		•••			•••
NI	ET T	OTAL	••	2,005		2,700	4,705
Number of Persons.	Item.	VOTE No. 74.—NA		PURCHASE	<u></u>	1920	6–27.
1926–27.	1	EX *Salaries—	XPENSES.		s	£	£
1		Class I— 1 at £565	ical Division.	18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	•••	565	
1		Class II— 1 at £515	• •••	•••		515	
1		Class IV— 1 at £425	•••	···		425	:
		Non	-PERMANENT.				
1	-	1 (Judge's Assista Rotorua District)	nt on Consoli	dation Scher	nes,	500	
4						2,005	
	2	OTHER CHARGES FOR Contribution towar schemes	ds expenses	of consolidat	•••	500	
	3 4	Travelling and gener Valuation fees	u administrati	on expenses		2,000	
		Gross Tot	AL	•••		2,700	4,705
		CREDITS-IN	-AID	•••	,	•,,•	
		NET TOTA	AL-VOTE No	<b>. 74</b>			4,705

Note.—Scale salaries or wages include cost-of-living increase.

^{*} For particulars of salaries see "Public Service Classification List."

# STATE COAL-MINES ACCOUNT.

						19	926-27.	
		<del></del>			Salaries.	Oth	er Charges.	Total.
Vote No. 7	5.—St	ate Coal-mines—			£		£	£
Gr	ross T	¹ОТАТ.			9,38	56	271,605	280,961
			• •	• •				
Cr	REDITS	-IN-AID	• •	••			5,300	5,300
N]	ET TO	OTAL	• •	• •	9,3	56	266,305	275, 661
Number of Persons.	Item.	VOTE No.	75.—STATE	E COA	L-MINES		1926	B <b>-27.</b>
1926–27.	1	*Salaries—	ofessional ]				£	£
1		1 at £791 (Supe	rintendent,	State C	oal-mines)	•••	791	
1		Class $B$ 1 at £515			•••	•••	515	
		(	CLERICAL DI	vision.				
1		Class II— 1 at £515		•••	•••		515	
2		Class IV— 2 at £425			•••		850	
2		Class V— 1 at £380 1 at £355		···	•••	£ 380 355	725	
3		Class VI— 2 at £335 1 at £320		•••		670 320		!
11		Class VII—  1 at £295 1 at £275 (11 1 at £230 (1 1 at £210 (7 1 at £190 (11 1 at £135 (11 1 at £135 (9 1 at £115 (10 1 at £115 (7 1 at £95 (6 n 1 at £80	month), £210 months), £11 months), £16 months), £1 months), £11 months), £9 months), £9	0 (11 m 90 (5 m 55 (1 m 15 (1 m 15 (3 m 95 (2 m 5 (5 mo	onths) onths) onth) onth) onths) onths) onths)	295 273 212 202 189 133 130 112 107 88		
		,	GENERAL DI	vision.				
		1 at £425 1 at £374 1 at £365 1 at £295		•••	•••	425 374 365 295		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

# Appropriations for State Coal-mines Account.

## STATE COAL-MINES ACCOUNT—continued.

Number f Persons.	Item.					1926-	-27.
.926–27.		VOTE No. 75—STAT	E COAL-MI	NES—contr	inued.		
.920-21.	1	Salaries—continued.				£	£
		GENERAL I	Division—cont	inued.	£		
		1 at £290	•••	•••	290		
		1 at £270		• • • •	270		
_		2 at £260	•••	•••	520		
9		1 at £270	•••	•••	270	0.000	
30	1	Cadat'a ladaina allam	*****			$\frac{2,809}{80}$	
30		Cadet's lodging-allow Proportion of salarie		red by Mir	nes De-	00	
	1	partment				250	
	1 1	partimone	,	•••			
	1					9,356	
		OTHER CHARGES FOR	AND INCIDENTA	L TO			
	2	Advances to works		tion of d	wellings	200	
		(£2,000), on account		•••	•••	600	
	3	Audit fees for inspect			• • •	200 40	
	5	Coal supplies free to Coal supplied at rec	mme-manager	rs, ac. A morkmon	at the	40	
	0	mines	iuceu rates t	o workinen	at the	1,800	
	6	Compensation and	expenses unde	er Workers	Com-	1,000	
		pensation Acts	onponsos una			3,000	
	7	Deposits on contract	s (recoverable)	•••		300	
		Depots: Purchase of	stocks and tr	ading exper	ises—		
	8	Christchurch	•••	•••		20,000	
	9	Wanganui	***	•••	•••	3,500	
	10	Wellington	•••	•••	•••	35,000	
	11	Grants—	groon and Ton	nia aanut		100	
	12	Runanga Bowling- Runanga library, r			•••	120	
	13	Harbour rates and ro		•••		7,000	
	14	Head office expenses		•••		155	
	15	House allowance: S				100	
	16	James Colliery expen	ises	•••		40,000	
	17	Liverpool Colliery ex	penses	•••		155,000	
	18	Postage, telegrams, a	and rent of box		•••	140	
	19	Printing and statione Prospecting and Dev	ery	tata Caal m	inaa	250	
	20	MacDonald Mine	erobment or 2	bate Coar-II		50	
	21	James Mine	•••	•••		1,000	
	$ \tilde{22} $	Liverpool Mine	•••	•••		2,000	
	23	Seddonville Colliery		•••		125	
		Subsidies—			l }		
	24	Croquet lawn, Rur		£1)		125	
	25	Runanga Medical		•••	•••	200	
	26	Travelling allowance		3	•••	150 600	
	$\begin{vmatrix} 27 \\ 28 \end{vmatrix}$	Tree-planting at Run Contingencies, include		n ovnondi	ture in	600	
	20	cidental to the oth			oure III-	50	
		Estimated credi	ta in aid unda	. Castian Of	of the		
	l i		on Act, 1923 (			.	
		Return of dep		see end or	£300		
		Sale of plant,		s, &c.	5,000	į	
			J	•			
					5,300		
		William Control				271,605	
		GROSS TOT.	AL				280,96
		CREDITS-IN-	<b>AI</b> D	•••	•••	•••	5,30
		ATEM MAM.	AL-VOTE N	0 75		-	975 cc
		NEI TOTA	ZU-AOTU D	0. 10	•••		275,66

## STATE FORESTS ACCOUNT.

		1926–27.	
	Salaries.	Other Charges.	Total.
Vote No. 76.—State Forest Service—	£	£	£
Capital Charges—		~	~
±	10.00%		70.00
Subdivision I.—Salaries	13,937		13,937
,, II.—General Development	•••	6,581	6,581
,, III.—Forest Fire Prevention	•••	$\begin{array}{c c} 390 \\ 245 \end{array}$	390
$,, \qquad IVEducation, &c. \qquad \dots \qquad \dots$	•••	4,915	$rac{z_{46}}{4,916}$
" V.—Forest Research	•••	120,246	120,246
" VI.—General Afforestation	•••	18,658	18,658
" VII.—Acquisition of Indigenous Forests, &c.	•••	10,000	10,000
	13,937	151,035	164, 972
Operation and Maintenance Charges—			
Subdivision I.—Salaries	27,675		27,678
" II.—General Development		23,829	23,829
" III.—Forest Fire Prevention	•••	2,594	2,594
IV.—Education, &c	••••	1,776	1,776
" V.—Forest Research		6,628	6,628
" VI.—General Afforestation	•••	3,090	3,090
" VII.—Acquisition of Indigenous Forests, &c.	•••	74	74
,, VIII.—Grants and Subsidies to Local Bodies	•••	11,033	11,033
$for \ \textit{Tree-planting}: \ \textit{Misc} ellaneous$			
•	27,675	49,024	76,699
Gross Total	41,612	200,059	241,671
Credits-in-aid	50	956	1,006
NET TOTAL	44 500	400 400	040 000
NET TOTAL	41,562	199, 103	240, 665
Number of Persons.   Item.   VOTE No. 76.—STATE FORES	T SERVICE.	192	26–27.

Number of Persons.	Item.	VOTE No. 76.—STATE FOREST SERVICE.	1926–27.	
1926–27.		Subdivision No. I.—Salaries.		
	1	*Salaries— Administrative Division.	£	
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	=	Professional Division.  Class 4—	1,675	
2		1 at £700 700 1 at £615 615 Class B—	1,315	
1	00 m m m m m m m m m m m m m m m m m m	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	565	
4		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		CLERICAL DIVISION.	1,560	
		Class III— 2 at £470	940	
2		2 at £380  Class VI—	760	
7		7 at £335	2,345	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

## STATE FORESTS ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 76.—STATE FOREST SERVICE—con tinued	1926–27.	
1000 0-		Subdivision No. I.—Salaries—continued.		
1926-27.	1	Salaries—continued.	£	£
		CLERICAL DIVISION—continued.		
		$Class\ VII 1  ext{ at } \pounds 275$ $\ldots$ $275$		
		2 at £250 500		
		1 at £230 230		
		$3 \text{ at } £210 \qquad \dots \qquad 630$		
		1 at £190 190		
		1 at £155 155		
		5 at £115 575 5 at £95 475		
21		2 at £80 160		
			3,190	
		Cadets' lodging-allowances	210	
		GENERAL DIVISION.		
		2 at £715 1,430		
		1 at £690 690		
		1 at £665 665		
		3 at £565 1,695		
		3 at £425 1,275		
		4 at £410 1,640 1 at £390 390		
		3 at £380 1,140		
		6 at £360 2,160		
		3 at £340 1,020		
		11 at £320 3,520		
		3 at £315 945		
		3 at £310 930		
		1 at £300 300		
		7 at £295 2,065   2 at £285 570		
		1 at £280 280		
		1 at £275 275		
		1 at £270 270		
		3 at £260 780		
		2 at £255 510		
		1 at £250 250		
		3 at £245 735   4 at £235 940		
		4 at £235 940 5 at £225 1,125		
		1 at £205 205		
77		1 at £185 185		
		· · · · · · · · · · · · · · · · · · ·	25,990	
	-	Non-permanents. 1 at £299 299		
		2 at £295 590		
		2 at £255 510		
		1 at £245 245	İ	
		1 at £235 235		
		3 at £234 702	_	
		3 at £169 507		
	0.00	2 at £143 286   1 at £136 136	12.1	
	[ ]	1 at £120 120		
		2 at £104 208		
		2 at £91 182		
22	2.1	1 ac £78 78		
140		Allowaness to officers	4,098	
140	50	Allowances to officers performing higher duties, 2 at £70 each (Public Service Regulation 24A)	140	
		S. O GROUT (4 GOTTO DOLYTOS INCSULARION 27A)	140	
		Less salaries provided but not now required	42,788 1,176	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote) £50		
	i {	· · · · · · · · · · · · · · · · ·		

### STATE FORESTS ACCOUNT—continued.

Number of Persons.	Item.	<u> </u>	1926-	-27.
926–27.		VOTE No. 76.—STATE FOREST SERVICE—contd.	£	£
		Subdivision No. II.—General Development and Management of State Forests, Provisional State Forests, and Forested Reserves.		
		Capital Charges—		
		Charges for and incidental to—		
	2	Buildings	2,250	
	3	Demarcation	585	
	4	Field equipment, tools, instruments, and tents	455	
	5	Forest Atlas	610	
	6	Office equipment	1,110	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Motor vehicles	805	
	9	Roads, tracks, and fences	666	
	9	Telephone lines (forest)	100	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote) £5	-	
		Total—Capital Charges	6,581	
		OPERATION AND MAINTENANCE CHARGES—		
		Charges for and incidental to—		
	10	Advertising	205	
	11	Akatarawa Reserve administration expenses (part	200	
İ		recoverable)	150	
	12	Cost-of-living bonus to annuitants, Public Service Superannuation Fund, and increased pensions to		
		widows and children	16	
į	13 14	Destruction of deer  Destruction of wild pigs (recoverable from Department of Lands and Survey, £350; Department	1,000	
		of Agriculture, £350)	1,050	
	15	Forest reconnaissance	1,728	
	16	Grant to officer on retirement, in lieu of leave of		
İ		absence, in terms of Public Service Regulations	10	
,	17	Grazing reconnaissance	151	
İ	18	Kauri-gum, collection of	50	
1	$\frac{19}{20}$	Legal expenses	195 125	
	$20^{-1}$	Maintenance field equipment, tools, &c.	130	
	$\overline{22}$	Maintenance office equipment	155	
	23	Maintenance roads, tracks, and fences	211	
	24	Maintenance telephone lines (forest)	60	
	$25^{+}$	Office rent, heating, lighting, and cleaning	3,380	
	26	Overtime and meal allowances	$\frac{25}{250}$	
	$27 \pm 28 \pm$	Payment to other Departments for services rendered Policing, patrol and maintenance	$egin{array}{c} 250 \ 1,200 \ \end{array}$	
	29	Postage, cables, telegrams, &c	780	
	30	Printing and stationery	895	
	31	Public Service Superannuation Fund contribution	609	
. i	32	Railway Department: Lease of loading-site (re-		
	00	coverable)	32	
į	33	Settlement land examination	74	
	34	Special forest investigations	110	
	$\frac{35}{36}$	Supervision of current operations Survey charges, Sections 8 and 9, Block XV, Tutamoe	279 90	
i	37 :	Timber cruising, valuation, and appraisal (part re-	ฮบ	
1	٧.	coverable)	2,974	
	<b>3</b> 8 [	Transfer and removal expenses	1,000	

# ${\bf STATE\ FORESTS\ ACCOUNT} \color{red}-continued.$

Number of Persons.	Item.	VOTE No. 76.—STATE FOREST SERVICE—contd.	1926-	-27.
1926–27.	-[	Subdivision No. II.—General Development and Management of State Forests, &c.—continued.	£	£
		OPERATION AND MAINTENANCE CHARGES—continued.		~
		Charges for and incidental to—continued.		
	39 40 41	Transportation expenses and upkeep of motor vehicles Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to other items of subdivision	1,450 5,345 100	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Destruction of wild pigs— Vote, Department of Lands and & Survey 350 Vote, Department of Agriculture 350 Lease of loading-site 32		
		Miscellaneous 100		
		832		
		Total—Operation and Maintenance Charges	23,829	
		Total—Subdivision No. II		30,410
		Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests.		
		Capital Charges—		
		Charges for and incidental to—	i	
	42 43	Equipment Protection improvements	$\begin{array}{c} 275 \\ 115 \end{array}$	
		Total—Capital Charges	390	
		OPERATION AND MAINTENANCE CHARGES-	'	
		Charges for and incidental to—		
	44	Communication and controls	152	
	45	Locomotion	$\frac{221}{50}$	
	47	Travelling allowances and expenses	366	
	48	Wages	1,805	•
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote) £5		
		Total—Operation and Maintenance Charges	2,594	
		Total—Subdivision No. III		2,984
		Subdivision No. IV.—Education: Ranger Instruction School, Working Reference Library, Departmental Publications, and Statistical Data.		
		Capital Charges—		
		Charges for and incidental to—		
	49 50	Reference library and text books Photographic equipment	195 50	
		Total—Capital Charges	245	
	1	Total—Capital Charges	240	

### STATE FORESTS ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 76—STATE FOREST SERVICE—contd.	1926-	-27.
1926–27.		Subdivision No. IV.—Education: Ranger Instruction School, Working Reference Library, &c.—continued.	£	£
	51 52 53 54 55 56	OPERATION AND MAINTENANCE CHARGES—  Charges for and incidental to—  Forest exhibits and Technological Museum Photographic records and material  Professional trade and current publications Rangers Instruction School  Service bulletins, preparation and publication of Travelling allowances and expenses	260 205 155 50 710 396	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote) £14		
		Total—Operation and Maintenance Charges	1,776	
		Total—Subdivision No. IV		2,021
		Subdivision No. V.—Forest Research: Silvicultural Ecological Utilization and Forest Management.		
		Capital Charges—	. 9	
		Charges for and incidental to-		
	57 58 59 60 61	Aboretum, Rotorua Forest Ecology, Equipment and instruments for Forest Experiment Stations (Westland) Forest Experiment Station (Rotorua) Timber-testing equipment and apparatus	250 10 2,215 50 2,390	
		Total—Capital Charges	4,915	
	62 63 64 65 66	Operation and Maintenance Charges—  Charges for and incidental to— Forest Ecology Silvicultural management studies Utilization Timber products testing and investigations Travelling allowances and expenses  Total—Operation and Maintenance Charges  Total—Subdivision No. V	500 924 245 4,100 859 6,628	11,543
	67 68 69 70 71	Subdivision No. VI.—General Afforestation: Building, Tree - planting, Maintenance and Protection of Plantations, Operations of Nurseries, and Collateral Activities.  CAPITAL CHARGES— Charges for and incidental to— Nurseries— Hanmer (part recoverable) Naseby Rotorua Tapanui Westland	6,255 610 13,300 3,925 2,784	

## STATE FORESTS ACCOUNT—continued.

	Item.	VOTE No. 76 —STATE FOREST SERVICE—contd.					1926–27.	
1926–27.		Subdivision No. VI.—Gen Tree-planting,			uilding,	£	£	
		CAPITAL CHARGES—contin	ued.					
		Charges for and incidental	to-contin	ued.				
		Plantations—						
	72	$\operatorname{Balmoral}$				8,500		
	73	Blue Mountain	•••		•••	4,550		
	$\left  egin{array}{c} 74 \\ 75 \end{array} \right $	Conical Hills Dumgree		•••	•••	$\frac{1,000}{430}$		
	76	Dusky Hill			•••	310		
	77	Galloway				10		
	78 79	Gimmerburn	• • •	•••	• • •	$\frac{10}{2,800}$		
	80	Greenvale Hanmer Springs		•••		8,100		
	81	Kaingaroa		•••		19,460		
	82	Karioi				2,000		
	83   84	Marlborough		• • •	• • •	$egin{array}{c} 2,563 \ 1,730 \end{array}$		
	85	Maramarua Naseby		•••	• • •	1,070		
	86	Omarama		• • •		10		
	87	Pebbly Hill	• • • •			1,000		
	88	Point Halswell	• • •	• • •		$\begin{bmatrix} 50 \\ 750 \end{bmatrix}$		
	89   90	Puhipuhi Pukerau				510		
	91	Raincliffe		•••		280		
	92	Riverhead				3,700		
	93	Waiotapu	•••			$\begin{bmatrix} 2,595 \\ 25 \end{bmatrix}$		
	94 95	Waitahuna Whakarewarewa	•••	* * *		3,600		
	96	Land purchase for exter		rseries and				
		$ ext{tions}$		•••		25,379		
	97 98	Sand-dune reclamation Seed-extraction plant Estimated credits-i Appropriation Ac	n-aid under	Section 22		2,440 500		
		Total—Capital Cha			·  -	120,246		
		-	•	•••	•••			
		OPERATION AND MAINTEN		GES-				
	99	Charges for and incident			:	200		
	100	Forest regulation studie Preparation of planting		orest exten	sion	830		
	101	Travelling allowances a	nd expense	s		1,250		
	102	Tree seed operations (pa				810		
		Estimated credits-i Appropriation Ac						
		Total—Operation a	nd Mainter	nance Charg	ges	3,090		
		Total—	Subdivision	No. VI	/-		123,33	
		Subdivision No. VII.—Acq	uisition of .	Indigenous I	Forests.			
		CAPITAL CHARGES—						
		Charges for and incident	al to		•			
	103 104	Purchase of Sections 8 : Refund to Land for Sett tion of Reserves 35	tlements A	ecount for a	acquisi-	680		
	105	${f Settlement}$	•••			163		
	1.05	Refund to Native La purchase of Puketitir		nent Accou	ant for	17,815		
		purchase of runction.	22100110	•••		-,,,,,,		

## STATE FORESTS ACCOUNT—continued.

Number of Persons.	Item.		1926-	·2 <b>7</b> .
1926-27.	-	VOTE No. 76.—STATE FOREST SERVICE—contd.		
1920-27,		Subdivision No. VII.—Acquisition of Indigenous Forests—continued.	£	£
		OPERATION AND MAINTENANCE CHARGES—	·	
		Charges for and incidental to—		
	106	Refund to Land for Settlements Account— Yearly rent on Sections 28–30, Block VIII, Otanewainuku S.D	74	
		Total—Operation Charges	74	
		Total—Subdivision No. VII		18,732
		Subdivision No. VIII.—Grants and Subsidies to Local Bodies for Tree-planting: Miscellaneous.		
		OPERATION AND MAINTENANCE CHARGES-		
		Charges for and incidental to—		
	107	Allowances to officers under Public Service Regu-	200	
	108	lations 24A and 209 Expenses of Director of Forestry visiting Melbourne	200	
	109	re proposed Forestry Conference	100	
	1109	Expenses of forest officers going overseas Grant to Nelson Progress League for erection of hut,	300	
	111	Mount Arthur Grant towards memorial to the late Sir David	15	
		Hutchins	25	
	112	Grant to officer on retirement in lieu of leave of absence in terms of Public Service Regulations	143	
	113	Payment to local authorities under Section 17,		
		Finance Act, 1924	10,250	
		$Total-Subdivision\ No.\ VIII \ \ -$		11,038
		Gross Total		241,671
		Credits-in-aid $(a)$	•••	1,006
		NET TOTAL—VOTE No. 76		240,665

## (a) Credits-in-aid-

			Other	
		Salaries.	Charges.	1926-27.
		£	£	£
Subdivisio	n I	50	• •	50
,,	II	• •	837	837
,,	III		5	5
,,	IV		14	14
,,	VI	• •	100	100
Totals	3	50	956	1,006
			Const. of Street	

## WESTPORT HARBOUR ACCOUNT.

		_					19	26–27.	
						Salaries.	Othe	er Charges.	Total.
Vote No. 7	7W	estport Ha	rbour—		ĺ	£		£	£
GR	oss T	OTAL				5,692		14,527	20,219
Cr	EDITS:	-IN-AID				60		10	70
	 ET <b>T</b> (						-		
N I		) I A Li 	· ·	••	••	5,632	! 	14,517	20,149
Number of Persons.	Item.	VOTI	E. No. 77	-WESTP	овт н	ARBOUR.		1926	3–27.
1926–27.	1	*Salarie		112022				£	£
		Q1		FESSIONAL	Division	۲.		] 1	
2		$rac{Class}{2}$ at	<i>D</i> — £425		•••			850	
		at .		LERICAL D	ivision.				
1			£515					515	
1		Class 1	<i>VII-</i> £135		•••	•••		135	
			G	eneral D	IVISION		£		
		2 at £		ENERAL D		•••	726		
		1 at £3	329		• • •		329		
		2 at £3	305				610		
		1 at £9					276		
		2 at £2			• • •		528		
	1	2 at £2					490		
		1 at £9			• • •	• • •	238		
12		1 at £9	235		•••		235	3,432	
				Non-perma	NENT.				
1		1 at £2	260		•••	•••	•••	260	
17				Unclassi	FIED.				
		Marine	e Departm	ent: Adm	inistratio	n expenses		500	
		E	Approp Contribut		, 1923 (se	Section 22 of see end of vot nt of 			

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

5,692

## $Appropriations \ for \ Westport \ Harbour \ Account.$

### WESTPORT HARBOUR ACCOUNT—continued.

Number of Persons.	Item.		1926	-27.
1000.07	-	VOTE No. 77.—WESTPORT HARBOUR—contd.		
1926-27.	2 3 4 5 6 7 8 9	OTHER CHARGES FOR AND INCIDENTAL TO— Audit fees	£ 50 30 10,000 25 3,450 200 342 70 350 10	£
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—  Miscellaneous £10  Gross Total	14,021	20,219
		GROSS TOTAL		40,419
		Credits-in-aid $(a)$	• •••	70
		NET TOTAL—VOTE No. 77		20,149

### (a) Credits-in-aid—

	Other				
	Salaries.	Charges.		1926-27.	
	60	10		70	
		<del>-</del>			
Totals	 60	10		70	

## WORKING RAILWAYS ACCOUNT.

				1926-27.	
			Salaries and Wages.	Other Charges.	Total.
Vote No. 78.—Working Ra	ilways –		£	£	£
GROSS TOTAL		• •	 4,511,306	2,665,779	7,177,085
CREDITS-IN-AID			 480,000	220,000	700,000
NET TOTAL	• •	••	 4,031,306	2,445,779	6,477,085

Number of Persons.	Item.	VOTE No. 78.—WORK	ING R	AILWAY	'S.*	1926-2 3,138 Mil	
1926–27.			- seen				
	1	GENERAL CHARGES—			ļ	£	£
		Head Office:	Salaries	3.		æ	æ
		Subdivis	ion I.				
		Class I (Board of Manage	ement)-		£		
		1 at £1,750 (chairman)			1,750		
3		2  at  £1,250  (members)			2,500		
		a 1 11 · ·				4,250	
		Subdivisi	on II.			į	
0		Special Grade II— 2 at £765				1 590	
2		Special Grade III—	•••	• • •		1,530	
1		1 at £715				715	
1		Special Grade IV—	•••	•••	•••	110	
1		1 at £665	•••			665	
		Grade I—					
2		2 at £615		• • •		1,230	
		Grade II—					
		1 at £515	• • •	•••	515		
2	1	1 at £490	•••	• • •	. 490	1 005	
,	.	Grade III— 5 at £470				1,005	
5	•	Grade IV—	•••		•••	2,350	
2	,	2 at £425			ļ	850	
2	<b>,</b>	Grade V—	•••	•••	•••	000	
5	,	5 at £380				1,940	
•		Grade VI—				<i>'</i>	
5	i	5 at £335				1,675	
		Grade VII—					
	1	15 at £295	•••	• • •	4,425		
17	7	2 at £275		•••	550		
	l.					$f 4, 975^{-1}$	

^{*} For particulars of salaries see Railways Department Classification List, "D.-3."

## WORKING RAILWAYS ACCOUNT—continued.

Number of Persons.	Item.				-continuea.	1926-	27.
		VOTE No. 78.—WORK	ING RAILV	VAYS—co	ntinued.		_ · · ·
1926–27.	1	GENERAL CHARGES—con	tinued.			£	£
		Head Office :	Salaries—con	ntinued.			
	,	Subdivision	ı II—continu	ed.			
		Grade VIII—			£		
		2 at £190		•••	380		
	İ	2 at £155 3 at £135	•••	• • •	$\begin{array}{c} 310 \\ 405 \end{array}$		
		1 at £115	•••	•••	115		
		1 at £95	•••	•••	95		
13		4 at £80	•••	•••	320		
**		Lodging-allowances—	•••	•••		1,625	
58		2 at £35		•••	70		
		1 at £25 1 at £10	•••		$\begin{array}{c c} 25 \\ 10 \end{array}$	105	
		1 at £10	•••		10	105	
						22,915	
		Appeal Board cases sittings of Wages Royal Commissions penditure incidental Salaries of casual cler and typists Australian railway stategal expenses, adveriodicals, and Stationery and supplicate Travelling expenses a Travelling-expenses, and Estimated credits Appropriatio Department of Private Secretary	mbers under Governmen to members gulations, v ased member ad-writers, s, expenses i Boards, Inc. to the other else, office assi- cutistics ertising, sup niscellaneous es nd allowance Appeal Board s-in-aid under n Act, 1923 (	the Reg t Railwa s on tra alue of rs, specia cost of n connect quiry Boa her unfore items of th istants, oply of s see end of ffairs: Sa histers of F	gulations ys Act, nsfer in accrued il allow- hearing ion with rds, and seen ex- te vote—  2,550 250 300 1,500 1,500 120 1,500 315 22 of the f vote)— laries of Gailways,	6,535 29,450	
					-		
		Chief Accounta	nt's Office:	Salaries.			
		Subo	division I.				
1		1 at £900	•••	•••		900	
		Subo	livision II.				
	İ	Grade I—	TATOTOTT TT				
1		1 at £615				615	
_		Grade II—			£		
		1 at £515	•••	•••	515		
2		1 at £490	•••	•••	490	1 00=	
		Grade III—				1,005	
6	-	6 at £470	• • •	•••	•••	2,820	

## ${\bf WORKING} \quad {\bf RAILWAYS} \quad {\bf ACCOUNT-} continued.$

Number of Persons.	Item.	NOME N TO WOOD	~ ~	1 T7 C		1926-	27.
1926-27.	 	VOTE No. 78.—WORKING		AYS—co	ontinued	0	
		GENERAL CHARGES—contin				£	£
	1	Chief Accountant's Office	*		ued.		
		Subdivision II Grade IV—	$I_continue$	ed.			
7		7 at £425				2,975	
		Grade V— 4 at £380			£ 1,520	ĺ	
5		1 at £355	•••	•••	355	1 077	
7		Grade VI— 7 at £335				$\begin{bmatrix} 1,875 \\ 2,345 \end{bmatrix}$	
		Grade VII—					
		26 at £295 4 at £275	•••	• • • • • •	7,670 1,100		
31		1 at £230 Grade VIII—		•••	230	9,000	
		4 at £190		•••	760	0,000	
10		2 at £115 4 at £95		•••	230 380		
		Lodging-allowances—	· · ·			1,370	
70		3 at £25 1 at £10		•••	$\begin{bmatrix} 75 \\ 10 \end{bmatrix}$		
						85	
		Contingencies—				22,990	
		Salaries of casual cler ants, machinists, and	ks, office a l ticket sor	ıssist- ters	5,100		
		Stores, stationery, and	supplies	• • •	1,500		
		Cost of ticket printing Telephone subscription	s	•••	4,300		
		Travelling allowances	and expens	es	2,073	13,073	
	1	Less amounts provid	led for und	ler other	sections	36,063 9,000	
		•			_	27,063	
					**		
		Training Scho	ool: Salari	es.			
		Grade VI—					
1		1 at £335	•••	•••		335	
		Grade VII—			£		
2		1 at £295 1 at £275	•••	•••	295 275		
4		-	•••	•••		570	
		Grade VIII— 2 at £135			270		
	-	2 at £95		•••	190		
44		40 at £80	•••	•••	3,200	3,660	
47		Lodging-allowance— 30 at £35					
		ひい ねじ むひひ	•••	•••		1,050	
		Contingencies—				5,615	
		Travelling and transfer			200		
		Stationery and supplies		•••	185	385	
						6,000	
	1					n 1000	

## ${\tt WORKING \ RAILWAYS \ ACCOUNT--} continued.$

Number of Persons.	Item,		1926-	-27.
		VOTE No. 78.—WORKING RAILWAYS—continued.		
1926–27.	1	GENERAL CHARGES—continued.	£	£
		Miscellaneous General Charges.		
		Allowances to be paid to members of the First and Second Divisions in excess of the maximum rates of pay set forth in the schedules to the Government Railways Act, 1912, for special work performed in the course of their duty £101  Less already provided for under the various sections 100		
		Audit fees for inspection of accounts	$\frac{1}{1,000}$	
		Departmental Buildings—           Wages of messengers, cleaners, and night-watchmen         £           Furniture and fittings          500           Maintenance of buildings          1,500           Water, light, and power          1,600		
		Expenses in connection with—	6,700	
		Members of Railway Department visiting Australia, Africa, England, and America on official business Fee to Chairman of Railway Appeal Boards	2,000 100	
		Government Railways Superannuation Fund contribution Cost-of-living bonus to annuitants, Government Rail-	170,000	
		ways Superannuation Fund, and increased pensions to widows and children  New Zealand and South Seas Exhibition: Exhibit  Railway Magazine: Printing and publication  Grants to officers on retirement equivalent to salary	18,075 1,000 4,500	,
		in lieu of leave in terms of regulations	2,000	
		Less amounts provided under the various sections	205,376 15,000	
			190,376	
		Total Head Office and General Charges	252,889	
	2	Divisional Superintendence : Salaries.		
		Subdivision I.		
2		Class II— 2 at £1,000	2,000	
		Subdivision II.		
2		Special Grade II— 2 at £765	1,530	
1		Special Grade IV— 1 at £665	665	
1		Grade I— 1 at £615	615	
1		Grade III— 1 at £470	470	
3		Grade IV— 3 at £425	1,275	

2,460

...

#### Appropriations for Working Railways Account.

#### WORKING RAILWAYS ACCOUNT—continued. Number Item: 1926-27.of Persons. VOTE No. 78.—WORKING RAILWAYS—continued. 1926-27. 2 Divisional Superintendence: Salaries—continued. £ £ Subdivision II-continued. Grade VII-£ 5 at £295 1,475 1 at £210 210 Grade VIII-1,685 155 1 at £155 1 at £115 115. . . 3 1 at £90 90 . . . 360 19 Contingencies-8,600 Lighting and water 50 Stationery, stores, and printing 200 Travelling allowances and expenses ... 600 Miscellaneous 2501,100 9,700 Branch Expenditure— Working-expenses of Sections-Including salaries and wages; allowances to members by regulations made under section 68 of the Government Railways Act, 1908, for special work performed in the course of their duty; payments for Sunday duty; general repairs and miscellaneous services; supplies of stores, provisions, stationery, water, and material; advertising; compensation for accidents, personal injuries received, loss of property by fire, damage to or loss of goods; freights on goods lost or destroyed; postages, telegrams, telephones, maintenance of wires; payments under the Workers' Compensation Acts; payments in connection with works outside railway boundaries in which Department has beneficial interest; compassionate allowances; temporary clerical and draughting assistance; travelling allowance and expenses; allowances to members under Regulation No. 86 (made under the Government Railways Act, 1908); increased night allowances to members and allowances to members on transfer in excess of the regulations; value of accrued leave due to deceased members; stationery and supplies; also contingencies and all other unforeseen expenditure incidental to the other items of the vote-Maintenance Branch-General Superintendence: Salaries. Subdivision I. 1 at £1,200 (Chief Engineer) 1,200 Subdivision II. Special Grade II-1 at £925 925 Special Grade III— 2 at £850 9 1,700 Grade I-

4

4 at £615

	Item.	VOTE No. 78.—WORK	ING RAILW	AYS.—co	ontinued.	1926–27.	
1926–27.	3	Branch Expenditure-	-continued.				
		Maintenance Branch-	-continued.			£	£
		General Superintend	ence : Salari	es—contin	ued.		
			n II—continu	ied.			
1		Grade III— 1 at £470	•••			470	
3		Grade IV— 3 at £425				1,275	
		Grade V—	•••	•••	•••		
2		2 at £380 Grade VII—	•••	•••	£	760	
11		10 at £295 1 at £190	•••	•••	$\frac{2,950}{190}$		
11		Grade VIII—	•••	•••		3,140	
		2 at £135 3 at £115	•••	•••	$egin{array}{c} 270 \ 345 \ \end{array}$		
		2 at £105 2 at £95	•••	•••	210 190		
11		2 at £80	•••	•••	160	1 185	
36	-	Lodging-allowances— 1 at £35	- 	• • •	35	1,175	
	-	$\begin{array}{c} 2 \text{ at } \pounds 25 \\ 2 \text{ at } \pounds 10 \end{array}$	•••	•••	$\frac{50}{20}$		
		2 80 2010	•••	•••		105	
						13,210	
		Railways Act, 1908 members and allow excess of the regu due to deceased n seen expenditure in the vote— Lighting and miscella Salaries of casual cler Stationery and suppli Telephone subscription Travelling expenses a	ances to mem lations, value nembers, and neidental to t aneous ks and draugh es ns	bers on the of accruall other the other	ansfer in led leave unfore-	3,310	
		Working-expenses of S	Sections—				
		Maintenance of Way as					
	,	•	nd Works—			}	
		Section— Kaihu Gisborne North Island Main South Island Main	 Line and Bra		5,500 17,900 319,120 584,000	1,278,870	
		Section— Kaihu Gisborne North Island Main	Line and Bra Line and Bra o ex-Inspect	nches &  or J. Si	17,900 319,120	1,278,870	

		4	
WORKING	RAILWAYS	ACCOUNT—continu	ed.

926–27.			KAI	LWAYS—con	itinued.	1926-	
	_	Branch Expenditure—cor	tinue	l.		0	
		Maintenance Branch (Sign	als)—	-		£	£
		General Superinten	dence .	: Salaries.			
		Subdivisi					
			011 11.				
1		Special Grade II— 1 at £925 (Signal Engin	oor)			925	
1		i at \$520 (Signal Engin	661)	•••		920	
		Special Grade III—					
1		1 at £765				765	
		G 1 Tr					
9		Grade II—				1 5/5	
3		3 at £515		•••	• • •	1,545	
		Grade III—					
2		2 at £470				940	
-				- · · ·			
1		Grade IV—			£	1	
^		7 at £425	• • • •	• • •	2,975		
9		2 at £400	•••	• • •	800	9 775	
		Grade V—				3,775	
2		2 at £380				760	
_							
		Grade VI—					
_		5 at £335		•••	1,675		
7		2 at £320	•••	•••	640	0.915	
		Grade VII—				2,315	
		7 at £295			2,065		
9		2 at £190		•••	380		
						2,445	
		Grade VIII—					
		1 at £145	• • •	•••	145		
4		2 at £135 1 at £115	• • •	•••	$\begin{array}{c} 270 \\ 115 \end{array}$		
		1 at £110	•••	•••	110	530	
38		Lodging-allowance				10	
		0 8					
		a				14,010	
		Contingencies—			005		
		Salaries of casual staff Stationery and supplies	•••		295 700		
		Travelling-expenses		•••	523		
		gg				1,518	
		Working-expenses of Section	1s			15,528	
		Maintenance of Signals and		rical Annliano	208		
		Section—	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	inprocess	£		
		Kaihu	•••		60	)	
		Gisborne			160		
		North Island Main Line			53,000	101 000	
		South Island Main Line		oranches	47,500 $600$	<b>├</b> 101,660	
		Westport Nelson	• • •	•••	160		
		Picton		•••	180		
		•					
		Estimated credits-in-					
	.	the Appropriation	Act,	1923 (see			
		vote)	•••	•••	£255		
				1		117,188	

Number of Persons.	Item.	VOTE No. 78.—WORKING	RAILWAY	YS—con	tinued.	1926-	27.
1926–27.	- <b>!</b> !	Branch Expenditure—contin	ued.				
	3	Locomotive Branch.				£	£
		General Superinter	ndence : So	alaries.	ĺ		
		Cult Binini	т				
		Subdivisio Class II—	n 1.				
1		1 at £1,200 (Chief Mechan	nical Engir	neer)		1,200	
		Subdivision	n II.				
		Special Grade I—			£		
2		1 -4 0050	•••	***	1,000 850		
		Special Grade II		•••		1,850	
1		1 at £765 Special Grade III—	•••	• • •		765	
1		1 at £715	•••		.,.	715	
	1	Special Grade IV—				665	
1	'	1 at £665 Grade I—	• • •		•••	005	
		3 at £615	• • •	• • •	1,845		
4		1 at £565 Grade II—	•••	• • •	565	2,410	
1		1 at £515	• • •		•••	515	
		Grade III—			2,350		
7		0 1 0115		•••	890		
		Grade IV—			0.075	3,240	
8		7 at £425 1 at £400	•••	•••	$\frac{2,975}{400}$		
		Grade V—				3,375	
2		1 at £380 1 at £355	•••		$\frac{380}{355}$		
2		Grade VI—	•••			735	
4		4 at £335	•••			1,340	
5		Grade VII— 5 at £295	• • •			1,475	
		Grade VIII—			550		
		3 at £190 2 at £155		• • •	$\begin{array}{c} 570 \\ 310 \end{array}$		
		1 at £145			145	i	
		1 at £115 1 at £95	• • •		$\begin{array}{c} 115 \\ 95 \end{array}$		
9		1 at £80			80		
10	-					1,315	
46	-	Contingencies—				19,600	
		Salaries of casual staff	• • •		2,663		
		Stationery and supplies Travelling allowances and	 l expenses		1,500 $1,850$		
	-	Telephone subscriptions		•••	84	8 004	
						6,097	
		Working-expenses of Sections			-	25,697	
		Locomotive Transportation a		nance i	Renairs		
		and Renewals of Rolling-s		nance, 1	repairs,		
		Section— Kaihu			9 000		
		Gisborne	•••		$\begin{pmatrix} 3,200 \\ 18,600 \end{pmatrix}$		
		North Island Main Line :		hes $1,7$	17,000	0.000 100	
		South Island Main Line a Westport	and Branci		49,000 \ <b>41</b> ,000 (	2,960,100	
		Nelson	•••		15,600		
		Picton Allowance to enginemen a	nd firema	n emplo	15,700		
	Ì	Rimutaka Incline	··· nreme	n embro	Aer OII	200	
	<del></del>		id nada-	Qoot:	00 -4		
		Estimated credits-in-a the Appropriation					
		vote)	•••		£7,000		
						2,985,997	
						_,550,501	

## WORKING RAILWAYS ACCOUNT—continued.

Branch Expenditure—continued.   State   Subdivision I.	Number of Persons.	Item.	VOTE No. 78.—WORKING RAILWAY	YS—continued.	1926-	27.
Subdivision I.   Class II	1926–27.		Branch Expenditure—continued.		6	£
Subdivision I.   Class II—   2 at £1,000 (General Superintendent of Transportation and Operating and Equipment Assistant)   2,000		3	Traffic Branch—		\$	æ
Class II —   2 at £1,000 (General Superintendent of Transportation and Operating and Equipment Assistant)   2,000			General Superintendence: Sal	aries.		
2						
Sub-division II.   Special Grade II—	0			C TT		
Special Grade II—	24		tion and Operating and Equipment	nt Assistant)	2,000	
Tat £800   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo   Soo			Sub-division II.			
Tat £800   Soo   Soo   Soo   Soo   Grade II   I at £515   Sorade III   #			Special Grade II—			
1	1	1.	1 at £800		800	
Grade III		1				
10	1				515	
10		İ				
Grade IV—	10					
2   2 at £425	10		The state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the s	440	4 675	
Grade V—   3 st £380     1,140   1 st £355     355   Grade VI—   7 st £335     320   2,345   1 st £320     320   Grade VII—   2 st £295     2,665   590      Contingencies—   Salaries of casual business agents, office assistants, tabulating machinists, and ticket sorters     4,800   Stores, stationery, and supplies   3,500   Travelling allowances and expenses   4,000   Water, light, and power   1,500     13,800   27,390      Working-expenses of Sections—	2	į.				
3 at £380	-	:		•••	000	
1 at £355   Grade VI		!		1.140		
Section	4					
Salaries of casual business agents, office assistants, tabulating machinists, and ticket sorters 4,800 Stores, stationery, and supplies 3,500 Travelling allowances and expenses 4,000 Water, light, and power 1,500			Grade VI—		1,495	
Contingencies		İ	7 at £335	2,345		
2   2 at £295	8			320		
Contingencies—  Salaries of casual business agents, office assistants, tabulating machinists, and ticket sorters 4,800 Stores, stationery, and supplies 3,500 Travelling allowances and expenses 4,000 Water, light, and power 1,500   13,800   27,390      Working-expenses of Sections—  International Expenses—  Section—  Kaihu 2,200 Gisborne 7,500 North Island Main Line and Branches 925,035 South Island Main Line and Branches 740,035 Westport 30,000 Nelson 6,600 Picton 10,600 Allowance to guards employed on Rimutaka Incline Money stolen by burglars from Ashhurst, Dunedin, and Remuera 13    Estimated credits-in-aid under Section 22 of				-		
Contingencies—  Salaries of casual business agents, office assistants, tabulating machinists, and ticket sorters 4,800 Stores, stationery, and supplies 3,500 Travelling allowances and expenses 4,000 Water, light, and power 1,500	2	ļ	2 at £295		590	
Contingencies—  Salaries of casual business agents, office assistants, tabulating machinists, and ticket sorters 4,800 Stores, stationery, and supplies 3,500 Travelling allowances and expenses 4,000 Water, light, and power 1,500	30				12 500	
Salaries of casual business agents, office assistants, tabulating machinists, and ticket sorters 4,800		_	Contingencies—		15,590	
Traffic Transportation Expenses—  Section—  Kaihu			Salaries of casual business agen office assistants, tabulating mach ists, and ticket sorters Stores, stationery, and supplies Travelling allowances and expenses	in- 4,800 3,500 4,000		
Working-expenses of Sections—  Traffic Transportation Expenses— Section— Kaihu 2,200 Gisborne 7,500 North Island Main Line and Branches 925,035 South Island Main Line and Branches 740,035 Westport 30,000 Nelson 6,600 Picton 10,600 Allowance to guards employed on Rimutaka Incline Money stolen by burglars from Ashhurst, Dunedin, and Remuera 13  Estimated credits-in-aid under Section 22 of			, , a,,, po		13,800	
Traffic Transportation Expenses—  Section— Kaihu 2,200 Gisborne 7,500 North Island Main Line and Branches 925,035 South Island Main Line and Branches 740,035 Westport 30,000 Nelson 6,600 Picton 10,600 Allowance to guards employed on Rimutaka Incline Money stolen by burglars from Ashhurst, Dunedin, and Remuera 13  Estimated credits-in-aid under Section 22 of					27,390	
Section—  Kaihu		!	Working-expenses of Sections—			
Kaihu			Traffic Transportation Expenses— Section—			
Gisborne North Island Main Line and Branches 925,035 South Island Main Line and Branches 740,035 Westport Solution Nelson Picton Allowance to guards employed on Rimutaka Incline Money stolen by burglars from Ashhurst, Dunedin, and Remuera  Estimated credits-in-aid under Section 22 of				2,200)		
South Island Main Line and Branches 740,035 - 1,721,970  Westport 30,000  Nelson 6,600  Picton 10,600  Allowance to guards employed on Rimutaka Incline Money stolen by burglars from Ashhurst, Dunedin, and Remuera 13  Estimated credits-in-aid under Section 22 of				7,500	]	
Picton 10,600 j  Allowance to guards employed on Rimutaka Incline 100  Money stolen by burglars from Ashhurst, Dunedin, and Remuera 13  Estimated credits-in-aid under Section 22 of			South Island Main Line and Branc	hes $740,035$ $\succ$	1,721,970	
Allowance to guards employed on Rimutaka Incline Money stolen by burglars from Ashhurst, Dunedin, and Remuera 13  Estimated credits-in-aid under Section 22 of			Nelson	6,600		
Money stolen by burglars from Ashhurst, Dunedin, and Remuera 13  Estimated credits-in-aid under Section 22 of						
and Remuera 13  Estimated credits-in-aid under Section 22 of		}			100	
				nurst, Dunedin,	13	
the Appropriation Act, 1923 (see end of vote) £16,600			the Appropriation Act, 192	3 (see end of		
1,749,473			e de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya del companya de la companya del companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la companya de la co		1,749,473	
Total Working Expenses of Sections 6,148,098					·	

## WORKING RAILWAYS ACCOUNT—continued.

Item.	VOTE No. 78.—WORKING	G RAILWA	YS—con	ıtinued.	1926–	27.
4	Subsidiary Services—					
	Tale Walletine Green			o	£	£
	Lake Wakatipu Steamers-					
	Cool and stores				1	
				3,000		
	Other charges	* * * * * * * * * * * * * * * * * * *	•••	5,000	15 700	
					10,100	
	Refreshment Rooms: Salar	ries—				
	Subdivisi	ion II.				
	1 at £715				715	
		•••	•••		1.0	
					445	
		•••	•••	•••	110	
					400	
				•••	100	
1					2.010	
				•••	2,010	
1		411			2.360	
			•••		2,000	
		•••	•••			
_					705	
	1 at £25	•••	•••		25	
-			•			
	Wages, stores, provisions,	and conting	gencies	•••	98,340	
					105,000	
1	Advertising Service: Salar	ries—				
	-					
	Special Grade IV—				_	
		• • •	•••		665	
i l						
		• • •	• • •		470	
	6 at £295	•••	•••		1,770	
	1 at £135	•••	•••	135	}	
		• • •	•••			
	1 at £95	•••	•••	95		
-					535	
	1 at £25		•••	25		
-	1 at £10	•••	•••	10		
					35	
1					0 477	
	•				3,475	
	777					
	Wages and contingencies	•••		•••	41,525	
	Wages and contingencies	••• 	•••	•••	41,525	
		••• 	••• ·	•••		
	Departmental Dwellings—		••• •		41,525	
					41,525	
	Departmental Dwellings— Maintenance, repairs, an	d renewals			41,525	
	Departmental Dwellings— Maintenance, repairs, an Refreshment-room Building	d renewals			41,525 45,000 142,419	
	Departmental Dwellings— Maintenance, repairs, an	d renewals	  		41,525	
	Departmental Dwellings— Maintenance, repairs, an Refreshment-room Building Maintenance, repairs, an	d renewals s, Bookstall d renewals		···	41,525 45,000 142,419 12,216	
	Departmental Dwellings— Maintenance, repairs, an Refreshment-room Building	d renewals s, Bookstall d renewals			41,525 45,000 142,419	
	Departmental Dwellings— Maintenance, repairs, an Refreshment-room Building Maintenance, repairs, an	d renewals s, Bookstall d renewals Services		····	41,525 45,000 142,419 12,216	
	Departmental Dwellings— Maintenance, repairs, an Refreshment-room Building Maintenance, repairs, an	d renewals  s, Bookstall d renewals  Services  lice, Workin		  ses and	41,525 45,000 142,419 12,216	
		VOTE No. 78.—WORKING  Lake Wakatipu Steamers— Salaries and wages Coal and stores Other charges  Refreshment Rooms: Salar Subdivisi Special Grade IV— 1 at £445 Grade III— 1 at £445 Grade VI— 6 at £335 Grade VII— 2 at £190 2 at £115 1 at £95 Lodging-allowance— 1 at £470 Grade III— 1 at £470 Grade III— 1 at £470 Grade VII— 6 at £25  Wages, stores, provisions,  Advertising Service: Salar Subdivis  Special Grade IV— 1 at £665 Grade III— 1 at £470 Grade VII— 6 at £295 Grade VIII— 1 at £190 1 at £135 1 at £115 1 at £95 Lodging-allowances—	VOTE No. 78.—WORKING RAILWA	VOTE No. 78.—WORKING RAILWAYS—con	VOTE No. 78.—WORKING RAILWAYS—continued.   Subsidiary Services—	VOLE NO. 78.—WORKING HAILWAYS—continued.

## ${\tt WORKING\ RAILWAYS\ ACCOUNT--} continued.$

			I	
Number of Persons.	Item.		1926	<b>-27</b> .
1000 07	ļl	VOTE No. 78.—WORKING RAILWAYS—continued		
1926–27.	4	Renewals Fund-	£	£
		Renewal of track, bridges, way and works rolling stock, workshops, &c 377,000 Less credits provided for in other items 564,000	Cr. 187,000	
	}	BETTERMENTS FUND—		
		Improvements of way and works rolling stock, refreshment-rooms, &c	100,000	
		Insurance and Equalization Funds—		
		Replacement of buildings and other property destroyed by fire, upkeep of fire brigades, workers compensation for accidents, slips, floods, and accidents, &c 58,000		
		Less credits 75,000	Cr. 17,000	
		Credits on account of internal adjustment of interest and rent	Cr. 160,000	
		Total Renewals, &c., Funds	Cr.264,000	
	5	Stores Branch—		
2	-	Comptroller of Stores 900 Assistant Comptroller of Stores 615 ————————————————————————————————————		
		Purchase of stores and material and store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, contingencies 2,148,548		
		2,150,063  Less estimated credits for stores to be issued, provided for in other		
	: 	votes and items 2,100,000	50,063	
		STATE SAWMILLS-		
		Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies—		
		Mamaku Sawmill 35,000 Pukete Timber Reserve 700 Maroa Timber Reserve 500 Pokako Timber Reserve Erua Timber Reserve		
		Frankton Junction Sawmill and Timber-yard		
		Less estimated credits 165,000	10,000	
		Total Stores Branch	60,063	

### WORKING RAILWAYS ACCOUNT—continued.

Number of Persons.	Item.		TT 111 . 112			3-27.
1000 05	-[]	VOTE No. 78.—WORKING RA	AILWAYS-	-continued		
1926–27.	5	STATE SAWMILLS—continued.			£	£
		Amount required to cover cos done for departmental and			0.50 000	
		Estimated credits-in-aid the Appropriation Ac vote)	t, 1923 (s	ee end o	f	
		GROSS TOTAL	•••			7,177,08
		Credits-in-aid $(a)$				700,00
		NET TOTAL—VOT	E No. 78	•••		6,477,08
a) Credits.	-in-aid	<del>-</del>			1926–27. £	
	Ε	lead Office			$1,\tilde{1}45$	
	M	Taintenance of ways and works			05 000	
		faintenance of signals, &c.			255	
		ocomotive transportation, &c		• ••	7,000	
	1	raffic transportation		ts	16,600 $650,000$	

Total

700,000

## PUBLIC TRUSTEE'S ACCOUNT.

			r u dilio	TRUST	<u>опо</u>		UNI.			<del></del>
7 * **					:	*		192	26-27.	24 - 1 - 24 - 24 - 24 - 24 - 24 - 24 - 2
						Salarie	es. O	ther	Charges.	Total.
Vote No. 7	9.—P	ublic Tru	st Office—			£		1	£	£
GR	$\cos T$	OTAL				183,	673		58,207	241,88
					ļ	2.00,			30,201	211,00
CR	EDITS	-IN-AID	• •	• •	•••					
NI	ET TO	OTAL	, • •		••	183,	673		58, 207	241,88
Number of Persons.	Item.	Cha	argeable on	the Public	Trustee	's Accou	ınt.		1926	_27.
1926-27.		v.	OTE No. 79	-PUBLIC	TRUST	C OFFIC	Œ.			
	1	*Salar	TEQ			•	,		£	£
4		1 at 2 at	£1,300 (Pul £1,000 (Ass	Unclassifi blic Trustee) sistant Public ocial Adviser	· Truste	 ees)	£ 1,30 2,00 50	Ю	3,800	
	-		Pro	ofessional I	Oivision	r <b>.</b>				
		1 a an 31 1 at (a to 1 at	tt £850 (Crears, £50, lst March, 1 £850 (Con lso arrears, 2 31st March £800 (First crears, £50,	troller, Esta £50, from 1s 1, 1926) . Assistant So from 1st Aj	ntant), pril, 192  tes Divi t April,  plicitor),	(also 25, to  sion), 1925,  (also	90	00		n a <b>S</b> i
6		2 at Clas	Ist March, 1 £765 (Assis as A— at £715	.926) tant Solicito	 rs)	•••	85 1,53 71	0	5,080	
7	è	1 5 Clas	at £665 at £615 as B— at £590	•		•••	$ \begin{array}{r} 66 \\ 3,07 \\ \\ 1,77 \end{array} $	5 0	4,455	
10		$\begin{bmatrix} 1 \\ 4 \\ Clas \end{bmatrix}$	at £565 at £540 at £515 ss. C at £490				1,13 54 2,06  3,43	0 0	5,500	
13		3 3 Clas	at £470 at £445 ss D— at £425			•••	1,41 1,33  3,40	0 5	6,175	
11	1	_	at £400	•	••	*** *	1,20		4,600	
		GI.		LERICAL DI	vision.				2,000	
16		1 5 10 Clas	ss Special— at £815 (7 r at £765 ) at £665 ss I— at £615	months), £76	55 (5 mo 	onths) 	79 $ 3,82 $ $ 6,65 $ $ 3,07$	50	11,270	
13		3 3 2 Clas	at £590 at £565 at £540 ss II—	•	••		1,77 $1,69$ $1,08$	0 5 0	7,620	
12			at £515 at £490			•••	3,60 $2,45$			

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

6,055

# Appropriations for Public Trustee's Account.

		PUBL	C TRUSTEE	s Accoun	NT co	ntinued.		
Number of Persons.	Item.	Item. VOTE No. 79.—PUBLIC TRUST OFFICE— continued.		ICE—	1926-	27.		
<b>1926–27</b> .	1	Salaries—co	ntinued.				,	
		C	LERICAL DIVISIO	on-continue	ed.	i :	£	£
,		Class III—				£		
.re. £ 11		7 at £470 4 at £445		***	• • •	$\frac{3,290}{1,780}$		
,		Class IV-					5,070	
21		11 at £49 10 at £40		• • •	• • •	4,675 \\ 4,000		
		Class V—		•••	•••		8,675	
		27 at £38 2 at £370		• • •	• • •	10,260 740	·	
45	ĺ	16 at £3		•••	•••	5,680		
		Class VI—	0.5				16,680	
43	1	25 at £33 18 at £33		•••	• • • •	$\frac{8,375}{5,760}$		
,		Class VII-	-	•••	•••		14,135	
		18 at £29 17 at £27		•••	•••	5,310		
		20 at £25			• • •	$\frac{4,675}{5,000}$		
		1 at £245		•••	•••	245		
		31 at £23 25 at £21			• • • •	$7,130 \\ 5,250$		
		5 at £190		•••	•••	950		
		20 at £18				3,100		
		29 at £13 64 at £13				$\frac{3,915}{7,360}$		
		87 at £98		•••	•••	8,265		
<b>3</b> 25		8 at £80		***		640	£1 040	
			GENERAL I	Division.		:	51,840	
		3 at £475 1 at £400		•••	•••	1,425		
		1 at £370	•	•••	•••	400 370		
		4 at £340	·	•••		1,360		
		1 at £330 2 at £295		.***	• • •	330 590		
		1 at £285		•••	•••	285		
		1 at £265		•••	•••	265		
		3 at £245 1 at £240			•••	$\begin{array}{c} 735 \\ 240 \end{array}$		
		4 at £225		•••	•••	900		
		7 at £205 47 at £185		•••	•••	$\frac{1,435}{8,695}$		
		5 at £175		•••		875		
0.4		1 at £160			•••	160		
84		2 at £150		•••	•••	300	18,365	
		مبيد م	Non-perm	ANENTS.			10,000	
		1 at £440 2 at £400		•••	•••	440 800		
		2 at £375			• • • •	750	!	
		4 at £350			•••	1,400		
		3 at £335 1 at £325		•••	•••	$\begin{array}{c c} 1,005 \\ 325 \end{array}$		
		6 at £300		•••	•••	1,800		
		2 at £275 2 at £260		•••	• • • •	550		
		1 at £255		•••	• • •	520 255		
		4 at £250		•••		1,000		
		4 at £240 1 at £235		•••	•••	960 235		
		1 at £225			•••	225		
		1 at £210 3 at £208	,	•••	•••	210		
		1 at £205		•••		624 205		
		3 at £200		• • •		600		
		1 at £195 2 at £190		•••	• • •	195		
		2 at £185		•••	***	380 370		
		1 at £184	•	* * *	, , ,	184	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	

## $Appropriations \ for \ Public \ Trustee's \ Account.$

Non-permanents	Number f Persons.	VOTE No. 79.—PUBLIC TRUST OFFICE— continued.	<b>19</b> 26	-27.
Non-permanents	926-27.	-! 		<del></del>
1 at £180	1		£	£
## 4 # 1178   712		1 -4 6100		
1 at £145				
Tat £143		-,		
1 at £135			· ·	
13 at £130	İ			
4 at \$117				
13 at £104		4 at £117 468		
1 at 295   95   15 at 291   1 at 280   80   13 at 278   1 at 280   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   104   2 at 265   11,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,135   1,1			-	
15 at £91   1,365   1 at £80		1 4 4-0	ļ	
1 at £80			}	
136				
136				
Cadets' lodging-allowances	126		. [	
Cadets' lodging-allowances	150	2 at £02 104	23 023	
Allowances for performing special or higher duties (Public Service Regulations Nos. 24A and 209)  Less salaries provided for and not required  193, 638  Less salaries provided for and not required  2 Additions, improvements, repairs, maintenance, insurance of premises, plant, and motor-vehicles Advertising, photographs, books, newspapers, and other publications 4 Audit Office for inspection of accounts Commission to agents other than permanent officers (Cost-of-living bonus to annuitants, Public Service Superannuation Fund, and increased pensions to widows and children Department of Internal Affairs on account of— Wages of custodian, messengers, charwomen, &c. Proportion of salaries of officers in High Commissioner's office and proportion of rent Proportion of salaries of officers in High Commissioner's office and proportion of rent Proportion of salaries of officers in High Commissioner's office and proportion of rent 250  Honorarium of member of Investment Board Legal expenses 250  Membership subscriptions to Chambers of Commerce New Zealand and South Seas Exhibition 584  Overtime and meal allowances 250  Post and Telegraph Department for services of officers Postage, telegrams, rent of boxes, freight, and cartage Printing and stationery Public Service Superannuation Fund contribution 266  276  287  Rates 298  Rent 290  Rent 297  Transfer and removal expenses 298  Transfer and removal expenses 299  Transfer and removal expenses 290  Contingencies, including petty expenses, fidelity insurance, and sundries  58,207  241,86	757	Cadets' lodging-allowances		
193,638   9,965   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,673   183,67		Allowances for performing special or higher duties		
Charles Salaries provided for and not required   9,965   183,673		(Public Service Regulations Nos. 24A and 209)	160	
Charles Browided for and not required   9,965   183,673			193 638	
OTHER CHARGES FOR AND INCIDENTAL TO—  Additions, improvements, repairs, maintenance, insurance of premises, plant, and motor-vehicles Advertising, photographs, books, newspapers, and other publications 700  Adulti Office for inspection of accounts 700  Commission to agents other than permanent officers Cost-of-living bonus to annuitants, Public Service Superannuation Fund, and increased pensions to widows and children 110  Department of Internal Affairs on account of— Wages of custodian, messengers, charwomen, &c. 6,500  Proportion of salaries of officers in High Commissioner's office and proportion of rent 1,300  Proportion of salary of Lady Medical Referee 30  Honorarium of member of Investment Board 110  Legal expenses 250  Membership subscriptions to Chambers of Commerce 35  New Zealand and South Seas Exhibition 584  Membership subscriptions to Chambers of Giffeers Postage, telegrams, rent of boxes, freight, and cartage Printing and stationery 7,500  Public Service Superannuation Fund contribution 2,613  Rates 1,750  Stamp duty on receipts and cheques 6,500  Transfer and removal expenses 1,600  Transfer and removal expenses 1,500  Transfer and removal expenses 1,500  Transfer and removal expenses 5,000  Contingencies, including petty expenses, fidelity insurance, and sundries 58,207		Less salaries provided for and not required		
Other Charges for and incidental to—   Additions, improvements, repairs, maintenance, insurance of premises, plant, and motor-vehicles			183.673	
Surance of premises, plant, and motor-vehicles				
Advertising, Photographs, books, newspapers, and other publications	2		~ 500	
Other publications	3	Advertising photographs books newspapers and	9,500	
Audit Office for inspection of accounts   700			4,500	
Cost-of-living bonus to annuitants, Public Service Superannuation Fund, and increased pensions to widows and children		Audit Office for inspection of accounts	. 1	•
Superannuation Fund, and increased pensions to widows and children			8,000	
widows and children	: 0			
Department of Internal Affairs on account of— Wages of custodian, messengers, charwomen, &c.   6,500	:		110	
Proportion of salaries of officers in High Commissioner's office and proportion of rent		Department of Internal Affairs on account of—		
missioner's office and proportion of rent			6,500	
Proportion of salary of Lady Medical Referee   30	8		1 300	
Honorarium of member of Investment Board   110	9			
Membership subscriptions to Chambers of Commerce   35	10			
13				
14		NT 77 - 1 - 1 3 3 C4 C TI 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1		
Post and Telegraph Department for services of officers   Fostage, telegrams, rent of boxes, freight, and cartage   3,250				
17				
Rates				
19		Printing and stationery		
Rent				
Stores for cleaning, lighting, &c 3,750 Telephone services (including installation, extensions, maintenance, rent, and calls) 1,600 Transfer and removal expenses 1,500 Travelling allowances and expenses 5,000 Contingencies, including petty expenses, fidelity insurance, and sundries 825  Gross Total 241,88		Dank		
Telephone services (including installation, extensions, maintenance, rent, and calls) 1,600 Transfer and removal expenses 1,500 Travelling allowances and expenses 5,000 Contingencies, including petty expenses, fidelity insurance, and sundries 825  Gross Total 241,88			650	
maintenance, rent, and calls) 1,600 Transfer and removal expenses 1,500 Travelling allowances and expenses 5,000 Contingencies, including petty expenses, fidelity insurance, and sundries 825  Gross Total 241,88		Stores for cleaning, lighting, &c	3,750	
Transfer and removal expenses 1,500 Travelling allowances and expenses 5,000 Contingencies, including petty expenses, fidelity insurance, and sundries 825  Gross Total 241,88	25		1.600	
Travelling allowances and expenses 5,000 Contingencies, including petty expenses, fidelity insurance, and sundries 825  GROSS TOTAL 241,88			1,500	
Surance, and sundries 825  GROSS TOTAL 241,88	25	Travelling allowances and expenses	5,000	
GROSS TOTAL 58,207 241,88	26		825	
GROSS TOTAL 241,88				
CREDITS-IN-AID		Gross Total	00,201	241,880
	ļ	Credits-in-aid	•••	•••

# NATIVE TRUSTEE'S ACCOUNT.

		Salaries.	Other Charges.	Total.
Vote No. 80.—Native Trust Office—		£	£	£
GROSS TOTAL	;	9,445	4,509	13,954
CREDITS-IN-AID			***	•••
NET TOTAL	••	9,445	4,509	13,954

Number of Persons.		1926-	27.
2 1	For Services chargeable on the Native Trustee's Account.		
1926–27.	VOTE No. 80.—NATIVE TRUST OFFICE.	£	£
80 <b>1</b> 14.7	*Salaries— Unclassified.		
1 500	1 at £950 (Native Trustee)	950	
	Professional Division.		
1	1 at £590 (Accountant)	590	
1	Class C— 1 at £490 (Solicitor)	490	
	Class D—		
1	1 at £425 (Assistant Accountant)	425	
	Clerical Division.		
1 1	1 at £715 (Deputy Native Trustee)	715	
1	Class V— 1 at £380	380	
	Class VI—	1	
5	4 at £335 1,340 1 at £320 320		
18 C	Class VII—	1,660	
11	1 at £275 275 1 at £230 230		
	1 at £210 210 2 at £135 270		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
9	2 at £95 190	1,415	
	GENERAL DIVISION.	_,	
	2 at £400 800 1 at £380 380		
	$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
.i. 6	1 at £160 160	1.820	

^{*}For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

## Appropriations for Native Trustee's Account.

### NATIVE TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item.		1926-	27.
1926–27.		For Services chargeable on the Native Trustee's Account —continued.	£	£
	:	VOTE No. 80—NATIVE TRUST OFFICE— continued.	~	
	1	Salaries—continued.		
30	-	Non-Permanents.       £         1 at £282        282         2 at £145        290         1 at £90         90         Others not specified        338	1,000	
			9,445	
	2 3 4 5 6 7 8 9 10 11 12 13	OTHER CHARGES FOR AND INCIDENTAL TO— Additions, improvements, repairs, maintenance, insurance of premises, plant, and vehicles Audit Office, for inspection of accounts Cleaning, lighting, firing, &c Maori Ethnological Research Fund, subsidy to Motor-cars, purchase of Native Trust Board, fees to members Office equipment Overtime and meal allowances Postage, telegrams, freight, cartage, and rent of boxes Post and Telegraph Department: Payment for services Printing and stationery Public Service Superannuation Fund contribution	700 50 250 250 350 30 200 100 250	
	14 15 16 17	Rent  Telephone services (including installation, extensions, maintenance, rent, and calls)  Travelling allowances and expenses  Contingencies, including unforeseen expenditure incidental to the other items of the vote	129 550 125 1,000	
,		Gross Total	4,509	13,95
		Credits-in-aid		•••
		NET TOTAL—VOTE No. 80		13,95

# GOVERNMENT INSURANCE ACCOUNT.

								199	26–27.		
		-				Salaries	3.	Othe	r Charges.		Total.
Vote No. 8	1G	overnment	Insurance	)- <del></del>			e		£		£
G-	n	7				0.7			<b>51</b> 000	. A	100.000
GB	coss 1	OTAL	••	• •	••	37,	177		71,862		109,039
Cr	EDI <b>T</b> S	-IN-AID	• •		• •	1,	500		800		2,300
NI	ET TO	OTAL				35,	677		71,062		106,73
Number	ļ.,		The state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the state of the s								
of Persons.	Item.								199	26–	<b>27</b> .
		Chargea	ble on th	e Governi	ment Inst	irance A	eoun	t.	4		
1926–27.		_	No. 81						£		£
		,,,,,,	110. 01.	00 111111		111001111	1101		<del></del>		
	1	*Salarie		INISTRATIV	ve Divisio	ON.					
1		1 at	£1,100						1,10	0	
			Đu	OTHERNAN	L Divisio	<b></b>					
	1		rk	OFESSIONA	T DIVISIO	JN.		£			
		1 at £	31,000			• • •	1,0	000			
2		1 at £	8835			• • •	۶ ا	335		_	
		Class	4						1,83	5	
1		Class 1 a	t £715 (6 1	months), £	£665 (6 m	onths)		•••	68	8	
			(	CLERICAL	Division						
		Class	Special-	JIIIIIIIIIIIII	DIVISION.						
		1 a	t £765 (10	months)		•••	(	886			
_		1 a	t £715		•••	•••		715			
3			.t_£665				(	365	0.01		
		Class	t £615					615	2,01	8	
3	İ		t £540 (10	months)	£515 (2 m	onths)		070		İ	
Ū		Class		111011111111111111111111111111111111111	<b>3</b> 010 ( <b>2</b> 23	0110112)			1,68	5	
		1 a	t £515		•••	•••	,	515			
2			t £515 (3 1	months), s	€490 (9 m	onths)		<b>49</b> 8			
0	i		III						1,01		
2			t £470 : <i>IV</i> -		• • •	•••		•••	94	:0	
			t £425				1	700			
6	į	$\frac{1}{2}$ a	t £425 (4 :	months).	£400 (8 m	onths)		816	İ		
-	İ	Class	· V— `	,, -	(	,			2,51	6	
		12	at £380					560	1		
	:		t £380 (3					361	1	:	
14			t £380 (4 1	months), a	E300 (8 m	onths)	i	363	E 00		
			* <i>VI—</i> at £335				5	360	5,28	94	
17	!	10 1 a	at £335 (4 :	months) 4	6320 (8 m	onths)		325			
11	į	ı a	" #0000 (± )		(O III		•	J = U	5 68		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

5,685

# $Appropriations \ for \ Government \ Insurance \ Account.$

## GOVERNMENT INSURANCE ACCOUNT—continued.

		GOVERNMENT INSURANCE ACCOUNT—continue		
Number of Persons.	Item.	VOTE No. 81.—GOVERNMENT INSURANCE— continued.	1926-	-27.
1926-27.		CONTRACTOR.		
	1	Salaries—continued.	£	£
65	1	CLERICAL DIVISION—continued.  Class VII—  13 at £295 3,835  1 at £295 (6 months), £275 (6 months) 285  2 at £275 550  1 at £275 (9 months), £250 (3 months) 268  1 at £275 (2 months), £250 (10 months) 253  1 at £275 (1 month), £250 (11 months) 253  1 at £275 (1 month), £250 (11 months) 253  1 at £250 (3 months), £230 (9 months) 252  3 at £250 750  1 at £250 (3 months), £210 (1 month) 228  2 at £190 (10 months), £155 (2 months) 372  2 at £190 (9 months), £155 (3 months) 362  1 at £190 (5 months), £155 (7 months) 362  1 at £155 (11 months), £135 (1 month) 154  1 at £155 (10 months), £135 (6 months) 150  1 at £155 (6 months), £135 (6 months) 145  1 at £155 (5 months), £135 (6 months) 145  1 at £155 (5 months), £135 (7 months) 143  1 at £135 (10 months), £115 (1 month) 536  1 at £135 (1 months), £115 (1 month) 536  1 at £135 (1 months), £115 (1 months) 123  4 at £135 (1 months), £115 (1 months) 123  4 at £135 (1 months), £115 (1 months) 123  4 at £135 (1 months), £115 (1 months) 123  4 at £135 (1 months), £115 (10 months) 123  4 at £135 (1 months), £15 (10 months) 123  4 at £135 (1 months), £15 (1 months) 123  4 at £135 (1 months), £15 (1 months) 123  4 at £135 (1 months), £15 (1 months) 123  4 at £135 (1 months), £15 (1 months) 123  4 at £15 (2 months), £95 (5 months) 216  3 at £15 (1 months), £95 (10 months) 216  3 at £15 (1 months), £95 (10 months) 226  2 at £95 (2 months), £95 (10 months) 192  2 at £95 (2 months), £95 (10 months) 192  2 at £95 (2 months), £80 (10 months) 192  2 at £95 (2 months), £80 (10 months) 192  2 at £95 (2 months), £80 (10 months) 192  2 at £95 (2 months), £80 (10 months) 192	£ 11,745 400	£
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
9		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1 614	
		Non-permanents.	1,514	
17		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
-			2,147	
143		Chief Medical Officer Allowances to officers temporarily performing higher duties (Public Service Regulations 24A and 209) For auditing accounts Payment to Department of Internal Affairs on account of clerical work performed in office of High Commissioner, London	450 1,000 325 450	
		Less salaries provided for and not required	40,795 3,618	
			37,177	

# Appropriations for Government Insurance Account.

GOVERNMENT	INSURANCE	ACCOUNT-	-continued.
------------	-----------	----------	-------------

f Persons.	Item.	VOTE No. 81.—GOVERNMENT INSURANCE—	1926	-27.
926-27.	[	continued.		······································
		OTHER CHARGES FOR AND INCIDENTAL TO-	£	£
	2	Advertising, photographs, books, newspapers, and	600	
	3	other publications	600	
	4	Bank exchange and agency fees Commission (including canvassers' allowances)	150   42,000	
į	$\hat{5}$	Commission (including canvassers allowances) Commission to district managers on the net increase	42,000	
ĺ		in new business	1,100	
	6	Conversion of Wanganui office premises to Glasgow	-,255	
	İ	leasehold	200	
	7	Cost of conversion to automatic of lift at Head Office	260	
	8	Cost-of-living bonus to annuitants, Public Service		
		Superannuation Fund, and increased pensions to		
	9	widows and children	78	
	10	Fees for certificates of death, &c	50	
	11	Fuel, light, power, and water	800 400	
1	$\frac{11}{12}$	Insurance premiums Law-costs	250	
and the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of the same of th	13	Law-costs	7,000	
	14	Office-cleaning	200	
į	15	Office fittings and requisites	500	
ja co	16	Overtime and meal allowances	600	
-	17	Payment to Department of Internal Affairs for	1	
		services of messengers, night-watchmen, and char-	_	
	10	women	3,200	
	18	Postage, telegrams, and rent of boxes	2,000	
ļ	19 20	Printing and stationery	2,500	
	21	Public Service Superannuation Fund contribution	714	
	$\frac{21}{22}$	Remuneration of member of Investment Board	70	
		Remuneration to Post and Telegraph Department for services rendered	300	
	23	Park	2,000	
	$\overline{24}$	Repairs, &c	1,000	
	25	Services rendered by Government Actuary's Office	3,740	
	26	Telephone services (including installation, extensions,	, , ,	
		maintenance, rent, and calls)	550	
	$\frac{27}{20}$	Transfer and removal expenses	500	
	28	Travelling allowances and expenses	600	
	$\frac{29}{30}$	Typewriters: Purchase and upkeep	250	
	31	Valuation fees Contingencies, including unforeseen expenditure in-	150	
	91	cidental to the other items of the vote	100	
	11. The state 100.000	Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)—		
		National Provident and Friendly £		
		Societies Department 1,300		
		Miscellaneous 1,000		
		0.200		
		2,300	<u> </u>	
			71,862	
		Gross Total		109,03
		Credits-in-aid $(a)$	•••	2,30
		NET TOTAL—VOTE No. 81		106,73
A	(a) Cn	edits-in-aid—	¹	
	(a) Of	cutos-in-aid-—	1926-27,	
		0.1	£	
		Salaries	1,500	
		Other Charges	800	•
		Total	2,300	

## PUBLIC SERVICE SUPERANNUATION FUND ACCOUNT.

					1926–27.	
				Salaries.	Other Charges.	Total.
Vote No. 82. — Public Offic		Superannuation	Fund	£	£	£
GROSS TOTAL	• •	• •	••	2,852	5,242	8,094
CREDITS-IN-AID		••	• •			•••
NET TOTAL		••	••	2,852	5,242	8,094

Number f Persons.	Item.	Chargeable on the Public Service Superannuation Fund Account.	1926-	27.
.926-27.		•		
		VOTE No. 82.—PUBLIC SERVICE SUPERANNUATION FUND OFFICE.	£	£
	1	*Salaries—		
		CLERICAL DIVISION.		
		Class Special—		
1		1 at $£665$	. 665	
		Class III—		
1		1 at £470	470	
		Class VI—		
1	i	1 at £335	. 335	
		Class VII—		
		1 at £295 $\dots$ 298	5	
		1 at £275 $\dots$ 278		
		2 at £210 (3 months), £190 (9 months) 396		
5		1 at £95 $\dots$ 98		
		4/- <del></del>	- 1,055	
		Lodging-allowance: 1 at £25	. 25	
-		GENERAL DIVISION.	102	
1		1 at £185	. 185	
		Non-permanent.		
1		1 at £117	. 117	¢
	.  :			
10			2,852	
	-	OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Audit fees	. 50	
,	3	Heating, lighting, and cleaning	. 135	
	4	Medical fees	. 60	
	5	Messenger service		
	6	Office fittings and requisites	. 25	
	7	Postages, telegrams, and services		
	8	Post and Telegraph charges	. 750	
	9	Printing and stationery	. 150	
	10	Public Trustee's commission	. 3,500	
	11	Rent	. 197	
	12	Typewriters, addressograph, and other machine	8	
		(upkeep)	.   20	
	13	Contingencies including unforeseen expenditure inci	-	
		dental to the other items of the vote	100	
			5,242	
		Gross Total		8,09
		Credits-in-aid		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

## STATE FIRE INSURANCE ACCOUNT.

					1926-27.	
				Salaries.	Other Charges.	Total.
Vote No. 83.—State Fire I	nsurance—	-	į	£	£	£
GROSS TOTAL	••	••	••	34,945	10,229	45,174
CREDITS-IN-AID	••			6,500	50	6,550
NET TOTAL	• •	••		28,445	10,179	38,624

Number of Persons.	Item.	Chargeable on the S	1926-	27.			
19 <b>2</b> 6–27.		VOTE No. 83.—S'	TATE FIRE	INSURAL	NCE.		
	1	*Salaries				£	j
	1		TRATIVE DIVIS	ION.	Ì		
-		1 /C 1 M	\ -+ 01 100 (-1	0100			
1		1 (General Manager as member, Public	c Service Appe	so £100 pe al Board)	r annum	1,100	
		CLER	ICAL DIVISION.				
		Class Special—			£		
		1 at £765	•••		765		
4	+	3 at £715	•••	• • • •	2,145		
						2,910	
		Class II—					
		1 at £565	•••	• • •	565		
2	1	1 at £515	• • •	• • •	515	1 000	
		Olean III				1,080	
0		Class III— 3 at £470				1 410	
3		5 at £470	•••	•••		1,410	
		Class IV			{		
	1	1 at £445			445		
•	Ì	1 at £425			425		
6		4 at £400	•••	•••	1,600		
•	!					2,470	
	İ	Class V-			j	<i>'</i> !	
	1	2 at £380			760	'	
8		6 at £355			2,130	ĺ	
	i	i				2,890	
		Class VI—					
	i	10 at £335		• • •	3,350		
14		4 at £320		• • • •	1,280		
						4,630	
		Class VII—					
	į	15 at £295			4,425		
		1 at £275	•••	•••	275		
		5 at £250			1,250		
		7 at £230	• • •	• • •	1,610		
		7 at £210	•••	• • •	1,470	İ	
		4 at £190	• • •	• • •	760		
		1 at £155	•••	•••	155		
		12 at £135		•••	$\frac{1,620}{1,150}$	İ	
85		10 at £115	•••	•••	$\begin{bmatrix} 1,150 \\ 2,185 \end{bmatrix}$		
85	1	23 at £95			2.100	1	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

# Appropriations for State Fire Insurance Account.

### ${\bf STATE\ FIRE\ INSURANCE\ ACCOUNT} -- continued.$

Number of Persons.	Item.		1926-	-27.
1926–27.	-	VOTE No. 83.—STATE FIRE INSURANCE— continued.	£	£
	1	Salaries—continued.		
		GENERAL DIVISION.		
		1 at £245 245		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		0 -1 0105		
		9 -1 610# ###		
		6 at £160 960		
19		1 at £145 145		
	-		3,555	
142				
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)— Accident Insurance Branch under Section 24 of the Government Accident Insurance Act, 1908 (see £ end of vote) 6,500		
			34,945	
	2 3 4 5 6	OTHER CHARGES FOR AND INCIDENTAL TO— Allowances to officers temporarily performing special or higher duties Allowances to married officers to supplement salary to minimum Board fees for unofficial members Lodging-allowances Office premises: Capital expenditure—Land, buildings, alterations, additions, repayment of mortgages, and incidental expenses Public Service Superannuation Fund contribution Contingencies, including unforeseen expenditure incidental to the other items of the vote	25 10 50 35 9,500 509 100	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote) £50	10,229	
		Gross Total		45,17
				•
		Credits-in-aid		6,58

## GOVERNMENT ACCIDENT INSURANCE ACCOUNT.

	•						19	<b>2</b> 6– <b>2</b> 7.	1.3
					v	Salaries.	Othe	er Charges.	Total.
Vote No. 8	4.—G	$\mathbf{vernment}$	Accident In	surance —	.	£		£	£
Gr	oss T	OTAL	• •	• •	••			16,700	16,700
$\mathrm{C}_{\mathbf{R}}$	EDITS-	·IN-AID	••					•••	
. NI	ET TO	TAL		••				16,700	16,700
Number of Persons.	Item.			~		<b>1 7</b>		1926	-27.
1926-27.			ble on the	Accour	nt. NMENT			£	£
	1 2 3 4	Comm Law-c Printi Provis	ng and stati	onery and	 l adverti State I	Fire Office	  under	7,300 50 650	
	5 6	Act Trave Conti	tion 24 of the 1908 thing alloward and the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908 the 1908	nces and e	 expenses nforesee	 n expenditu	•••	8,550 100 50	
•			Gross T		•••	· · · · · · · · · · · · · · · · · · ·			16,70
			CREDITS	·IN-AID		•••	•••		
			NET TO	OTALV	OTE N	o. 84			16,70

### STATE ADVANCES ACCOUNT.

			1926-27.	
		Salaries.	Other Charges.	Total.
Vote No. 85.—State Advances—		£	£	£
Subdivision I.—Advances to Settlers Branch	••	23,850	31,371	55,221
" II.—Advances to Workers Branch		3,270	7,005	10,278
,, III.—Advances to Local Authorities	Branch	678	1,180	1,858
" IV.—Miscellaneous Business Bran	ch	1,415	9,112	10,527
Gross Total	• •	29,213	48,668	77,881
Credits-in-aid		••	20,715	20,715
NET TOTAL		29,213	27,953	57,166

Number of Persons.	Item.	VOTE No. 8	1926–2 <b>7</b> .				
1926–27.	1	Subdivision No. *Salaries	I.—Advances to	Settlers	Branch.	£	£
		Admini	STRATIVE DIVIS	ION.			
1		1 at £1,104 (Super	wintendent) (also	o Worker	e Branch		
1		£46)	···		s Dranen,	1,104	
		Prof	ESSIONAL DIVIS	ION.			
		Class A—		005			
1		1 at £715 (also '	Workers Branch	, £25)		715	
		Cr	ERICAL DIVISION	N.		İ	
		Class Special—					
1		1 at £665	***	•••	•••	665	
O.		Class II—				1 020	
2		$2  ext{ at } \pounds 515$ $Class III$ —	•••	•••		1,030	
2		2 at £470				940	
		Class IV—					
1		1 at £425	•••	• • •		425	
		Class V—			£		
,		3 at £380	(1 ) 0055 (0		1,140		
4		1 at £380 (3 mor Class VI—	itns), £300 (9 m	ontns)	359	1 400	
5		5 at £335				$\begin{bmatrix} 1,499 \\ 1,675 \end{bmatrix}$	
0		Class VII—	•••		***	1,010	
		5 at £295	1 1 2 1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2		1,475		
		2 at £275 (1 mor	th), £250 (11 m	onths)	506		
		1 at £275 (4 mon			259		
		1 at £250 (2 mor			233	į	
		1 at £230 (9 mor	ths), £210 (3 m	onths)	225	.	
		1 at £230 (4 mor			217	ļ	
		1 at £230 (3 mor			215		
	5	1 at £210 (10 mc	inths), £190 (2 n	nonths)	207	:	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

### STATE ADVANCES ACCOUNT—continued.

		STATE ADVA	MCES ACCOC	3 N 1.—con	unuea.		
Number of Persons.	Item.	VOTE No. 85.—STA	TE ADVANC	ES <i>conti</i>	nued.	1926-9	27.
.926–27.		Subdivision No. I.—	Advances to Secontinued.	ttlers Bra	nch	£	
	1	SALARIEScontinued.					
		Crupicat. T	Division—conti	nued			
		<del>-</del>		nuca.		į	
		Class VII—continu 1 at £210 (3 mont 1 at £190 (11 mon 1 at £190 (10 mor	hs), £190 (9 months), £155 (1 m	ionth)	£ 195 187 185		
		1 at £155 (10 mor 1 at £155 (9 mont 1 at £155 (2 mont	hs), £135 (3 mc hs), £135 (10 m	onths) nonths)	152 150 139		
		1 at £155 (1 mont 2 at £135 (9 mont	sh), £135 (11 me shs), £115 (3 me	onths)	$\begin{bmatrix} 137 \\ 260 \end{bmatrix}$		
		1 at £135 (6 mont	:hs), £115 (6 mc	onths)	$\frac{125}{118}$		
		1 at £135 (2 mont 1 at £135 (1 mont	sh), £115 (10 m	onths)	117		
		2 at £115 1 at £115 (3 mont	 shs), £95 (9 mor	 aths)	$\begin{bmatrix} 230 \\ 100 \end{bmatrix}$	ļ	
		1 at £95 (8 month 3 at £95 (5 month	is), £80 (4 mont	ths)	$\begin{array}{c c} 90 \\ 261 \end{array}$		
		3 at £95 (2 month	ns), £80 (10 mor	nths)	249		
37		2 at £95 (1 month	n), £80 (11 mon	ths)	164	6,196	
		GENI 1 at £255	ERAL DIVISION.		255	,	
		2 at <b>£</b> 205	•••	•••	410	1	
7		2 at £185 2 at £160	•••	•••	$\begin{array}{c c} 370 \\ 320 \end{array}$		
						1,355	
		1 at £400	-PERMANENTS.		400		
		1 at £320 1 at £285	•••	•••	320		
		1 at £275	•••	•••	$\begin{array}{c c}285\\275\end{array}$		
		1 at £260	•••	•••	260		
ı		1 at £250 3 at £234	•••	•••	$\begin{array}{c c} 250 \\ 702 \end{array}$	}	
		4 at £227	•••	•••	908		
		1 at £221		•••	221	į.	
		1 at £215 8 at £208	•••	•••	215		
		2 at £182	•••	•••	1,664 364		
		1 at £156		•••	156		
		3 at £143	• • •	•••	429		
		2 at £130 1 at £117	•••	•••	260	Ì	
		3 at £104	•••	•••	117 312		
		4 at £91	•••	•••	364		
		3 at £78	•••	• • •	234		
45		3 at £65	•••	•••	195	7,931	
106		Cadets' lodging-allo	wances	•••		315	
						2 <b>3</b> ,8 <b>5</b> 0	
	2	OTHER CHARGES FOR			and and		
	Δ	Advertising, photogous other publications		newspape	ers, and	30	
	3	Audit fees, proportion	on of	•••		475	
	4	Cleaning, lighting,	heating, &c.			500	
	5	Cost-of-living bonu					
		Superannuation 1 widows and child		_		13	
	6	Exchange on and co		ces		1,000	
	7	Fees paid for speci					
		securities	•••	•••	•••	200	

## ${\tt STATE \ ADVANCES \ ACCOUNT} - continued.$

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—continued.	1926-	27.
1926–27.	[] 	Subdivision No. I.—Advances to Settlers Branch—continued.	0	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	8	Honorarium to member of the Advances Board	90	
	9	Income-tax	3,000	
	10	Meal allowances and overtime	300	
	11	New Zealand stock and bonds, management charges		
	1.0	payable to Bank of England	2,600	
	12	Office fittings	400	
	13	Office maintenance Payments to—	200	
	14	Post and Telegraph Department for services of		
	11	officers	2,700	
		Valuation Department for—	2,100	
	15	Contribution in respect of Valuation fees	650	
	16	Valuation fees	8,000	
	17	Postage, telegrams, and rent of boxes	1,300	
	18	Printing and stationery	3,200	
	$\begin{vmatrix} 19 \\ 20 \end{vmatrix}$	Public Service Superannuation Fund contribution	324	
	$\begin{vmatrix} 20 \\ 21 \end{vmatrix}$	Refund valuation fees on loans not entertained	2,500	
	$\begin{vmatrix} 21\\22\end{vmatrix}$	Salistana' and and Count and	$\frac{2,724}{30}$	
	23	Telephone services (including installation, extensions,	30	
		maintenance, rent, and calls)	100	
	24	Travelling allowances and expenses	900	
	25	Typewriters and adding machines: Purchase and		
	0.0	upkeep	110	
	$\begin{vmatrix} 26 \end{vmatrix}$	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	25	
		the Appropriation Act, 1923 (see end of vote)— £ Printing and stationery 500 Repatriation administration expenses 5,225 Valuation fees 10,500		
		16,225		
		Total—Subdivision No. I	31,371	<b>55</b> , 2 <b>2</b> 1
		10tat—Subatvision No. 1		00,221
		Subdivision No. II.—Advances to Workers Branch.	4	
	27	Salaries—		
		Administrative Division.		
		1 at £46 (also Settlers Branch, £1,104)	46	
		Professional Division.		-
		Class A— 1 at £25 (also Settlers Branch, £715)	25	
		· CLERICAL DIVISION.		
		Class VI—		
3		3 at £335	1,005	
		Class VII—	•	
		1 at £295 (10 months), £275 (2 months) 292		
		1 at £275 (11 months), £250 (1 month) 273		
		2 at £230 (10 months), £210 (2 months) 454 1 at £250 (6 months), £230 (6 months) 240		
		1 at £230 (7 months), £210 (5 months) 222		
7		1 at £210 (11 months), £190 (1 month)	*	
•				

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—continued.	1926-27.	
		Subdivision No. II.—Advances to Workers Branch—		
1926–27.		continued.	£	£
	27	Salaries—continued.		
		GENERAL DIVISION. £	7	
		1 at £185 (3 months), £175 (9 months) 178		
		1 at £145 (9 months), £130 (3 months) 141 1 at £185 185		
3		1 at £189 189	504	
13		OTHER CHARGES HOLLAND INCIDENTAL TO	3,270	
	28	OTHER CHARGES FOR AND INCIDENTAL TO— Audit expenses, proportion of	150	
	$\frac{29}{29}$	Cleaning, lighting, heating, &c	150	
	30	Exchange on and costs of remittances	500	
	31	Fees paid for special services rendered in respect of		
•	90	securities	25	
	32	New Zealand stock and bonds, management charges	1 000	
		payable to Bank of England Payments to—	1,260	
	33	Post and Telegraph Department for services of		
		officers	500	,
		Valuation Department for—	.	
	34	Contribution in respect of Valuation fees	350	
	35 36	Valuation fees	2,500	
	37	Postages, telegrams, and rent of boxes Printing and stationery	200 300	
	38	Public Service Superannuation Fund contribution	50	
	39	Refund of valuation fees on loans not entertained	400	
	40	Rent	600	
	$\begin{array}{ c c c c }\hline 41 \\ 42 \\ \end{array}$	Solicitors' costs and court costs	10	
	4.2	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 22 of the Appropriation Act, 1923 (see end of vote)—Valuation fees £2,900		
			7.005	
		Total—Subdivision No. II	7,005	10.07
				10,278
•		Subdivision No. III.—Advances to Local Authorities Branch.	.	
	43	Salaries—		
		CLERICAL DIVISION.		
		Class IV—		
1		1 at £425	425	
1		Class VII— 1 at £275 (1 month), £250 (11 months)	253	
2			678	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	44	Audit expenses, proportion of	50	
	45	Cleaning, lighting, heating, &c	30	
	46	Exchange on and costs of remittances	500	
	47.	New Zealand stock and bonds, management charges payable to Bank of England	305	
	48	Payment to Post and Telegraph Department for	509	
	_~	services of officers	25	
	49	Postages, telegrams, and rent of boxes	$\frac{25}{25}$	
	50	Printing and stationery	125	
	51	Public Service Superannuation Fund contribution	20	
	52	Rent	100	
	1. 1.	•	1,180	
	1	Total—Subdivision No. III  -	-, -00	1,85

## ${\bf STATE\ ADVANCES\ ACCOUNT} \color{red} - continued.$

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—continued.	1926–27.	
1926–27.	-1	YOTE NO. 00.—STATE ADVANCED—commuted.		
		Subdivision No. IV.—Miscellaneous Business Branch.	£	£
		Housing—		
	53	Salaries—		
		CLERICAL DIVISION.	t.	
1		Class $IV$ — 1 at £400	400	
2		Class $VI$ — 2 at £335	670	
	ξ,	Class VII— $\begin{array}{cccccccccccccccccccccccccccccccccccc$		
2		1 at £95 95		
	'		345	
5			1,415	
•=•	-	Other Charges for and incidental to—		
	54	Advertising	10	
	55 56	Audit expenses, proportion of	225	
	57	Cleaning, lighting, heating, and messenger-services Commission	$\begin{vmatrix} 30 \\ 125 \end{vmatrix}$	
	58	Insurance	1,590	
	59	Payments to— Post and Telegraph Department for services of		
		officers	225	
	60	Valuation Department: Agency work Postages, telegrams, and rent of boxes	$\begin{array}{c c} 250 \\ 25 \end{array}$	
	$\begin{vmatrix} 61 \\ 62 \end{vmatrix}$	Printing and stationery	100	
	63	Public Service Superannuation Fund contribution	37	
	64   65	Rates	$\begin{bmatrix} 285 \\ 100 \end{bmatrix}$	
	66	Repairs, renovations, &c., to dwellings, and repairs,		
	67	&c. (including maintenance), to drainage works Roading, draining, surveying, and valuations of land	$\begin{array}{c c} 750 \\ 4,900 \end{array}$	
	68	Solicitors' costs and court costs	15	
	69	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 22 of the		
		Appropriation Act, 1923 (see end of vote)— Insurance £1,590		
		Insurance $\pounds 1,590$		
		(	8,677	
		Fishing Industry Promotion—		
	70	Administration expenses	15	
	71	Payment to Marine Department: Survey fees	5	
			20	
		Fruit-preserving Industry—		
	72	Administration expenses	100	

### ${\tt STATE\ ADVANCES\ ACCOUNT--} continued.$

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—continued.		1926-27.	
1926–27.					
1920-21.		Subdivision No. IV.—Miscellaneous Bu—continued.	siness Branch	£	£
		COLD STORAGE ADVANCES—			
	73	Administration expenses	····	115	
	-	Loans to Employers for Workers'	Dwellings—		
	74 75	Administration expenses Interest on loans		10 190	
				200	
		Total—Subdivision No.	<i>IV</i>	9,112	10,52
		GROSS TOTAL			77,88
		Credits-in-aid $(a)$		•••	20,71
		NET TOTAL—VOTE No.	85		57,16

(a) Credits-in-aid:—				(	Other Charges. 1926–27.
Subdivision I		 			16,225
man.		 • •			2,900
,, IV		 	• •		1,590
Total	• • .	 			${20,715}$

Approximate Cost of Paper.—Preparation, not given; printing (565 copies), £444.

By Authority: W. A. G. Skinner, Government Printer, Wellington,-1926.

Price 4s. 6d.]